PRECISION
PLANETARY
GEARBOXES

Performmance & Effective line

@%J Bonfiglioli






INDEX

10

n

12
12
14
18

21

22
23
24

35
36
37
38

49
50
51

52

63
64
66
67
67
67
68
102

103
104
106
107
107
107
108
142

THE HIGHEST LEVEL OF PRECISION,
EFFICIENCY AND ENERGY OPTIMIZATION

A COMPLETE INTEGRATED SOLUTION FOR
ALL INDUSTRIAL APPLICATIONS

BONFIGLIOLI DIGITAL TOOLS

BONFIGLIOLI PRECISION PLANETARY
GEARBOXES

THE RIGHT SOLUTION FOR A WIDE SPECTRUM
OF APPLICATIONS

PERFORMANCE LINE
EFFECTIVE LINE
TOP LEVEL MECHATRONIC INTEGRATION

TECHNICAL INFORMATION

1 General information

1.1 Symbols, units and definitions
1.2 Selecting the gear unit

1.3 Service life of bearings

TQ SERIES

2 Features of TQ series

2.1 Ordering code

2.2 Dimensions and technical specifications

TQK SERIES

3 Features of TQK series

3.1 Ordering code

3.2 Dimensions and technical specifications

TQF SERIES

4 Features of TQF series

4.1 Ordering code

4.2 Dimensions and technical specifications

TR SERIES
5 Features of TR series
5.1 Ordering code
5.1.1 Version and input section
5.1.2 Mounting positions
5.2 Admissible radial and axial forces for MB version
5.3 Dimensions and technical specifications
53.1 Machine shaft

MP SERIES
6 Features of MP series
6.1 Ordering code
6.1.1 Version and input section
6.1.2 Mounting positions
6.2 Admissible radial and axial forces for MB version
6.3 Dimensions and technical specifications
6.3.1  Machine shaft

143 TQFE SERIES

144 7 Features of TQFE series

145 7.1 Ordering code

146 7.2 Dimensions and technical specifications

153 TQFEK SERIES

154 8 Features of TQFEK series

155 8.1 Ordering code

156 8.2 Dimensions and technical specifications

163 SL SERIES

164 9 Features of SL series

165 9.1 Ordering code

166 9.2 Dimensions and technical specifications

179 LC SERIES

180 10 Features of LC series

181  10.1 Ordering code

182 10.2 Dimensions and technical specifications

199 LCK SERIES

200 11  Features of LCK series

201  11.1 Ordering code

202 11.2 Dimensions and technical specifications

219 MPE SERIES

220 12 Features of MPE series

221 12.1 Ordering code

226 12.2 Dimensions and technical specifications

231  MPEK SERIES

232 13 Features of MPEK series

233 13.1 Ordering code

234 13.2 Dimensions and technical specifications

241 KR SERIES

242 14  Features of KR series

243 141 Versions

243 14.2 Mounting positions

243 14.3 Coordinated shaft rotation

244 14.4 Ordering code

245 14.5 Technical specifications

246 14.6 Mass moment of inertia

246 14.6.1 KR 010...KR 040 with standard ball
bearings (SB option)

247 14.6.2 KR 020...KR 040 with taper roller
bearings (HB option)

248 14.7 Dimensions

256 14.7.1 Gearbox without motor adapter

257 14.7.2 Machine shaft

Revisions

Refer to page 258 for the catalogue revision index.
Visit www.bonfiglioli.com to search for catalogues with
up-to-date revisions.

1

1






THE HIGHEST LEVEL OF
PRECISION, EFFICIENCY AND
ENERGY OPTIMIZATION

With almost 20 years of experience in creating tailored and forward-thinking motion control systems, Bonfiglioli has
proven being a reliable partner as one-stop shop for mechatronic applications in industrial automation.

Bonfiglioli engineering specialists work side by side with customers to develop dedicated integrated solutions, covering
the entire motion drive train according to an Industry 4.0 approach.

Thanks to the extensive know-how and the long-term collaboration with key customers, our two centers of excellence,
located in Italy and Germany, develop breakthrough mechatronic innovations, including low backlash planetary
gearboxes, servomotors, open and closed loop inverters, servo drives and energy regenerative units.

This, combined with a comprehensive range of Professional Services, enables us to respond to customers' requests by:
+ providing user friendly, plug & play solutions

+ increasing applications’ efficiency and productivity

+ designing flexible, modular solutions targeted to a wide range of applications

+ granting access to real time data for diagnostic, maintenance and predictive analytics

N ) o O
\2 . gwﬂo° ’@
‘q o o) Y z‘:s;a QP
ASSESSMENT & ENGINEERING & INSTALLATION & RETROFIT & MAINTENANCE &
RECOMMENDATION PLANNING COMMISSIONING UPGRADE REPAIR

FULLY COMMITTED TO THE EFFICIENCY OF
CUSTOMERS' SYSTEM OVER ITS LIFE CYCLE

Bonfiglioli technical sales experts support customers with a proactive, flexible and dedicated approach throughout the

system'’s entire life cycle.

+ Assessment and recommendation: our team provides support starting from the very early stage of the project by
assessing the requirements and developing a targeted analysis of the application, guiding customers in the choice of
the most suitable components for their drive solution.

Engineering and planning: our experts work with customers to co-engineer their application, offering consultancy in
sizing, fine tuning and selecting the optimized drive train, always considering life cycle cost optimization.

Installation and commissioning: we partner with our customers to ensure a quick, cost-effective and successful
installation, optimizing the benefits and functions of their drive technology.

Retrofit and upgrade: we update customers' machines with state-of-the-art technology to ensure constant levels of
productivity, reliability and performance.

Maintenance and repair: we work side by side with customers to avoid failures, reduce down times and ensure the
best system operation.

1Y)



A COMPLETE INTEGRATED
SOLUTION FOR ALL
INDUSTRIAL APPLICATIONS

Our engineering specialists work side by side with customers to create the most effective solution, whether the
request is to optimize an existing machine or to develop a new one. Our relationship with customers is based on an
active partnership with fast decision-making processes to develop individually tailored offers.

Our full-range and modular offering provides the necessary products for the development of vertically integrated
solutions in a variety of sectors, such as material handling, automated storage, textile and packaging. Our team of
experts assists customers in designing cost effective and energy efficient machines, aligning performance to meet the
specific requirements.

A COMPLETE INTEGRATED INDUSTRY SECTOR
SOLUTION EXPERTISE
= Precision Planetary Gearboxes T
= Industrial Gearboxes
MATERIAL HOIST &
HANDLING CRANES
= Permanent Magnet Synchronous Motors
"--. (o)
= Synchronous Reluctance Motors 1 Bun
FOOD & AUTOMATED
= Asynchronous Motors BEVERAGE WAREHOUSE
= Servo Inverters [+ | >7<
HH é
= Frequency Inverters PACKAGING TEXTILES
= Energy Regenerative Inverters
N\
= Motion Control T~
MATERIAL
WORKING

= Industry 4.0 solutions

1Y)



BONFIGLIOLI
DIGITAL TOOLS

Thanks to a powerful set of software tools and online platforms, developed through partnerships with the main

market leaders, Bonfiglioli enables its customers to engineer tailored applications in a smooth and productive way:

the components selection and sizing, as well as the design of the whole motion drive train, are made simpler and more

reliable.

In addition, thanks to its in-depth knowledge of industrial solutions, Bonfiglioli engineering team is ready to assist

customers in their selection and design process, providing high quality technical support for specific application

developments.

SERVOSOFT
DEVELOP OPTIMIZED
SOLUTIONS

Bonfiglioli and SERVOsoft®
work together to support
customers in sizing
complete multi-axis servo
systems, including motors,
gearboxes and servodrives
with 15 mechanisms and up
to 50 axes in a shared bus or
standalone configuration.

With the Bonfiglioli products
available on SERVOsoft,
customers are able to
select, size and design

their customized and high
performance applications.

In addition, the Bonfiglioli
engineering team, thanks to
its in-depth knowledge of the
products, uses the high level
servosizing tool SERVOsoft®
to provide a top level
customer support service
by developing optimized,
energy-efficient and tailored
engineering solutions to
meet individual needs.

MOSAICO

MOSAICO 3.0
PRODUCT
CONFIGURATION
AND ORDER
ASSISTANT

Bonfiglioli's complete
e-business system guides
customers, distributors and
agents through the process
of selecting the right
product for their specific
needs, and provides support
for design activities and
order management, greatly
accelerating the selection
and ordering process and
improving accuracy.

Thanks to this web-based
technology, customers can
get in touch with Bonfiglioli
technical service any time
from anywhere around the
world.

1Y)

Y

EPLAN

EPLAN
ENHANCE YOUR
ELECTRICAL DESIGN

Bonfiglioli and EPLAN work
together to provide efficient
engineering solutions, aimed
at reducing the gap between
the initial concept and its
development, programming
and commissioning, thanks to:

+ Always up-to-date device
data and documentation

+ Easy drag and drop
function to develop
optimized electrical
drawings



6 |

BONFIGLIOLI PRECISION
PLANETARY GEARBOXES

We have decades of experience in supporting customers across a broad spectrum of industry sectors, providing a wide
range of innovative, efficient and highly reliable precision planetary gearboxes.

Our team is fully dedicated to continuous improvements in terms of quality, safety and environmental sustainability
across the entire value chain. We develop and manufacture our precision planetary gearboxes exclusively in Italy,
according to the highest quality standards and procedures.

Robust, compact, highly performant and specially customized: we respond to our customers’ needs in all
industries, regardless the complexity of their projects. Our portfolio is constantly evolving with the aim of providing the
right answer for each application, according to the different requirements in terms of performance, price and optimized

machine integration.

OUR STORY

1988

4.0

BGT
SERIES

0 Jl

SL
SERIES

2015

TQF
SERIES

2002 2004 2008
F . :hi=
\
) - | %
L -

MP/TR LC KR

SERIES SERIES SERIES
2010 2013 2014
¥ . A
- Al A

LCK TQ TQK
SERIES SERIES SERIES
2017 2019

O W O Ad 43

BMS TQFE, TQFEK, MPE, MPEK
SERIES SERIES

iy

1Y)



THE RIGHT SOLUTION FOR
A WIDE SPECTRUM OF
APPLICATIONS

Whether in material handling, automated storage, packaging or automation technology, our precision planetary
gearboxes are optimized for numerous applications.

Our offer expands far beyond standard, providing the right solutions tailored to customers’ needs in terms of
performance and price.

PALLETIZER AUTOMATED STORAGE

FLOW PACK MACHINE DRILLING-FORMING MACHINE

1Y)



8 1

PERFORMANCE LINE (P)

DEVELOPED TO MEET THE MOST DEMANDING REQUIREMENTS AND
TO ENSURE MAXIMUM PERFORMANCE.

Bonfiglioli precision planetary gearboxes Performance Line includes a wide selection of products developed to meet
the most demanding requirements of servo applications characterized by high dynamics and high levels of
precision.

Bonfiglioli acknowledges the increasing demand for highly complex applications connected to the maximization of
machine productivity and the growth of product variety in assembly systems. Hence, in combination with the products,
we focus on offering comprehensive consultancy services and on developing tailored solutions which fully respond
to customers' requirements, ensuring the optimization of applications both under the performance and the energy
efficiency point of view.

The Performance Line presents the perfect features to be matched with our servomotors and frequency inverters in

optimized mechatronic integrated systems.

MAIN BENEFITS

+ Maximum power density

+ Outstanding position accuracy

+ Top class design

+ Extreme reliability

- Easy installation

+ Customized solutions and engineering service

Product TQ TQK TQF TR MP

A e N 5 a

= P A 1{),4 A 4 2

Nominal output e00e YTy eeee Ty (XYY Y]
torque

Bearing load (XYY (XXX} (XYY} (XYY} (XYY}

Input speed (XYY} eeee eee0 eee0 eeo0
Torsional

) (YY) (XYY} (XYY} (X 1) (X 1)
stiffness

Backlash (XXX X} eoe (XY X (XYY (1]

Range of ratios (X (XYY} (X 1) [ XXYY} (XYYY}

+ Standard > seeee Excellent

1



EFFECTIVE LINE (E)

BONFIGLIOLI PERFORMANCE AND RELIABILITY AT A GREAT
VALUE-PRICE RATIO.

The precision planetary gearboxes Effective Line is specially designed for systems with medium requirements for
precision, dynamics, and power density, delivering well-known Bonfiglioli quality and reliability standards at a
great value-price ratio.

Our Effective Line covers a wide range of products characterized by high flexibility. Thanks to the wide variety of
output configurations and design versions, this line provides great freedom when designing different applications.

In addition, this group of products ensures easy installation and retrofit thanks to extensive compatibility with a wide
range of market standards.

Our technical team supports our customers already from the design phase with servo-sizing and engineering
services in order to quickly select the most suitable solutions.

MAIN BENEFITS

+ Wide flexibility

+ High modularity

+ Great value-price ratio

+ Bonfiglioli quality and reliability

TQFE TQFEK SL LC LCK MPE MPEK KR Product
- . -
- - - I e o "
WY el 43 T 9 IF
Nominal output
[ X J [ X J [ X J (X X ) [ X X} (X ] [ X ] [ ]
torque
(XYY} (XYY} (XYY} (X 1) (XX} (XY (XX} ° Bearing load
(YY) e00 (YY) (Y Y] eo0 (YY) eoo o0 Inputspeed
Torsional
(XX X ] (XX X ] (XX X ] (X ] ( X ] (X ) o0 o0 .
stiffness
(YY) e00 (YY) (YY) e00 (YY) (Y} o0 Backlash
(X X ) (X X ) (X X ) (XX ) (X X} (XX} (X X} [ ] Rangeofratios
« Standard > e Excellent

1Y)



10 1

TOP LEVEL MECHATRONIC
INTEGRATION

Our integrated servo actuators represent the response to the increasing requirements of motion applications in
terms of power, speed and precision. Our integrated products are designed to maximize the sinergies between our
drives, motors and gearboxes with the main goal of performance optimization and complexity reduction.

Bonfiglioli mechatronic integrated solutions focus on providing increased performances in every key aspect: precision,
compactness, energy efficiency, dynamics and reliability.

Our servo gearmotors BMS represents the best integration between our precision planetary gearboxes and our
servomotors. It benefits from the high torsional rigidity and low backlash of our precision planetary gearboxes in
combination with the excellent torque density and high dynamics of our permanent magnet synchronous motors.

In addition, the combination of our permanent magnet synchronous motors with our powerful servo drives is designed
for servo applications requiring highest standards in terms of control dynamics, precision, robustness and long-term
operation. Our servomotors with integrated drive, iBMD, delivers high torque capability and extremely low inertia
in a compact and light package, ideal for decentralized applications characterized by high dynamics.

1Y)



TECHNICAL
INFORMATION




1 GENERAL INFORMATION
1.1 SYMBOLS, UNITS AND DEFINITIONS

Values depending on the APPLICATION

A2 [N] Axial force on output shaft

A2 Equ [N] Equivalent axial force applying on output shaft
A2 max [N] Maximum axial force applying on output shaft
R2 [N] Radial force on output shaft

Rz Equ [N] Equivalent radial force applying on output shaft
R2 max [N] Maximum radial force applying on output shaft
ED [s] Duration of the duty (without brake)

ED% [%] Cyclic duration factor

L1oh TARGET [h] Output shaft bearings’ desired basic rating life
M1 peaK [Nm] Maximum input torque (limited by motor control)
M2(1) ... M2(n) [Nm] Output torque at the times t1 ... tn

M2 Equ [Nm] Equivalent output torque

M2 max [Nm] Maximum output torque in case of emergency
Mr2 EQU [Nm] Equivalent tilting moment applying on output shaft
MT2 mAX [Nm] Maximum permissible tilting moment applying on output shaft
nq [min-1] Nominal input speed

n2 [min-1] Output speed

n2(1) ... N2(n) [min-1] Output speed based on the times t1 ... tq

n2 eQu [min-1] Equivalent output speed

N2 MAX [min-1] Maximum output speed

T [C°] Ambient temperature

t1... tn [s] Operating time

ty [s] Cycle duration including pause

V4 [1/h] Number of cycles per hour

121

€1




Values depending on the GEAR DRIVE SELECTION

A2 max/A3max | [N] Admissible axial force on output shaft
A2 max /A3 max | [N] Axial force acting simultaneously with radial force
R1 max [N] Admissible radial force at midpoint of input shaft
R2 max/R3amax | [N] Admissible radial force at midpoint of output shaft
Cs [Nm] Constant for bearing's lifetime calculation
Nm . .
Ct [rcmin Torsional stiffness
f — Factor ratio between axial and radial force
fn — Speed factor
fz — Cycle factor
fr — Temperature adjusting factor
i — Gearbox ratio
Je [kgem?] Mass moment of inertia of the gearhead
Kn — Speed constant
L1ion [h] Bearings basic rating life
Lz [mm] Factor for bearing lifetime calculation
Ma2 [Nm] Maximum acceleration output torque
Mn 2 [Nm] Rated output torque
M [Nm] Emergency stop output torque.
p2 Permitted 1000 times during service life of the gearbox
MT12 max [Nm] Maximum tilting moment applying on output shaft
Maximum momentary input speed. The speed the unit can be driven
n [min-1] at occasionally and in non-repetitive conditions
1 max For duty type S5, it cannot be applied continuously for more than
30 seconds
o] — Bearing lifetime exponent
n [%] Gear efficiency
¥R [arcmin] | Reduced backlash
oS [arcmin] | Standard backlash

€1

13



1.2

14 1

SELECTING THE GEAR UNIT

. n4
(a) |Ratio i — I=—
Ny
Inzge) -t Moo +# [nzqa] -t [Mago
(b) | Equivalent output torque Mzeau |INM] | Myequ =3
|n2(1)| . t1 + ...+ |n2(n)| . tn
Nyl by + [Noy “ to + .o+ N[ £,
(c) | Equivalent output speed n2equ |[min-1] | N2equ =| 2(1)| ! | 2(2)|t 2 | Z(n)l -
2
K
f——21 => f,=1
N2equ * |
(d) | Speed factor fn — K
If—"— <1 => f, = Obtain from diagram
N2equ * |
1.05
1
0.95
0.9
I “= 085
(e) | Temperature adjusting factor  fr — 08
075
0.7
20 25 30 35 40 45 50 55 60 65
T[°C]
o ED
0 Cyclic duration factor ED% |[%] ED% = Tt -100
2
Duration of the duty ED [s] ED=t +t, +... +1,
3600
(9) | Number of cycles per hour Y4 [1/h] = i
3
2
W15
(h) | Cycle factor* fz — ]
0 1000 2000 3000 4000 5000 6000
z[1/h]
*For Z>6000 please contact us!
(i) | Maximum input torque M1 peak | [Nm] maximum motor torque
fn - speed factor
3
2.5
T
fn
1.5
b
~
’
05
0 0.5 1
Kn
N2Equ " |

1Y)




Khn - speed constant

i TQ 060 TQ 070 TQ 090 TQ 130 TQ 160 i TR/MP|TR/MP|TR/MP|TR/MP|TR/MP|TR/MP|TR/ MP
3 3500 3100 1050 1800 1100 053 | 060 | 080 | 105 | 130 | 160 | 190
3 1400 | 1400 | 2700 | 2500 | 1700 | 550 | 1500
4 3500 3300 1050 2000 1450 4 2000 | 1600 | 1500 | 1600 | 500 | 350 | 1150
5 3500 3500 1700 2500 1650 5 2300 | 2050 | 1750 | 1850 | 600 | 350 | 1300
7 4000 3500 3000 2800 2500 6 2300 | 2500 | 2500 | 1050 | 150 | 150 | 1150
10 4000 3500 3000 2800 2500 7 3800 | 3000 | 2100 | 1350 | 400 | 300 | 1600
16 4500 3500 3000 2800 2500 9 4000 | 3300 | 2900 | 2500 | 2100 | 1600 | 1500
10 - 4000 | 4000 | 3500 | 3200 | 1150 | 2900
20 4500 3500 3000 2800 2500 12 | 3300 | 3300 | 1500 | 1500 | 500 | 300 | 1050
25 4500 3500 3000 2800 2500 15 | 3300 | 3300 | 1700 | 1750 | 600 | 350 | 1200
28 4500 3500 3000 2800 2500 16 | 3500 | 3500 | 1950 | 2050 | 700 | 450 | 1400
35 4500 3500 3000 2800 2500 20 | 3500 | 3500 | 2450 | 2550 | 850 | 300 | 1750
40 4500 3500 3000 2800 2500 25 | 3500 | 3500 | 2800 | 2900 | 1000 | 350 | 2000
50 4500 3500 3500 3200 2500 28 | 4000 | 4000 | 3450 | 3500 | 1200 | 450 | 2450
-0 5000 4500 2000 4500 2500 30 - 4000 | 4000 | 3500 | 3200 | 3000 | 1950
35 | 4000 | 4000 | 3950 | 3500 | 1350 | 500 | 2800
100 5000 4500 4000 3500 2500 36 | 4000 | 3500 | 3200 | 1950 | 550 | 500 | 2300
40 - 4000 | 4000 | 3500 | 1700 | 650 | 2900
45 | 4000 - - - - - -
i |TQK 060 | TQK 070 | TQK 090 | TQK 130 | TQK 160 48 | 4000 | 3500 | 3100 | 2800 | 2300 | 850 | 2100
2400 2400 2000 1600 1600 50 - 4000 4000 3500 1950 750 2900
8 2400 2400 2000 1600 1600 60 | 3500 _ _ _ _ _ _
64 | 3500 | 3500 | 3100 | 2800 | 2400 | 1000 | 2100
10 2400 2400 2000 1600 1600
70 - 4000 | 4000 | 3500 | 2400 | 900 | 2900
14 2400 2400 2000 1600 1600 75 | 3500 | 3500 | 3200 | 3000 | 2900 | 1350 | 2300
18 2400 2400 2400 2000 1600 80 3500 | 3500 | 3100 | 2800 | 2400 | 1300 | 2100
20 2400 2400 2400 1600 1600 81 | 4000 - - - - - -
24 2400 2400 2400 2000 1600 84 4000 4000 4000 3500 2900 1050 2900
30 2200 2200 2400 2000 1600 90 - 4000 | 4000 | 3500 | 2850 | 3000 | 2900
100 | 3500 | 4000 | 4000 | 3500 | 3200 | 3000 | 2900
40 2400 2400 2400 2000 1600
112 | 3500 - - - - - -
50 2400 2400 2400 2000 1600 120 — | 4000 | 4000 | 3500 | 3200 | 2150 | 2900
70 2400 2400 2400 2000 1600 125 | 3500 | 3500 | 3200 | 3000 | 2900 | 1800 | 2300
80 2400 2400 2400 2000 1600 140 | 4000 | 4000 | 4000 | 3500 | 3200 | 2050 | 2900
100 2400 2400 2400 2000 1600 144 | 4000 - - - - - -
140 2200 2400 2200 2000 1600 150 - 4000 | 4000 | 3500 | 3200 | 2200 | 2900
160 - 4000 | 4000 | 3500 | 3200 | 2550 | 2900
200 2400 2400 2400 2000 1600
175 | 4000 | 4000 | 4000 | 3500 | 3200 | 2550 | 2900
180 | 4000 - - - - - -
200 - 4000 | 4000 | 3500 | 3200 | 2900 | 2900
i TQF 060 | TQF 070 | TQF 090 | TQF 130 | TQF 160 210 _ 4000 4000 3500 3200 2700 2900
4 3500 3300 1050 2000 1450 216 | 3500 | 3500 | 3200 | 3000 | 1900 - -
5 3500 3500 1700 2500 1650 225 | 4000 - - - - - -
7 4000 3500 3000 2800 2500 245 | 4000 - - - - - -
250 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
10 4000 3500 3000 2800 2500
252 | 4000 - - - - - -
16 4500 3500 3000 2800 2500 280 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
20 4500 3500 3000 2800 2500 324 | 4000 _ Z Z Z Z Z
25 4500 3500 3000 2800 2500 350 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
28 4500 3500 3000 2800 2500 400 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
35 4500 3500 3000 2800 2500 405 | 4000 - - - - - -
20 2500 3500 3000 2800 2500 500 4000 | 4000 | 3500 | 3200 | 3000 | 2900
567 | 4000 - - - - - -
S0 4500 3500 3500 3200 2500 700 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
70 5000 4500 4000 3500 2500 729 | 2000 _ _ _ _ Z Z
100 5000 4500 4000 3500 2500 1000 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900

€1

15



K - speed constant

: MPE 040 MPE 060 MPE 080 MPE 120 : MPEK 060 MPEK 080 MPEK 120
TQFE 060 | TQFE 070 | TQFE 090 TQFEK 060 TQFEK 070 TQFEK 090
3 2000 1400 3500 3000 3 1400 3500 3000
4 2000 1600 2000 1700 4 1600 2000 1700
5 2000 2050 1500 1500 5 2050 1500 1500
7 3000 3050 1900 1900 7 3050 1900 1900
9 2000 3300 3500 3000 9 3300 3500 3000
10 3000 4000 3500 3500 10 4000 3500 3500
12 3000 3300 3500 3000 12 3300 3500 3000
15 3000 3300 3500 3000 15 3300 3500 3000
16 3000 3500 3100 2800 16 3500 3100 2800
20 3000 3500 3200 3000 20 3500 3200 23000
25 3000 3500 3200 3000
25 3500 3200 3000
28 3000 3700 3500 3500
30 3000 4000 4000 3500 28 3700 3500 3500
35 3000 4000 3500 3000 30 4000 4000 3500
40 3000 4000 4000 3500 35 4000 3500 3000
50 3000 4000 4000 3500 40 4000 4000 3500
70 3000 4000 4000 3500 50 4000 4000 3500
100 3000 4000 4000 3500 70 4000 4000 3500
100 4000 4000 3500
i |Lcos0| LC070 | LC090/ | LC120/ | LC 155/
LC 070P| LC 090P | LC 120P | LC 155P
3 1650 | 1200 12900/ 3500 | 2500 / 3000 | 1350 2100 i |SL070/SL070P|SL 090/SL 090P |SL 120/ SL 120P
4 2200 1600 | 2500 /2000 | 2100/ 1700 | 900 / 2200 3 1400 2900 /3500 2500/3000
5 2900 | 2050 |2700/1500|2300/ 1500 950 /800 4 1600 2500 / 2000 2100/ 1700
7 3700 | 3050 |3500/1900|3000/1900| 1250 5 2050 2700/ 1500 2300/ 1500
9 4000 | 3300 |2900/3500|2500/3000| 2100 7 3050 3500 / 1900 3000/ 1900
10 - 4000 |4000/3500| 3500 | 2500 /3200 9 3300 2900 / 3500 2500 / 3000
12 3300 | 3300 |2900/3500|2500/3000| 2100 10 4000 4000 / 3500 3500
15 3300 3300 | 2900/ 3500 | 2500/ 3000 2100 12 3300 2900 / 3500 2500 / 3000
16 | 3500 | 3500 3100 2800 2400 15 3300 2900 / 3500 2500 / 3000
20 3500 | 3500 3200 3000 2900 16 3500 3100 2800
25 3500 | 3500 3200 3000 2900 20 3500 3200 3000
28 3500 | 3700 3500 3500 3000 25 3500 3200 3000
30 - 4000 4000 3500 3000 28 3700 3500 3000
35 3700 | 4000 3500 3000 3000 30 2000 2000 3500
36 | 4000 _ — ~ _ 35 4000 3500 3000
40 - 4000 4000 3500 3000
45 2000 - - - - 40 4000 4000 3500
50 - 4000 4000 3500 3000 50 4000 4000 3500
70 - 4000 4000 3500 3000 0 4000 4000 3500
81 2000 — - - — 100 4000 4000 3500
100 | - | 4000 | 4000 3500 3000 i KR 010 KR 020 KR 030 KR 040
i LCK 050 | LCK 070 | LCK090 | LCK 120 | LCK 155 1 1200 1200 1000 800
LCK 070P | LCK 090P | LCK 120P | LCK 155P
6 2400 2400 2400 2000 1600 2 2400 2400 2000 1600
8 2400 2400 2400 2000 1600 3 3000 3000 2800 2500
10 2400 2400 2400 2000 1600
14 2400 2400 2400 2000 1600
20 - 2400 2400 2000 1600
24 2400 2400 2400 2000 1600
30 2400 2400 2400 2000 1600
50 2400 2400 2400 2000 1600
70 2400 2400 2400 2000 1600
80 - 2400 2400 2000 1600
920 2400 - - -
100 - 2400 2400 2000 1600

16 1

€1




Load diagram

e M2: Output torque

Speed diagram

emss n2: Output speed

Select a smaller
ratio

Select a
bigger unit

Select a
smaller ratio

ED% < 60%
and ED < 20 min

Ma1)

ny3) = 0.5 ¢ nyy)

[s]

Ma(2)
0 1
[s]
Mz(3)
N2(2)
ny) =
n21) ny(3)
|
|
\
: : :
t ‘ t ! t3 ts !
D

Estimate ratioi | ()

I m

NO

0

YES

Define M, gqu (b)

Define n,gqu (c)

Define f, (d)

Select gear unit

ED% > 60%
or ED >20 min

Limit motor torque or
select a bigger unit

NO

Select a
bigger unit

YES

M;penk =i -n =M.,

NO

YES

Check the external
forces on output shaft

1Y)

Define M, peak

M;penc - i-fz-nsM,,

YES

(i)

Limit motor torque or

select a bigger unit

NO

17



1.3 SERVICE LIFE OF BEARINGS

X ﬁ
R2
R2
Solid | Flanged N A -
Shaft Shaft
+ | - y + | - y
A; A;
(@) Maximum radial force applying on output shaft Rz max [N] Please consider the specific conditions
Maximum axial force applying on output shaft Az max [N] (e.g. belt drives under acceleration torque)
R c(x+Ly)t A .
(b) | Maximum tilting moment applying on output shaft Mt 2 max [Nm] Mtomax = 2wax " { 102)0 2uAx " Y
3 3
Ny -ty R +..+|n 1+ R
SO P P S Y
) . 2|t + oo * gy * o
(©) Equivalent forces applying
on output shaft 3 3
Ny * 1 |A +..F Nyl 1 A
poros | I AJ a0t P+ o A
N2 ta + oo # gyt
R c(x+Ly)+ A .
(d) | Equivalent tilting moment applying on output shaft Mt 2Eequ [Nm] Mr2equ = zequ " { 102)0 2eQu " Y
. . 2|t *[nz| - to * - * |ty
(e) | Equivalent output speed N2 EQU [min-1] N2equ =
t+ b+t
_ o 16666 cs )
(f) | Bearings' basic rating life L1oh [h] 10h = )
N2equ  (Mr2equ
TQ/TQK 060 TQ/TQK 070 TQ/TQK 090 TQ/TQK 130 | TQ/TQK 160
SB SB HB SB HB SB SB
Lz [mm] 56 67 64 95 89 96 114
Mt 2 max  [Nm] 129.5 221 343 592 772 1233 2331
Cs [Nm] 632 1065 1510 2898 3325 6395 9795
p — 3 3 3.33 3 3.33 3.33 3.33
TQF 060 TQF 070 TQF 090 TQF 130 TQF 160
Lz [mm] 48 72 78 100 128
MT2max  [Nm] 115 318 430 1200 3700
Cse [Nm] 490 1335 1815 5055 16200
p - 3.33 3.33 3.33 3.33 3.33
TR 053 TR 060 TR 080 TR 105 TR 130 TR 160 TR 190
SB SB SB SB SB SB SB
Lz [mm] 22 23 42 53 74 94 100
Mt 2 max  [Nm] 16 23 155 278 515 739 1683
Cse [Nm] 9N 143 994 2048 3893 5824 8680
p — 3 3 3.33 3.33 3.33 3.33 3.33
MP 053 MP 060 MP 080 MP 105 MP 130 MP 160 MP 190
SB SB SB HB SB HB SB SB SB
Lz [mm] 22 23 44 42 46 53 74 94 100
Mt 2 max  [Nm] 16 23 83 155 99 278 515 739 1683
Cs [Nm] 91 143 407 994 637 2048 3893 5824 8680
p — 3 3 3 3.33 3 3.33 3.33 3.33 3.33
TQFE 060 TQFE 070 TQFE 090 MPE 040 MPE 060 | MPE 080 | MPE 120
TQFEK 060 | TQFEK 070 | TQFEK 090 MPEK 060 | MPEK 080 | MPEK 120
Lz [mm] 21 34 44 Lz [mm] 16 23 31 37
M1 2max [Nm] 70 280 650 Mt 2 max__ [Nm] 6 17 44 124
Cs [Nm] 14 57 125 Cs [Nm] 29 80 213 615
P — 3 3 3 ) — 3 3 3 3
LC /LCK 050 LC/LCK/SL 070 LC/LCK/SL 090 LC/LCK/SL 120 LC/LCK 155
Lz [mmi 22 28 30 39 46
MT2max  [Nm] 15 54 105 238 522
Cs [Nm] 106 280 298 813 1588
P — 3 3 3 3 3
18 | (_ijg_j




Define R,paxand A uax

Select a
bigger unit
<
NO Aovax = Az max
<
R2MAX - R2 max
YES
Calculate M+,max (b)
Select a
bigger unit
NO
YES
Deﬂne RZEQU and AZEQU (C)
Please
contact us
NO AZEQU <f
R2eau
YES
Calculate Myequ (d)
Deﬁne nZEQU (e)
Calculate lifetime L 4o ()
Select a
bigger unit
NO
L1on > L1on TARGET
YES
Calculation of bearings
lifetime complete
TQ TQFE LC
f TQK TQF TR MP TQFEK SL LCK MPE | MPEK KR
0.26 | 060 SB ... 090 SB 053 SB ... 060 SB | 053 SB ... 105 SB | 060 ... 090 | 070 ... 120 | 050 ... 155|040 ... 120 | 060 ... 120 | 010 SB ... 040 SB
037 | 1308B;160SB |46y 160 080 SB... 190 sB | 130 SB ... 190 SB 020 HB ... 040 HB

070 HB ; 090 HB

080 HB ; 105 HB

€1

19



20 | O(:)o



PERFORMANCE LINE

e

)2

MAIN FEATURES
+ Nominal output torque (Nm)

+ Torsional backlash (arcmin)
+ Torsional stiffness (Nm/arcmin)

+ Max tilting moment (Nm)

129.5-2331

PROTECTION CLASS
- IP65

FRAME SIZES
060

070

090

130

160

MAIN OPTIONS
+ Input versions

TQ SERIES

The TQ series scores in each performance category:
high torque density, high overload capacity, exceptional
precision and low vibration. TQ is particularly suited for
the highly demanding requirements of servo systems,
such as fast dynamics and frequent reverse motion,
precise position, motion control and high numbers of
starts and stops.

MAIN BENEFITS

I: =i Eﬂ:'i:' + Maximum power density

WITHOUT + High precision
MOTOR MOTOR . )
ADAPTER ADAPTER + High overload capacity
« Output shafts versions + Optional reinforced bearings
for high axial and radial
I] | I] | forces

SMOOTH
KEYLESS KEYED
SHAFT SHAFT
+ Service type
Sl S5
+ Lubrication

+ Best choice for servo
applications requiring high
dynamics and high level of
precision

- Great flexibility thanks to
universal design

+ Quiet operation

STANDARD | FOOD GRADE

LUBRICATION | LUBRICATI

+ Bearings versions

ON

STANDARD | REINFORCED

C1

I 21



2 FEATURES OF TQ SERIES

Low backlash planetary drives of TQ series combine outstanding performances with a distinctive Italian style which makes them imme-
diately recognizable amongst similar products within the reference industry.

Their design and construction has been developed with the goal of offering consumers a line of products which feature absolute and
consistent Quality, which in turn provides a competitive advantage for machines and systems that adopt them as transmission devices.

¢ TQ features two classes of precision, corresponding to the following values of torsional backlash
1-stage units: standard s <3’ reduced Qr<2' (s <4’; Qr<2 for TQ 060 and TQ 070)
2-stage units: standard s <5 reduced R < 3’ ((s < 6; (Pr < 4’ for TQ 060 and TQ 070)

A high IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.

Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

Noise pressure level 60 < L, < 70 dB(A). Conditions: distance 1 m ; measured without load and an input speed of nq = 3000 min-'; i = 10.

¢ Numerous adapters allow matching the most popular brands of servomotors.

Lubrication optimized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty TQ 060 ... TQ 160 output seals
$1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
S5 (intermittent) NLGI grease consistency 00 NBR

Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]

[i1f 3 4 5 7 10 16 20 25 28 35 40 50 70 | 100
TQO060 | 21 30 30 25 20 30 30 30 30 30 30 30 25 20
TQO70 | 45 70 70 60 40 70 70 70 70 70 70 70 60 40
TQO090 | 130 | 200 | 180 | 160 | 110 | 200 | 180 | 180 | 200 | 180 | 200 | 180 | 160 | 110
TQ130 | 260 | 400 | 400 | 360 | 280 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 360 | 280
TQ160 | 530 | 800 | 800 | 750 | 550 | 800 | 800 | 800 | 800 | 800 | 800 | 800 | 750 | 550

Output shaft max. loading capacity Available motor shaft diameters
N
16000 7
15000
000 TQ 160 | |
13000
12000
TQ130 | |
10000 %000 |
8000
8000 TQ 090 | |
6600
6000 5900 4
40 4300 |
w00 0 TQ 070
2600 2300 4
2000 1850 1650
I -~
0 T T T T T T
TQO060SB TQ070SB TQO70HB TQ090SB TQO090HB TQ130SB TQ 160 SB 6 9 11 14 19 24 28 32 38 42 48
@ [mm
|:| R2 max . A2 max [ ]

22 1 O(JO



2.1 ORDERING CODE

TQ 130 1 3 STD 80A3 CD

STD
Low

— GEAR RATIO

— REDUCTIONS
1 2

— FRAME SIZE
060 070 090 130 160

— SERIES
TQ

— MO
CcD

30A ... 230A
FM

— BACKLASH

19 S5 SB KL UH1

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

— OUTPUT SHAFT
CONFIGURATION

KL smooth keyless shaft
KE keyed shaft

— OUTPUT SHAFT BEARINGS
SB standard
HB reinforced (TQ 070 - TQ 090)

— DUTY
S1 continuous duty

S5 intermittent duty

— INPUT SHAFT BORE
6..48

TOR COUPLING

clamping device

— INPUT SECTION

motor adapter

without motor adapter

1 reduction

1 reduction 2 reductions 2 reductions
(TQ060, TQO70 only) (TQO60, TQO70 only)

pss3

ps<4 ps<5 ps<6

(pRSZ'

QRS2 Qr<3 QR4

O(JO I 23



2.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

138
N5 66 48
N3 618 28 N4
A2
1
L |
- &
N\ [s)
ﬂ;ﬁ—” o
[ l== ez Y I [TQo601 | 25
& ol @ Q
7 i
5
177
105 48
N4
K ™
z < &
Q0
TQ 060 2 3.5
/] i
N1
a
D 4\‘4{ N N1 N2 N3 N4 N5 Lmax
6 - - - 30 46 80 3.5 M4x10 24 40
40B1 6 11 14 - 40 63 80 3.5 M4x10 24 40
50A1 6 1 14 - 50 60 80 4.0 M4x10 24 40
50C1 6 1" 14 - 50 70 80 4.0 M4x10 24 40
60A2 6 1 14 19 60 75 80 4.0 M5x12 24 40
70B1 6 1" 14 19 70 90 80 4.0 M5x12 24 40
80A1 6 1" 14 19 80 100 100 4.0 M6x14 24 40
95A 6 1" 14 19 95 115 100 4.0 M8x24 24 40
110B0 6 1" 14 19 110 145 120 4.0 M8x24 24 40

Please contact us for different motor adapters and input shaft bore.

24 |

1Y)




L1
L2
L3,
Vo] ’
o Q - Sy
043
L4

D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

6 37 59 72 M5x11 M4 31.5 15.5 4.5 10.5 8

9 49 59 72 M5x11 M5 35 19 4.5 11.5 10.5

11 49 59 72 M5x11 M6 35 19 4.5 11.5 12.5

14 49 59 72 M5x11 M6 35 19 4.5 11.5 14.5

19 54 59 72 M5x11 M6 35 19 4.5 11.5 16.5

TQ0601_3
TQ 060 1_4
TQ 060 1_5
TQ0601_7
TQ0601_10
TQ 060 2_16
TQ 060 2_20
TQ 060 2_25
TQ 060 2_28

TQ 060 2_35

TQ 060 2_40

TQ 060 2_50

TQ 060 2_70

TQ 060 2_100

Mn 2

(Nm]

Ma 2 Mp2

[Nm]  [Nm]

[min-1] | [min-1]

Ps

<

[arcmin]

Pr

(o

’ Nm
arcmin

R2 max | A2 max

[N] [N]

Jg [kgem?]

1Y)

I 25




50C ... 130A

Lmax

163.5 min
173.5 max
N5 79.5 56
N3 7 [75 36 N4
6 h9 © 25
B o e
: I | | ==
W E ; % &
12 Zn A o
Ny Qg [ B e |~ [TQo701 | 356
5 — | % < Q
{ =k
| Q
5
@ N1
30A ... 110B0
198.5
N5 118.5 56
N3 N4
. i3
Q . [TQo702 | 50
[m]
S
N2
@ N1
50C2 6 9 11 14 - - 50 70 100 6.5 M4x12 28 50
60A3 6 9 11 14 19 = 60 75 100 6.5 M5x14 28 50
70B2 6 9 11 14 19 - 70 90 100 6.5 M5x14 28 50
80A2 6 9 11 14 19 = 80 100 100 6.5 M6x14 28 50
95A1 6 9 11 14 19 24 95 115 100 6.5 M8x18 28 50
110A1 6 9 11 14 19 24 110 130 120 6.5 M8x18 28 50
110B1 6 9 11 14 19 24 110 145 120 6.5 M8x20 38 60
130A 6 9 11 14 19 24 130 165 140 6.5 | M10x19 28 50
30A 6 = = = = = 30 46 80 35 M4x10 24 40
40B1 6 9 11 14 - - 40 63 80 35 M4x10 24 40
50A1 6 9 11 14 = = 50 60 80 4.0 M4x10 24 40
50C1 6 9 11 14 - - 50 70 80 4.0 M4x10 24 40
60A2 6 9 11 14 19 = 60 75 80 4.0 M5x12 24 40
70B1 6 9 11 14 19 - 70 90 80 4.0 M5x12 24 40
80A1 6 9 11 14 19 = 80 100 100 4.0 M6x14 24 40
95A 6 9 11 14 19 - 95 15 100 4.0 M8x24 24 40
110B0 6 9 11 14 19 = 110 145 120 4.0 M8x24 24 40

Please contact us for different motor adapters and input shaft bore.

26 | O(:)O



L1
L2
L3
Yo}
FM 5 8- ’
o Q - Qi
Q‘a
L4
D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 51 70 85 M6x11 M4 42 20 5 12,5 12.5
9 51 70 85 M6x11 M5 42 20 5 12.5 14.5
1 51 70 85 M6x11 M6 42 20 5 12.5 12,5
14 5 70 85 M6x11 M6 42 20 5 12.5 14.5
19 51 70 85 M6x11 M6 42 20 5 12.5 16.5
24 60 70 85 M6x11 M6 43.5 21.5 5 12.5 19
O Y 1 F
6 37 59 72 M5x11 M4 31.5 15.5 4.5 10.5 8
9 49 59 72 M5x11 M5 35 19 4.5 11.5 10.5
11 49 59 72 M5x11 M6 35 19 4.5 11.5 12.5
14 49 59 72 M5x11 M6 35 19 4.5 11.5 14.5
19 54 59 72 M5x11 M6 35 19 4.5 11.5 16.5

SB HB
R2 max A2 max R2 max A2 max n

Je [kgem?]

N1 Nimax Ps Pr Ct
<

[min-1]/ [min-1] [arcmin]

N INN NN N % 6-9

Nm ] 1-14

arcmin

TQ0701_3
TQ0701_4
TQ0701_5
TQ0701_7
TQ 070 1_10
TQ0702_16
TQ 070 2_20
TQ 070 2_25
TQ 070 2_28
TQ 070 2_35
TQ 070 2_40
TQ 070 2_50

TQ 070 2_70

TQ 070 2_100

1Y)

| 27



60A4 ... 180A1

Lmax

223 min
243 max
N5 97 88
N3 10 |27 58 N4
10 h9 3
= o T
o -
A7\ =g
) £ : ! z| & N 1% &
_ e V7 " o
@} )i,‘" SIS ( B (o [TQogo1 | 76
) ; ®in
) {ve x| ©
! o & =
== { i =k
T N
0101 8
122 ‘ J N1
2120
ey 254.5 min
264.5 max
N5 138.5 88

-
I [TQos02 | 89
S
I

(<% N N1 | N2 | N3 N4 N5 | Lmax
60A4 M 14 19 - - - - | 60 75 | 125 | 65 | Mb5x14 | 38 | 60
80A3 M 14 19 - - - - | 8 | 100 | 125 | 65 | Méx14 | 38 | 60
95A2 M 14 19 24 28 - - | 9 | 115 125 | 65 | M&8 | 38 | 60
10A2 | 11 14 19 24 - - - | 110 | 130 | 125 | 65 | M8x20 | 38 | 60
M0B1 | 11 14 19 24 28 - - | 110 | 145 | 125 | 65 | M8x20 | 38 | 60
130A1 | 11 14 19 24 28 32 - | 130 | 165 | 140 | 65 | M10x20 | 38 | 60
180A M 14 19 24 28 32 - | 180 | 215 190 | 65 | M14x38 38 | 60
180A1 | 11 14 19 24 28 32 38 | 180 | 215 | 190 | 65 | M14x28 | 58 | 80
50C2 M 14 - - - - - [ 50 | 70 | 100 | 65 | M4x12 | 28 | 50
60A3 M 14 19 - - - - | 60 75 | 100 | 65 | Ms5x14 | 28 | 50
7082 M 14 19 - - - - | 70 | 9 | 10 | 65 | M5x14 | 28 | 50
80A2 M 14 19 - - - - | 8 | 100 100 | 65 | Méxi4 | 28 | 50
95A1 M 14 19 24 - - - | 9 | 115 | 100 | 65 | M8x18 | 28 | 50
MOA1 | 11 14 19 24 - - - | 110 | 130 | 120 | 65 | M8x18 | 28 | 50
M0B1 | 11 14 19 24 - - - | 110 | 145 | 120 | 65 | M8x20 | 38 | 60
130A M 14 19 24 - - - | 130 | 165 | 140 | 65 | M10x19 | 28 | 50

Please contact us for different motor adapters and input shaft bore.

28 | O(:)O



L1
L2 D4, |
L3
) /%
s i s
o 9 L————— //_N F\ >
FM 5 8 5 @)
S f A/
2 JJL N
Y 20
@ D3
D { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 51 90 115 M8x13 M6 50 28 6.5 20.5 14.5
14 51 90 115 M8x13 M6 50 28 6.5 20.5 14.5
19 51 90 115 M8x13 M6 50 28 6.5 20.5 16.5
24 60 90 115 M8x13 M6 51.5 29.5 6.5 20.5 19
28 72 90 115 M8x13 M8 51.5 29.5 6.5 20.5 225
32 72 90 115 M8x13 M8 51.5 29.5 6.5 20.5 245
38 80 90 115 M8x13 M8 54 32 6.5 20.5 28
T g9
6 51 70 85 M6x11 M6 42 20 5 12.5 12.5
9 51 70 85 M6x11 M5 42 20 5 125 14.5
11 51 70 85 M6x11 M6 42 20 5 12.5 12.5
14 51 70 85 M6x11 M6 42 20 5 125 14.5
19 51 70 85 M6x11 M6 42 20 5 12.5 16.5
24 60 70 85 M6x11 M6 43.5 215 5 12.5 19

amﬁ Ma2 Mp2 N1 N1max Ps | Pr Ct

<

R2 max /A2 max R2 max /A2 max n

Nm

Nm) (N i) fmin] faromin] [N N N N N % 14-19 24 28 32:38

TQ0901_3

TQ0901_4

TQ 090 1_5

TQ0901_7

TQ 090 1_10

TQ 090 2_16

TQ 090 2_20

TQ 090 2_25

TQ 090 2_28

TQ 090 2_35

TQ 090 2_40

TQ 090 2_50

TQ 090 2_70

TQ 090 2_100

I 29

1Y)



80A3 ... 200A

Lmay

270.5 min
326.5 max
N5 117.5 112
N3 12 |27 82 N4
12 h9 3
JEErs - e
PN R
e M z| & N 1S ﬁ
_ e =TT Q
@> )4‘* S 9 | — s 2 [TQ1301 | 156
, & Q Q
N Q| «©
—"g 4 8 5
== m s g
0141 8
154 ‘ @ N1
@ 165
318.5 min
338.5 max
N5 168.5 112
N3 N4
uiniligy|
. i
pz4 ; %_7\) 1 e O O N | N &
| zZ
SIS —— [TQ1302 | 19.1
s
D %\‘?— N N1 N2 N3 N4 N5 Lmax
80A3 14 19 - - - - - 80 100 155 6.5 M6x14 41 60
95A2 14 19 24 28 = = = 95 15 155 6.5 M8x18 41 60
110A2 14 19 24 - - - - 110 130 155 6.5 M8x20 41 60
110B1 14 19 24 28 = = = 110 145 155 6.5 M8x20 41 60
130A1 14 19 24 28 32 - - 130 165 155 6.5 M10x20 41 60
180A 14 19 24 28 32 = = 180 215 190 6.5 M14x28 41 60
180A1 14 19 24 28 32 38 - 180 215 190 6.5 M14x28 61 80
200A 14 19 24 28 32 38 42 200 235 220 6.5 M14x28 97 110
60A4 14 19 = = = = = 60 75 125 6.5 M5x14 38 60
80A3 14 19 - - - - - 80 100 125 6.5 M6x14 38 60
95A2 14 19 24 28 = = = 95 15 125 6.5 M8x18 38 60
110A2 14 19 24 - - - - 110 130 125 6.5 M8x20 38 60
110B1 14 19 24 28 = = = 110 145 125 6.5 M8x20 38 60
130A1 14 19 24 28 32 - - 130 165 140 6.5 M10x20 38 60
180A 14 19 24 28 32 = = 180 215 190 6.5 M14x38 38 60
180A1 14 19 24 28 32 38 - 180 215 190 6.5 M14x28 58 80

Please contact us for different motor adapters and input shaft bore.

30 | O(:)O



L1
L2 D4_
L3
o]
FM - a - \ W
&) Q =]
% J—H—
L4
D1 A1 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 22° 54 120 140 | M10x16 | M6 50 31 75 23.5 16.5
19 22° 54 120 140 | M10x16 | M6 50 31 75 23.5 165
24 22° 70 120 140 | M10x16 | M6 51.5 32.5 75 23.5 19
28 22° 70 120 140 | M10x16 | M8 51.5 32,5 75 23.5 22,5
32 22° 72 120 140 | M10x16 M8 51.5 32.5 75 23.5 24.5
38 22° 100 120 140 | M10x16 M8 54 35 75 23.5 28
42 22° 114 120 140 | M10x16 | M10 51.5 38.5 75 23.5 33
TQ1302 e
1 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 145
14 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 145
19 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 165
24 30° 60 90 115 M8x13 M6 51.5 29.5 6.5 20.5 19
28 30° 72 90 115 M8x13 M8 51.5 29.5 6.5 20.5 22,5
32 30° 72 90 115 M8x13 M8 51.5 29.5 6.5 20.5 24.5
38 30° 80 90 115 M8x13 M8 54 32 6.5 20.5 28

Jg [kgem?]
N1 Nimax | @Ps Qr (o}

<

R2 max A2 max n

p—— [N]  [N] % 19-24 | 28 -32 38

TQ1301_3
TQ1301_4
TQ1301_5
TQ1301_7
TQ1301_10
TQ1302_16
TQ1302_20
TQ1302_25

TQ 130 2_28

TQ 130 2_35
TQ 130 2_40
TQ 130 2_50
TQ 130 2_70
TQ 130 2_100

[min-1] [min-1] [arcmin] [

i

1Y)

I 31



95A2 ... 230A

303.5 min
349.5 max
N5 1415 112
N3 15_ |27 82 N4
4.3
T =
W |
z/L S — ] 1% | &
Sl o I TEe— =l v S 12 [TQ1601 | 29.7
9 Y e®
{ S8
8
80A3 ... 200A
Lo 356 min
412 max
N5 203 112
N3 N4
Q [a] | T N - pd
Q [TQ1602 | 374
I
71D
RJICS, N N1 N2 N3 N4 N5 | Lmax
95A2 19 24 28 - - - - 95 115 205 6.5 M8x20 50 60
110A2 19 24 - - - - - 110 130 | 205 6.5 M8x20 50 60
130A1 19 24 28 32 - - - 130 165 | 205 6.5 | M10x20 | 50 60
180A 19 24 28 32 e = = 180 | 215 | 205 6.5 | M14x28 | 50 60
180A1 19 24 28 32 38 - - 180 | 215 | 205 6.5 | M14x28 | 60 80
200A 19 24 28 32 38 42 48 | 200 | 235 | 220 6.5 | M14x28 | 96 110
230A 19 24 28 32 38 42 48 | 230 | 265 | 240 6.5 | M14x28 | 96 110
80A3 19 - - - - - - 80 100 155 6.5 M6x14 41 60
95A2 19 24 28 - - - - 95 115 155 6.5 M8x18 41 60
110A2 19 24 - - - - - 110 130 155 6.5 M8x20 41 60
110B1 19 24 28 e = = = 110 145 155 6.5 M8x20 41 60
130A1 19 24 28 32 - - - 130 165 155 6.5 | M10x20 | 41 60
180A 19 24 28 32 - - - 180 | 215 190 6.5 | M14x28 | 41 60
180A1 19 24 28 32 38 - - 180 | 215 190 6.5 | M14x28 | 61 80
200A 19 24 28 32 38 42 - 200 | 235 | 220 6.5 | M14x28 | 97 110

Please contact us for different motor adapters and input shaft bore.

32 1

1Y)




L1

L2 D4
L3, ] i
i >
e} r—— -
FM - a - = |
[m] Q [l ‘
/R
L4
DS, A1 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
19 30° 58 150 175 | M12x20 | M6 47 37 95 28 19
24 30° 58 150 175 | M12x20 | M6 47 37 95 28 19
28 30° 70 150 175 | M12x20 | M8 47 37 95 28 225
32 30° 72 150 175 | M12x20 | M8 47 37 95 28 245
38 30° 100 150 175 | M12x20 | M8 59.5 395 95 28 28
42 30° 114 150 175 | M12x20 | M10 57 43 95 28 33
48 30° 125 150 175 | M12x20 | M2 57 43 95 28 36.5
14 22° 54 120 140 | M10x16 | M6 50 31 75 235 16.5
19 22° 54 120 140 | M10x16 | M6 50 31 75 235 16.5
24 22° 70 120 140 | M10x16 | M6 515 325 75 235 19
28 22° 70 120 140 | M10x16 | M8 515 325 75 235 225
32 22° 72 120 140 | M10x16 | M8 515 325 75 235 245
38 22° 100 120 140 | M10x16 | M8 54 35 75 235 28
42 22° 14 120 140 | M10x16 | M10 515 385 75 235 33
&
530 | 800 |1500| 1500 | 3500 | 3' | 2 | 170 [15000[13000{97| - | 29.58 | 29.99 | 32.80 | 45.99
800 | 1200|2000 | 1500 | 3500 | 3' | 2 | 170 |15000[13000{97 | - 18.03 | 18.44 | 21.33 | 34.44
800 | 1200 |2000| 1800 | 3500 | 3' | 2 | 170 |15000[13000{97 | - 11.76 | 1217 | 15.06 | 28.17
750 | 1150 | 2000 | 2500 | 3500 | 3' | 2 | 170 |15000/13000{97 | - 927 | 968 | 1258 | 25.68
550 | 850 |1600| 2500 | 3500 | 3' | 27 | 170 |1500013000{97 | - 705 | 7.46 | 1035 | 23.46
800 | 1200|2000 | 2800 | 3500 | 5' | 3 | 170 [15000[13000{94| 652 | 7.05 | 777 | 1377 | -
800 | 1200|2000 | 2800 | 3500 | 5' | 3' | 170 [15000[13000{94| 6.16 | 6.69 | 7.41 | 13.41 -
800 | 1200|2000 | 2800 | 3500 | 5' | 3' | 170 [15000[13000{94| 481 | 534 | 606 | 1206 | -
800 | 1200|2000 | 2800 | 3500 | 5' | 3' | 170 |15000[13000{ 94| 377 | 430 | 502 | 11.02 -
800 | 1200|2000 | 2800 | 3500 | 5' | 3' | 170 |15000{13000{ 94| 365 | 418 | 490 | 1090 | -
800 | 1200|2000 | 2800 | 3500 | 5' | 3' | 170 |15000{13000{ 94| 3.05 | 357 | 430 | 1030 | -
800 | 1200|2000 2800 | 3500 | 5' | 3' | 170 |15000{13000{ 94| 2.99 | 352 | 424 | 1024 | -
750 | 1150 | 2000 | 3000 | 3500 | 5' | 3| 170 |15000(13000/ 94| 2.97 | 350 | 422 | 1022 | -
550 | 850 | 1600 | 3000 | 3500 | 5' | 3' | 170 |15000(13000/94| 2.95 | 348 | 420 | 1020 | -
O(JO | 33




34 1 O(:)o



PERFORMANCE LINE

= TQK SERIES

L S ] Q

T _ The TQK right-angle series represents the ideal solution
v for issues of space saving, while maintaining the same

top performance levels of the TQ inline series.

L]
1 % \ This series is particularly suited for the highly
’ R Y demanding requirements of servo systems, such as fast
A\ ’ ' dynamic response, frequent reverse motion, precise
A ‘ .' e

position, motion control and high number of starts and

stops.
MAIN FEATURES MAIN OPTIONS
+ Nominal output torque (Nm) + Input versions MAIN BENEFITS
I: =i Eﬂ:'i:l + Highest installation flexibility
* Torsional backlash (arcmin) WITHOUT + Optional reinforced bearings
ADAPTER | ADAPTER for high axial and radial

+ Torsional stiffness (Nm/arcmin) + Output shafts versions overload forces

I] | I] | - Quiet operation

. + Compact design for space-
+ Max tilting moment (Nm) .
SMOOTH saving

SS
129.5 - 2331 HSHAET KEAFT layouts

- Great flexibility thanks to

- Service t
PROTECTION CLASS ervice bype universal design
- P65
FRAME SIZES . -
060 o
+ Lubrication
070
090
STANDARD | FOOD GRADE
LUBRICATION | LUBRICATION
130
+ Bearings versions
160

STANDARD | REINFORCED

1) 35



3 FEATURES OF TQK SERIES

Low backlash bevel-planetary drives of the TQK series are the solution to space problems often posed by increasingly compact machines.
TQK drives combine high levels of dynamic operation with top precision, which results in great accuracy and repeatability for any positio-

ning mechanism in which they are installed.
On top of their robustness and dependability TQK drives also feature a distinctive Italian style that makes them clearly recognizable

amongst like products within the reference industry.

¢ TQK features two classes of precision, corresponding to the following values of torsional backlash

2-stage units: standard (s < 5’; reduced Qr <4’ (Ps < 6’; Pr < 5 for TQK 060 and TQK 070)
3-stage units: standard (ps < 7’; reduced (pr < 6’ (s < 8’; Pr < 7’ for TQK 060 and TQK 070)

changes.

Numerous adapters allow matching the most popular brands of servomotors.

Input section oil seals made from a Fluoroelastomer compound are supplied as standard.
Noise pressure level 60 < Lp < 70 dB(A). Conditions: distance 1 m ; measured without load and an input speed of n1 = 3000 min-1; i = 20.

A high IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.

Lubrication optimized for the type of duty specified when ordering, in the absence of contamination the lubricant requires no periodical

output seals

duty TQK 060 ... TQK 160
S1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
S5 (intermittent) NLGI grease consistency 00 NBR
¢ Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
¢ Housing temperature must not exceed Tmax =90°C.
Distribution of nominal torque Mn2 [Nm]
[i1| 6 8 10 14 18 20 24 30 40 50 70 80 | 100 | 140 | 200
TQK 060 | 21 28 30 25 21 20 30 30 30 30 30 30 30 25 20
TQK 070 | 45 60 70 60 | 45 40 70 70 70 70 70 70 70 60 40
TQK 090 | 110 | 150 | 180 | 160 | 130 | 110 | 200 | 180 | 180 | 180 | 180 | 200 | 180 | 160 | 110
TQK 130 | 255 | 340 | 400 | 360 | 260 | 280 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 360 | 280
TQK 160 | 420 | 560 | 700 | 750 | 530 | 550 | 800 | 800 | 800 | 800 | 800 | 800 | 800 | 750 | 550

N
16000

Output shaft max. loading capacity

14000

12000

10000

8000

6000

4000

6600

5900
4800 500
4200 3800

2600 2300
2000 1850 1650 ‘_.

9000
8000

15000
TQK 160
13000

TQK 130

TQK 090

Available motor shaft diameters

TQK 070

TQK 060

o

D R2 max

. A2 max

TQK 060 SB TQK 070 SB TQK 070 HB TQK 090 SB TQK 090 HB TQK 130 SB TQK 160 SB 6 911 14

28 32 38 42 48
@ [mm]

36 |

1Y)




3.1 ORDERING CODE

TQK 130 2 25 STD 80A3 CD 19 S5 SB

— REDUCTIONS
2 3

— FRAME SIZE
060 070 090 130 160

— SERIES
TQK

— DUTY

— INPUT SHAFT B
6..48

— MOTOR COUPLING

CD clamping device

KL UH1

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

OUTPUT SHAFT BEARINGS
SB standard
HB reinforced (TQK 070 - TQK 090)

S1 continuous duty

S5 intermittent duty

ORE

1Y)

L— INPUT SECTION
30A ... 230A motor adapter
FM without motor adapter
— BACKLASH
2 reduction 2 reductions 3 reductions 3 reductions
(TQK060, TQKO70 only) (TQK060, TQKO70 only)
STD Qs < 5 Qs < 6' Qs < 7 Qs < 8'
LOW QRS 4' QRS 5 QR < 6' QRS 7
— GEAR RATIO

| 37



TOK

~

3.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

N3

1 1o}
~ A = %@ ! : 6_ 18 _ 28
! ™ ! 2
- b ‘ S 4.2
TN E 5 =
ey \ = i
@ —H — ——— it ———— i — =
H 0 ©
XN/ 12 @ L NES
ﬁg "1 gj ° © [} ) S
— ‘ =ls
18 395 \ 84.5 48 5
062 172
79 o}
oes [TaK 060 2] 4.8
@N
JDF7
™
P
[Te)
b4
o8
. }
3
395 1235 48
211 &
[TQK 060 3] 5.9
|
b (O N N1 N2 N3 N4 N5 Lmax
30A 6 = = = = 30 46 80 35 M4x10 24 40
40B1 6 9 1 14 - 40 63 80 35 M4x10 24 40
50A1 6 9 1 14 = 50 60 80 4.0 M4x10 24 40
50C1 6 9 11 14 - 50 70 80 4.0 M4x10 24 40
60A2 6 9 1 14 19 60 75 80 4.0 M5x12 24 40
70B1 6 9 11 14 19 70 90 80 4.0 M5x12 24 40
80A1 6 9 1 14 19 80 100 100 4.0 M6x14 24 40
95A 6 9 11 14 19 95 115 100 4.0 M8x24* 24 40
110B0 6 9 1 14 19 110 145 120 4.0 M8x24* 24 40

* through hole.

38 |

Please contact us for different motor adapters and input shaft bore.

1Y)




TQK 060

D1
™
-
g D2
05| - L5
\'*:”_:r o~
FM | =5
-
< \
-
=)
== ==
D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 37 59 72 M5x11 M4 315 15.5 4.5 10.5 8
9 49 59 72 M5x11 M5 35 19 4.5 11.5 10.5
11 49 59 72 M5x11 M6 35 19 4.5 11.5 12.5
14 49 59 72 M5x11 M6 35 19 4.5 11.5 14.5
19 54 59 72 M5x11 M6 85 19 4.5 11.5 16.5

Jg [kgem?]
Ma 2 Mp 2 n{ N1 max Qs () Ct R2 max | A2 max

<
’Nm

[INm] [Nm] [min-'] [min-1] [arcmin] arcmin

N [N]

TQK 060 2_6

TQK 060 2_8

TQK 060 2_10

TQK 060 2_14

TQK 060 2_20

TQK 060 3_18

TQK 060 3_24

TQK 060 3_30

TQK 060 3_40

TQK 060 3_50

TQK 060 3_70

TQK 060 3_80

TQK 060 3_100

TQK 060 3_140

TQK 060 3_200

O/Jo I 39



50C2 ... 130A

n
| z
N ; N
i ©
—— © c|3
E|E
N - . oo ™ L2
NN
l — 28 s
(=) e 32 S
N 4l o 7S} o ~
‘ N - N =|© Q
% §‘.// ? © g kS N
=9 =N
T Q
24.5
076
96.5
&

[TQK 070 2] 5.9

30A ... 110B0O

N
o DDF7
Z
2
5|
< A
| ‘l-
g ]
[Tak 0703] 7.3
I
D T N N1 N2 N3 N4 N5 Lmax
50C2 6 9 1" 14 - - 50 70 100 6.5 M4x12 28 50
60A3 6 9 1 14 19 - 60 75 100 6.5 M5x14 28 50
70B2 6 9 1" 14 19 - 70 90 100 6.5 M5x14 28 50
80A2 6 9 1" 14 19 - 80 100 100 6.5 M6x14 28 50
95A1 6 9 11 14 19 24 95 115 100 6.5 M8x18 28 50
110A1 6 9 11 14 19 24 110 130 120 6.5 M8x18 28 50
110B1 6 9 11 14 19 24 110 145 120 6.5 M8x20 38 60
130A 6 9 11 14 19 24 130 165 140 6.5 M10x19 28 50
30A 6 - - - - - 30 46 80 BE5) M4x10 24 40
40B1 6 9 1" 14 - - 40 63 80 3.5 M4x10 24 40
50A1 6 9 1" 14 - - 50 60 80 4.0 M4x10 24 40
50C1 6 9 1" 14 - - 50 70 80 4.0 M4x10 24 40
60A2 6 9 11 14 19 - 60 75 80 4.0 M5x12 24 40
70B1 6 9 1" 14 19 - 70 a0 80 4.0 M5x12 24 40
80A1 6 9 11 14 19 - 80 100 100 4.0 M6x14 24 40
95A 6 9 11 14 19 - 95 115 100 4.0 M8x24* 24 40
110B0 6 9 11 14 19 — 110 145 120 4.0 M8x24* 24 40
* through hole. Please contact us for different motor adapters and input shaft bore.

40 | O(:)O



TQK 070

6 51 70 85 M6x11 M6 42 20 5 12.5 12.5
9 51 70 85 M6x11 M6 42 20 5 12.5 12.5
11 51 70 85 M6x11 M6 42 20 5 12.5 12.5
14 51 70 85 M6x11 M6 42 20 5 12.5 14.5
19 51 70 85 M6x11 M6 42 20 5 12.5 16.5
24 60 70 85 M6x11 M6 43.5 21.5 5 12.5 19
6 37 59 72 M5x11 M4 31.5 15.5 4.5 10.5 8

9 49 59 72 M5x11 M5 35 19 4.5 1.5 10.5
1 49 59 72 M5x11 M6 35 19 4.5 11.5 12.5
14 49 59 72 M5x11 M6 35 19 4.5 1.5 14.5
19 54 59 72 M5x11 M6 35 19 4.5 11.5 16.5

SB HB
Jg [kgcm?]
Mh2 Ma2 Mp2 n1 nimax @Ps  @Pr Ct |R2max A2max R2max A2 max
<
Nm

i [Nm] [Nm] [Nm] [min-T] [min1] [arcmin] [T N] NI IN][N] 6-9 11-14 19 24

TQK 070 2_6

TQK 070 2_8

TQK 070 2_10

TQK 070 2_14

TQK 070 2_20

TQK 070 3_18
TQK 070 3_24

TQK 070 3_30

TQK 070 3_40

TQK 070 3_50

TQK 070 3_70

TQK 070 3_80

TQK 070 3_100

TQK 070 3_140

TQK 070 3_200

O/Jo I 41



60A4 ... 180A1

I N
I DF7
(a2}
z
| 2
Sy
JE o
o == S8 o
x BN S s 4
g' Iy N \\ (] ® 1 gl
& i S
) | 2 — =e)
E o ;é 2 Y e
(S === 1 o
—+ §®
35
0101

[TQK 090 2] 10.0

161 min
171 max

[TaK 090 3| 11.7

D'W: N N1 N2 N3 N4 N5 | Lmax
60A4 1" 14 19 - - - 60 75 125 6.5 M5x14 38 60
80A3 11 14 19 - - - 80 100 125 6.5 M6x14 38 60
95A2 11 14 19 24 28 - 95 115 125 6.5 M8x18 38 60
110A2 11 14 19 24 - - 110 130 125 6.5 M8x20 38 60
110B1 1" 14 19 24 28 - 110 145 125 6.5 M8x20 38 60
130A1 1 14 19 24 28 32 130 165 140 6.5 M10x20 38 60
180A 1 14 19 24 28 32 180 215 190 6.5 M14x38* 38 60
180A1 11 14 19 24 28 32 180 215 190 6.5 M14x28 58 80
50C2 1" 14 - - - - 50 70 100 6.5 M4x12 28 50
60A3 11 14 19 - - - 60 75 100 6.5 M5x14 28 50
70B2 11 14 19 - - - 70 90 100 6.5 M5x14 28 50
80A2 11 14 19 - - - 80 100 100 6.5 M6x14 28 50
95A1 11 14 19 24 - - 95 115 100 6.5 M8x18 28 50
110A1 11 14 19 24 - - 110 130 120 6.5 M8x18 28 50
110B1 11 14 19 24 - - 110 145 120 6.5 M8x20 38 60
130A 11 14 19 24 — — 130 165 140 6.5 M10x19 28 50
* through hole. Please contact us for different motor adapters and input shaft bore.

42 1 O(:)O



TQK 090

D1

1" 51 90 115 M9x13 M6 50 28 6.5 20.5 14.5
14 51 90 115 M8x13 M6 50 28 6.5 20.5 14.5
19 51 90 115 M8x13 M6 50 28 6.5 20.5 16.5
24 60 90 115 M8x13 M6 51.5 29.5 6.5 20.5 19
28 72 90 115 M8x13 M8 51.5 29.5 6.5 20.5 22.5
32 72 90 115 M8x13 M8 51.5 29.5 6.5 20.5 24.5
1 51 70 85 M6x11 M6 42 20 5 12.5 12.5
14 51 70 85 M6x11 M6 42 20 5 12.5 14.5
19 51 70 85 M6x11 M6 42 20 5) 12.5 16.5
24 60 70 85 M6x11 M6 43.5 21.5 5 12.5 19

M Je [kgecm?]
Mh2 Ma2z Mp2 N1 nNnimax @s @Pr Ct R2max A2max R2max A2 max
<
: : : Nm
[Nm] [Nm] [[Nm] [min-"]| [min-1] =[arcmin] ’7]

aominl NN IN]

TQK 090 2_6

TQK 090 2_8

TQK 090 2_10

TQK 090 2_14

TQK 090 2_20

TQK 090 3_18

TQK 090 3_24

TQK 090 3_30

TQK 090 3_40

TQK 090 3_50

TQK 090 3_70

TQK 090 3_80

TQK 090 3_100

TQK 090 3_140
TQK 090 3_200

€1, | 43



80A3 ... 200A

11

12 h9

230 min
286 max

N5

112

77

lo

f
@130 g6

M16x36
D40 k6

[TQK 130 2

_\
mﬁo
@

@N
ODF7
]
: [ ]
0
z
X
M
olN l —
S e e e ==
: il
~
112 é
[Tk 1303] 222
D, (£ N N1 N2 N3 N4 N5 | Lmax
80A3 14 19 - - - - - 80 100 155 6.5 M6x14 41 60
95A2 14 19 24 28 — — - 95 115 155 6.5 M8x18 41 60
110A2 14 19 24 - - - - 110 130 155 6.5 M8x20 41 60
110B1 14 19 24 28 - - — 110 145 155 6.5 M8x20 41 60
130A1 14 19 24 28 32 - - 130 165 155 6.5 | M10x20 | 41 60
180A 14 19 24 28 32 — - 180 | 215 190 6.5 | M14x28 | 41 60
180A1 14 19 24 28 32 38 - 180 | 215 190 6.5 | M14x28 | 61 80
200A 14 19 24 28 32 38 42 | 200 | 235 | 220 6.5 | M14x28 | 97 110
60A4 14 19 — — — — — 60 75 125 6.5 M5x14 38 60
80A3 14 19 - - - - - 80 100 125 6.5 M6x14 38 60
95A2 14 19 24 28 — — — 95 115 125 6.5 M8x18 38 60
110A2 14 19 24 - - - - 110 130 125 6.5 M8x20 38 60
110B1 14 19 24 28 - - - 110 145 125 6.5 M8x20 38 60
130A1 14 19 24 28 32 - - 130 165 140 6.5 | M10x20 | 38 60
180A 14 19 24 28 32 — — 180 | 215 190 6.5 | M14x38 | 38 60
180A1 14 19 24 28 32 - - 180 | 215 190 6.5 | M14x28 | 58 80

* through hole.

44 |

Please contact us for different motor adapters and input shaft bore.

1Y)



TQK 130

14 22° 54 120 140 M10x16 M6 50 31 7.5 23.5 16.5
19 22° 54 120 140 M10x16 M6 50 31 7.5 23.5 16.5
24 22° 70 120 140 M10x16 M6 515 325 7.5 23.5 19
28 22° 70 120 140 M10x16 M8 51.5 32.5 7.5 23.5 22.5
32 22° 72 120 140 M10x16 M8 51.5 325 7.5 23.5 245
38 22° 100 120 140 M10x16 M8 54 85 7.5 235 28
42 22° 114 120 140 M10x16 M10 51.5 38.5 7.5 23.5 33
14 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 14.5
19 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 16.5
24 30° 60 90 115 M8x13 M6 51.5 29.5 6.5 20.5 19
28 30° 72 90 115 M8x13 M8 51.5 29.5 6.5 20.5 22.5
32 30° 72 90 115 M8x13 M8 51.5 29.5 6.5 20.5 24.5

Jg [kgem?]
".ﬁ\\jl?‘\i*;' Nimax| Ps Pr Ct R2maxA2max

<

[min-1] [min-1] [arcmin] [ L

arcmin) [N 14 19-24 28-32 38 42
TQK 130 2_6
TQK 130 2_8
TQK 130 2_10
TQK 130 2_14
TQK 130 2_20
TQK 130 3_18
TQK 130 3_24
TQK 130 3_30
TQK 130 3_40
TQK 130 3_50
TQK 130 3_70
TQK 130 3_80
TQK 130 3_100
TQK 130 3_140
TQK 130 3_200

€1, | 45



95A2 ... 230A

950

13.5

X

16 h9

—

80A3 ... 200A

DDF7

N3

291.5 min
337.5 max

N5

140

101.5

101.5

112

I

@ 160 g6

M20x42

[TQK 160 2

[s2]
pz4
1o}
z
N—
o~ i
< O  —
0|+~ 44— |
N ™M
©
> T
[Tak 160 3| 63
71D
LGS, N N1 N2 N3 N4 N5 | Lmax
95A2 19 24 28 - - - - 95 115 205 6.5 M8x20 50 60
110A2 19 24 — — — — — 110 130 | 205 6.5 M8x20 50 60
130A1 19 24 28 32 - - - 130 165 | 205 6.5 | M10x20 | 50 60
180A 19 24 28 32 — - — 180 | 215 | 205 6.5 | M14x28 | 50 60
180A1 19 24 28 32 38 - - 180 | 215 | 205 6.5 | M14x28 | 60 80
200A 19 24 28 32 38 42 48 | 200 | 235 | 220 6.5 | M14x28 | 96 110
230A 19 24 28 32 38 42 48 | 230 | 265 | 240 6.5 | M14x28 | 96 110
80A3 19 - - - - - - 80 100 155 6.5 M6x14 41 60
95A2 19 24 28 — — — — 95 115 155 6.5 M8x18 41 60
110A2 19 24 - - - - - 110 130 155 6.5 M8x20 41 60
110B1 19 24 28 = = = = 110 145 155 6.5 M8x20 41 60
130A1 19 24 28 32 - - - 130 165 155 6.5 | M10x20 | 41 60
180A 19 24 28 32 — — — 180 | 215 190 6.5 | M14x28 | 41 60
180A1 19 24 28 32 38 - - 180 | 215 190 6.5 | M14x28 | 61 80
200A 19 24 28 32 38 42 — 200 | 235 | 220 6.5 | M14x28 | o7 110

Please contact us for different motor adapters and input shaft bore.

46 |

1Y)




FM

D, (<> A1 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
19 30° 58 150 175 | M12x20 | M6 47 37 95 28 19
24 30° 58 150 175 | M12x20 | M6 47 37 95 28 19
28 30° 70 150 175 | M12x20 | M8 47 37 95 28 225
32 30° 72 150 175 | M12x20 | M8 47 37 95 28 245
38 30° 100 150 175 | M12x20 | M8 595 39.5 95 28 28
42 30° 114 150 175 | M12x20 | M10 57 45 95 28 33
48 30° 125 150 175 | M12x20 | M12 57 45 95 28 36.5
19 22° 54 120 140 | M10x16 | M6 50 31 75 235 16.5
24 22° 70 120 140 | M10x16 | M6 515 325 75 235 19
28 22° 70 120 140 | M10x16 | M8 515 325 75 235 225
32 22° 72 120 140 | M10x16 | M8 515 325 75 235 245
38 22° 100 120 140 | M10x16 | M8 54 35 75 235 28
42 22° 114 120 140 | M1ox16 | M10 51.5 38.5 75 235 33

N

420 | 630 | 840 | 1600|4000 | 5 | 4 | 167 [15000113000| 94 | - | 73.33 | 73.51 |75.57|79.19
560 | 840 |1120 (1600|4000 | 5 | 4' | 167 [15000113000| 94 | - | 69.49 | 69.66 |71.73|75.34
700 |1050 | 1400|1600| 4000 | 5 | 4 | 167 [15000113000| 94 | - | 67.98 | 68.16 |70.22|73.83
750 | 1150 | 2000|1600 | 4000 | 5 | 4' | 167 [15000[13000] 94 | - | 66.68 | 66.85 |68.92|72.53
550 | 850 | 1600|1600 | 4000 | 5 | 4 | 167 [15000[13000] 94 | - | 65.94 | 66.12 |68.18(71.80
530 | 800 150016004000 | 7 | & | 167 [15000[13000| 91 |66.84| 67.17 | 67.34 |69.41| -
800 | 1200 |2000|1600| 4000 | 7 | & | 167 [15000[13000| 91 |66.47| 66.79 | 66.97 |69.03| -
800 | 1200 |2000|1600| 4000 | 77 | & | 167 |15000[13000| 91 |66.30| 66.63 | 66.80 |68.87| -
800 | 1200 |2000(1600| 4000 | 77 | & | 167 [15000113000| 91 |65.41| 65.73 | 65.91 |67.97| -
800 | 1200 200016004000 | 77 | & | 167 [15000[13000| 91 |64.99| 65.32 | 65.49 |67.56| -
800 | 1200 |2000|1600| 4000 | 7 | & | 167 [15000113000| 91 |64.67| 65.00 | 65.17 |67.24| -
800 | 1200|2000 (1600|4000 | 7 | & | 167 [15000113000| 91 |64.51| 64.84 | 65.01 |67.08| -
800 | 1200|2000 (1600|4000 | 7 | & | 167 [15000113000| 91 |64.49| 64.82 | 65.00 |67.06| -
750 | 1150 | 2000|1600 | 4000 | 7 | & | 167 [15000113000| 91 |64.48| 64.81 | 64.99 |67.05| -
550 | 850 1600|1600 |4000 | 77 | 6 | 167 [15000[13000| 91 |64.47| 64.80 | 64.98 |67.04| -

O(JO | 47




48 | O(:)o



PERFORMANCE LINE

TQF SERIES

The TQF series features a standardized and
exceptionally compact flange interface for easy
installations.

High tilting moment, high stiffness and overload
capacity characterize this robust gearbox within its
product category.

MAIN FEATURES MAIN OPTIONS
+ Nominal output torque (Nm) + Input versions MAIN BENEFITS
I: = [[I:'}:l + High positioning accuracy
+ Torsional backlash (arcmin) WITHOUT - High compactness
MOTOR MOTOR
ADAPTER | ADAPTER + Easy installation thanks to

+ Torsional stiffness (Nm/arcmin) - Service type standardized flange design

+ Highest overload capacity
+ Great flexibility thanks to

+ Max tilting moment (Nm) universal design

115 - 3700 . .

PROTECTION CLASS . Lubrication
- IP65
FRAMESIZES e, | encmes
060
070
090
130
160

<13 a9



4 FEATURES OF NEW TQF SERIES

Low backlash planetary drives of the TQF series feature a flange on the output shaft and are ideally suited for high positioning accuracy

and highly dynamic cyclic operation.
Their design and construction has been developed with the goal of offering a line of product, which features exceptional performance,

highest level of stiffness, low backlash and compactness.

¢ TQF features two classes of precision, corresponding to the following values of torsional backlash
1-stage units: standard (ps <5’ reduced Qr<3’
2-stage units: standard (s <7’ reduced Qr < 5’
¢ Ahigh IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.
¢ Input section oil seals made from a Fluoroelastomer compound are supplied as standard.
* Noise pressure level 60 < L, < 70 dB(A). Conditions: distance 1 m ; measured without load and an input speed of nq = 3000 min-1; i = 10.

¢ Numerous adapters allow matching the most popular brands of servomotors.

¢ Lubrication optimized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty TQF 060 ... TQF 160 output seals
$1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
S5 (intermittent) NLGI grease consistency 00 NBR

¢ Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

¢ Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
[i1| 4 5 7 10 16 20 25 28 35 40 50 70 | 100
TQF 060 | 30 30 25 20 30 30 30 30 30 30 30 25 20
TQF 070 | 70 70 60 40 70 70 70 70 70 70 70 60 40
TQF 090 | 200 | 180 | 160 | 110 | 200 | 180 | 180 | 200 | 180 | 200 | 180 | 160 | 110
TQF 130 | 400 | 400 | 360 | 280 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 360 | 280
TQF 160 | 800 | 800 | 750 | 550 | 800 | 800 | 800 | 800 | 800 | 800 | 800 | 750 | 550

Output shaft max. loading capacity Available motor shaft diameters
(N]
30000 29000 1
TQF 160 | |
25000
- TQF 130 | |
16000
16000 TQF 090 | |
12000
10000 o
. TQF 070 |
5500
5000 4300 4400 4300 i
2400
!_. " e
0
TQF 060 TQF 070 TQF 090 TQF 130 TQF 160 6 9 11 14 19 4 28 32 8 4 8
@ [mm
|:| R2 max . A2 max [ ]

50 | O(JO



4.1 ORDERING CODE

TQF 130 1 4 STD 80A3 CD

— REDUCTIONS
1 2
— FRAME SIZE

060 070 090 130 160

— SERIES
TQF

19 S5 UH1

L LUBRICANT
— standard

UH1 food grade synthetic
lubricant

— DUTY
S1 continuous duty

S5 intermittent duty

— INPUT SHAFT BORE
6..38

— MOTOR COUPLING

CD clamping device

without motor adapter

1Y)

— INPUT SECTION
40B1.. .180A1 motor adapter
FM
— BACKSLASH
1 reduction | 2 reductions
STD @ps <3 @s<T7
Low Qr=3 QrR<S
— GEAR RATIO

| 51



4.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

Lmax

97 min I N1
M5x7 (8x) 107 max
@ 4.5 (8x) " N5 43.58 19.5 N2
4

Q)
N
ov
%) 26 H7 &
N
/
—8
ov

oN
@ D1
|
@40 h7
@64n7 |
@ 90
\\
(&)

l(lvanw
ﬁ&%
> |@DF7
9|
Hﬂ
— B
o
/
=
Bo

\ a - ~—
\ = ) S /d, [TQF 0601 16
@315 N3 || 4 7 N
279
2 86
40B1 ... 110B0
135.5 min
145.5 max G N1
N5 82 19.5 N2

Zl o = & [ @Q
Q 9| ~ W/ H Q @QQ /
L /
o ' /@/ / &
T~
S / \e . : gcl [TQF 0602 256
N3 N4
|
| (&5 N N1 N2 N3 N4 N5 Limax
6 9 11 14 - 40 63 80 4 M4x12 34 40
50A1 6 9 1 14 - 50 60 80 4 M4x10 34 40
50C1 6 9 1 14 - 50 70 80 4 M4x10 34 40
60A2 6 9 1 14 19 60 75 80 4 M5x16 34 40
70B1 6 9 1 14 19 70 9 80 4 M5x16 34 40
80A1 6 9 1 14 19 80 100 920 4 M6x16 34 40
95A 6 9 1 14 19 95 115 100 6.5 M8x20 34 40
110B0 6 9 1 14 19 110 145 120 6.5 M8x20 44 40

Please contact us for different motor adapters and input shaft bore.

52 1 O(:)O



TQF 060

L1
L2
L3 J_\-
B ] 1]
FM 8 | |
o [Te) [
Q . _II :_ s
o W
& - LJ
D5 U
L3
4 [
D _{ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
37 68 76.5 M6x12 M4 315 21 7.5 16 8
49 68 76.5 M6x12 M5 35 24.5 75 17 105
11 49 68 76.5 M6x12 M6 35 24.5 75 17 12,5
14 49 68 76.5 M6x12 M6 35 24.5 75 17 145
19 54 68 76.5 M6x12 M6 35 245 7.5 17 16.5

TQF 060 1_4
TQF 060 1_5

TQF 060 1_7

TQF 060 1_10
TQF 060 2_16
TQF 060 2_20
TQF 060 2_25
TQF 060 2_28
TQF 060 2_35

TQF 060 2_40

TQF 060 2_50

TQF 060 2_70

TQF 060 2_100

Ma 2

(Nm]

(Nm]

Mp 2 n1

[min-1]

N1 max

[min-1]

Ps Pr

<

[arcmin]

Ct

’ Nm
arcmin

R2 max | A2 max

(N] [N]

Jg [kgem?]

1Y)

I 53



50C2 ... 130A

128.5 min
L ra 138.5 max
N5 645 30
12
X 17 @ N1
- N2
_ u
| ‘m 74%
™ >
i — %
% Syl e 1/ @ \
8 [ i (&)
il i a\.L// o
=) (’ \ / /
s (/] ‘ N /@/};{ [TaF o701 44
N3 7 Va
166.5 min
176.5 max @ N1
N5 102.5 30 N2
| PO IR
cs o~ SN &
- e 7>
SIS | @&i/ / &
w ¢ \ / 1
[m] N
D N \e \/@/ﬂ [TQF0702 56
N3 - _'\_’- \\_/
N4
D] (< N N1 N2 N3 N4 N5 | Lmax
50C2 6 9 11 14 - - 50 70 80 4 M4x10 | 34 50
60A3 6 9 11 14 19 - 60 75 80 4 M5x16 | 34 50
70B2 6 9 11 14 19 - 70 ) 80 4 M5x16 | 34 50
80A2 6 9 11 14 19 - 80 100 90 4 M6x16 | 34 50
95A1 6 9 11 14 19 24 95 115 | 100 | 65 | M8x20 | 34 50
110A1 6 9 11 14 19 24 110 | 130 | 115 65 | M8x20 | 34 50
110B1 6 9 11 14 19 24 110 | 145 | 120 | 65 | M8x20 | 44 60
130A 6 9 11 14 19 24 130 | 165 | 140 | 65 | M10x19 | 34 50
40B1 6 9 11 14 - R 40 63 80 4 Mdx12 | 34 40
50A1 6 9 11 14 - - 50 60 80 4 M4x10 | 34 40
50C1 6 9 11 14 - - 50 70 80 4 M4x10 | 34 40
60A2 6 9 11 14 19 - 60 75 80 4 M5x16 | 34 40
70B1 6 9 11 14 19 - 70 90 80 4 M5x16 | 34 40
80A1 6 9 11 14 19 - 80 100 20 4 M6x16 | 34 40
95A 6 9 11 14 19 - 95 115 | 100 | 65 | M8x20 | 34 40
110B0 6 9 11 14 19 - 110 | 145 | 120 | 65 | M8x20 | 44 40

Please contact us for different motor adapters and input shaft bore.

1Y)

54 |




TQF 070

L1 @ D3

Jg [kgem?]

é@\}%\\\\j Mn 2 R2omax A2max M

i [Nm] 1] [arcmin] mel

N [N]

TQF 070 1_4

TQF 070 1_5

TQF 070 1_7

TQF 070 1_10

TQF 070 2_16

TQF 070 2_20

TQF 070 2_25

TQF 070 2_28

TQF 070 2_35

TQF 070 2_40

TQF 070 2_50

TQF 0702_70

TQF 070 2_100

€1, | 55



60A4 ... 180A

145 min
165 max
N5 85.5 29 @ N1
M6x12 (12x "
8§ |7 N2
1
[y W
z/ 5 = Slol e
SIENN X O —
L Hl & ISIRCIE S ﬁ
a Eé
S T [TQF 090 1] 7.0
N3 "\—"
U g p
@63 ;
@135 ‘\
@ 145 —
7
176.5 min
186.5 max B N1
N5 113.5 29 N2
1L P IR N
> o8N &
. B (AN
SN | é&i/ I ) ﬁ
w ¢ \ / /
[a] N
D NAEISS g /@/ﬂ [TQF 0902 9.5
N3 | N
N4
|
D (\— h N N1 N2 N3 N4 N5 Lmax
60A4 11 14 19 - - - 60 75 100 6.5 M5x14 28 60
80A3 11 14 19 = = = 80 100 100 6.5 M6x16 28 60
95A2 11 14 19 24 28 - 95 115 100 6.5 M8x18 28 60
110A2 11 14 19 24 - = 110 130 115 6.5 M8x18 28 60
110B1 11 14 19 24 - - 110 145 120 6.5 M8x20 38 60
130A1 11 14 19 24 28 32 130 165 140 6.5 M10x25 38 60
180A 11 14 19 24 28 32 180 215 190 6.5 M14x28 48 80
50C2 11 14 - - - - 50 70 80 4 M4x10 34 50
60A3 11 14 19 = = = 60 75 80 4 M5x16 34 50
70B2 11 14 19 - - - 70 90 80 4 M5x16 34 50
80A2 1 14 19 = = = 80 100 90 4 M6x16 34 50
95A1 11 14 19 24 - - 95 115 100 6.5 M8x20 34 50
110A1 11 14 19 24 = = 110 130 115 6.5 M8x20 34 50
110B1 11 14 19 24 - - 110 145 120 6.5 M8x20 44 60
130A 11 14 19 24 = = 130 165 140 6.5 M10x19 34 50

Please contact us for different motor adapters and input shaft bore.

56 |

1Y)




TQF 090

L1 @ D3

Je [kgem?]

<

,@'%\%\\\j Nimax @Ps | PR Ct R2max A2 max
)

i [min]  [arcmin] [arﬁr’;‘in] N N

TQF 090 1_4

TQF 090 1_5

TQF 090 1_7

TQF 090 1_10

TQF 090 2_16

TQF 090 2_20

TQF 090 2_25

TQF 090 2_28

TQF 090 2_35

TQF 090 2_40

TQF 090 2_50

TQF 090 2_70

TQF 090 2_100

O//o | 57



80A3 ... 180A1

174 min
204 max I N1
N5 96.5 38
13.5 N2
10 7.5

~—

ey

IN
@ D1
N
50 HY
@ 100 h7
@ 140 h7

P DF7
D
JEAN

[TQF 130 1] 135

i VS

6 e N4
<7 \%c’
/ g
\ | I's
Lomax 221.5 min @ N1
241.5 max
N5 153 38 N2
N | I P BN
e, o~ ] B
.o E 7N
S [ )
=) .
S & e gef [TQF 130 2| 185
N3 1 \\/
N4
|
LSS, ) N N1 N2 N3 N4 N5 Lmax
80A3 14 19 - - - - 80 100 130 4 M6x15 39.5 60
95A2 14 19 24 28 - - 95 15 130 6.5 M8x20 39.5 60
110A2 14 19 24 - - - 110 130 130 4 M8x20 39.5 60
110B1 14 19 24 - - - 110 145 130 6.5 M8x20 49.5 60
130A1 14 19 24 28 32 - 130 165 140 4 M10x20 39 60
180A 14 19 24 28 32 . 180 215 190 55 M14x25 495 60
180A1 14 19 24 28 32 38 180 215 190 55 M14x25 69.5 80
60A4 14 19 - - - - 60 75 100 6.5 M5x14 28 60
80A3 14 19 - - - - 80 100 100 6.5 M6x16 28 60
95A2 14 19 24 28 - - 95 115 100 6.5 M8x18 28 60
110A2 14 19 24 . 5 5 110 130 115 6.5 M8x18 28 60
110B1 14 19 24 28 - - 110 145 120 6.5 M8x20 38 60
130A1 14 19 24 28 32 - 130 165 140 6.5 M10x25 38 60
180A 14 19 24 28 32 - 180 215 190 6.5 M14x28 48 80

Please contact us for different motor adapters and input shaft bore.

58 | O(:)O



TQF 130

L1 @ D3

Je [kgem?]

N1 Nimax @Ps @r
<

Nm

[min-1][min-1] | [arcmin] arcmin

19-24 28-32 38
TQF 1301_4

TQF 1301_5

TQF 1301_7

TQF 130 1_10

TQF 130 2_16

TQF 130 2_20

TQF 130 2_25

TQF 130 2_28

TQF 130 2_35

TQF 130 2_40

TQF 130 2_50

TQF 130 2_70

TQF 130 2_100

cho I 59



95A2 ... 180A1

I N1
M10x20 (12x) 8.5 N2
go(12g ||
) O P O
/4 g . S S

@ 80 H7,

%ﬁ/

@ 160 h7
@ 200 h7
1~
&
=

[TQF 160 1] 30

80A3 ... 180A1

Limax 264 min
294 max @ N1
( N5 174.5 50 N2
\\ ]
L N
[, oI~ & )
Ao e {7
28 ) N2 &
[T S \ / /
=) .
S & - ’@/}%( [TQF 160 2| 52
N3 -ﬁ_-‘_’- \\_/
N4
/TN
D| (\5— N N1 N2 N3 N4 N5 Lmax
95A2 19 24 28 - - 95 115 140 6.5 M8x20 39.5 60
110A2 19 24 = = = 110 130 140 5 M8x20 39.5 60
130A1 19 24 28 32 - 130 165 140 5 M10x20 39.5 60
180A = 24 28 32 = 180 215 190 6.5 M14x25 495 60
180A1 19 24 28 32 38 180 215 190 6.5 M14x25 69.5 80
80A3 19 - - - - 80 100 130 4 M6x15 39.5 60
95A2 19 24 28 = = 95 115 130 6.5 M8x20 39.5 60
110A2 19 24 - - - 110 130 130 4 M8x20 39.5 60
110B1 19 24 28 - = 110 145 130 6.5 M8x20 49.5 60
130A1 19 24 28 32 - 130 165 140 4 M10x20 39 60
180A 19 24 28 32 = 180 215 190 5.5 M14x25 49.5 60
180A1 19 24 28 32 38 180 215 190 55 M14x25 69.5 80

Please contact us for different motor adapters and input shaft bore.

60 | O(:)O



TQF 160

L1 @ D3

L3 ] M

FM (e

=

o ~

D1

60

14 51 113 125.5 M8x16 M6 50 27.5 5 23 14.5
19 54 113 125.5 M8x16 M6 50 27.5 5 20 16.5
24 70 113 125.5 M8x16 M6 51.5 29 5 20 19
28 70 113 125.5 M8x16 M8 51.5 29 5 20 22.5
32 72 113 125.5 M8x16 M8 51.5 29 5 20 24.5
38 100 113 125.5 M8x16 M8 54 31.5 5 20 28

Je [kgecm?]
nq Nimax | Ps QR Ct

<

Nm

[min-] [min]  faremin] | o

TQF 160 1_4

TQF 160 1_5

TQF 160 1_7

TQF 160 1_10

TQF 160 2_16

TQF 160 2_20

TQF 160 2_25

TQF 160 2_28

TQF 160 2_35

TQF 160 2_40

TQF 160 2_50

TQF 160 2_70

TQF 160 2_100

O//o I 61



62 | O(:)o



PERFORMANCE LINE

TR SERIES
: In addition to optimal performance, very low backlash,
A high overload capacity and easy installation, the TR
Y] | series is characterized by great modularity due to
= \ multiple design configurations and wide ratios range,
— ensuring high reliability
" i and the most fitting response to different applications
- requirements.
MAIN FEATURES MAIN OPTIONS
+ Nominal output torque (Nm) + Design versions OTHER DESIGN

i
D:F' ﬁ:’: I-l + K/G version

+ Torsional backlash (arcmin) ——
WITH INPUT | WITH OUTPUT =
COAXIAL | RIGHT-ANGLE | RIGHT-ANGLE 5 =
+ Torsional stiffness (Nm/arcmin)

el - Input versions ::%\? >
4k F '

+ Max tilting moment (Nm)

WITHOUT
MOTOR SOLID INPUT MOTOR o
16-1683 ADAPTER SHAFT ADAPTER + MB version

PROTECTION CLASS + Output shafts versions P .
- P65 H | ﬂ | ‘ "j

SMOOTH L

FRAME SIZES KEYLESS KEYED .
053 _
+ Service type
060
080
s s5 MAIN BENEFITS
105
+ Lubrication + Very low backlash
130 + Great flexibility thanks
to a wide range of gear
160 STANDARD | FOOD GRADE ratios and multiple design
LUBRICATION | LUBRICATION Conﬂgurations
190 - Bearings versions « Great variety of input and

output configurations

REINFORCED
BEARINGS AS
STANDARD

1) 63



TR

5

Planetary gear units of the TR series belong to a range of low backlash drives very broad and complete as far as transmissible torque, gear
ratios and torsional backlash.

FEATURES OF TR SERIES

All units are generously proportioned to run quietly and provide a long service life without maintenance requirements.

Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available in

a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash:

1-stage units: standard ®s < 5’; reduced ¢R < 3’
2-stage units: standard ¢s < 5’; reduced ¢R < 3’

3-stage units (G and MB only): standard ¥R < 5’; reduced ¢R < 3’

3-stage units: standard ¢s < 7’; reduced PR < 5’

4-stage units (G and MB only): standard ¢s < 7’; reduced PR < 5’
* Ahigh IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.
* Fluoroelastometer oils seals are supplied for S1 duty.
* Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-'; i=10.

¢ Bearings suitably rated for an average service life of 20,000 hours under nominal operating conditions. The following chart shows the

types of bearings for the output shaft.

TR 053

TR 060

TR 080

TR 105

TR 130

TR 160

TR 190

SB

=

=

=

=

=

=

=

[N] 16000

14000

12000

10000

8000

6000

4000

2000

Output shaft max. loading capacity

TR 053 SB

TR 060 SB

TR 080 SB

3g00 4000

TR 105 SB

D R2 max

5500

TR 130 SB

. AZ max

6500

6500

7500

TR 160 SB

14000

15000

TR 190 SB

64 |

1Y)




¢ Wide range of adapter flanges matching the most popular brands of motors.

Available motor shaft bores

TR 190 |

TR 160 | |

TR 130 | |

TR 105 |

TRO80 [ |

TR 060 |

TR 053 |

6‘ 7 8 9‘10 1112 ‘ 14 hG 17 19‘ 22 24 28 32 35 38 42 45 48
6.35 9.52 12.7 15.875 19.05

e Lubrication optmized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty TR 053 - TR 060 TR 080 ... TR 190 oil seals
S1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
NLGI grease consistency 00
S5 (intermittent) NLGI grease consistency 00 NBR

¢ Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

¢ Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque  Mn2 [Nm]
m 34,56 |79 11215 16|20 | 25|28 | 30 | 35 | 36 | 40 | 45 |48 50 60 64 |70 | 75 | 80 | 81 | 84 | 90

TRO053 (12 |15 |16 |16 (16|12 | - 20120202020 20| - |20 | 15| - |20|20| - |20 /20| - |20 |20 |12 |20 | -
TRO060 | 18 | 25 | 25| 25|25 |18 |18 |30 |30 |30 |30|30|30|18|30|25|30| - |30|30|-|30|30|30|30| - |30]|18
TR080 | 40 | 50 | 50 | 50 | 50 | 40 |40 |70 |70 | 70 | 70 |70 | 70 | 40 |70 |50 |70 | = | 70|70 | — |70 |70 |70 | 70 | — | 70 | 40

TR 105 (100|140 |140|140|140|100|100|170|170|170|170|170|170|100|170|140|170| — |170|170| — |170|170{170|170| — (170|100

TR 130 | 215|380 380 | 380|380 | 215|215 450 |450 | 450|450 | 450 | 450 | 215|450 | 380 | 450 | — |450 /450 | — |450|450|450|450 | — |450|215

TR 160 | 350|500 500 | 500 | 500 | 350 | 350 | 700 | 700 | 700 | 700 | 700 | 700 | 350 | 700 | 500 | 700 | — |700|700| — |700|700|700|700| — |700|350

TR 190 |500 700 | 700|700 | 700 | 500 | 500 {1000/1000|1000|1000|1000{1000( 500 |1000| 700 |1000{ — |1000{1000| — |1000|1000({1000{1000| — (1000|500

[11/100 112|120 | 125|140 | 144 | 150 | 160 | 175|180 | 200 | 210 | 225 | 245|250 | 252|280 | 324 | 350 | 400 | 405 | 500 | 567 | 700 | 729 1000

TRO53 |20 |20 | - |20|20/20| - | - |20|20| - | -]20120| - |20| - 20| - | - |20 - |[20| — |12 -
TRO060 | 18| - (30 30|30 | -3 |30(30|-/3 30| —-|-]30|-|30|-|30|30|-|3|-]3)|-118
TRO80 (40| - (70|70 |70 | - 70|70 |70 | - |70 |70 | - | - |70| = |70| = |70 70| = |70 | — | 70| — | 40
TR105 (100, - |170|170|170| - |170(170|170| - |170|170| - | — |170| - |170| — |170|170| - |170| — |170| — [100
TR130 (215| — |450|450|450| — |450 (450|450 — |450(450| — | — |450| — |450| — |450/450| — |450| — |450| — |215
TR160 (700 - |350|700|700| — |700|700|700| - |700|700| - | — |700| — |700| — |700|700| — |700| — |700| — |350
TR 190 [1000{ — |500{1000{1000| — |1000/1000{1000] — |1000{1000| — | — |1000] — |1000| — |1000{1000| — |1000, — [1000] — |500

O(:)O | 65



TR

5.1 ORDERING CODE

1Y)

TR G 080 3 20 STD 95A CD 19 S1 OR SB KL UH1
|— LUBRICANT
— standard
UH1 food grade synthetic lubricant
OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft (@ MB)
— OUTPUT SHAFT BEARINGS
SB standard
— MOUNTING POSITION

OR horizontal

VA vertical with motor up

VB vertical with motor down

— DUTY
S$1 continuous duty
S5 intermittent duty
— INPUT SHAFT BORE
6..48 (@1S)
“—MOTOR COUPLING
CD clamping device (@ IS)
— INPUT SECTION
25AH ... 180A1 motor adapter
IS solid input shaft (TR 053 ... TR 160) (@ K, G, MB)
FM without motor adapter
— BACKLASH
1 reduction | 2 reductions | 3 reductions | 3 reductions | 4 reductions
(K, G, MB only) (K, G, MB only)
STD Ps<? Ps<d' Ps<?' Qs<T7' Ps<7
LOW
3 3 3 5' 5'
(@ TR 053) Pr< Pr< Pr< Pr< Pr<
— GEAR RATIO
— REDUCTIONS
1 2 3 4
— FRAME SIZE
053 060 080 105 130 160 190
— VERSION
— coaxial
K with input right-angle (TR 053 ... TR 060)
G with input right-angle (TR 080 ... TR 160)
MB with output right-angle (TR 080 ... TR 160)
— SERIES
TR
66 |



5.1.1 VERSION AND INPUT SECTION

VERSION
coaxial (—) with input right-angle (K - G) with output right-angle (MB)

25AH ... 180A1 I =
z
]
—
o

%) IS E:!! —
'—
)
o
Z

FM | =

5.2 ADMISSIBLE RADIAL AND AXIAL FORCES FOR MB VERSION

% R2 max A2 max L R3 max A3 max

[N] [N] [mm] [N] [N]

TR MB 080 6000 5000 60 5500 5000
TR MB 105 9000 7500 80 7500 7500
TR MB 130 13500 11500 100 11000 11500
TR MB 160* 15000 11500 100 12500 11500

* Bearings suitably rated for an average service life of 10,000 hours under nominal operating conditions.

1Y)

| 67




TR

5.3 DIMENSIONS AND TECHNICAL SPECIFICATIONS

IS 58.2 (TR 053 1)
72 (TR0532)
25 85.8 (TR 053 3) 24.5
3.25 125 3
4h9,_ M5 14 | 14 | 25
HA
&
g NN B -
a8 TR0531 | 0.8
o 1y, ® TR0532 | 1.0
X = TR 053 3 1.3
=
Q
25AH ... 80A 5 ommn
66.8 (TR 053 2)
N5 80.6 (TR 053 3) 24.5
N3 3
‘ 25
- 14,125 &
/7 \ LI g
} s %‘ . i = §£ TR0531 | 0.8
\\K 2 T ; BV o 18" TR0532 | 1.0
P ® = I = TR0533 | 1.3
X 1 e =5
< 240 £0.05 i 10
\\\4\§° i
| B
D (<R N N1 N2 | N3 N4 N5 | Lmax
. N
3 min | max
25AH 6 635 7 8 9 952 - - - - - 25 36 48
26AH 6 635 7 8 9 952 - - - — - 26 36 48
28AH 6 635 7 8 9 952 - - - - - 28 36 48
30AH 6 635 7 8 9 952 - — - - - 30 36 48
32AH 6 635 7 8 9 952 - - - - - 32 38 48 55 3.5 45 25 25
34AH 6 635 7 8 9 952 - — - — - 34 40 48
36AH 6 635 7 8 9 952 - - - - — 36 42 48
38AH 6 635 7 8 9 952 - — - - — 38 44 48
40AH 6 635 7 8 9 952 - - - - - 40 46 48
38B 6 635 7 8 9 952 10 11 12 127 - | 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 M1 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 M1 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 MM 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 60 4 5.5 23 30
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 M1 12 127 - 50 65 55 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 5.5 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 M1 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 MM 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 MM 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 M 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 M 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

1Y)

68 |




L1
L3 L2

N a Lt 1
FM 5 = —1
Z Q
i %)
g
R
D (\* D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 325 50 425 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 35.5 50 425 M4x8 M4 20.5 135 3 8.5 11
14 35.5 50 42.5 M4x8 M4 24 17 3 10.2 11.5
Jg [kgem?]
Mn 2 Ma 2 Mp 2 nq N1 max Qs Ct Rimax  R2max = A2max n 21N
1 ! ! ! | { 1 | { 1| | | o
[Nm] [Nm] [Nm] | [min-'] | [min-1] [arcmin] [%] [N] [N] [N] % 6..952 10..14
TR 0531_3 12 22 40 3300 | 4000 5} 1.0 200 500 600 97 0.06 0.08
TR 053 1_4 15 28 45 3500 | 5000 5] 1.0 200 500 600 97 0.05 0.06
TR0531_5 15 28 45 3500 | 5000 & 1.0 200 500 600 97 0.04 0.06
TR 053 1_6 15 28 45 3500 | 5000 & 1.0 200 500 600 97 0.03 0.05
TR0531_7 15 28 45 4000 | 6000 5} 1.0 200 500 600 97 0.03 0.05
TR0531_9 12 22 40 4000 | 6000 & 1.0 200 500 600 97 0.03 0.05
TR 053 2_12 20 30 60 3300 | 4000 & 0.9 200 500 600 94 0.06 0.08
TR 053 2_15 20 30 60 3300 | 4000 5' 0.9 200 500 600 94 0.06 0.08
TR 053 2_16 20 30 60 3500 | 5000 5' 0.9 200 500 600 94 0.05 0.06
TR 053 2_20 20 30 60 3500 | 5000 5' 0.9 200 500 600 94 0.04 0.06
TR 053 2_25 20 30 60 3500 | 5000 5' 0.9 200 500 600 94 0.04 0.06
TR 053 2_28 20 30 60 4000 | 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 2_35 20 30 60 4000 | 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 2_36 15 28 45 4000 | 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 2_45 20 30 60 4000 | 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 2_81 12 22 40 4000 | 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 3_48 20 30 60 4000 | 5000 7 0.7 200 500 600 91 0.05 0.07
TR 053 3_60 20 30 60 3500 | 5000 7 0.7 200 500 600 91 0.05 0.07
TR 053 3_64 20 30 60 3500 | 5000 7 0.7 200 500 600 91 0.05 0.06
TR 053 3_75 20 30 60 3500 | 5000 7 0.7 200 500 600 91 0.04 0.06
TR 053 3_80 20 30 60 3500 | 5000 7 0.7 200 500 600 91 0.05 0.06
TR 053 3_84 20 30 60 4000 | 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_100 20 30 60 3500 | 5000 7 0.7 200 500 600 91 0.04 0.06
TR 053 3_112 20 30 60 4000 | 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_125 20 30 60 3500 | 5000 7 0.7 200 500 600 91 0.04 0.06
TR 053 3_140 20 30 60 4000 | 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_144 20 30 60 4000 | 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_175 20 30 60 4000 | 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_180 20 30 60 4000 | 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_225 20 30 60 4000 | 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_245 20 30 60 4000 | 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_252 20 30 60 4000 | 6000 7' 0.7 200 500 600 91 0.05 0.06
TR 053 3_324 20 30 60 4000 | 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_405 20 30 60 4000 | 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_567 20 30 60 4000 | 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_729 12 22 40 4000 | 6000 7' 0.7 200 500 600 91 0.03 0.05

O/Jo | 69



25AH ... 80A

ON
4h9 o 2D
p=4
! = 3 25
14 25
; = k =
0 Q
W ol 5 = oA
k) “ ~ ] s TRKO0532 | 13
%ﬂ/ N = TRK 053 3 1.5
\\&z T TRK 0534 1.8
040006 80.5 (K0532)
55 94.3 (K0533)
27.5 108.1 (K053 4) 24.5
[~
= N4
\
N
H
/
ey N N1 N2 | N3 N4 N5 | Lmax
. N
o min max
25AH 6 635 7 8 9 952 - - - - - 25 36 48
26AH 6 635 7 8 9 952 - - - - - 26 36 48
28AH 6 635 7 8 9 952 - - - - - 28 36 48
30AH 6 635 7 8 9 952 - - - - - 30 36 48
32AH 6 635 7 8 9 952 - - - - - 32 38 48 55 3.5 45 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 48
36AH 6 635 7 8 9 952 - - - - - 36 42 48
38AH 6 635 7 8 9 952 - - - - - 38 44 48
40AH 6 635 7 8 9 952 - - - - - 40 46 48
38B 6 635 7 8 9 952 10 11 12 127 - | 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 B M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 60 4 5.5 23 30
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 11 12 127 - 50 65 55 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 M1 12 127 14 60 75 65 3 M5x12 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 B M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

70 1

1Y)




TR K053

@ D1
N
N | N
@ D2
L5
== @D
D5_|.
0 N
FM ] % "I hr %. D4
< 7 =N
(PN —
© — S T Q}J e i
) /
D (\’ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 20.2 13.2 3 8.7 8
9 9.52 10 32.5 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 35.5 50 42.5 M4x8 M4 20.5 13.5 & 8.5 1
14 35.5 50 42.5 M4x8 M4 24 17 3 10.2 1.5
& Jg [kgecm?2
ﬁ/ Ma 2 Mp 2 nq N1 max Qs Ct R2max = A2max n : g‘ﬁl
» ¢
\;B . - ail/
i [Nm] [Nm] [min-1] | [min-1] | [arcmin] ’ml [N] [N] % 6..952 10..14
TRKO0532 3 22 40 3300 4000 5' 1.0 500 600 94 0.18 0.20
TRKO0532 4 28 45 3500 5000 5' 1.0 500 600 94 0.18 0.19
TRKO0532_5 28 45 3500 5000 5' 1.0 500 600 94 0.17 0.19
TRK0532_6 28 45 3500 5000 5' 1.0 500 600 94 0.17 0.18
TRKO0532 7 28 45 4000 6000 5' 1.0 500 600 94 0.17 0.19
TRKO0532_9 22 40 4000 6000 5 1.0 500 600 94 0.17 0.18
TR K053 3_12 30 60 3300 4000 5' 0.9 500 600 91 0.18 0.20
TR K053 3_15 30 60 3300 4000 5' 0.9 500 600 91 0.18 0.20
TR K053 3_16 30 60 3500 5000 5' 0.9 500 600 91 0.17 0.19
TR K 053 3_20 30 60 3500 5000 5' 0.9 500 600 91 0.17 0.19
TR K 053 3_25 30 60 3500 5000 5' 0.9 500 600 91 0.17 0.19
TR K 053 3_28 30 60 4000 6000 5' 0.9 500 600 91 0.17 0.19
TR K053 3_35 30 60 4000 6000 5' 0.9 500 600 91 0.17 0.19
TR K 053 3_36 28 45 4000 6000 5' 0.9 500 600 91 0.17 0.18
TR K053 3_45 30 60 4000 6000 5' 0.9 500 600 91 0.17 0.19
TR K053 3_81 22 40 4000 6000 & 0.9 500 600 91 0.17 0.18
TR K053 4_48 30 60 4000 5000 7' 0.7 500 600 89 0.18 0.19
TR K053 4_60 30 60 3500 5000 7' 0.7 500 600 89 0.18 0.19
TR K053 4_64 30 60 3500 5000 7' 0.7 500 600 89 0.17 0.19
TRKO0534 75 30 60 3500 5000 7 0.7 500 600 89 0.17 0.19
TR K053 4 80 30 60 3500 5000 7' 0.7 500 600 89 0.17 0.19
TR K053 4 84 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.19
TR K053 4 100 30 60 3500 5000 7' 0.7 500 600 89 0.17 0.19
TR K 0534 112 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.19
TRK 0534 125 30 60 3500 5000 7' 0.7 500 600 89 0.17 0.19
TR K053 4 140 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.19
TRKO0534 144 30 60 4000 6000 7 0.7 500 600 89 0.17 0.18
TR K053 4_175 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.19
TR K053 4 180 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.18
TR K053 4 225 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.18
TR K053 4_245 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.19
TR K053 4_252 30 60 4000 6000 7' 0.7 500 600 89 0.18 0.20
TR K053 4 324 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.18
TR K053 4_405 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.18
TR K 053 4_567 30 60 4000 6000 7' 0.7 500 600 89 0.17 0.18
TR K053 4_729 22 40 4000 6000 7' 0.7 500 600 89 0.17 0.18

O/}o I 71



o
[

IS 62.75 (TR 060 1)
79.45 (TR 060 2)
25 96.16 (TR 060 3) 38
3.25 .25 3
14 | 20 | 5
= J[ _ = &
N ey e =) 3 TR 060 1 1.2
SIS LS o o8 TR0602 | 1.7
~ g = g - TR0603 | 2.0
@52 +0.05 e | 6.5 8
1T
25AH e 80A 57.55 (TR 060 1)
74.25 (TR 060 2)
N5  90.95 (TR 060 3) 38
N3 3
5h9 35
D 205 &
~& \ \ | N
\ pdla) — <
) )A} zlS ,t, | =t 28 TR0601 | 1.2
/&// © | o Y TR 060 2 1.7
- - = 5 j TR 060 3 2.0
) 1 T = 7§
< @52‘1 0.05 P~ 10
~ \4\‘50 ;
|
D (<= N N1 N2 N3 N4 N5 Lmax
. N
U min max
25AH 6 635 7 8 9 952 - - - - - 25 39 56
26AH 6 635 7 8 9 952 - - - - - 26 39 56
28AH 6 635 7 8 9 952 - - - - - 28 39 56
30AH 6 635 7 8 9 952 - - - — - 30 39 56
32AH 6 635 7 8 9 952 - — - - - 32 39 56 65 3.5 4.5 25 25
34AH 6 635 7 8 9 952 - — — — — 34 40 56
36AH 6 635 7 8 9 952 - - - - - 36 42 56
39AH 6 635 7 8 9 952 - — — — - 39 45 56
40AH 6 63 7 8 9 952 - - - - - 40 46 56
38B 6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 8 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 MM 12 127 14 50 65 60 S M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 5.5 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 M 12 127 - 55 80 65 2 55 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 1M1 12 127 - 60 75 65 3 5.5 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 3 5.5 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 | 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 MM 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 M1 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 M 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

72 1

1Y)




L1
L3 L2,
ZZ [
al i a L 7
FM AR P = —
7 S|
vz [
g
b £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M4x8 | M4 202 | 132 3 8.7 8
9 9.52 10 325 50 425 | M4x8 | M4 202 | 132 3 7.8 9
1 12 12.7 355 50 425 | M4x8 | M4 205 | 135 3 8.5 1
355 50 425 | M4x8 | M4 24 17 3 102 | 115
D,ZZ%
=
TR 060 1_3 18 | 35 | 70 [ 3300|4000 | 5 [ 3 [ 3.0 | 200 | 600 | 700 | 97 0.10 0.11
TR 060 1_4 25 | 40 | 90 | 3500|5000 | 5 | 3 | 30 | 200 | 600 | 700 | 97 0.06 0.08
TR 060 1_5 25 | 40 | 90 | 3500|5000 | 5 | 3 | 30 | 200 | 600 | 700 | 97 0.05 0.07
TR 060 1_6 25 | 40 | 90 | 3500 | 5000 | 5 | 3 | 30 | 200 | 600 | 700 | 97 0.04 0.06
TR 060 1_7 25 | 40 | 90 | 4000 | 6000 | 5 | 3 | 30 | 200 | 600 | 700 | 97 0.04 0.06
TR 060 1_10 18 | 35 | 70 | 4000 | 6000 | 5 | 3 | 3.0 | 200 | 600 | 700 | 97 0.03 0.05
TR 060 2_9 18 | 35 | 70 [ 3300|4000 | 5 [ 3 [ 25 | 200 | 600 [ 700 | 94 0.10 0.12
TR 060 2_12 30 | 45 | 100 | 3300 | 4000 | 5' | 3 | 25 | 200 | 600 | 700 | 94 0.10 0.11
TR 060 2_15 30 | 45 | 100 [ 3300 | 4000 | 5 | 3 | 25 | 200 | 600 | 700 | 94 0.09 0.11
TR 060 2_16 30 | 45 | 100 | 3500 | 5000 | 5 | 3 | 25 | 200 | 600 | 700 | 94 0.06 0.08
TR 060 2_20 30 | 45 | 100 | 3500 | 5000 | 5' | 3 | 25 | 200 | 600 | 700 | 94 0.05 0.07
TR 060 2_25 30 | 45 | 100 | 3500 | 5000 | 5 | 3 | 25 | 200 | 600 | 700 | 94 0.05 0.06
TR 060 2_28 30 | 45 | 100 | 4000 | 6000 | 5 | 3 | 25 | 200 | 600 | 700 | 94 0.04 0.06
TR 060 2_30 18 | 35 | 70 | 4000 [ 6000 | 5 | 3 [ 25 | 200 | 600 | 700 | 94 0.03 0.05
TR 060 2_35 30 | 45 | 100 | 4000 | 6000 | 5 | 3 | 25 | 200 | 600 | 700 | 94 0.04 0.06
TR 060 2_36 25 | 40 | 90 | 3500|5000 | 5 | 3 | 25 | 200 | 600 | 700 | 94 0.04 0.06
TR 060 2_40 30 | 45 | 100 | 4000 | 6000 | 5 | 3 | 25 | 200 | 600 | 700 | 94 0.03 0.05
TR 060 2_50 30 | 45 | 100 | 4000 | 6000 | 5' | 3 | 25 | 200 | 600 | 700 | 94 0.03 0.05
TR 060 2_70 30 | 45 | 100 | 4000 | 6000 | 5 | 3 | 25 | 200 | 600 | 700 | 94 0.03 0.05
i | 18 | 35 | 70 | 4000 | 6000 | 5' | 3 | 25 | 200 | 600 | 700 | 94 0.03 0.05
TR 060 3_48 30 [ 45 | 100 | 3500 [ 5000 [ 77 [ 5 [ 20 [ 200 [ 600 [ 700 | o1 0.06 0.08
TR 060 3_64 30 | 45 | 100 | 3500 | 5000 | 77 | 58 | 20 | 200 | 600 | 700 | o1 0.06 0.08
TR 060 3_75 30 | 45 | 100 | 3500 | 5000 | 77 | 5 | 20 | 200 | 600 | 700 | 91 0.05 0.07
TR 060 3_80 30 | 45 | 100 | 3500 | 5000 | 7 | 5 | 20 | 200 | 600 | 700 | o1 0.06 0.08
TR 060 3_84 30 | 45 | 100 | 4000 | 6000 | 77 | 5 | 20 | 200 | 600 | 700 | o1 0.04 0.06
TR 060 3_90 18 | 35 | 70 [ 4000 [ 6000 | 77 | 5 | 2.0 | 200 | 600 | 700 | 91 0.03 0.05
ol | 30 | 45 | 100 | 4000 | 6000 | 7 | 5' | 20 | 200 | 600 | 700 | 91 0.03 0.05
Gienei | 30 | 45 | 100 | 3500 | 5000 | 70 | 5' | 20 | 200 | 600 | 700 | 91 0.05 0.07
o] 30 | 45 | 100 | 4000 | 6000 | 77 | 5 | 20 | 200 | 0o | 700 | o1 0.04 0.06
ek | 30 | 45 | 100 | 4000 | 6000 | 77 | 5 | 20 | 200 | 600 | 700 | o1 0.03 0.05
Lo | 30 | 45 | 100 | 4000 | 6000 | 7' | 5° | 20 | 200 | 600 | 700 | 91 0.03 0.05
ki | 30 | 45 | 100 | 4000 | 6000 | 77 | 5 | 20 | 200 | 600 | 700 | o1 0.04 0.06
e | 30 | 45 | 100 | 4000 | 6000 | 7 | 5 | 20 | 200 | 600 | 700 | 91 0.03 0.05
ool | 30 | 45 | 100 | 4000 | 6000 | 7' | 5' | 20 | 200 | 600 | 700 | 91 0.03 0.05
o] 30 | 45 | 100 | 4000 | 6000 | 7 | 5° | 20 | 200 | 600 | 700 | 91 0.03 0.05
s | 30 | 45 | 100 | 4000 | 6000 | 77 | 5 | 20 | 200 | 600 | 700 | o1 0.03 0.05
o | 30 | 45 | 100 | 4000 | 6000 [ 77 | 5 | 20 [ 200 | eoo | 700 | o1 0.03 0.05
il | 30 | 45 | 100 | 4000 | 6000 | 7 | 5° | 20 | 200 | 600 | 700 | 91 0.03 0.05
e | 30 | 45 | 100 | 4000 | 6000 | 77 | 5 | 20 | 200 | 600 | 700 | o1 0.03 0.05
e | 30 | 45 | 100 | 4000 | 6000 | 77 | 5 | 20 | 200 | oo | 700 | 91 0.03 0.05
U] 18 | 35 | 70 | 4000 | 6000 | 7 | 5" | 20 | 200 [ 600 | 700 | 91 0.03 0.05

€1y 73



25AH ... 80A

55 IN
. 5h9 o @D
- :
= 4@ W 335
7)// \/ k .
%g %‘o s 20 5 g &
(e 55 g A S
. =) & =" | [TrRKoe0z 17
J 2 r 2 1% [TRK0603 | 22
N A 3
= 2 TRK0604 | 25
@ 52 1005 13?92 :Egggg M5x10
o 27.5 118.45 (K0604) 38
= N4
—

N2
@ N1
b (T N N1 N2 | N3 N4 | N5 | Lmax
<
min max
25AH |6 635 7 8 9 952 - - - - - | 25 | 39 | 56
26AH |6 635 7 8 9 952 - - - - —| 26 | 39 | 56
28AH |6 635 7 8 9 95 - - - - — | 28 | 39 | 56
3AH |6 635 7 8 9 952 - - - - —| 30 | 39 | 56
32AH |6 635 7 8 9 952 - - - - — | 3 | 39 | 5 | 65 35| 45 | 25 | 25
34AH |6 635 7 8 9 952 - - - — — | 34 | 40 | 56
3AH |6 635 7 8 9 952 - - - - — | 36 | 4 | 56
3AH |6 635 7 8 9 952 - - - - — | 39 | 45 | 56
40AH |6 635 7 8 9 952 - - — - — | 40 | 46 | 56
388 6 635 7 8 9 952 10 11 12 127 — | 38.1 66.6 60 | 3 | M4x10 | 18 | 25
408 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 | 3 | M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 | 3 | M4xto | 18 | 25
508 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 | 3 | Msx12 | 23 | 30
5BH |6 635 7 8 9 952 10 11 12 127 14| 50 65 65 | 3 55 | 25 | 32
50C 6 635 7 8 9 95 10 11 12 127 14| 50 70 60 | 3 | M4x10 | 23 | 30
55MH |6 635 7 8 9 95 10 11 12 127 - | 55 80 65 | 2 55 | 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 | 3 | M5x12 | 18 | 25
60A1 |6 635 7 8 9 952 10 11 12 127 14 | 60 75 65 | 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 | 3 | Msx12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 | 3 | M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 | 3 | Mex15 | 23 | 30
708 6 635 7 8 9 952 10 11 12 127 14| 70 90 75 | 5 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 | 3 | M5x12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 | 3 | Mex15 | 23 | 30

Please contact us for different motor adapters and input shaft bore.

74 1 O(:)O



TR K060

™
—

FM aY] I: %. D4

—
N ° w&% N —

) )

/:,

D| (<* D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 32.5 50 425 | M4x8 M4 20.2 13.2 3 7.8 9
1 12 12.7 35.5 50 425 | M4x8 M4 20.5 135 3 8.5 1
14 35.5 50 425 | M4x8 M4 24 17 3 10.2 1.5

'i Mn 2 Ma 2 Mp 2 N1 max Qs () Ct R2 max | A2 max

\;3‘\ ‘

TRK 060 2_3
TR K 060 2_4
TRK 06025
TRK 060 2_6
TRK 060 2_7
TR K 060 2_10
TRK 0603 9
TRK 060 3_12
TR K 060 3_15
TR K 060 3_16
TR K 060 3_20
TR K 060 3_25
TR K 060 3_28
TR K 060 3_30
TR K 060 3_35
TR K 060 3_36
TR K 060 3_40
TR K 060 3_50
TR K 060 3_70
TR K 060 3_100
TR K 060 4_48
TR K 060 4_64
TR K 060 4_75
TR K 060 4_80
TR K 060 4_84
TR K 060 4_90
TR K 060 4_120
TR K 060 4_125
TR K 060 4_140
TR K 060 4_150
TR K 060 4_160
TR K 060 4_175
TR K 060 4_200
TR K 060 4_210
TR K 060 4_250
TR K 060 4_280
TR K 060 4_350
TR K 060 4_400
TR K 060 4_500
TR K 060 4_700
TR K 060 4_1000

[N]

[min-1] | [min-] | [arcmin] [arcmin] [N]

€1y 75



IS 105.3 (TR 080 1)
129.8 (TR 080 2)

43 154.3 (TR 080 3) 46
6 L 4 5
69 M6 20l 1T 3015
\
N~ N~ &
étt@lm rrrrrrrrrrr 4 o gg TR0801 | 4.0
SIISRE oSy TRO0802 | 46
\f/ 48 = : é & TR0803 | 52
8= 7| 17 =5
@65 +0.05 o~ @65+ 0.05
S 15| Al ) '
[~
[
40B1 ... 110B1 N
108 (TR0802)
N5 132.5 (TR0803) 46
N3 5
2
30,15 ! &
pd[=) \ L ‘** =
ske = B8 TR0801 | 4.0
L i o 8 TR0802 | 46
4@ la= N TR0803 | 52
A ={ Ry
/ @65 0.05 12 Q
< ‘ [
\\?Sf’ ;
bl (<3 N | Nt | N2 | N3 | N4 | N5 | Lax
P
40B1 8 9 952 11 12 127 14 - = = = = 40 | 63 | 80 4 M4x12 | 34 | 40
45A 8 9 952 11 12 127 - - - - - - 45 | 63 | 80 4 M4x12 | 34 | 40
50B1 8 9 952 11 12 127 14 - = = = = 50 | 65 | 80 4 M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - - - 50 | 65 | 80 4 5.5 34 | 40
50C1 8 9 952 11 12 127 14 - = = = o 50 | 70 | 80 4 M4x10 | 34 | 40
50D 8 9 952 1 12 127 14 - - - - = 50 | 95 | 80 4 M6x20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 M6x20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - - - - 60 | 75 | 80 4 M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - - 60 | 75 | 90 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - -  — 60 | 85 | 80 4 M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - - 60 | 90 | 80 4 M5x16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 4 M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 90 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 4 M5x16 | 34 | 40
73A1 8 9 952 11 12 127 14 - = = = = 73 | 984 | 85 4 M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 M6x16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 M8x20 | 34 | 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
10B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

76 | O(:)O



L1
L3 L2
[
FM : ;
e ST =
7 S
i o
g .
T
BIIRCE, D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 10.5
1" 12 12.7 43 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 12.5
14 15.875 16 17 48 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 14.5
19 19.05 51 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 16.5
@ﬁ T
D ( Jl
P!
TR 0801_3 40 80 180 2900 | 3500 5' 3 8.0 400 2500 | 3000 97 0.50 0.59
TR 080 1_4 50 80 200 3100 | 4500 5' 3' 8.0 400 2500 3000 97 0.34 0.43
TR0801_5 50 80 200 3200 | 4500 5' 3 8.0 400 2500 3000 97 0.28 0.37
TR 080 1_6 50 80 200 3200 | 4500 5' 3' 8.0 400 2500 | 3000 97 0.21 0.30
TR 0801_7 50 80 200 4000 | 6000 5' 3 8.0 400 2500 | 3000 97 0.23 0.32
TR 080 1_10 40 80 180 4000 | 6000 5' 3' 8.0 400 2500 | 3000 97 0.20 0.29
TR 080 2_9 40 80 180 2900 | 3500 5' 3' 6.5 400 2500 | 3000 94 0.49 0.58
TR 080 2_12 70 100 250 2900 | 3500 5} 3' 6.5 400 2500 | 3000 94 0.47 0.56
TR 080 2_15 70 100 250 2900 | 3500 5 3' 6.5 400 2500 | 3000 94 0.46 0.55
TR 080 2_16 70 100 250 3100 4500 5 & 6.5 400 2500 3000 94 0.32 0.41
TR 080 2_20 70 100 250 3200 4500 & & 6.5 400 2500 3000 94 0.27 0.36
TR 080 2_25 70 100 250 3200 | 4500 5' 3' 6.5 400 2500 | 3000 94 0.27 0.36
TR 080 2_28 70 100 250 4000 | 6000 5' 3 6.5 400 2500 | 3000 94 0.22 0.31
TR 080 2_30 40 80 180 4000 | 6000 5' 3 6.5 400 2500 | 3000 94 0.20 0.29
TR 080 2_35 70 100 250 4000 | 6000 5' 3' 6.5 400 2500 | 3000 94 0.22 0.31
TR 080 2_36 50 80 200 3200 | 4500 5' 3' 6.5 400 2500 | 3000 94 0.20 0.29
TR 080 2_40 70 100 250 4000 6000 5' 3' 6.5 400 2500 3000 94 0.20 0.29
TR 080 2_50 70 100 250 4000 6000 5' 3 6.5 400 2500 3000 94 0.19 0.28
TR 080 2_70 70 100 250 4000 6000 5' 3 6.5 400 2500 3000 94 0.19 0.28
TR 080 2_100 40 80 180 4000 | 6000 5' 3' 6.5 400 2500 | 3000 94 0.19 0.28
TR 080 3_48 70 100 250 3100 | 4500 7 5 5.5 400 2500 3000 91 0.33 0.42
TR 080 3_64 70 100 250 3100 | 4500 7 5' 55 400 2500 | 3000 91 0.32 0.41
TR 080 3_75 70 100 250 3200 | 4500 7 5' 55 400 2500 | 3000 91 0.27 0.36
TR 080 3_80 70 100 250 3100 | 4500 7 5' 55 400 2500 | 3000 91 0.32 0.41
TR 080 3_84 70 100 250 4000 6000 7 5' 5.5 400 2500 3000 91 0.23 0.32
TR 080 3_90 40 80 180 4000 6000 7 5' 5.5 400 2500 3000 91 0.20 0.29
TR 080 3_120 70 100 250 4000 6000 7 5' 55 400 2500 3000 91 0.20 0.29
TR 080 3_125 70 100 250 3200 | 4500 7 &y 5.5 400 2500 3000 91 0.27 0.36
TR 080 3_140 70 100 250 4000 6000 7 &y 5.5 400 2500 3000 91 0.22 0.31
TR 080 3_150 70 100 250 4000 | 6000 7' 5' 55 400 2500 | 3000 91 0.20 0.29
TR 080 3_160 70 100 250 4000 | 6000 7' 5' 55 400 2500 | 3000 91 0.20 0.29
TR 080 3_175 70 100 250 4000 | 6000 7 5' 55 400 2500 | 3000 91 0.22 0.31
TR 080 3_200 70 100 250 4000 | 6000 7 5' 55 400 2500 | 3000 91 0.20 0.29
TR 080 3_210 70 100 250 4000 | 6000 7 5' 55 400 2500 | 3000 91 0.20 0.29
TR 080 3_250 70 100 250 4000 6000 7 5' 5.5 400 2500 3000 91 0.19 0.28
TR 080 3_280 70 100 250 4000 6000 7 5' 55 400 2500 3000 91 0.19 0.28
TR 080 3_350 70 100 250 4000 | 6000 7' 5' 5.5 400 2500 | 3000 91 0.19 0.28
TR 080 3_400 70 100 250 4000 | 6000 7' 5' 5.5 400 2500 | 3000 91 0.19 0.28
TR 080 3_500 70 100 250 4000 | 6000 7' 5' 5.5 400 2500 | 3000 91 0.19 0.28
TR 080 3_700 70 100 250 4000 | 6000 7 5' 5.5 400 2500 | 3000 91 0.19 0.28
TR 080 3_1000 J:{0] 80 180 4000 | 6000 7' ol 5.5 400 2500 | 3000 91 0.19 0.28

O/Jo 177



TR

40B1 ... 110B1

2
2
5

n

\a & o)
\ 0 =
| G -8 TRGO0802 | 52
0 o = TRGO0803 | 58
& ! g2 TRGO0804 | 64
ey | Mexz| O
78 38.25 192.55 (TR G 080 4) 46
bl (<3 N | Nt | N2 | N3 | N4 | N5 | Lnax
P

40B1 8 9 952 11 12 127 14 - - — — — | 40 | 63 | 8 | 4 | Max12 | 34 | 40
45A 8 9 952 11 12 127 - - - - - — | 45 | 63 | 80 | 4 | M4x12 | 34 | 40
50B1 8 9 952 11 12 127 14 - - - - — | 50 | 65 | 80 | 4 | M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - - — | 5 | 65 | 8 | 4 55 34 | 40
50C1 8 9 952 11 12 127 14 - - — - — | 5 | 70 | 8 | 4 | M4x10 | 34 | 40
50D 8 9 952 11 12 127 14 - - — - — | 50 | 95 | 8 | 4 | M6x20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 | Méx20 | 34 | 40
60A2 8 9 952 1 12 127 14 - - - - — | 60 | 75 | 80 | 4 | M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - — | 60 | 75 | 90 | 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 85 | 80 | 4 | M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 9 | 80 | 4 | M5x16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 | 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 1905 70 | 8 | 90 | 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 8 | 4 | M5x16 | 34 | 40
73A1 8 9 952 1 12 127 14 - - - - — | 73 |94 | 8 | 4 | M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | Méx16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

78 | O(:)O



TR G 080

@ D1
N N 3
R NS
D4
@ D2 :
L5
Os
‘ =
FM CE e s
@D
/:'
D| {(tF D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 38 68 765 | M6x12 | M6 322 26.3 95 19.3 10.5
11 12 43 68 765 | M6x12 | M6 32.2 26.3 95 19.3 12.5
14 15.875 17 48 68 765 | Méx12 | M6 32.2 26.3 9.5 19.3 14.5
19 19.05 51 68 765 | M6x12 | M6 32.2 26.3 9.5 19.3 16.5

TR G 080 2_3
TR G 080 2_4
TR G 080 2_5
TR G 080 2_6
TR G 080 2_7
TR G 080 2_10
TR G 080 3_9
TR G 080 3_12
TR G 080 3_15
TR G 080 3_16
TR G 080 3_20
TR G 080 3_25
TR G 080 3_28
TR G 080 3_30
TR G 080 3_35
TR G 080 3_36
TR G 080 3_40
TR G 080 3_50
TR G 080 3_70
TR G 080 3_100
TR G 080 4_48
TR G 080 4_64
TR G 080 4_75
TR G 080 4_80
TR G 080 4_84
TR G 080 4_90
TR G 080 4_120
TR G 080 4_125
TR G 080 4_140
TR G 080 4_150
TR G 080 4_160
TR G 080 4_175
TR G 080 4_200
TR G 080 4_210
TR G 080 4_250
TR G 080 4_280
TR G 080 4_350
TR G 080 4_400
TR G 080 4_500
TR G 080 4_700
TR G 080 4_1000

N1 max

[min-1]

Ps | Pr

[arcmin] ’

R2max | A2 max

[N]

I\
arcnr:inl NI

Jg [kgem?]

8..127

14 ...19.05

179




40B1 ... 110B1

20 64 ‘
B42_ |
@ 95 he o 3 20 a6
4 ©
" o | NS ° .
| ==
8*76’ 1 N3 | ‘ s} ; 1 : | =
I . — e || =
R \ i
S e e B | S o feEEE
I Uo] 1t
glo i 4lg h o T o
K | o
i Lonay IREARE
e " —
225 80 e 3 42 ©
| ©@95hn | N
o
-
149.5 (TR MB 080 2)
174 (TR MB 080 3)
198.5 (TR MB 080 4) 6 Nm
Q22 | emm—
A
® ol v TR MB 080 2 9.5
= 1 | S{ TRMB 0803 | 10.5
TRMB0804 | 11.5
Y
M8x18
14 104
bl (3 N | Nt | N2 | N3 | N4 | N5 | Lmax
o
40B1 8 9 952 11 12 127 14 - - - — — 40 63 80 4 M4x12 34 40
45A 8 9 952 11 12 127 - - - - - — 45 63 80 4 M4x12 34 40
50B1 8 9 952 11 12 127 14 - - - — — 50 65 80 4 M5x16 34 40
50BH1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 5.5 34 40
50C1 8 9 952 11 12 127 14 - - - - - 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x20 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 55,5 | 125.7 | 105 4 M6x20 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
60AH2 8 9 952 11 12 127 14 - - - - - 60 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
60C1 8 9 952 11 12 127 14 15875 16 - - — 60 90 80 4 M5x16 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
70AH1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 - - - — — 73 98.4 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 100 4 M8x20 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 54 60

Please contact us for different motor adapters and input shaft bore.

1Y)

80 |




TR MB 080

L1
L2
[
FM o Sm g < oy SN |
Q Q= a
®
%)
9 @
/:,
D| (<* D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x12 | M6 oD 26.3 95 19.3 10.5
11 12 12.7 43 68 765 | M6x12 | M6 32.2 26.3 9.5 19.3 12.5
14 15875 16 17 48 68 765 | Méx12 | M6 32.2 26.3 9.5 19.3 14.5
19 19.05 51 68 765 | M6x12 | M6 32.2 26.3 9.5 19.3 16.5

Ja [kgem?]

‘}\i nMmax Qs Qr Ct

Nm
[min-1] [arcmin] arcminl 9 8..12.7 | 14...19.05

TR MB 080 2_3
TR MB 080 2_4
TR MB 080 2_5
TR MB 080 2_6
TR MB 080 2_7
TR MB 080 2_10
TR MB 080 3_9
TR MB 080 3_12
TR MB 080 3_15
TR MB 080 3_16
TR MB 080 3_20
TR MB 080 3_25
TR MB 080 3_28
TR MB 080 3_30
TR MB 080 3_35
TR MB 080 3_36
TR MB 080 3_40
TR MB 080 3_50
TR MB 080 3_70
TR MB 080 3_100
TR MB 080 4_48
TR MB 080 4_64
TR MB 080 4_75
TR MB 080 4_80
TR MB 080 4_84
TR MB 080 4_90
TR MB 080 4_120
TR MB 080 4_125
TR MB 080 4_140
TR MB 080 4_150
TR MB 080 4_160
TR MB 080 4_175
TR MB 080 4_200
TR MB 080 4_210
TR MB 080 4_250
TR MB 080 4_280
TR MB 080 4_350
TR MB 080 4_400
TR MB 080 4_500
TR MB 080 4_700
TR MB 080 4_1000

O//o | 81



121.3 (TR 105 1)
153.8 (TR 105 2)

47 186.3 (TR 105 3) 57.5
5 ‘ 4 5
30 35 |5
\ T
g S o}
S tt: A A 1 *j s S TR1051 | 65
SIS S S TR1052 | 85
o/ =3 = 3o TR1053 | 105
8 7 | 17 =8
12l Als
(=5
-
50D ... 130A1 1075 a0
140 (TR1052)
N5  172.5 (TR 105 3) 57.5
8 h9 Al 2
| 2
- /355 &
\ﬁ\ N [T P
M)A} Zol e }Cﬁ 2k TR1051 | 65
e L ol Iy TR1052 | 85
. o <= 3 4 TR1053 | 10.5
| /A | = N
¢ [@85x005 o 15 =S
s
b <R N | Nt | N2 | N3 | N4 | N5 | Lmax
X7
11 12 127 14 15 15875 16 19 - - - — | 50 | 95 | 100 | 5 | M6x14 | 28 | 40
55A 11 12 127 14 15 15875 16 19 - - — — | 55 |1257| 105 | 5 | M6x16 | 28 | 40
60A2 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 11 12 127 14 15 15875 16 19 - - - — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 11 12 127 14 15 15875 16 19 - - — — | 70 | 85 | 100 | 65 | M6x14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 85 | 100 | 4 6.5 33 | 40
70B1 11 12 127 14 15 15875 16 19 - - - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 65 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - — - — | 80 | 100 | 100 | 4 6.5 33 | 40
95A 11 12 127 14 15 15875 16 19 - - - — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
95B 11 12 127 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A 11 12 127 14 15 15875 16 19 - - - — | 10 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
1108 11 12 127 14 15 15875 16 19 22 24 — — | 10 | 145 | 120 | 65 | M8x20 | 38 | 50
10B1 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A 11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 6.5 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

1Y)

82 |




L1
L3 L2
//",','{,Z ‘
- N
FM Y N o NN i—
7, 7] &
vz O
&y
A
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 12.7 43 90 98 M6x15 M6 315 19.5 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 315 19.5 7.6 12 14.5
19 51 90 98 M6x15 M6 31.5 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 35 23 7.6 14 22.5
32 71 90 98 M6x15 M8 37 25 7.6 16 24.5

TR1051_3 100 | 180 | 360 | 2500 | 3500 | &' 3 24.0 | 600 | 3800 | 4000 | 97 1.70 1.78 222 | 2.59

TR1051_4 140 | 210 | 450 | 2800 | 4500 | 5' 3 24.0 | 600 | 3800 | 4000 | 97 0.99 1.06 151 | 1.87

TR1051_5 140 | 210 | 450 | 3000 | 4500 | &' 3 24.0 | 600 | 3800 | 4000 | 97 0.72 0.79 1.23 | 1.60

TR1051_6 140 | 210 | 450 | 3000 | 4500 | 5' 3 24.0 | 600 | 3800 | 4000 | 97 0.36 0.43 0.88 | 1.24
TR1051_7 140 | 210 | 450 | 3500 | 5000 | 5' & 24.0 | 600 | 3800 | 4000 | 97 0.47 0.55 0.99 | 1.35
TR1051_10 100 | 180 | 360 | 3500 | 5000 | &' 3' 24.0 | 600 | 3800 | 4000 | 97 0.33 0.41 0.85 | 1.21
TR1052_9 100 | 180 | 360 | 2500 | 3500 | &' 3 21.5 | 600 | 3800 | 4000 | 94 1.58 1.63 2.07 | 244
TR1052_12 170 | 250 | 600 | 2500 | 3500 | &' 3 21.5 | 600 | 3800 | 4000 | 94 1.52 1.59 2.03 | 2.40
TR 1052_15 170 | 250 | 600 | 2500 | 3500 | 5' 5] 21.5 | 600 | 3800 | 4000 | 94 1.47 1.55 1.99 | 2.36
TR 1052_16 170 | 250 | 600 | 2800 | 4500 | &' 3 21.5 | 600 | 3800 | 4000 | 94 0.87 0.95 139 | 1.76
TR 1052_20 170 | 250 | 600 | 3000 | 4500 | 5' & 21.5 | 600 | 3800 | 4000 | 94 0.86 0.93 137 | 1.74
TR 105 2_25 170 | 250 | 600 | 3000 | 4500 | &' 3 21.5 | 600 | 3800 | 4000 | 94 0.63 0.71 1.15 | 1.51
TR 105 2_28 170 | 250 | 600 | 3500 | 5000 | 5' 3! 21.5 | 600 | 3800 | 4000 | 94 0.43 0.51 0.95 | 1.32
TR 1052_30 100 | 180 | 360 | 3500 | 5000 | &' 3 21.5 | 600 | 3800 | 4000 | 94 0.32 0.40 0.84 | 1.20
TR 1052_35 170 | 250 | 600 | 3500 | 5000 | 5' 3 21.5 | 600 | 3800 | 4000 | 94 0.43 0.50 0.95 | 1.31
TR 105 2_36 140 | 210 | 450 | 3000 | 4500 | 5' & 21.5 | 600 | 3800 | 4000 | 94 0.32 0.39 0.84 | 1.20
TR1052_40 170 | 250 | 600 | 3500 | 5000 | 5' 3 21.5 | 600 | 3800 | 4000 | 94 0.31 0.39 0.83 | 1.20
TR 105 2_50 170 | 250 | 600 | 3500 | 5000 | 5' & 21.5 | 600 | 3800 | 4000 | 94 0.31 0.39 0.83 | 1.19
TR1052_70 170 | 250 | 600 | 3500 | 5000 | 5' 3 21.5 | 600 | 3800 | 4000 | 94 0.31 0.38 0.83 | 1.19
10k 100 | 180 | 360 | 3500 | 5000 | 5' 3! 21.5 | 600 | 3800 | 4000 | 94 0.31 0.38 0.83 | 1.19
TR 105 3_48 170 | 250 | 600 | 2800 | 4500 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.91 0.98 142 | 1.79
TR 105 3_64 170 | 250 | 600 | 2800 | 4500 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.87 0.94 138 | 1.75
TR 1053_75 170 | 250 | 600 | 3000 | 4500 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.66 0.74 1.18 | 1.55
TR 105 3_80 170 | 250 | 600 | 2800 | 4500 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.86 0.94 138 | 1.75
TR 1053_84 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.44 0.52 0.96 | 1.33
TR 1053_90 100 | 180 | 360 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.32 0.39 0.84 | 1.20
sl el | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.32 0.39 0.84 | 1.20
sl | 170 | 250 | 600 | 3000 | 4500 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.63 0.70 1.15 | 1.51
1Bl | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.43 0.51 0.95 | 1.32
1 Erer sl | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.32 0.39 0.84 | 1.20
10 sl 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.31 0.39 0.83 | 1.21
sl el | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.43 0.50 0.95 | 1.31
10 sl 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.31 0.39 0.83 | 1.20
sl | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.32 0.39 0.84 | 1.20
10 siervsl | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.31 0.39 0.83 | 1.19

1 iEereel | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 0.83 | 1.19
sl 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 0.83 | 1.19
1Rl | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 0.83 | 1.19
sl 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 0.83 | 1.19
s | 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 0.83 | 1.19
10kl 100 | 180 | 360 | 3500 | 5000 | 7' 5' 18.0 | 600 [ 3800 | 4000 | 91 0.31 0.38 0.83 | 1.19

O/Jo | 83



TR

50D ... 130A1

2
2 +
8 h9 . 5
N~
e % = o)
— I - B & |
[ %%} - e = Q TRG1052 | 85
@ \\'@.\*/,@i 8 — &= - § 22 TRG1053 | 105
: P — c & TRG1054 | 125
285+ 0.05 202.8 ETR G105 3§ M8x15
. 98 | 49 235.3 (TRG 105 4) 57.5
o (<H N | N1 | N2 | N3 N4 N5 | Lmax
11 12 127 14 15 15875 16 19 - — — — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
55A 11 12 127 14 15 15875 16 19 - - - — | 55 |1257| 105 | 5 | M6x16 | 28 | 40
60A2 11 12 127 14 15 15875 16 19 - — — — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - — — — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 11 12 127 14 15 15875 16 19 - — — — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 11 12 127 14 15 15875 16 19 - — — — | 70 | 85 | 100 | 65 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - — — — | 70 | 8 | 100 | 4 6.5 33 | 40
70B1 11 12 127 14 15 15875 16 19 - — — — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 11 12 127 14 15 15875 16 19 - - - — | 8 | 100 | 100 | 65 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 4 6.5 33 | 40
95A 11 12 127 14 15 15875 16 19 - - — — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 11 12 127 14 15 15875 16 19 22 24 — — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
95B 11 12 127 14 15 15875 16 19 - — — — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A 11 12 127 14 15 15875 16 19 - — — — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
1108 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 — — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

84 | O(:)O



TR G 105

@ D1
N
N
D4
@ D2 -
Ds| L5
FM ! i 5
@D
—
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 31.5 19.5 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 31.5 19.5 7.6 12 14.5
19 51 90 98 M6x15 M6 31.5 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 35 23 7.6 14 22.5
32 71 90 98 M6x15 M8 37 25 7.6 16 24.5
/N
D] {F
&
TRG1052_3 100 | 180 | 360 | 2500 | 3500 | 5' 3' 24.0 | 3800 | 4000 | 94 1.85 2.01 2.33 3.07
TRG1052 4 140 | 210 | 450 | 2800 | 4500 | 5' 3' 24.0 | 3800 | 4000 | 94 1.14 1.29 1.62 2.35
TRG1052_5 140 | 210 | 450 | 3000 | 4500 | 5' 3' 24.0 | 3800 | 4000 | 94 1.07 1.21 1.34 2.08
TRG1052_6 140 | 210 | 450 | 3000 | 4500 | 5' 3' 24.0 | 3800 | 4000 | 94 0.87 1.02 1.16 1.89
TRG1052_7 140 | 210 | 450 | 3500 | 5000 | 5' 3 24.0 | 3800 | 4000 | 94 0.98 1.14 1.27 2.00
TRG1052_10 100 | 180 | 360 | 3500 | 5000 | 5' 3' 24.0 | 3800 | 4000 | 94 0.94 1.09 1.23 1.95
TRG1053_ 9 100 | 180 | 360 | 2500 | 3500 | 5' 3' 21.5 | 3800 | 4000 | 91 1.76 1.86 2.18 2.92
TR G 1053_12 170 | 250 | 600 | 2500 | 3500 | 5' 3 21.5 | 3800 | 4000 | 91 1.60 1.75 2.14 2.88
TR G 1053_15 170 | 250 | 600 | 2500 | 3500 | 5' 3 21.5 | 3800 | 4000 | 91 1.57 1.73 2.10 2.84
TR G 1053 _16 170 | 250 | 600 | 2800 | 4500 | 5' 3 21.5 | 3800 | 4000 | 91 1.02 1.18 1.50 2.24
TR G 105 3_20 170 | 250 | 600 | 3000 | 4500 | 5' 3' 21.5 | 3800 | 4000 | 91 1.20 1.35 1.48 2.22
TR G 105 3_25 170 | 250 | 600 | 3000 | 4500 | 5' 3 21.5 | 3800 | 4000 | 91 1.13 1.29 1.42 2.15
TR G 105 3_28 170 | 250 | 600 | 3500 | 5000 | 5' 3 21.5 | 3800 | 4000 | 91 0.94 1.10 1.23 1.97
TR G 105 3_30 100 | 180 | 360 | 3500 | 5000 | 5' 3' 21.5 | 3800 | 4000 | 91 0.93 1.08 1.22 1.94
TR G 105 3_35 170 | 250 | 600 | 3500 | 5000 | 5' 3' 21.5 | 3800 | 4000 | 91 1.02 1.17 1.31 2.04
TR G 105 3_36 140 | 210 | 450 | 3000 | 4500 | 5' 3 21.5 | 3800 | 4000 | 91 0.83 0.98 1.12 1.85
TR G 105 3_40 170 | 250 | 600 | 3500 | 5000 | 5' 3' 21.5 | 3800 | 4000 | 91 0.96 1.1 1.25 1.98
TR G 105 3_50 170 | 250 | 600 | 3500 | 5000 | 5' 3' 21.5 | 3800 | 4000 | 91 0.96 1.1 1.25 1.98
TR G 105 3_70 170 | 250 | 600 | 3500 | 5000 | 5' 3' 21.5 | 3800 | 4000 | 91 0.92 1.06 1.21 1.93
TR G 105 3_100 100 | 180 | 360 | 3500 | 5000 | 5' 3' 21.5 | 3800 | 4000 | 91 0.92 1.06 1.21 1.93
TR G 1054 48 170 | 250 | 600 | 2800 | 4500 | 7' 5 18.0 | 3800 | 4000 | 89 1.06 1.21 1.53 2.27
TR G 105 4_64 170 | 250 | 600 | 2800 | 4500 | 7' 5' 18.0 | 3800 | 4000 | 89 1.02 1.17 1.49 2.23
TR G 1054_75 170 | 250 | 600 | 3000 | 4500 | 7' 5' 18.0 | 3800 | 4000 | 89 1.00 1.16 1.29 2.03
TR G 1054_80 170 | 250 | 600 | 2800 | 4500 | 7' 5' 18.0 | 3800 | 4000 | 89 1.01 117 1.49 2.23
TR G 1054_84 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.95 1.1 1.24 1.98
TR G 1054_90 100 | 180 | 360 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.93 1.07 1.22 1.94
TR G 105 4_120 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.93 1.07 1.22 1.94
TR G 105 4_125 170 | 250 | 600 | 3000 | 4500 | 7' 5' 18.0 | 3800 | 4000 | 89 0.97 1.12 1.26 1.99
TR G 105 4_140 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.94 1.10 1.23 1.97
TR G 105 4_150 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.93 1.07 1.22 1.94
TR G 105 4_160 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.92 1.07 1.21 1.96
TR G 1054_175 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.94 1.09 1.23 1.96
TR G 105 4_200 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.92 1.07 1.21 1.94
TR G 1054_210 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.93 1.07 1.22 1.94
TR G 105 4_250 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.92 1.07 1.21 1.93
TR G 105 4_280 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.92 1.06 1.21 1.93
TR G 105 4_350 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.92 1.06 1.21 1.93
TR G 105 4_400 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.92 1.06 1.21 1.93
TR G 105 4_500 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.92 1.06 1.21 1.93
TR G 105 4_700 170 | 250 | 600 | 3500 | 5000 | 7' 5' 18.0 | 3800 | 4000 | 89 0.92 1.06 1.21 1.93
Csiceusie il 100 | 180 | 360 | 3500 | 5000 [ 7 5' 18.0 | 3800 | 4000 | 89 0.92 1.06 1 21 1.93

O/Jo | 85



TR

25 95
@144 oss. |
D 2N o 21 - R 0 @ 32 G6 0
N5 o ]
7 ‘ N3 T
50 ‘ T :‘ ‘ b
™ \ L] &
oot | g : : &
| ! | o
0 | | Z|o | i N S| oy
o *’\*’*’{*’*’\* &&I %’**V ********* 1 *‘* 8 QRIS
b6 | 8 E & |1l e
o \ Sl
Re T i ! i
| [ il
= 0 —+
32.5 95 e @ 58 \ <
| @144 e
195 (TRMB 1052)
227.5 (TR MB 105 3)
260 (TRMB 105 4) ‘ 6 Nm
|
1
ki o}
o O
A 4 rr | f TRMB1052 | 19.2
S TRMB1053 | 21.2
TRMB 1054 | 23.2
i
M10x20 725! |
124
15 145
|
Dl (<R N | N1 | N2 | N3 N4 N5 | Lmax
1 12 127 14 15 15875 16 19 - - - - 50 95 100 5 M6x14 28 40
11 12 127 14 15 15875 16 19 - - - - 55 125.7 | 105 5 M6x16 28 40
60A2 11 12 127 14 15 15875 16 19 - - - - 60 75 100 6.5 M5x14 28 40
60AH2 1 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
60B1 1 12 127 14 15 15875 16 19 - - — - 60 85 100 6.5 M5x14 28 40
70A1 11 12 127 14 15 15875 16 19 - - — - 70 85 100 6.5 M6x14 28 40
70AH1 11 12 127 14 15 15875 16 19 - - - - 70 85 100 4 6.5 33 40
70B1 11 12 127 14 15 15875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
80A1 1 12 127 14 15 15875 16 19 - - — - 80 100 100 6.5 M6x16 28 40
80AH1 11 12 127 14 15 15875 16 19 - - - - 80 100 100 4 6.5 33 40
95A 11 12 127 14 15 15875 16 19 - - — - 95 115 100 6.5 M8x18 28 40
95A1 1 12 127 14 15 15875 16 19 22 24 — - 95 115 100 6.5 M8x18 38 50
95B 11 12 127 14 15 15875 16 19 - - - - 95 130 115 6.5 M8x18 28 40
110A 11 12 127 14 15 15875 16 19 - - — - 110 130 115 6.5 M8x18 28 40
110A1 11 12 127 14 15 15875 16 19 22 24 — - 110 130 115 6.5 M8x20 38 50
110B 11 12 127 14 15 15875 16 19 22 24 — — 110 145 120 6.5 M8x20 38 50
110B1 11 12 127 14 15 15875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
130A 11 12 127 14 15 15875 16 19 22 24 - - 130 165 140 6.5 M10x20 38 50
130A1 11 12 127 14 15 15875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60

Please contact us for different motor adapters and input shaft bore.

86 |

1Y)




TR MB 105

L1
L2

FM o Ol b= ] -
Q Q= a
®
%)
9 @
—
b £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
i B 12.7 43 90 98 | M6x15 | M6 315 195 76 12 12.5
14 15 15875 16 48 90 98 | M6x15 | M6 315 19.5 7.6 12 14.5
19 51 90 98 | M6x15 | M6 315 19.5 7.6 12 16.5
22 24 56.5 90 98 | M6x15 | M6 35 23 7.6 12 19
28 67 90 98 | M6x15 | M8 35 23 7.6 14 225
32 71 90 98 | M6x15 | M8 37 25 7.6 16 24.5

N
‘3‘\‘}' ®s = C
. - ) Nm
[arcmin] [m] %  11..127 14..19 22-24 28-32

TR MB 105 2_3
TR MB 105 2_4
TR MB 105 2_5
TR MB 105 2_6
TR MB 105 2_7
TR MB 105 2_10
TR MB 105 3_9
TR MB 105 3_12
TR MB 105 3_15
TR MB 105 3_16
TR MB 105 3_20
TR MB 105 3_25
TR MB 105 3_28
TR MB 105 3_30
TR MB 105 3_35
TR MB 105 3_36
TR MB 105 3_40
TR MB 105 3_50
TR MB 105 3_70
TR MB 105 3_100
TR MB 105 4_48
TR MB 105 4_64
TR MB 105 4_75
TR MB 105 4_80
TR MB 105 4_84
TR MB 105 4_90
TR MB 105 4_120
TR MB 105 4_125
TR MB 105 4_140
TR MB 105 4_150
TR MB 105 4_160
TR MB 105 4_175
TR MB 105 4_200
TR MB 105 4_210
TR MB 105 4_250
TR MB 105 4_280
TR MB 105 4_350
TR MB 105 4_400
TR MB 105 4_500
TR MB 105 4_700
TR MB 105 4_1000

O//o | 87



TR

TR 130

IS 151.2 (TR 130 1)
190.7 (TR 1302)
57.5 230.2 (TR 1303) 69.5
5 15 7
35 N 50 |3
|
| : &
)
=l S = P v
3 — R H i < TR1301 | 12.0
SHSFS IS TR1302 | 155
IR ol et
0|2 = q ~ TR1303 | 185
85 7 [ 15 =8
@110+0.05
20 [ Ll

55A1 ... 180A1

126 (TR1301)
165.5 (TR 130 2)
N5 205 (TR1303) 69.5

% N3 7

10 h9 8
,{\ .50 |3 ﬁ

/‘\}K ) L‘- ‘ =l o
\ pdla] I — 2]
o)+ Zlal = | = e TR1301 | 12,0
\\a N k y NS TR1302 | 155
A== | = S[R TR1303 | 185
. . I
¢ [0z 005 20 =W
SFse
= % [
[
DE% N | Nt | N2 | N3 N4 N5 | Lmax
R

14 15875 16 19 - - - - - - | 555 |1257| 130 | 4 | Méx15 | 395 | 50
14 15875 16 19 - - - - - — | 80 | 100 | 130 | 4 | Mexi5 | 39.5 | 50
14 15875 16 19 22 24 - - - — | 95 | 115 | 130 | 4 | M8x20 | 39.5 | 50
14 15875 16 19 22 24 - - - — | 110 | 130 | 130 | 4 | M8x20 | 39.5 | 50
14 15875 16 19 22 24 - - - — | 110 | 145 | 130 | 65 | M8x20 | 49.5 | 60
14 15875 16 19 22 24 - - - - |1143| 200 | 170 | 55 | M12x25 | 39.5 | 50
14 15875 16 19 22 24 28 32 35 38 | 1143 200 | 170 | 55 | M12x25 | 69.5 | 80
14 15875 16 19 22 24 - - - - | 130 | 165 | 140 | 4 | M10x20 | 39.5 | 50
14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 4 | M10x20 | 49.5 | 60
14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 55 | M14x25 | 49.5 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 69.5 | 80

Please contact us for different motor adapters and input shaft bore.

88 | O/Jo



L1

L3 L2,
72 [
FM - N AR e
S Q- a
7 | Q
(2 ©
Ve
— 0 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 13 1255 | M8x15 M6 40 275 6 20 14.5
19 51 13 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 13 1255 | M8x15 M6 41 285 6 195 19
28 67 13 1255 | M8x15 M8 41 285 6 19.5 225
32 71 13 1255 | M8x15 M8 41 285 6 19.5 245
35 73 13 1255 | M8x15 M8 50 375 11.25 26 26
38 775 13 1255 | M8x15 M8 50 375 11.25 26 28
@ i
D ( ’T:
| I
215 | 400 | 800 | 2100 | 3000 | 5' | 3' | 450 [ 800 |5500|6500| 97 | 525 | 546 | 581 | 7.16
380 | 600 [1100| 2400 | 3500 | 5 | 3' | 45.0 [ 800 |5500|6500| 97 | 3.06 | 326 | 361 | 4.97
380 | 600 [1100| 2900 | 3500 | 5 | 3' | 450 | 800 |5500|6500| 97 | 222 | 242 | 277 | 413
380 | 600 |1100| 2900 | 3500 | &' | 3' | 45.0 | 800 |5500|6500| 97 | 119 | 140 | 1.75 | 3.10
380 | 600 |1100] 3200 | 4000 | 5' | 3' | 450 | 800 [5500|6500| 97 | 147 | 1.68 | 2.03 | 3.38
215 | 400 | 800 | 3200 | 4000 | 5' | 3' | 45.0 | 800 | 5500 6500 | 97 | 1.04 | 125 | 160 | 2.95
215 | 400 | 800 | 2100 | 3000 | &' | 3' | 38.5 | 800 |5500|6500| 94 | 482 | 502 | 537 | 6.72
450 | 700 [1300| 2100 | 3000 | 5 | 3' | 38.5 [ 800 |5500|6500| 94 | 457 | 478 | 513 | 648
450 | 700 [1300| 2100 | 3000 | 5 | 3' | 38.5 [ 800 |5500|6500| 94 | 448 | 469 | 504 | 6.39
450 | 700 [1300| 2400 | 3500 | 5 | 3' | 38.5 | 800 |5500|6500| 94 | 267 | 288 | 323 | 458
450 | 700 [1300| 2900 | 3500 [ 5 | 3' | 38.5 | 800 |5500|6500| 94 | 1.97 [ 218 [ 253 | 3.88
450 | 700 [1300| 2900 | 3500 | 5 | 3' | 38.5 | 800 |5500|6500| 94 | 1.94 | 215 | 250 | 3.85
450 | 700 [1300| 3200 | 4000 | 5 | 3' | 385 [ 800 |5500|6500| 94 | 134 | 155 | 190 | 3.25
215 | 400 | 800 | 3200 | 4000 | 5 | 3' | 385 | 800 |5500|6500| 94 | 100 | 121 | 156 | 2.91
450 | 700 [1300| 3200 | 4000 | 5 | 3 | 38.5 [ 800 |5500|6500| 94 | 1.33 | 153 | 1.88 | 3.24
380 | 600 | 1100] 2900 | 3500 | 5' | 3' | 385 | 800 |5500|6500| 94 | 105 | 126 | 1.61 | 2.96
450 | 700 [1300| 3200 | 4000 | 5 | 3' | 385 | 800 |5500|6500| 94 | 098 | 119 | 154 | 2.89
450 | 700 [1300| 3200 | 4000 | 5 | 3 | 38.5 | 800 |5500|6500| 94 | 0.97 | 118 | 153 | 2.88
450 | 700 [1300| 3200 | 4000 | 5 | 3 | 38.5 | 800 | 5500|6500 | 94 | 0.96 | 117 | 152 | 2.87
215 | 400 | 800 | 3200 | 4000 | 5 | 3' | 38.5 | 800 | 5500|6500 | 94 | 0.96 | 117 | 152 | 2.87
450 | 700 [1300| 2400 | 3500 | 7' | 5' | 30.0 | 800 | 5500|6500 | 91 | 277 | 298 | 333 | 468
450 | 700 [1300| 2400 | 3500 | 7* | 5' | 30.0 | 800 |5500|6500| 91 | 265 | 286 | 321 | 4.56
450 | 700 [1300| 2900 | 3500 | 7* | 5' | 30.0 | 800 |5500|6500| 91 | 203 | 224 | 259 | 3.94
450 | 700 [1300| 2400 | 3500 | 7' | 5 | 30.0 | 800 5500|6500 | 91 | 265 | 285 | 320 | 4.56
450 | 700 [1300| 3200 | 4000 | 7* | 5 | 30.0 | 800 5500|6500 | 91 | 1.37 | 158 | 1.93 | 3.28
215 | 400 | 800 | 3200 | 4000 | 7* | 5' | 30.0 [ 800 |5500|6500| 91 | 1.00 | 120 | 155 | 2.91
450 | 700 [1300| 3200 | 4000 | 7* | 5 | 30.0 | 800 5500|6500 | 91 | 0.99 | 120 | 155 | 2.90
450 | 700 [1300| 2900 | 3500 | 7* | 5' | 30.0 [ 800 |5500|6500| 91 | 1.93 [ 213 | 248 | 3.84
450 | 700 [1300| 3200 | 4000 | 7* | 5' | 30.0 [ 800 |5500|6500| 91 | 1.34 | 154 | 1.89 | 3.25
450 | 700 [1300| 3200 | 4000 | 7* | 5' | 30.0 [ 800 |5500|6500| 91 | 099 [ 120 | 155 | 2.90
450 | 700 [1300]| 3200 | 4000 [ 7* | 5' | 30.0 [ 800 |5500|6500| 91 | 098 [ 1148 [ 153 | 2.89
450 | 700 [1300| 3200 | 4000 | 7* | 5' | 30.0 [ 800 |5500|6500| 91 | 132 | 153 | 1.88 | 3.23
450 | 700 [1300| 3200 | 4000 | 7* | &' | 30.0 [ 800 |5500|6500| 91 | 097 [ 118 | 153 | 2.88
450 | 700 [1300| 3200 | 4000 | 7' | &' | 30.0 | 800 |5500|6500| 91 | 0.99 | 120 | 155 | 2.90
450 | 700 [1300| 3200 | 4000 | 7* | 5 | 30.0 [ 800 |5500|6500| 91 | 097 [ 1148 | 153 | 2.88
450 | 700 [1300| 3200 | 4000 | 7* | &' | 30.0 [ 800 |5500|6500| 91 | 096 | 117 | 152 | 2.87
450 | 700 [1300| 3200 | 4000 | 7' [ 5' | 30.0 | 800 |5500|6500| 91 | 096 | 117 | 152 | 2.87
450 | 700 [1300| 3200 | 4000 | 7* | 5 | 30.0 [ 800 |5500|6500| 91 | 0.96 | 1147 | 152 | 2.87
450 | 700 [1300| 3200 | 4000 | 7* | 5 | 30.0 | 800 |5500|6500| 91 | 0.96 | 117 | 152 | 2.87
450 | 700 [1300| 3200 | 4000 | 7' | 5 | 30.0 | 800 |5500|6500| 91 | 096 | 117 | 152 | 2.87
215 | 400 | 800 | 3200 [ 4000 | 7" [ 5 | 30.0 | 800 5500 (6500] 91 | 0.96 | 1.17 [ 152 | 287
1)) | 89




TR G 130

55A1 ... 180A1

[s2)
P4
[te) 7
z 1.8
10 h9 503
/TR = o
e B | : &
\ G — c
G-+ N b — — B ——— & |3 TRG 1302 | 16.0
o [Noa~ & 2 g =S TRG1303 | 195
® T S 9 TRG 1304 | 225
@110+ 0.05 Sz o0 L M12x20
124 62 292.2 (TR G 130 4) 69.5 |
o
-
D,E% N | Nt | N2 | N3 | N4 | N5 | Lmax
£
55A1 14 15875 16 19 - - - - — _ | 555 1257 130 | 4 | Mex15 | 395 | 50
80A2 14 15875 16 19 - - - — — _ | 8 | 100 | 130 | 4 | Mex15 | 395 | 50
95A1 14 15875 16 19 22 24 - - — _ | 9 | 115 | 130 | 4 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - — — _— | 110 | 130 | 130 | 4 | M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 - - — _ | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
114A0 | 14 15875 16 19 22 24 - - - — | 1143 | 200 | 170 | 55 | M12x25 | 395 | 50
114A 14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 55 | M12x25 | 69.5 | 80
130A 14 15875 16 19 22 24 - - - — | 130 | 165 | 140 | 4 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 —  — | 130 | 165 | 140 | 4 | M10x20 | 495 | 60
180A 14 15875 16 19 22 24 28 32 —  — | 180 | 215 | 190 | 55 | M14x25 | 49.5 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

Please contact us for different motor adapters and input shaft bore.

9 | €1,



TR G 130

@ D1
N B
R NS
D4
@ D2 :
Ds| L5
FM S | 35
@D
D (\— D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 | M8x15 M6 40 275 6 20 145
19 51 113 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 | M8x15 M6 41 285 6 19.5 19
28 67 113 1255 | M8x15 M8 41 28.5 6 19.5 225
32 71 113 1255 | M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 1255 | M8x15 M8 50 375 11.25 26 26
38 77.5 113 1255 | M8x15 M8 50 37.5 11.25 26 28
/I
D| (=
<>
TRG 1302_3 215 | 400 | 800 | 2100 | 3000 | 5 | 3 | 45.0 | 5500 | 6500 | 94 | 7.09 | 7.28 | 7.66 | 10.37
TR G 130 2_4 380 | 600 | 1100 | 2400 | 3500 | 5 | 3' | 45.0 | 5500 | 6500 | 94 | 4.90 | 5.08 | 546 | 8.18
TRG1302 5 380 | 600 | 1100 | 2900 | 3500 | 5 | 3 | 45.0 | 5500 | 6500 | 94 | 4.81 | 4.99 | 5.38 | 8.10
TRG1302_6 380 | 600 | 1100 | 2900 | 3500 | 5 | 3 | 45.0 | 5500 | 6500 | 94 | 4.45 | 4.64 | 5.03 | 7.73
TRG1302_7 380 | 600 | 1100 | 3200 | 4000 | 5 | 3 | 45.0 | 5500 | 6500 | 94 | 4.73 | 4.92 | 5.31 | 8.01
" Ue Sl | 215 | 400 | 800 | 3200 | 4000 | 5' | 3' | 45.0 | 5500 | 6500 | 94 | 4.68 | 4.88 | 526 | 7.97
TRG 1303 9 215 | 400 | 800 | 2100 | 3000 | 5 | 3 | 385 | 5500 | 6500 | 91 | 6.66 | 6.84 | 7.22 | 9.93

TRG1303_12 450 | 700 | 1300 | 2100 | 3000 | 5' 3 38.5 | 5500 | 6500 | 91 6.25 6.45 6.84 9.54
TRG 130 3_15 450 | 700 | 1300 | 2100 | 3000 | &' 3! 38.5 | 5500 | 6500 | 91 6.25 6.44 6.83 9.53
TR G 130 3_16 450 | 700 | 1300 | 2400 | 3500 | &' 3 38.5 | 5500 | 6500 | 91 4.51 4.70 5.08 7.79
TRG1303_20 450 | 700 | 1300 | 2900 | 3500 | &' 3 38.5 | 5500 | 6500 | 91 4.56 5.36 5.75 8.45
TR G 130 3_25 450 | 700 | 1300 | 2900 | 3500 | 5' & 38.5 | 5500 | 6500 | 91 5.13 4.72 5.11 7.82
TR G 130 3_28 450 | 700 | 1300 | 3200 | 4000 | 5' & 38.5 | 5500 | 6500 | 91 4.60 4.79 5.18 7.88
TR G 130 3_30 215 | 400 | 800 | 3200 | 4000 | &' &) 38.5 | 5500 | 6500 | 91 4.64 4.84 5.22 7.93
TR G 130 3_35 450 | 700 | 1300 | 3200 | 4000 | &' 3 38.5 | 5500 | 6500 | 91 4.92 5.10 5.49 8.20
TR G 130 3_36 380 | 600 | 1100 | 2900 | 3500 | &' 3 38.5 | 5500 | 6500 | 91 4.31 4.50 4.89 7.59
TR G 130 3_40 450 | 700 | 1300 | 3200 | 4000 | &' & 38.5 | 5500 | 6500 | 91 4.77 4.96 5.35 8.05
TR G 130 3_50 450 | 700 | 1300 | 3200 | 4000 | &' & 38.5 | 5500 | 6500 | 91 4.76 4.96 5.34 8.05
TR G 1303_70 450 | 700 | 1300 | 3200 | 4000 | &' & 38.5 | 5500 | 6500 | 91 4.60 4.80 5.18 7.89
Jdenelel | 215 | 400 | 800 | 3200 | 4000 | 5 3 38.5 | 5500 | 6500 | 91 4.60 4.80 5.18 7.89
TR G 130 4_48 450 | 700 | 1300 | 2400 | 3500 | 7' b 30.0 | 5500 | 6500 | 89 4.61 4.81 5.18 7.89
TR G 1304_64 450 | 700 | 1300 | 2400 | 3500 | 7' & 30.0 | 5500 | 6500 | 89 4.49 4.68 5.06 7.77
TRG1304_75 450 | 700 | 1300 | 2900 | 3500 | 7' bl 30.0 | 5500 | 6500 | 89 4.62 4.81 5.20 7.91
TR G 130 4_80 450 | 700 | 1300 | 2400 | 3500 | 7' bl 30.0 | 5500 | 6500 | 89 4.49 4.67 5.05 7.77
TRG1304_84 450 | 700 | 1300 | 3200 | 4000 | 7' 5 30.0 | 5500 | 6500 | 89 4.63 4.82 5.21 7.91
TR G 130 4_90 215 | 400 | 800 | 3200 | 4000 | 7' 5 30.0 | 5500 | 6500 | 89 4.64 4.83 5.21 7.93
Qppdereliey g | 450 | 700 | 1300 | 3200 | 4000 | 7' 5' 30.0 | 5500 | 6500 | 89 4.63 4.83 5.21 7.92
Qfpdeleliey il | 450 | 700 | 1300 | 2900 | 3500 | 7 5 30.0 | 5500 | 6500 | 89 4.52 4.70 5.09 7.81
Qpptereliey i | 450 | 700 | 1300 | 3200 | 4000 | 7 5' 30.0 | 5500 | 6500 | 89 4.60 4.78 5.17 7.88
QrpdergeliiiiGi | 450 | 700 | 1300 | 3200 | 4000 | 7 5' 30.0 | 5500 | 6500 | 89 4.63 4.83 5.21 7.92
nseer el Gl ] 450 | 700 | 1300 | 3200 | 4000 | 7' 5' 30.0 | 5500 | 6500 | 89 4.62 4.81 5.19 7.91
QRpdel el | 450 | 700 | 1300 | 3200 | 4000 | 7' 5' 30.0 | 5500 | 6500 | 89 4.58 4.77 5.16 7.86
Qnsdel ey e | 450 | 700 | 1300 | 3200 | 4000 | 7 5' 30.0 | 5500 | 6500 | 89 4.61 4.81 5.19 7.90
Qnpder ey Rl | 450 | 700 | 1300 | 3200 | 4000 | 7 5' 30.0 | 5500 | 6500 | 89 4.63 4.83 5.21 7.92
Qnpderaeliiielil | 450 | 700 | 1300 | 3200 | 4000 | 7' 5' 30.0 | 5500 | 6500 | 89 4.61 4.81 5.19 7.90
Apder el | 450 | 700 | 1300 | 3200 | 4000 | 7 5 30.0 | 5500 | 6500 | 89 4.60 4.80 5.18 7.89
e el el | 450 | 700 | 1300 | 3200 | 4000 | 7' 5' 30.0 | 5500 | 6500 | 89 4.60 4.80 5.18 7.89
el | 450 | 700 | 1300 | 3200 | 4000 | 7 5 30.0 | 5500 | 6500 | 89 4.60 4.80 5.18 7.89
el S| 450 | 700 | 1300 | 3200 | 4000 | 7 5 30.0 | 5500 | 6500 | 89 4.60 4.80 5.18 7.89
Aasergelna il | 450 | 700 | 1300 | 3200 | 4000 | 7 5' 30.0 | 5500 | 6500 | 89 4.60 4.80 5.18 7.89
el 215 | 400 | 800 | 3200 | 4000 | 7' 5' 30.0 [ 5500 | 6500 | 89 4.60 4.80 5.18 7.89

CfJO I 91




TR

TR MB 130

55A1 ... 180A1

37.5 100
@75 \
I
@172 © 4206 ©
i N5 ® ‘
7. : N3 ‘
SEN | i ! 1 | 0
. o ‘ _ ) . ‘ o g
i & & I @ ; @
e \ 4
o N Zlao -/ ] N N =1\ I
2 T | st *V T SRR
‘ [t7) | R
gle |3 &y e
N | B
< - .
| [ i T
e © b
42.5 100 @ 375 ©
. @172
233.5 (TRMB 130 2)
273 (TRMB1303)
312.5 (TRMB 130 4) ‘ 15 Nm
| @47 | ——
\
TR MB 130 2 54
Q9 | v
® + — 3 TRMB 130 3 58
| © TR MB 130 4 61
o
(o))
i
M12x22 . 875
145
20 175
DI% N | N1 | N2 | N3 N4 N5 | Lmax
7
55A1 14 15.875 16 19 - - — - — - 555 | 125.7 130 4 M6x15 39.5 50
80A2 14 15.875 16 19 - - - - - - 80 100 130 4 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 - - - - 95 115 130 4 M8x20 39.5 50
110A1 14 15875 16 19 22 24 - - — — 110 130 130 4 M8x20 39.5 50
110B1 14 15875 16 19 22 24 - — — — 110 145 130 6.5 M8x20 49.5 60
114A0 14 15875 16 19 22 24 - - - - 114.3 200 170 55 M12x25 39.5 50
114A 14 15875 16 19 22 24 28 32 35 38 114.3 200 170 5.5 M12x25 69.5 80
130A 14 15875 16 19 22 24 - - - - 130 165 140 4 M10x20 39.5 50
130A1 14 15875 16 19 22 24 28 32 - - 130 165 140 4 M10x20 | 49.5 60
180A 14 15875 16 19 22 24 28 32 - - 180 215 190 5.5 M14x25 | 49.5 60
180A1 14 15.875 16 19 22 24 28 32 35 38 180 215 190 5.5 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

92 |

1Y)




TR MB 130

1. — T
L3 L2 ; ;
I o |l e
1
FM SRR = . I R
Q Q = a |
S [ A )
L4
|
an
D| (£ 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 125.5 M8x15 M6 40 27.5 6 20 14.5
19 51 113 125.5 M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 375 11.25 26 26
38 77.5 113 125.5 M8x15 M8 50 37.5 11.25 26 28

‘Tj . P .

Nm
[min-1] [arcmin] ’ml 9 14 ...19 22-24 28-32 35-38

TR MB 130 2_3
TR MB 130 2_4
TR MB 130 2_5
TR MB 130 2_6
TR MB 130 2_7
TR MB 130 2_10
TR MB 130 3_9
TR MB 130 3_12
TR MB 130 3_15
TR MB 130 3_16
TR MB 130 3_20
TR MB 130 3_25
TR MB 130 3_28
TR MB 130 3_30
TR MB 130 3_35
TR MB 130 3_36
TR MB 130 3_40
TR MB 130 3_50
TR MB 130 3_70
TR MB 130 3_100
TR MB 130 4_48
TR MB 130 4_64
TR MB 130 4_75
TR MB 130 4_80
TR MB 130 4_84
TR MB 130 4_90
TR MB 130 4_120
TR MB 130 4_125
TR MB 130 4_140
TR MB 130 4_150
TR MB 130 4_160
TR MB 130 4_175
TR MB 130 4_200
TR MB 130 4_210
TR MB 130 4_250
TR MB 130 4_280
TR MB 130 4_350
TR MB 130 4_400
TR MB 130 4_500
TR MB 130 4_700
TR MB 130 4_1000

O/Jo | 93



TR

TR 160

i 155.2 (TR 160 1)
IS (@i=6, 36) 194.7 (TR 160 2)
61.5 234.2 (TR 160 3) 98
2.25 15 14
50 | 70 | 6
‘\
=iy = ﬁ
Syl = ] H i oL TR1601 | 17.0
SISH N TR1602 | 21
q *‘ i = TR1603 | 28
<
= T 6 =28 21302005
18 | 125
s 130 (TR1601)
169.5 (TR 160 2)
N5 209 (TR1603) 98
N3 14
2
\
L )
\ - = e
= o TR1601 | 17.0
B TR1602 | 21
o w| <= —
~ = ST TR1603 | 28
h Y
{ [@130x00s 1l =8
Sd5o
T
| B
DE% N | N1 | N2 | N3 N4 N5 | Lmax
&
14 15875 16 19  — = = = = — | 555 | 125.7 | 140 5 M6x15 | 39.5 | 50
14 15875 16 19 - - - - - - 80 100 | 140 5 M6x15 | 39.5 | 50
14 15875 16 19 22 24 - = = = 95 15 | 140 5 M8x20 | 39.5 | 50
14 15875 16 19 22 24 - - - - 110 | 130 | 140 5 M8x20 | 39.5 | 50
14 15875 16 19 22 24 - = = = 10 | 145 | 140 | 65 | M8x20 | 49.5 | 60
14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 65 | M12x25 | 69.5 | 80
14 15875 16 19 22 24 - = = = 130 | 165 | 140 5 M10x20 | 39.5 | 50
14 15875 16 19 22 24 28 32 - - 130 | 165 | 140 5 M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - = 180 | 215 | 190 | 55 | M14x25 | 49.5 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 69.5 | 80

Please contact us for different motor adapters and input shaft bore.

94 | €1,



L1

L2
I
FM a a o= 1
Q SIS p
Q
©
Y lLa
/I
D \ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 27.5 6 20 14.5
19 51 130 142.5 M8x16 M6 40 27.5 6 20 16.5
22 24 56.5 130 142.5 M8x16 M6 41 28.5 6 19.5 19
28 67 130 142.5 M8x16 M8 41 28.5 6 19.5 22.5
32 71 130 142.5 M8x16 M8 41 28.5 6 19.5 24.5
35 73 130 142.5 M8x16 M8 50 37.5 11.25 26 26
38 77.5 130 142.5 M8x16 M8 50 37.5 11.25 26 28

350 | 660 |1200| 1900 | 3000 | 5' 3 90 1200 | 6500 | 7500 | 97 8.39 8.60 8.95 10.30

500 | 750 | 1400| 2200 | 3500 | &' 3 90 1200 | 6500 | 7500 | 97 4.68 4.89 5.24 6.59

500 | 750 [1400| 2500 | 3500 | &' 3 90 1200 | 6500 | 7500 | 97 3.28 3.49 3.84 5.19

500 | 750 | 1400| 2500 | 3500 | &' 3' 90 1200 | 6500 | 7500 | 97 1.32 1.53 1.88 3.23

500 | 750 | 1400| 3000 | 4000 | &' 3' 90 1200 | 6500 | 7500 | 97 2.03 2.24 2.59 3.94

350 | 660 |1200| 3000 | 4000 | 5' 3' 90 1200 | 6500 | 7500 | 97 1.33 1.53 1.88 3.24

350 | 660 |1200| 1900 | 3000 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 7.51 7.72 8.07 9.42

700 | 950 |1800| 1900 | 3000 | &' 3 83.5 | 1200 | 6500 | 7500 | 94 7.10 7.30 7.65 9.01

700 | 950 | 1800| 1900 | 3000 | &' 3' 83.5 | 1200 | 6500 | 7500 | 94 6.94 7.15 7.50 8.85

700 | 950 | 1800| 2200 | 3500 | &' 3 83.5 | 1200 | 6500 | 7500 | 94 3.95 4.16 4.51 5.86

700 | 950 | 1800| 2500 | 3500 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 2.82 3.02 3.37 4.73

700 | 950 |1800| 2500 | 3500 | &' 3 83.5 | 1200 | 6500 | 7500 | 94 2.76 2.97 3.32 4.67

700 | 950 | 1800| 3000 | 4000 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 1.79 2.00 2.35 3.70

350 | 660 |1200| 3000 | 4000 | &' 3 83.5 | 1200 | 6500 | 7500 | 94 1.25 1.46 1.81 3.16

700 | 950 | 1800| 3000 | 4000 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 1.77 1.97 2.32 3.68

500 | 750 | 1400| 2500 | 3500 | &' 3 83.5 | 1200 | 6500 | 7500 | 94 1.06 1.27 1.62 2.97

700 | 950 | 1800| 3000 | 4000 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 1.21 1.42 1.77 3.12

700 | 950 | 1800| 3000 | 4000 | &' 3 83.5 | 1200 | 6500 | 7500 | 94 1.20 1.40 1.75 3.1

700 | 950 | 1800| 3000 | 4000 | &' 3' 83.5 | 1200 | 6500 | 7500 | 94 1.18 1.39 1.74 3.09

350 | 660 | 1200( 3000 | 4000 | &' 3' 83.5 | 1200 | 6500 | 7500 | 94 1.18 1.38 1.73 3.09

700 | 950 | 1800| 2200 | 3500 | 7' 5 60 1200 | 6500 | 7500 | 91 4.10 4.31 4.66 6.01
700 | 950 |1800| 2200 | 3500 | 7' 5! 60 1200 | 6500 | 7500 | 91 3.90 4.1 4.46 5.81
700 | 950 | 1800| 2500 | 3500 | 7' 5' 60 1200 | 6500 | 7500 | 91 2.91 3.1 3.46 4.82
700 | 950 [1800| 2200 [ 3500 | 7' 5' 60 1200 | 6500 | 7500 | 91 3.90 4.11 4.46 5.81
700 | 950 |1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.84 2.05 2.40 3.75
350 | 660 |1200| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.24 1.45 1.80 3.15
700 | 950 |1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.23 1.44 1.79 3.14
700 | 950 |[1800| 2500 | 3500 | 7' 5' 60 1200 | 6500 | 7500 | 91 2.74 2.95 3.30 4.65
700 | 950 |1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.78 1.98 2.33 3.69
700 | 950 |1800| 3000 | 4000 | 7' 5! 60 1200 | 6500 | 7500 | 91 1.23 1.44 1.79 3.14
700 | 950 | 1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.20 1.41 1.76 3.1
700 | 950 | 1800| 3000 | 4000 | 7' 5! 60 1200 | 6500 | 7500 | 91 1.76 1.96 2.31 3.67
700 | 950 | 1800| 3000 | 4000 | 7' 5 60 1200 | 6500 | 7500 | 91 1.20 1.41 1.76 3.1
700 | 950 | 1800| 3000 | 4000 | 7' 5! 60 1200 | 6500 | 7500 | 91 1.23 1.44 1.79 3.14
700 | 950 | 1800| 3000 | 4000 | 7' 5 60 1200 | 6500 | 7500 | 91 1.19 1.40 1.75 3.10
700 | 950 | 1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.18 1.39 1.74 3.09
700 | 950 |1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.18 1.39 1.74 3.09
700 | 950 | 1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.18 1.38 1.73 3.09
700 | 950 | 1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.18 1.38 1.73 3.09

700 | 950 | 1800| 3000 | 4000 | 7' 5' 60 1200 | 6500 | 7500 | 91 1.18 1.38 1.73 3.09

350 | 660 |1200( 3000 | 4000 [ 7' 5' 60 1200 | 6500 | 7500 | 91 1.18 1.38 1.73 3.09

O(:)O I 95



TR G 160

55A1 ... 180A1

0
z
12h9
/TR = <
ENR I = )
\
)1 [ |2 TRG1602 | 24
N . 0 NS
o [N ——= N QE™ TRG1603 | 28
Q —— ~ =
! z § TRG1604 | 34
218.2
2130+ 005 2102maiwy M12x25
137 62 297.2 (TR G 160 4) 98 |
-
[
DE% N | Nt | N2 | N3 N4 N5 | Lmax
IEG,
55A1 14 15875 16 19 - - - - - — | 555 1257 | 140 | 5 | Meéx15 | 395 | 50
80A2 | 14 15875 16 19 - - - — — — | 80 | 100 | 140 | 5 | Mexi5 | 395 | 50
95A1 14 15875 16 19 22 24 - - - - | 95 | 115 | 140 | 5 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - - - — | 110 | 130 | 140 | 5 | M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 - - — — | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
114A | 14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 65 | M12x25 | 69.5 | 80
130A | 14 15875 16 19 22 24 - - - — | 130 | 165 | 140 | 5 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 5 | M10x20 | 49.5 | 60
180A | 14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

Please contact us for different motor adapters and input shaft bore.

9% | €1,



TR G 160

@ D1
WO N3
& N
D4
2 D2 -
Ds LS
FM sl =S 9o
@D]!
ap
D (\- D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

14 15.875 16 48 113 125.5 M8x15 M6 40 27.5 6 20 14.5

19 51 113 125.5 M8x15 M6 40 27.5 6 20 16.5

22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 19.5 19

28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 22.5

32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 24.5

35 73 113 125.5 M8x15 M8 50 37.5 11.25 26 26

38 77.5 113 125.5 M8x15 M8 50 37.5 11.25 26 28

71
Dl (¢~
&

TRG1602_3 660 | 1200 | 1900 | 3000 | &' 3 90 6500 | 7500 | 94 | 10.23 | 10.42 | 10.80 | 13.51
TRG 160 2_4 750 | 1400 | 2200 | 3500 | &' 3 90 6500 | 7500 | 94 6.52 6.71 7.09 9.80
TRG 160 2_5 750 | 1400 | 2500 | 3500 | &' 3' 90 6500 | 7500 | 94 5.87 6.06 6.45 9.16
TRG1602_7 750 | 1400 | 3000 | 4000 | &' 3 90 6500 | 7500 | 94 5.29 5.48 5.87 8.57
TRG1602_10 660 | 1200 | 3000 | 4000 | &' 3' 90 6500 | 7500 | 94 4.97 5.16 5.54 8.25
TRG 160 3_9 660 | 1200 | 1900 | 3000 | &' 3 83.5 | 6500 | 7500 | 91 9.35 9.54 9.92 | 12.63
TR G 160 3_12 950 | 1800 | 1900 | 3000 | &' 3 83.5 | 6500 | 7500 | 91 8.78 8.97 9.36 | 12.07
TR G 160 3_15 950 | 1800 | 1900 | 3000 | &' 3' 83.5 | 6500 | 7500 | 91 8.71 8.90 9.29 11.99
TR G 160 3_16 950 | 1800 | 2200 | 3500 | &' 3 83.5 | 6500 | 7500 | 91 5.79 5.98 6.36 9.07
TR G 160 3_20 950 | 1800 | 2500 | 3500 | &' 3 83.5 | 6500 | 7500 | 91 5.41 6.20 6.59 9.30
TR G 160 3_25 950 | 1800 | 2500 | 3500 | &' 3 83.5 | 6500 | 7500 | 91 5.95 5.54 5.93 8.64
TR G 160 3_28 950 | 1800 | 3000 | 4000 | &' 3 83.5 | 6500 | 7500 | 91 5.05 5.24 5.63 8.33
TR G 160 3_30 660 | 1200 | 3000 | 4000 | &' 3 83.5 | 6500 | 7500 | 91 4.89 5.09 5.47 8.18
TR G 160 3_35 950 | 1800 | 3000 | 4000 | &' 3 83.5 | 6500 | 7500 | 91 5.36 5.54 5.93 8.64
TR G 160 3_40 950 | 1800 | 3000 | 4000 | &' 3 83.5 | 6500 | 7500 | 91 5.00 5.19 5.58 8.28
TR G 160 3_50 950 | 1800 | 3000 | 4000 | &' 3 83.5 | 6500 | 7500 | 91 4.99 5.18 5.56 8.27
TR G 160 3_70 950 | 1800 | 3000 | 4000 | &' 3 83.5 | 6500 | 7500 | 91 4.82 5.02 5.40 8.11
TR G 160 3_100 660 | 1200 | 3000 | 4000 | &' 3 83.5 | 6500 | 7500 | 91 4.82 5.01 5.39 8.10
TR G 160 4_48 950 | 1800 | 2200 | 3500 | 7' 5' 60 6500 | 7500 | 89 5.94 6.13 6.53 9.22
TR G 160 4_64 950 | 1800 | 2200 | 3500 | 7' 5 60 6500 | 7500 | 89 5.74 5.93 6.31 9.02
TR G 1604_75 950 | 1800 | 2500 | 3500 | 7' 5' 60 6500 | 7500 | 89 5.50 5.68 6.07 8.79
TR G 160 4_80 950 | 1800 | 2200 | 3500 | 7' 5' 60 6500 | 7500 | 89 5.74 5.93 6.31 9.02
TR G 160 4_84 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 5.10 5.29 5.68 8.38
TR G 160 4_90 660 | 1200 | 3000 | 4000 | 7 5' 60 6500 | 7500 | 89 4.88 5.08 5.46 8.17
TR G 160 4_120 950 | 1800 | 3000 | 4000 | 7 5' 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16
TR G 160 4_125 950 | 1800 | 2500 | 3500 | 7' 5' 60 6500 | 7500 | 89 5.33 5.52 5.91 8.62
TR G 160 4_140 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 5.04 5.22 5.61 8.32
TR G 160 4_150 950 | 1800 | 3000 | 4000 | 7 5' 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16
TR G 160 4_160 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 4.84 5.04 5.42 8.13
TR G 160 4_175 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 5.02 5.20 5.59 8.30
TR G 160 4_200 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 4.84 5.04 5.42 8.13
TR G 160 4_210 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16
TR G 160 4_250 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 4.83 5.03 5.41 8.12
TR G 160 4_280 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 4.82 5.02 5.40 8.1
TR G 160 4_350 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 | 4.82 2.05 5.40 8.1
TR G 160 4_400 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 4.82 5.01 5.39 8.1
TR G 160 4_500 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 | 4.82 5.01 5.39 8.1
TR G 160 4_700 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 | 4.82 5.01 5.39 8.11
TR G 160 4_1000 660 | 1200 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 | 4.82 5.01 5.39 8.11

CfJO I 97



TR

TR MB 160

55A1 ... 180A1 375 100
a75 |
172 0 F42G6 o
N5 © el -
7 ‘ N3 A= ]
oo —& | 2 : e || S
D Ix -
o N Za | | o oN| < o
e \ | \ s ﬁ*’y ’’’’’’’’’ T B R J & &
o é% —— é‘ N & I &
I | |
< v L
| Lmax LJ‘,,LL
B — P o —
425 100 S 2 @75 ©
@172 —
237.5 (TRMB 160 2)
277 (TRMB 160 3)
316.5 (TR MB 160 4) 15 Nm
D 47 | e—
3 1] - B o g TR MB 160 2 59
- I ® TRMB 1603 | 63.5
- © TRMB 1604 | 70.5
S
| j
M12x22 L. 87.5_
145
20 175
| B
DE% N | Nt | N2 | N3 | N& | N5 | Lmax
S
55A1 14 15.875 16 19 - - - - - - 55.5 | 125.7 140 5 M6x15 39.5 50
80A2 14 15875 16 19 - - - - - - 80 100 140 5 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 — - — — 95 115 140 5 M8x20 39.5 50
110A1 14 15875 16 19 22 24 - - - - 110 130 140 5 M8x20 39.5 50
110B1 14 15875 16 19 22 24 - - - - 110 145 140 6.5 M8x20 49.5 60
114A 14 15875 16 19 22 24 28 32 35 38 114.3 | 200 170 6.5 M12x25 69.5 80
130A 14 15875 16 19 22 24 - - - - 130 165 140 ) M10x20 | 39.5 50
130A1 14 15875 16 19 22 24 28 32 - - 130 165 140 5 M10x20 | 49.5 60
180A 14 15875 16 19 22 24 28 32 - - 180 215 190 5.5 M14x25 | 49.5 60
180A1 14 15875 16 19 22 24 28 32 35 38 180 215 190 5.5 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

98 | €1,



TR MB 160

L1
L2
[
FM o St — -
Q Q= a
Q
%)
'l
b X D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15875 16 48 130 1425 | M8x16 M6 40 275 6 20 145
19 51 130 1425 | M8x16 M6 40 275 6 20 16.5
22 24 56.5 130 1425 | M8x16 M6 41 285 6 19.5 19
28 67 130 1425 | M8x16 M8 41 285 6 19.5 225
32 71 130 1425 | M8x16 M8 41 285 6 19.5 245
35 73 130 1425 | M8x16 M8 50 375 11.25 26 26
38 775 130 1425 | M8x16 | M8 50 375 11.25 26 28

Ps Ct

o [amin
[arcmin] e
TR MB 160 2_3
TR MB 160 2_4
TR MB 160 2_5
TR MB 160 2_6
TR MB 160 2_7
TR MB 160 2_10
TR MB 160 3_9
TR MB 160 3_12
TR MB 160 3_15
TR MB 160 3_16
TR MB 160 3_20
TR MB 160 3_25
TR MB 160 3_28
TR MB 160 3_30
TR MB 160 3_35
TR MB 160 3_36
TR MB 160 3_40
TR MB 160 3_50
TR MB 160 3_70
TR MB 160 3_100
TR MB 160 4_48
TR MB 160 4_64
TR MB 160 4_75
TR MB 160 4_80
TR MB 160 4_84
TR MB 160 4_90
TR MB 160 4_120
TR MB 160 4_125
TR MB 160 4_140
TR MB 160 4_150
TR MB 160 4_160
TR MB 160 4_175
TR MB 160 4_200
TR MB 160 4_210
TR MB 160 4_250
TR MB 160 4_280
TR MB 160 4_350
TR MB 160 4_400
TR MB 160 4_500
TR MB 160 4_700
TR MB 160 4_1000

O/Jo I 99



TR

55A1 ... 180A1

158.7 (TR 190 1)
210.4 (TR 190 2)

- - - - - - 95 115 140 M8x20 39.5 50
14 16 19 22 24 - - - - - - 110 130 140 M8x20 39.5 50
14 16 19 22 24 - - - - - - 110 145 140 6.5 M8x20 49.5 60
14 16 19 22 24 28 32 35 38 42 45 48 | 1143 | 200 170 6.5 M12x25 | 69.5 80

14 16 19 22 24

a o g o

N5  262.1 (TR 190 3) 96
L N4
N3 2
] =N
60 | 11 B
TS ,//\\ &
@ = = NN
8 o |2 W& TR1901 | 25
QS W TR1902 | 29
<| € O\&\ ~ B
5 By R~ ——" TR 190 3 34
15 Q N2
2 N1
b 1R N N1 | N2 | N3 N4 N5 | Lmax
S
14 16 19 - - - - - - - _— _ |55 1257 140 M6x15 | 39.5 | 50
14 16 19 - - - - - — | 80 | 100 | 140 M6x15 | 39.5 | 50

14 16 19 22 24 - - - - - - - 130 165 140 5 M10x20 | 39.5 50
14 16 19 22 24 28 32 - - - - - 130 165 140 5 M10x20 | 49.5 60
14 16 19 22 24 28 32 - - - - — 180 | 215 190 5.5 M14x25 | 49.5 60

14 16 19 22 24 28 32 35 38 42 45 48 | 180 | 215 190 5.5 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

FM
(o]
L3 © 7 < L2
Q o = =
H ]

- 9

al i_iL 3 =1 I B

Q Q 7 a

! Q|
Q‘o |H
L4
L1
T
D (\f D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

14 16 48 130 1425 M8x14 M6 455 27.5 6 20 145
19 51 130 1425 M8x14 M6 455 27.5 6 20 16.5
22 24 56.5 130 1425 M8x14 M6 47 29 6 20 19
28 67 130 1425 M8x14 M8 47 29 6 20 225
32 71 130 1425 M8x14 M8 47 29 6 20 24.5
35 73 130 1425 M8x14 M8 54.5 36.5 6 25 26
38 77.5 130 1425 M8x14 M8 54.5 36.5 6 25 28
42 92 130 1425 M8x14 M10 60.5 40 6 25 33
45 95 130 1425 M8x14 M10 60.5 40 6 25 33
48 97 130 1425 M8x14 M10 60.5 40 6 25 33

100 | O(:)O



TR1901_3
TR1901_4
TR1901_5
TR1901_6
TR1901_7
TR 190 1_10
TR1902_9
TR 190 2_12
TR 190 2_15
TR 190 2_16
TR 190 2_20
TR 190 2_25
TR 190 2_28
TR 190 2_30
TR 190 2_35
TR 190 2_36
TR 190 2_40
TR 190 2_50
TR 190 2_70
TR 190 2_100
TR 190 3_48
TR 190 3_64
TR1903_75
TR 190 3_80
TR 190 3_84
TR 190 3_90
TR 190 3_120
TR 190 3_125
TR 190 3_140
TR 190 3_150
TR 190 3_160
TR 190 3_175
TR 190 3_200
TR 190 3_210
TR 190 3_250
TR 190 3_280
TR 190 3_350
TR 190 3_400
TR 190 3_500
TR 190 3_700

TR 190 3_1000 pslo0)

Mh2 Ma2 Mp2 n1 [nimax Qs Qg Ct R2maxAz2max M N
L&

[Nm] [Nm] [Nm] [min-T] [min-T]  [arcmin] [%} NN [Nl % 14..24 28-32 35-35 42 45-48
500 | 800 |1400| 1500 | 2500 | &' 3 130 |14000|15000( 97 | 24.20 | 24.88 | 25.65 | 29.30 | 29.90
700 | 950 |1800| 2100 | 3000 | 5' 3' 130 |14000|15000( 97 13.41 14.09 14.85 | 1851 | 19.11
700 | 950 |1800| 2300 | 3000 | &' 3' 130 |14000|15000( 97 9.32 10.00 10.77 | 14.42 | 15.02
700 | 950 [1800| 2300 | 3000 | &' 3' 130 |14000|15000( 97 2.88 3.56 4.33 7.98 8.58
700 | 950 |1800| 2900 | 3500 | 5' 3' 130 |14000(15000| 97 5.68 6.36 713 10.78 | 11.38
500 | 800 [1400| 2900 | 3500 | &' 3 130 [14000({15000| 97 3.57 4.25 5.02 8.67 9.27
500 | 800 [1400| 1500 | 2500 | &' 3 100 [14000({15000| 94 | 23.23 | 23.91 2467 | 28.33 | 28.93
1000|1200 (2200| 1500 | 2500 | &' 83 100 (14000{15000( 94 | 22.03 | 22.71 23.48 | 2713 | 27.73
1000 1200(2200| 1500 | 2500 | &' 3 100 ([14000|15000( 94 | 21.58 | 22.25 | 23.02 | 26.68 | 27.27
1000 1200(2200| 2100 | 3000 | 5' B} 100 [14000({15000| 94 12.19 | 12.86 13.63 | 17.29 | 17.89
1000 1200(2200| 2300 | 3000 | 5' 3 100 [14000({15000| 94 8.54 9.22 9.98 13.64 | 14.24
1000|1200 (2200| 2300 | 3000 | &' 3' 100 [14000({15000| 94 8.37 9.05 9.82 13.48 | 14.07
1000|1200 |2200| 2900 | 3500 | 5' 3' 100 [14000({15000( 94 5.28 5.96 6.73 10.38 | 10.98
500 | 800 1400 2900 | 3500 | 5' 3 100 [14000({15000( 94 3.48 4.16 4.93 8.58 9.18
1000|1200 |2200| 2900 | 3500 | 5' 3 100 [14000({15000| 94 5.20 5.87 6.64 10.30 | 10.90
700 | 950 (1800(| 2300 | 3000 | &' 3 100 [14000|15000| 94 2.18 2.86 3.63 7.28 7.88
1000|1200 (2200 2900 | 3500 | &' 83 100 [14000|15000| 94 3.37 4.05 4.82 8.48 9.07
1000( 1200|2200| 2900 | 3500 | 5' 3' 100 |14000|15000( 94 3.33 4.01 4.78 8.44 9.03
1000| 1200|2200 2900 | 3500 | &' 8} 100 [14000|15000| 94 3.30 3.97 4.74 8.40 9.00
500 | 800 1400 2900 | 3500 | &' 3 100 [14000|15000| 94 3.28 3.95 4.72 8.38 8.98
1000| 1200(2200( 2100 | 3000 | 7' 5' 90 14000( 15000 91 12.73 | 13.40 1417 | 17.83 | 18.43
1000|1200 2200( 2100 | 3000 | 7' 5' 90 1400015000 91 12.10 | 12.78 13.55 | 17.21 | 17.80
1000|1200 2200( 2300 | 3000 7' 5' 90 14000(15000| 91 8.86 9.54 10.31 | 13.97 | 14.56
1000(1200|2200| 2100 | 3000 | 7' 5' 90 14000(15000| 91 12.09 | 12.76 13.53 | 17.19 | 17.79
1000 (1200|2200| 2900 | 3500 | 7' 5' 90 14000({15000| 91 5.46 6.13 6.90 10.56 | 11.16
500 | 800 |1400| 2900 | 3500 | 7' 5' 90 14000({15000| 91 3.47 4.15 4.92 8.57 9.17
1000 (1200|2200| 2900 | 3500 | 7' 5' 90 14000({15000| 91 3.46 4.14 4.91 8.56 9.16
1000 (1200|2200| 2300 | 3000 | 7' 5 90 14000(15000| 91 8.34 9.01 9.78 13.44 | 14.04
1000 1200(2200| 2900 | 3500 | 7' 53 90 14000(15000| 91 5.25 5.92 6.69 10.35 | 10.95
1000 1200(2200| 2900 | 3500 | 7' & 90 14000(15000| 91 3.46 413 4.90 8.56 9.15
1000|1200 (2200| 2900 | 3500 | 7' & 90 14000|15000| 91 3.36 4.04 4.81 8.46 9.06
1000 1200(2200| 2900 | 3500 | 7' 5' 90 14000(15000| 91 5.18 5.85 6.62 10.28 | 10.88
1000 1200(2200| 2900 | 3500 | 7' 5' 90 14000(15000| 91 3.36 4.03 4.80 8.46 9.06
1000 1200(2200| 2900 | 3500 | 7' 5' 90 14000(15000| 91 3.45 413 4.90 8.55 9.15
1000 1200(2200| 2900 | 3500 | 7' 5' 90 14000{15000( 91 3.32 4.00 4.77 8.42 9.02
1000|1200 2200| 2900 | 3500 | 7' o 90 14000(15000| 91 3.29 3.97 4.74 8.39 8.99
1000 1200(2200| 2900 | 3500 | 7' 5' 90 14000(15000( 91 3.29 3.97 4.74 8.39 8.99
1000|1200 (2200| 2900 | 3500 | 7' & 90 14000( 15000 91 3.27 3.95 4.72 8.38 8.97
1000|1200 (2200 2900 | 3500 | 7' & 90 14000{ 15000 91 3.27 3.95 4.72 8.38 8.97
1000|1200 (2200 2900 | 3500 | 7' & 90 14000( 15000 91 3.27 3.95 4.72 8.38 8.97

800 | 1400| 2900 | 3500 | 7' 5' 90 14000( 15000 91 3.27 3.95 4.72 8.38 8.97

O/Jo 1 101




TR

5.3.1 MACHINE SHAFT

Shaft of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to
consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).
The number and size of relative tapped holes at shaft end depend on application requirements.

MB °
B1 B2
S
0.8 08 7\15°
~ 9] (32} <t
< < < <
A1 A2 A3 A4 B B1 B2 S
TR MB 080 225 20 h7 18 20 h7 178 50 90
TR MB 105 240 32 h7 30 32h7 205 60 115 1
TR MB 130/160 250 42 h7 40 42 h7 259 70 140

102 | O(:)O



PERFORMANCE LINE

MP SERIES

The MP series is characterized by a wide range of
torque and multiple sizes, great modularity due to

‘ multiple design configurations a wide ratios range and
] different optimized lubrications ensuring high reliability
4 and the most fitting response to different applications
d requirements.

MAIN FEATURES MAIN OPTIONS
+ Nominal output torque (Nm) + Design versions OTHER DESIGN
VERSIONS

ﬁ:};
12-1000 D |-| - K/G version

+ Torsional backlash (arcmin)

:'—"‘).

WITH INPUT | WITH OUTPUT
10-17 COAXIAL | RIGHT-ANGLE | RIGHT-ANGLE a &=
+ Torsional stiffness (Nm/arcmin) - Input versions

k|

+ Max tilting moment (Nm)

o < WITOHgUT
16 - 1683 A,\Iggg’TER LSIHDAIEEUT A,\IgAETER + MB version
+ Output shafts versions : - i
PROTECTION CLASS P R Y
- IP65 ﬂ | ﬂ | i J

SMOOTH L

FRAME SIZES KEYLESS KEYED .
053 .
+ Service type
060
080
s1 S5 MAIN BENEFITS
105
+ Lubrication + Wide torgue range
130 + High overload capacity
+ Great flexibility thanks
160 STANDARD | FOOD GRADE to a wide range of gear
LUBRICATION | LUBRICATION . ; :
ratios and multiple design
190 - Bearings versions configurations

STANDARD | REINFORCED

1) 103



6 FEATURES OF MP SERIES

Planetary gear units of the MP series belong to a range of low backlash drives very broad and complete as far as transmissible torque, gear
ratios and torsional backlash.

All units are generously proportioned to run quietly and provide a long service life without maintenance requirements.

Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available in
a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash:
1-stage units: standard ®s < 15’; reduced ¥R < 10’
2-stage units: standard ¢s < 15’; reduced R < 10’
3-stage units (G and MB only): standard ¥R < 15’; reduced ¥R < 10’
3-stage units: standard ¢s < 17’; reduced ¥R < 12’
4-stage units (G and MB only): standard ¢s < 17’; reduced ¥R < 12’
* Ahigh IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.
* Fluoroelastometer oils seals are supplied for S1 duty.
* Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-'; i=10.
¢ Bearings suitably rated for an average service life of 20,000 hours under nominal operating conditions. The following chart shows the
types of bearings for the output shaft.

MP 053 MP 060 MP 080 MP 105 MP 130 MP 160 MP 190

= 0 g g9 g B B B
" 5B

Output shaft max. loading capacity
[N] 16000
15000
14000
14000
12000
10000
8000 7500
6500 6500
6000 5500
4000
4000 3800
2000 1300 1400 15001600
0 4
MP053SB  MPO060SB  MP08OSB  MPO08OHB MP105SB  MP105HB  MP130SB  MP160SB  MP 190 SB
D R2 max . A2 max

104 | O/jo



¢ Wide range of adapter flanges matching the most popular brands of motors.

Available motor shaft bores

MP 190 |

MP 160 | |

MP 130 | |

MP 105 |

MP0g0 | |

MP 060 |

MP 053 |

6‘ 7 8 9‘10 1112 ‘ 14 h6 17 19‘ 22 24 28 32 35 38 42 45 48
6.35 9.52 12.7 15.875 19.05

o Lubrication optmized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty MP 053 - MP 060 MP 080 ... MP 190 oil seals
$1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
NLGI grease consistency 00
S5 (intermittent) NLGI grease consistency 00 NBR

¢ Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

¢ Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque  Mn2 [Nm]
m 34,56 |79 11215 16|20 | 25|28 | 30 | 35 | 36 | 40 | 45 |48 50 60 64 |70 | 75 | 80 | 81 | 84 | 90

MPO053 |12 |15 |15 (151512 | - 20202020 20|20 | - |20 15| - 20|20 | — |20 20| - | 20|20 |12 |20 | -
MP 060 | 18 | 25 | 25 |25 | 25|18 |18 |30 |30 |30 30 30|30 |18 3025|300 - |30|30| - 30|30 30|30| - |30]18
MP 080 | 40 | 50 | 50 | 50 | 50 | 40 | 40 | 70 | 70 |70 | 70 |70 | 70 |40 |70 |50 |70 | - |70 |70 | — |70 |70 |70 |70 | — |70 | 40

MP 105 | 100 | 140 | 140 | 140 | 140|100 | 100|170 170 (170|170 170| 170|100 | 170|140 (170 - |170|170| — |170|170/170|170| — |170|100

MP 130 | 215|380 | 380 | 380 | 380 | 215|215 | 450 | 450 | 450 | 450 | 450 | 450 | 215|450 | 380 450 | — (450|450 | — |450|450|450|450| — |450|215

MP 160 | 350 | 500 | 500 | 500 | 500 | 350 | 350 | 700 | 700 | 700 | 700 | 700 | 700 | 350 | 700 | 500 | 700 | — |700|700| — |700|700|700|700| — |700 350

MP 190 | 500 | 700 | 700 | 700 | 700 | 500 | 500 {1000{1000{1000/1000/1000|1000| 500 {1000| 700 {1000, — |1000{1000{ — {1000{1000/1000|1000| — |1000|500

[11/100 112|120 | 125|140 | 144 | 150 | 160 | 175|180 | 200 | 210 | 225 | 245|250 | 252|280 | 324 | 350 | 400 | 405 | 500 | 567 | 700 | 729 1000

MPO053| 20 |20 | - |20 (20| 20| - | - |20/20| - | - 20|20 - |20| - |20 - | - |20| - | 20| - | 12| -
MPO060 | 18| - |30 /30 |30| - |30 (30|30 -|30|30|-|-|3|-]30|-30|30|—-(30|-]3|-/18
mPo8o| 40| - |70 (70 70| - |70|70 70| - 70470 | - | - |70 - |70 - |70|70| - |70| — |70 | - |40
MP 105 |100| - |170(170170| - |170|170170| — 170170 - | — |170| — |170| - |170|170| — |[170| — |170| - |100
MP 130 | 215| — |450 (450|450 — |450|450|450| — (450|450 — | — |450| — |450| — |450|450| — |450| — |450| - |215
MP 160 | 700 | — |350|700 700| - |700|700 700 — 700 /700 — | — |700| — |700| - |700|700| — |700| — |700| - |350
MP 190 {1000, — |500 |1000{1000| — |1000{1000{1000, - {1000{1000| — | — |1000, — {1000 — |1000{1000| — [1000| — [1000| — |500

O(:)O | 105



6.1 ORDERING CODE
MP G 080 3 20 STD 95A CD 19 S1 OR SB KL UH1
|— LUBRICANT
— standard
UH1 food grade synthetic lubricant
OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft (@ MB)
— OUTPUT SHAFT BEARINGS
SB standard
HB reinforced (MP 080 - MP 105) (@ MB)
— MOUNTING POSITION
OR horizontal
VA vertical with motor up
VB vertical with motor down
— DUTY
S1 continuous duty
S5 intermittent duty
— INPUT SHAFT BORE
6..48 (@I1S)
—MOTOR COUPLING
CD clamping device (@ IS)
— INPUT SECTION
25AH ... 180A1 motor adapter
IS solid input shaft (MP 053 ... MP 160) (@ K, G, MB)
FM without motor adapter
— BACKLASH
1 reduction | 2 reductions | 3 reductions | 3 reductions | 4 reductions
(K, G, MB only) (K, G, MB only)
STD Ps<15 Ps<15 Ps<15' Ps <17 Qs <17
LOW QPr<10' QPr=<10' Pr=<10' QPr=<12' Pr=<12'
— GEAR RATIO
— REDUCTIONS
2 3 4

106 |

— VERSION

— coaxial

— FRAME SIZE
053 060 080 105 130 160 190

K with input right-angle (MP 053 ... MP 060)
G with input right-angle (MP 080 ... MP 160)
MB with output right-angle (MP 080 ... MP 160)

— SERIES

MP

1Y)




6.1.1 VERSION AND INPUT SECTION

VERSION
coaxial (—) with input right-angle (K - G) with output right-angle (MB)

25AH ... 180A1 I =
z
]
—
o

%) IS E:!! —
'—
)
o
Z

FM | =

6.2 ADMISSIBLE RADIAL AND AXIAL FORCES FOR MB VERSION

% R2 max A2 max L R3 max A3 max

[N] [N] [mm] [N] [N]

MP MB 080 6000 5000 60 5500 5000
MP MB 105 9000 7500 80 7500 7500
MP MB 130 13500 11500 100 11000 11500
MP MB 160* 15000 11500 100 12500 11500

* Bearings suitably rated for an average service life of 10,000 hours under nominal operating conditions.

1Y)

| 107




6.3 DIMENSIONS AND TECHNICAL SPECIFICATIONS

IS 58.2 (MP 053 1)
72  (MPO0532)
25 85.8 (MP 053 3) 24.5
3.25 2.5 1.3
4|28
- o)
,,,,,,,,,,,, | et S 8 MP0531 | 038
SINEN MP 053 2 1.0
& g é * MP0533 | 1.3
| 55 e 340 +0.05
Lo
53 (MPo0531)
66.8 (MP 053 2)
80.6 (MP 053 3) 24.5
3
2.5
14,125 &
\ \ ~
H = 58 MP 0531 | 0.8
\\52&\‘; T *‘BV é’zi MP0532 | 1.0
N | @ &= 3 ~ MP 0533 | 1.3
X ! L T = §
< 240+0.05 I~ 10
\\4\6:" i &
bR N N1 N2 | N3 | N4& | N5 | Lmax
-
min max
6 635 7 8 9 952 - - - - - 25 36 48
6 635 7 8 9 952 - - - - - 26 36 48
6 635 7 8 9 952 - - - - - 28 36 48
6 635 7 8 9 952 - - - - - 30 36 48
6 635 7 8 9 952 - - - - - 32 38 48 55 3.5 45 25 25
6 635 7 8 9 952 - — - — - 34 40 48
6 635 7 8 9 952 - - - - - 36 42 48
6 635 7 8 9 952 - - - - - 38 44 48
6 635 7 8 9 952 - - - - - 40 46 48
6 635 7 8 9 952 10 M1 12 127 - 38.1 66.6 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
6 635 7 8 9 952 10 MM 12 127 14 50 65 60 4 5.5 23 30
6 635 7 8 9 952 10 MM 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 11 12 127 - 50 65 55 2 5.5 16 23
60A 6 635 7 8 9 952 10 M1 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 5.5 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 8 M5x12 23 30
60AH1 6 635 7 8 9 952 10 MM 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 M 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 MM 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 MM 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 M 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

108 |

1Y)




L1
L3 L2
[
ol it a g e S ]
FM S S == —
7 Q
i %)
g
>
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 32.5 50 425 M4x8 M4 20.2 13.2 3 7.8 9
1 12 12.7 35.5 50 425 M4x8 M4 20.5 13.5 8 8.5 1
14 35.5 50 425 M4x8 M4 24 17 3 10.2 11.5
T M M M (of R R A ol
, n n
mL n2 a2 p2 1 1 max ﬁﬁ t 1 max 2 max 2 max n g
i [Nm]  [Nm] | [Nm] |[min-'] [min-']  [arcmin] ’ Emin [N] [N] [N] % 6..9.52 10...14
MP 053 1_3 12 22 40 3300 | 4000 | 15’ | 10 1.0 200 500 600 97 0.06 0.08
MP 053 1_4 15 28 45 3500 5000 | 15’ | 10’ 1.0 200 500 600 97 0.05 0.06
MP 053 1_5 15 28 45 3500 5000 | 15’ | 10’ 1.0 200 500 600 97 0.04 0.06
MP 053 1_6 15 28 45 3500 5000 | 15’ | 10’ 1.0 200 500 600 97 0.03 0.05
MP 053 1_7 15 28 45 4000 | 6000 | 15 | 10 1.0 200 500 600 97 0.03 0.05
MP 053 1_9 12 22 40 4000 | 6000 15 | 10° 1.0 200 500 600 97 0.03 0.05
MP 053 2_12 20 30 60 3300 | 4000 15 | 100 0.9 200 500 600 94 0.06 0.08
MP 053 2_15 20 30 60 3300 | 4000 15 | 10° 0.9 200 500 600 94 0.06 0.08
MP 053 2_16 20 30 60 3500 5000 15 | 10° 0.9 200 500 600 94 0.05 0.06
MP 053 2_20 20 30 60 3500 | 5000 15 | 10’ 0.9 200 500 600 94 0.04 0.06
MP 053 2_25 20 30 60 3500 | 5000 15 | 10° 0.9 200 500 600 94 0.04 0.06
MP 053 2_28 20 30 60 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_35 20 30 60 4000 | 6000 | 15 | 10 0.9 200 500 600 94 0.03 0.05
MP 053 2_36 15 28 45 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_45 20 30 60 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 2_81 12 22 40 4000 | 6000 | 15 | 10’ 0.9 200 500 600 94 0.03 0.05
MP 053 3_48 20 30 60 4000 | 5000 | 17" | 12 0.7 200 500 600 91 0.05 0.07
MP 053 3_60 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.05 0.07
MP 053 3_64 20 30 60 3500 | 5000 | 17° | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_75 20 30 60 3500 | 5000 | 17° | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_80 20 30 60 3500 | 5000 | 17" | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_84 20 30 60 4000 | 6000 | 17 | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_100 20 30 60 3500 | 5000 | 17° | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_112 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_125 20 30 60 3500 | 5000 | 17° | 12 0.7 200 500 600 91 0.04 0.06
MP 053 3_140 20 30 60 4000 | 6000 | 17’ | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_144 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_175 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_180 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_225 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_245 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_252 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.05 0.06
MP 053 3_324 20 30 60 4000 | 6000 | 17" | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_405 20 30 60 4000 | 6000 17 | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_567 20 30 60 4000 6000 17 | 12 0.7 200 500 600 91 0.03 0.05
MP 053 3_729 12 22 40 4000 6000 17 | 12 0.7 200 500 600 91 0.03 0.05

€1y 109



25AH ... 80A

N
L 4h9 - 2D
Z
“2’ B 3 2.5
14 2.5
=
B g k o &
55 9 | 3& ~
- — | MPKO0532 | 1.3
&% R e ) 3‘ S MP K 0533 | 15
N « TT 3 MPKO0534 | 138
© 40 2005 80.5 (K0532) MOX10
55 94.3 (K0533)
27.5 108.1 (K053 4) 24.5
N4
\
R
1
/
e N N1 N2 | N3 N4 N5 | Lmax
- min max
25AH 6 63 7 8 9 952 - - - - _— | 25 36 48
26AH 6 635 7 8 9 952 - - - - - | 26 36 48
28AH 6 635 7 8 9 952 - - - - — | 28 36 48
30AH 6 635 7 8 9 952 - - - - - | 30 36 48
32AH 6 635 7 8 9 952 - - - - - | 32 38 48 55 35 45 25 25
34AH 6 635 7 8 9 952 - - - - - | 34 40 48
36AH 6 63 7 8 9 952 - - - — — | 36 42 48
38AH 6 63 7 8 9 952 - - - - — | 38 44 48
40AH 6 63 7 8 9 952 - - - — — | 40 46 48
38B 6 635 7 8 9 952 10 11 12 127 - | 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 1M 12 127 - | 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 3 M5x12 | 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 4 5.5 23 30
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 3 M4x10 | 23 30
50MH 6 635 7 8 9 952 10 M 12 127 - | 50 65 55 2 55 16 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 3 M5x12 | 23 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 3 M5x12 | 23 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 3 M5x12 | 23 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 Méx15 | 23 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 90 75 5 M5x12 | 23 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 M5x12 | 25 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 M6x15 | 23 30

Please contact us for different motor adapters and input shaft bore.

1Y)

110 |




@ D1
N
N | N
@ D2
L5
== @D
Ds_|
] ~
FM ] % "I hr %. D4
< 7 =N
RPN —
© — S T Q}J/ © i
2 y
D (\’ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 20.2 13.2 3 8.7 8
9 9.52 10 325 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 35.5 50 42.5 M4x8 M4 20.5 13.5 8 8.5 11
14 35.5 50 42.5 M4x8 M4 24 17 3 10.2 11.5
s Ja [kgem?
‘\\(% Mn 2 Ma 2 Mp 2 nq Nimax Qs Pr Ct R2max = A2max n [ g‘ﬁl
"3\‘\ : - &7
i [Nm] [Nm] [Nm]  [min-1] | [min-1] [arcmin] T [N] [N] % 6..9.52 10..14
MP K053 2_3 12 22 40 3300 4000 15' 10' 1.0 500 600 94 0.18 0.20
MP K053 2_4 15 28 45 3500 5000 15' 10 1.0 500 600 94 0.18 0.19
MP K053 2_5 15 28 45 3500 5000 15' 10' 1.0 500 600 94 0.17 0.19
MP K 053 2_6 15 28 45 3500 5000 15' 10 1.0 500 600 94 0.17 0.18
MP K053 2_7 15 28 45 4000 6000 15' 10 1.0 500 600 94 0.17 0.19
MP K053 2_9 12 22 40 4000 6000 15' 10' 1.0 500 600 94 0.17 0.18
MP K 053 3_12 20 30 60 3300 4000 15' 10' 0.9 500 600 91 0.18 0.20
MP K 053 3_15 20 30 60 3300 4000 15' 10 0.9 500 600 91 0.18 0.20
MP K 053 3_16 20 30 60 3500 5000 15' 10' 0.9 500 600 91 0.17 0.19
MP K 053 3_20 20 30 60 3500 5000 15' 10' 0.9 500 600 91 0.17 0.19
MP K 053 3_25 20 30 60 3500 5000 15' 10 0.9 500 600 91 0.17 0.19
MP K 053 3_28 20 30 60 4000 6000 15' 10 0.9 500 600 91 0.17 0.19
MP K 053 3_35 20 30 60 4000 6000 15' 10' 0.9 500 600 91 0.17 0.19
MP K 053 3_36 15 28 45 4000 6000 15' 10 0.9 500 600 91 0.17 0.18
MP K 053 3_45 20 30 60 4000 6000 15' 10 0.9 500 600 91 0.17 0.19
MP K 053 3_81 12 22 40 4000 6000 15' 10' 0.9 500 600 91 0.17 0.18
MP K 053 4_48 20 30 60 4000 5000 17' 12' 0.7 500 600 89 0.18 0.19
MP K 053 4_60 20 30 60 3500 5000 17 12 0.7 500 600 89 0.18 0.19
MP K 053 4_64 20 30 60 3500 5000 17' 12' 0.7 500 600 89 0.17 0.19
MP K053 4_75 20 30 60 3500 5000 17 12' 0.7 500 600 89 0.17 0.19
MP K 053 4_80 20 30 60 3500 5000 17" 12 0.7 500 600 89 0.17 0.19
MP K 053 4_84 20 30 60 4000 6000 17 12 0.7 500 600 89 0.17 0.19
MP K 053 4_100 20 30 60 3500 5000 17 12' 0.7 500 600 89 0.17 0.19
MP K 053 4_112 20 30 60 4000 6000 17" 12 0.7 500 600 89 0.17 0.19
MP K 053 4_125 20 30 60 3500 5000 17 12 0.7 500 600 89 0.17 0.19
MP K 053 4_140 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.19
MP K 053 4_144 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.18
MP K 053 4_175 20 30 60 4000 6000 17 12 0.7 500 600 89 0.17 0.19
MP K 053 4_180 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.18
MP K 053 4_225 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.18
MP K 053 4_245 20 30 60 4000 6000 17" 12 0.7 500 600 89 0.17 0.19
MP K 053 4_252 20 30 60 4000 6000 17 12 0.7 500 600 89 0.18 0.20
MP K 053 4_324 20 30 60 4000 6000 17 12' 0.7 500 600 89 0.17 0.18
MP K 053 4_405 20 30 60 4000 6000 17 12 0.7 500 600 89 0.17 0.18
MP K 053 4_567 20 30 60 4000 6000 17 12 0.7 500 600 89 0.17 0.18
MP K 053 4_729 12 22 40 4000 6000 17" 12' 0.7 500 600 89 0.17 0.18

O/}o I 111



62.75 (MP 060 1)
79.45 (MP 060 2)

25 96.16 (MP 060 3) 38
3.25 |25 3
14 | | ‘&T
| o)
~ ——t=
< IL ——————————— 4 e} 2 § MP 0601 | 1.2
I o 8 \\&, % MP0602 | 1.7
g ﬁz g ; ‘\\V MP 0603 | 2.0
@ 52005 L 6.5 S @40 +0.05
10
25AH ... 80A 57,55 aposo
74.25 (MP 060 2)
N5  90.95 (mP 060 3) 38
N3 3
3.5
.20 _|. 5 &
‘ ‘ e
Zi0 i \ — |o& MP0601 | 1.2
QR I I
@V o JQ MP0602 | 1.7
L _ = .
B:= g - MP 060 3 2.0
10 Q
| B
D| (<= N N1 N2 N3 N4 N5 Lmax
. N
U min max
25AH 6 635 7 8 9 952 - - — - - 25 39 56
26AH 6 635 7 8 9 952 - - - - - 26 39 56
28AH 6 635 7 8 9 952 - - - - - 28 39 56
30AH 6 635 7 8 9 952 - - — — — 30 39 56
32AH 6 635 7 8 9 952 - — — — - 32 39 56 65 3.5 45 25 25
34AH 6 635 7 8 9 952 - — - — - 34 40 56
36AH 6 635 7 8 9 952 - - - - - 36 42 56
39AH 6 635 7 8 9 952 - - - - - 39 45 56
40AH 6 635 7 8 9 952 - - - - - 40 46 56
38B 6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 & M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 MM 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 MM 12 127 14 50 65 65 3 5.5 25 32
50C 6 635 7 8 9 952 10 MM 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 MM 12 127 - 55 80 65 2 5.5 16 23
60A 6 635 7 8 9 952 10 1M1 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 M1 12 127 - 60 75 65 3 5.5 18 25
60A1 6 635 7 8 9 952 10 M 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 & M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 M1 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 M 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

121

1Y)




L1
L3 LL2_
|
P =2
FM S g 3 7
7 S
vz %)
g
—
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 20.2 13.2 3 8.7 8
9 9.52 10 32,5 50 425 M4x8 M4 20.2 13.2 3 7.8 9
1 12 12.7 35.5 50 425 M4x8 M4 20.5 135 3 8.5 1
35.5 50 425 M4x8 M4 24 17 3 10.2 1.5
Djz%
P

MP 060 1_3 18 35 70 | 3300 | 4000 | 15' [ 100 | 3.0 200 | 600 | 700 97 0.10 0.11
MP 060 1_4 25 40 90 | 3500 | 5000 | 15' | 10' [ 3.0 200 | 600 | 700 97 0.06 0.08
MP 060 1_5 25 40 90 | 3500 | 5000 | 15' | 10' [ 3.0 200 | 600 | 700 97 0.05 0.07
MP 060 1_6 25 40 90 | 3500 | 5000 | 15' | 10' [ 3.0 200 | 600 | 700 97 0.04 0.06
MP 060 1_7 25 40 90 | 4000 | 6000 | 15' | 10' [ 3.0 200 | 600 | 700 97 0.04 0.06
MP 060 1_10 18 35 70 | 4000 | 6000 | 15' | 10' | 3.0 200 | 600 | 700 97 0.03 0.05
MP 060 2_9 18 35 70 | 3300 | 4000 | 15' [ 10' | 25 200 | 600 | 700 94 0.10 0.12
MP 060 2_12 30 45 100 | 3300 | 4000 | 15' | 100 | 2.5 200 | 600 | 700 94 0.10 0.11
MP 060 2_15 30 45 100 | 3300 | 4000 | 15' | 100 | 25 200 | 600 | 700 94 0.09 0.11
MP 060 2_16 30 45 100 | 3500 | 5000 | 15' | 10' | 2.5 200 | 600 | 700 94 0.06 0.08
MP 060 2_20 30 45 100 | 3500 | 5000 | 15' | 10' | 2.5 200 | 600 | 700 94 0.05 0.07
MP 060 2_25 30 45 100 | 3500 | 5000 | 15' | 10' | 2.5 200 | 600 | 700 94 0.05 0.06
MP 060 2_28 30 45 100 | 4000 | 6000 | 15' [ 10' | 2.5 200 | 600 | 700 94 0.04 0.06
MP 060 2_30 18 35 70 | 4000 | 6000 | 15' | 10' [ 2.5 200 | 600 | 700 94 0.03 0.05
MP 060 2_35 30 45 100 | 4000 | 6000 | 15' [ 10' | 2.5 200 | 600 | 700 94 0.04 0.06
MP 060 2_36 25 40 90 | 3500 | 5000 | 15' | 10' [ 2.5 200 | 600 | 700 94 0.04 0.06
MP 060 2_40 30 45 100 | 4000 | 6000 | 15' [ 10 | 2.5 200 | 600 | 700 94 0.03 0.05
MP 060 2_50 30 45 100 | 4000 | 6000 | 15' | 10' | 2.5 200 | 600 | 700 94 0.03 0.05
MP 060 2_70 30 45 100 | 4000 | 6000 | 15' [ 10' | 2.5 200 | 600 | 700 94 0.03 0.05
MP 060 2_100 [EE 35 70 | 4000 | 6000 | 15 | 10' | 2.5 200 | 600 | 700 94 0.03 0.05
MP 060 3_48 30 45 100 | 3500 | 5000 | 17" | 122 | 1.8 200 | 600 | 700 91 0.06 0.08
MP 060 3_64 30 45 100 | 3500 | 5000 | 17" | 12 [ 1.8 200 | 600 | 700 91 0.06 0.08
MP 060 3_75 30 45 100 | 3500 | 5000 | 17' [ 12 | 1.8 200 | 600 | 700 91 0.05 0.07
MP 060 3_80 30 45 100 | 3500 | 5000 | 17" | 12 [ 1.8 200 | 600 | 700 91 0.06 0.08
MP 060 3_84 30 45 100 | 4000 | 6000 | 17' [ 12 | 1.8 200 | 600 | 700 91 0.04 0.06
MP 060 3_90 18 35 70 | 4000 | 6000 | 17 [ 12 [ 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_120 [ED 45 100 | 4000 | 6000 | 17' [ 12 | 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_125 R 45 100 | 3500 | 5000 | 17" | 12 [ 1.8 200 | 600 | 700 91 0.05 0.07
MP 060 3_140 [ED 45 100 | 4000 | 6000 | 17' [ 12 | 1.8 200 | 600 | 700 91 0.04 0.06
XEREN 30 45 100 | 4000 | 6000 | 17" | 122 [ 1.8 200 | 600 | 700 91 0.03 0.05
XHERGE 30 45 100 | 4000 | 6000 | 17' [ 12 | 1.8 200 | 600 | 700 91 0.03 0.05
XERIZE 30 45 100 | 4000 | 6000 | 17" | 122 [ 1.8 200 | 600 | 700 91 0.04 0.06
MP 060 3_200 [ER 45 100 | 4000 | 6000 | 17" | 122 | 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_210 [ED 45 100 | 4000 | 6000 | 17" | 122 [ 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_250 [ER 45 100 | 4000 | 6000 | 17" | 122 | 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_280 [ED 45 100 | 4000 | 6000 | 17" | 122 | 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_350 [IER 45 100 | 4000 | 6000 | 17" | 122 [ 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_400 D 45 100 | 4000 | 6000 | 17' [ 12 | 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_500 [IER 45 100 | 4000 | 6000 | 17" | 12" [ 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_700 [ED 45 100 | 4000 | 6000 | 17' [ 12 | 1.8 200 | 600 | 700 91 0.03 0.05
MP 060 3_1000 EE 35 70 | 4000 | 6000 | 17' | 12' | 1.8 200 | 600 | 700 91 0.03 0.05

O/}o I 113



25AH ... 80A

55 ON
509 o 2D
2 \4@ W 3 3.5
7)/:1 Y k .
%g 5 ¥ 20 5%
, \ | 55 8 S o
€ M\ i 2 ] O &= 8 [wpKoso2 | 17
% o i o MPK0603 | 2.2
&% h € g MPKO0604 | 25
252 5005 10175 txom MOx10
275 118.45 (K 0604) L 38
N4
\ p—
7
b <R N N1 N2 | N3 N4 N5 | Lmax
\ <L
o min max
25AH |6 635 7 8 9 952 - - - - —| 25 | 39 | 56
26AH |6 635 7 8 9 95 - - - - —| 26 | 39 | 56
28AH | 6 635 7 8 9 952 - - - - - | 28 | 39 | 56
30AH |6 63 7 8 9 95 - - - - —| 30 | 39 | 56
32AH |6 635 7 8 9 95 - - - - - | 32 | 39 | 5 | 65 | 35 | 45 25 | 25
34AH |6 635 7 8 9 952 - - - — — | 34 | 40 | 56
3AH |6 635 7 8 9 95 - - - - — | 3 | 42 | 56
39AH |6 635 7 8 9 95 - - - - - | 39 | 45 | 56
40AH |6 635 7 8 9 952 - - - — — | 40 | 46 | 56
38B 6 635 7 8 9 952 10 1 12 127 — | 38.1 66.6 60 | 3 | M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 1 12 127 - | 40 63 60 | 3 | M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 M 12 127 - | 50 60 60 | 3 | M4x10 | 18 | 25
50B 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 | 3 | M5x12 | 23 | 30
50BH |6 635 7 8 9 952 10 11 12 127 14| 50 65 65 | 3 55 25 | 32
50C 6 635 7 8 9 952 10 1 12 127 14| 50 70 60 | 3 | Maxi0 | 23 | 30
55MH |6 635 7 8 9 952 10 11 12 127 - | 55 80 65 | 2 55 16 | 23
60A 6 635 7 8 9 952 10 M 12 127 — | 60 75 65 | 3 | M5x12 | 18 | 25
60A1 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 | 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 1 12 127 14| 60 85 75 | 3 | MBx12 | 23 | 30
60C 6 635 7 8 9 952 10 1 12 127 14| 60 90 75 | 3 | MBx12 | 23 | 30
70A 6 635 7 8 9 952 10 1 12 127 14| 70 85 75 | 3 | Mex15 | 23 | 30
70B 6 635 7 8 9 952 10 1 12 127 14| 70 90 75 | 5 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 | 3 | Msx12 | 25 | 32
80A 6 635 7 8 9 952 10 1 12 127 14| 80 100 85 | 3 | Mex15 | 23 | 30

Please contact us for different motor adapters and input shaft bore.

114 1 O(:)O



MP K 060

™
—

FM b I: iﬂ. D4
—
i )| |
2 ,
bl X D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M4x8 | M4 202 | 132 3 8.7 8
8 9 9.52 10 325 50 425 | M4x8 | M4 202 | 132 3 7.8 9
1 12 12.7 355 50 425 | M4x8 | M4 205 | 135 3 8.5 1
14 355 50 425 | M4x8 | M4 24 17 3 102 | 115

& s Or 2me || A2 max
M' | | Qs | @ R A

Nm
[arcmin [N] [N] 6..952 10..14

[arcmin]

MP K 060 2_3
MP K 060 2_4
MP K 060 2_5
MP K 060 2_6
MP K 060 2_7
MP K 060 2_10
MP K 060 3_9
MP K 060 3_12
MP K 060 3_15
MP K 060 3_16
MP K 060 3_20
MP K 060 3_25
MP K 060 3_28
MP K 060 3_30
MP K 060 3_35
MP K 060 3_36
MP K 060 3_40
MP K 060 3_50
MP K 060 3_70
MP K 060 3_100
MP K 060 4_48

MP K 060 4_64 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.18 0.20
MP K 060 4_75 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_80 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.18 0.20
MP K 060 4_84 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_90 18 35 70 4000 | 6000 | 17' | 12' 1.8 600 700 89 0.17 0.18
MP K 060 4_120 30 45 100 4000 | 6000 | 17" | 12' 1.8 600 700 89 0.15 0.17
MP K 060 4_125 30 45 100 3500 | 5000 | 17" | 12 1.8 600 700 89 0.17 0.19
MP K 060 4_140 30 45 100 4000 | 6000 | 17" | 12' 1.8 600 700 89 0.17 0.19
MP K 060 4_150 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_160 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_175 30 45 100 4000 | 6000 | 17' | 12' 1.8 600 700 89 0.17 0.19
MP K 060 4_200 30 45 100 4000 | 6000 | 17" | 12' 1.8 600 700 89 0.17 0.18
MP K 060 4_210 30 45 100 4000 | 6000 | 17" | 12' 1.8 600 700 89 0.17 0.18
MP K 060 4_250 30 45 100 4000 | 6000 | 17" | 12' 1.8 600 700 89 0.17 0.18
MP K 060 4_280 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_350 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_400 30 45 100 4000 | 6000 | 17" | 12 1.8 600 700 89 0.17 0.18
MP K 060 4_500 30 45 100 4000 | 6000 | 17" | 12' 1.8 600 700 89 0.17 0.18
MP K 060 4_700 30 45 100 4000 | 6000 | 17" | 12' 1.8 600 700 89 0.17 0.18
MP K 060 4_1000 18 35 70 4000 | 6000 | 17 12' 1.8 600 700 89 0.17 0.18

O//o I 115



IS 105.3 (MP 080 1)
129.8 (MP 080 2)

43 154.3 (MP 080 3) 46
6 L4 5
20 T 30 | 5
‘\
= Ht - H- &= kS MP 0801 | 4.0
SISE \ g e MP 0802 | 4.6
<8 = ; é o MP 0803 | 52
a8 7| RIEAEES
— —r— 65+ 0.05
15 Al
40B1 ... 110B1 53.5 0000
108 (MP0802)
N5 132.5 (vP 080 3) 46
N3 5
| 2
|30 5 | &
| | P~
Zol = =] (28 MP 0801 | 4.0
L r o & MP 0802 | 4.6
4@ la= 3l o | MP0803 | 5.2
/| =Y
12
Lmax
=
bl (<3 N | Nt | N2 | N3 | N4 | N5 | Lmax
e
40B1 8 9 952 11 12 127 14 - - - - - 40 | 63 | 80 4 M4x12 | 34 | 40
45A 8 9 95 11 12 127 - - - - - - 45 | 63 | 80 4 M4x12 | 34 | 40
50B1 8 9 952 11 12 127 14 - - - - - 50 | 65 | 80 4 M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - - - 50 | 65 | 80 4 5.5 34 | 40
50C1 8 9 952 M 12 127 14 - - - - - 50 | 70 | 80 4 M4x10 | 34 | 40
50D 8 9 952 11 12 127 14 - - - - - 50 | 95 | 80 4 M6x20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 125.7 | 105 | 4 M6x20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - - - - 60 | 75 | 80 4 M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - - 60 | 75 | 90 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 | 85 | 80 4 M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - - 60 | 90 | 80 4 M5x16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 4 M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 90 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 4 M5x16 | 34 | 40
73A1 8 9 952 M 12 127 14 - - - - - 73 | 984 | 85 4 M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 M6x16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 M8x20 | 34 | 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 8 9 952 1 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

116 | O(:)O




L1
L3 L2,
\
FM 28 =
Q g i / a
7 S
i o
g
/TN
D (D D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 10.5
11 12 12.7 43 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 12,5
14 15.875 16 17 48 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 14.5
19 19.05 51 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 16.5
@ﬁ |
D ( y ~
~
MP 080 1_3 80 | 180 [ 2900|3500 | 15' | 10' | 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.50 0.59
MP 080 1_4 80 | 200 | 3100|4500 | 15' | 10' | 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.34 0.43
MP 080 1_5 80 | 200 | 3200|4500 | 15' | 10' | 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.28 0.37
MP 080 1_6 80 | 200 | 3200 | 4500 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.21 0.30
MP 080 1_7 80 | 200 | 4000 | 6000 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.23 0.32
MP 080 1_10 80 | 180 | 4000|6000 | 15' [ 10' | 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.20 0.29
MP 080 2_9 80 | 180 | 2900 | 3500 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.49 0.58
MP 080 2_12 100 | 250 | 2900|3500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.47 0.56
MP 080 2_15 100 | 250 | 2900|3500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.46 0.55
MP 080 2_16 100 | 250 | 3100|4500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.32 0.41
MP 080 2_20 100 | 250 | 3200|4500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.27 0.36
MP 080 2_25 100 | 250 | 3200|4500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.27 0.36
MP 080 2_28 100 | 250 | 4000 | 6000 | 15' | 10' 59 400 | 1300 | 1400 | 2500 | 3000 | 94 0.22 0.31
MP 080 2_30 80 | 180 | 4000 | 6000 | 15' | 10' 59 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_35 100 | 250 | 4000|6000 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.22 0.31
MP 080 2_36 80 | 200 | 3200|4500 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_40 100 | 250 | 4000|6000 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_50 100 | 250 | 4000|6000 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 2_70 100 | 250 | 4000|6000 | 15' | 10' | 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 2_100 80 | 180 | 4000 | 6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 3_48 100 | 250 | 3100|4500 | 17' | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.33 0.42
MP 080 3_64 100 | 250 | 3100 | 4500 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.32 0.41
MP 080 3_75 100 | 250 | 3200|4500 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.27 0.36
MP 080 3_80 100 | 250 | 3100|4500 | 17' | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.32 0.41
MP 080 3_84 100 | 250 | 4000|6000 | 17' | 12' | 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.23 0.32
MP 080 3_90 80 | 180 | 4000|6000 | 17' | 12'| 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_120 100 | 250 | 4000|6000 | 17' | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_125 100 | 250 | 3200|4500 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.27 0.36
MP 080 3_140 100 | 250 [ 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.22 0.31
MP 080 3_150 100 | 250 | 4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_160 100 | 250 | 4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_175 100 | 250 | 4000|6000 | 17" | 12| 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.22 0.31
MP 080 3_200 100 | 250 | 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_210 100 | 250 | 4000|6000 | 17' | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_250 100 | 250 | 4000|6000 | 17' | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_280 100 | 250 | 4000|6000 | 17' | 12| 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_350 100 | 250 | 4000|6000 | 17' | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_400 100 | 250 | 4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_500 100 | 250 | 4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_700 100 | 250 | 4000|6000 | 17" | 12' | 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_1000 80 | 180 | 4000 | 6000 | 17' | 12 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28

O/Jo I 117



40B1 ... 110B1

g
2
5

o

O [92)
\“ [¥o) o .'E &
I 418 MPG0802 | 52
© o T e MPG 0803 | 5.8
N ! = MP G 0804 | 6.4

fassuroma | lyez| O
78 38.25 192.55 (MP G 080 4) 46
bl <3 N | Nt | N2 | N3 | N4 | N5 | Lax
D

40B1 8 9 952 11 12 127 14 - - - - — | 40 | 83 | 80 4 | Max12 | 34 | 40
45A 8 9 952 M 12 127 - - - — — — | 4 | 83 | 80 4 | Max12 | 34 | 40
50B1 8 9 95 1 12 127 14 - - - - — | 5 | 65 | 80 4 | M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - — — | 50 | 65 | 80 4 55 34 | 40
50C1 8 9 952 11 12 127 14 - - - - — | 5 | 70 | 80 4 | Max10 | 34 | 40
50D 8 9 952 11 12 127 14 - - — — — | 5 | 95 | 80 4 | M6x20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 |125.7 | 105 | 4 | Méx20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - — - — | 60 | 75 | 80 4 | M5x16 | 34 | 40
G0AH2 | 8 9 952 11 12 127 14 - - - — - | 60 | 75 | 90 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 80 4 | M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - - | 60 | 90 | 80 4 | M5x16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 90 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 4 | M5x16 | 34 | 40
73A1 8 9 952 11 12 127 14 - - — - - | 73 | 984 | 85 4 | M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 | M6x16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
1108 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

118 | O(:)O



MP G 080

@ D1
W Ny 3
R NS
D4
@ D2 z
I
FM ) | 35
@D
R
b (& D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

8 9 9.52 38 68 765 | M6x12 | M6 322 26.3 95 19.3 105

11 12 12.7 43 68 765 | M6x12 | M6 32.2 26.3 95 19.3 125

14 15875 16 17 48 68 765 | M6x12 | M6 32.2 26.3 95 19.3 145

19 19.05 51 68 765 | Méx12 | M6 32.2 26.3 95 19.3 16.5

e
D ( y ~
<

MP G 080 2_3 80 | 180 | 2900 | 3500 | 15' | 10' | 7.0 | 1300 | 1400 | 2500 | 3000 | 94 0.67 0.79
MP G 080 2_4 80 | 200 | 3100 | 4500 | 15' | 10' | 7.0 | 1300 | 1400 | 2500 | 3000 | 94 0.62 0.75
MP G 080 2_5 80 | 200 | 3200 | 4500 | 15' | 10' | 7.0 | 1300 | 1400 | 2500 | 3000 | 94 0.61 0.74
MP G 080 2_6 80 | 200 | 3200 | 4500 | 15' | 10' | 7.0 | 1300 | 1400 | 2500 | 3000 | 94 0.58 0.71
MP G 080 2_7 80 | 200 | 4000 | 6000 | 15' | 10' | 7.0 | 1300 | 1400 | 2500 | 3000 | 94 0.60 0.73
MP G 080 2_10 80 | 180 | 4000 | 6000 | 15' | 10' | 7.0 | 1300 | 1400 | 2500 | 3000 | 94 0.60 0.72
MP G 080 3_9 80 | 180 | 2900 | 3500 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.66 0.78
MP G 080 3_12 100 | 250 | 2900 | 3500 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.75 0.87
MP G 080 3_15 100 | 250 | 2900 | 3500 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.74 0.87
MP G 080 3_16 100 | 250 | 3100 | 4500 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.60 0.73
MP G 080 3_20 100 | 250 | 3200 | 4500 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.60 0.73
MP G 080 3_25 100 | 250 | 3200 | 4500 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.64 0.76
MP G 080 3_28 100 | 250 | 4000 | 6000 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.59 0.72
MP G 080 3_30 80 | 180 | 4000 | 6000 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.60 0.72
MP G 080 3_35 100 | 250 | 4000 | 6000 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.61 0.74
MP G 080 3_36 80 | 200 | 3200 | 4500 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.57 0.70
MP G 080 3_40 100 | 250 | 4000 | 6000 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.60 0.72
MP G 080 3_50 100 | 250 | 4000 | 6000 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.59 0.71
MP G 080 3_70 100 | 250 | 4000 | 6000 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.59 0.71
MP G 080 3_100 80 | 180 | 4000 | 6000 | 15' | 10' | 5.9 | 1300 | 1400 | 2500 | 3000 | 91 0.59 0.71
MP G 080 4_48 100 | 250 | 3100 | 4500 | 17' | 12' | 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.61 0.75
MP G 080 4_64 100 | 250 | 3100 | 4500 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.73
MP G 080 4_75 100 | 250 | 3200 | 4500 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.73
MP G 080 4_80 100 | 250 | 3100 | 4500 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.73
MP G 080 4_84 100 | 250 | 4000 | 6000 | 17' | 12' | 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.73
MP G 080 4_90 80 | 180 | 4000 | 6000 | 17 | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.72
MP G 080 4_120 100 | 250 | 4000 | 6000 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.72
MP G 080 4_125 100 | 250 | 3200 | 4500 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.73
MP G 080 4_140 100 | 250 | 4000 | 6000 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.72
MP G 080 4_150 100 | 250 | 4000 | 6000 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.72
MP G 080 4_160 100 | 250 | 4000 | 6000 | 17' | 12' | 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.72
MP G 080 4_175 100 | 250 | 4000 | 6000 | 17' | 12' | 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.72
MP G 080 4_200 100 | 250 | 4000 | 6000 | 17' | 12' | 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.72
MP G 080 4_210 100 | 250 | 4000 | 6000 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.60 0.72
MP G 080 4_250 100 | 250 | 4000 | 6000 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.71
MP G 080 4_280 100 | 250 | 4000 | 6000 | 17' | 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.71
MP G 080 4_350 100 | 250 | 4000 | 6000 | 17' | 12' | 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.71
MP G 080 4_400 100 | 250 | 4000 | 6000 | 17' | 12' | 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.71
MP G 080 4_500 100 | 250 | 4000 | 6000 | 17' [ 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.71
MP G 080 4_700 100 | 250 | 4000 | 6000 | 17' [ 12| 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.71
MP G 080 4_1000 80_| 180 | 4000 | 6000 [ 17" [ 12" | 5.4 | 1300 | 1400 | 2500 | 3000 | 89 0.59 0.71

O/}o I 119



40B1 ... 110B1

20
3 95 he
0
P N5 ®
/1449*7(9 1 N3 [
A _— e
i } ‘ ° Z0o \ | | O
T I @@i%*} ********** T o ¢ =
‘ © L
gleo g B .
N |
N T Y
| Lmax |
T B ﬂ o
22,5 80 e 342 ©
\ @ 95 he /

149.5 (MP MB 080 2)
174 (MP MB 080 3)
198.5 (MP MB 080 4)

w &

g T - MPMB 0802 | 9.5

MP MB 080 3 | 10.5

MP MB 0804 | 115

M8x18
14 104

o (TH N | N1 | N2 | N3 N4 N5 | Lmax

40B1 8 9 952 11 12 127 14 - - — — _— | 40 | 63 | 80 4 | M4x12 | 34 | 40
45A 8 9 952 11 12 127 - - - — - _— | 4 | 63 | 80 4 | M4x12 | 34 | 40
50B1 8 9 952 11 12 127 14 - - - - _ | 50 | 65 | 80 4 | M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - — — | 50 | 65 | 80 4 55 34 | 40
50C1 8 9 952 11 12 127 14 - - - - — | 5 | 70 | 80 4 | Max10 | 34 | 40
50D 8 9 952 11 12 127 14 - - — - — | 5 | 95 | 80 4 | Mex20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 | M6x20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - - - - | 60 | 75 | 80 4 | Msx16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - - | e | 75 | 9 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 85 | 80 4 | Msx16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - - | 60 | 90 | 80 4 | Msx16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 4 | mMex20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 90 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 4 | Msx16 | 34 | 40
73A1 8 9 952 11 12 127 14 - - - - _ | 73 | 984 | 85 4 | Msx16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 | Mex16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
1108 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

120 |

1Y)




MP MB 080

L1
L2

a IR o e A L
FM Q Sihe a
Q
%)
84
b X D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x12 | M6 322 | 263 95 193 | 105
1 12 12.7 43 68 765 | M6x12 | M6 322 | 263 95 193 | 125
14 15875 16 17 48 68 765 | M6x12 | M6 322 | 263 95 193 | 145
19 19.05 51 68 765 | M6x12 | M6 322 | 263 95 193 | 165

_ NS Ja [kgem?]
‘}l | 1 max Ps Pr Ct

[min-1] [arcmin] Nm_ 9 8..127 14..19.05
P .. 12. ... 19.
MP MB 080 2_3
MP MB 080 2_4
MP MB 080 2_5
MP MB 080 2_6
MP MB 080 2_7
MP MB 080 2_10
MP MB 080 3_9
MP MB 080 3_12
MP MB 080 3_15
MP MB 080 3_16
MP MB 080 3_20
MP MB 080 3_25
MP MB 080 3_28
MP MB 080 3_30
MP MB 080 3_35
MP MB 080 3_36
MP MB 080 3_40
MP MB 080 3_50
MP MB 080 3_70
MP MB 080 3_100
MP MB 080 4_48
MP MB 080 4_64
MP MB 080 4_75
MP MB 080 4_80
MP MB 080 4_84
MP MB 080 4 90
MP MB 080 4_120
MP MB 080 4_125
MP MB 080 4_140
MP MB 080 4_150
MP MB 080 4_160
MP MB 080 4_175
MP MB 080 4_200
MP MB 080 4_210
MP MB 080 4_250
MP MB 080 4_280
MP MB 080 4_350
MP MB 080 4_400
MP MB 080 4_500
MP MB 080 4_700
MP MB 080 4_1000

O/}o 1121



IS 121.3 (MP 105 1)
153.8 (MP 105 2)
47 186.3 (MP 105 3) 57.5
5 T4 5
30 | 35 | 5
|
T - o}
= — | ©
o EE: - i | o2 MP 1051 | 6.5
NS g s, ® MP 1052 | 85
gg = = S MP 1053 | 10.5
S 7 1] 7 =&
2| s

107.5 (MP 105 1)
140 (MP1052)
N5  172.5 (mP 1053) 57.5

.

N3 5
2
35_|.5 &
L \ \ ~
ZoT e T%H Eg MP 1051 | 65
L@y 9 'E® MP 1052 | 8.5
= S MP 1053 | 10.5
< @85 +0.05 Lrl 15 =¥
e N
b <R N | Nt | N2 | N3 | N4 | N5 | Lmax
<P
11 12 127 14 15 15875 16 19 - - — — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
55A 11 12 127 14 15 15875 16 19 - - — — | 55 |1257| 105 | 5 | Méx16 | 28 | 40
60A2 | 11 12 127 14 15 15875 16 19 - - — — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 | 11 12 127 14 15 15875 16 19 - — — — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 | 11 12 127 14 15 15875 16 19 - - — — | 70 | 85 | 100 | 65 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 85 | 100 | 4 6.5 33 | 40
70B1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 | 11 12 127 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 65 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - — — | 8 | 100 | 100 | 4 6.5 33 | 40
95A 1 12 127 14 15 15875 16 19 - - — — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 11 12 127 14 15 15875 16 19 - — — — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A | 11 12 127 14 15 15875 16 19 - - — — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
110B | 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 — — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 65 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

122 1 O(:)O



L1

L3 L2,
iz [
I —
FM Q Q- )
7 | N
v o
AV
|
b| (< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 | M6x15 | M6 315 19.5 76 12 12,5
14 15  15.875 16 48 90 98 | Méx15 | M6 315 19.5 76 12 14.5
19 51 90 98 | M6x15 | M6 315 19.5 76 12 16.5
22 24 56.5 90 98 | M6x15 | M6 35 23 7.6 12 19
28 67 90 98 | M6x15 | M8 35 23 7.6 14 225
32 71 90 98 | M6x15 | M8 37 25 76 16 24.5
@ D| (-
<
100 | 180 | 360 | 2500 | 3500 | 15'] 10'| 22.0 | 600 | 1500 | 1600 | 3800 | 4000 |97 | 1.70 | 1.78 | 2.22 | 2.59
140 | 210 | 450 | 2800 | 4500 | 15' [ 10| 22.0 | 600 | 1500 | 1600 | 3800 | 4000 | 97| 0.99 | 1.06 | 151 | 1.87
140 | 210 | 450 | 3000 [ 4500 | 15'| 10'| 22.0 | 600 | 1500 | 1600 | 3800 | 4000 97| 072 | 0.79 | 1.23 | 1.60
140 | 210 | 450 | 3000 | 4500 | 15'| 10'| 22.0 | 600 | 1500 | 1600 | 3800 | 4000 |97 | 0.36 | 0.43 | 0.88 | 1.24
140 | 210 | 450 | 3500 | 5000 | 15| 10| 22.0 | 600 | 1500 | 1600 | 3800 | 4000 | 97| 047 | 055 | 0.99 | 1.35
100 | 180 | 360 | 3500 | 5000 | 15'| 10'| 22.0 | 600 | 1500 | 1600 | 3800 | 4000 |97 | 0.33 | 0.41 | 0.85 | 1.21
100 | 180 | 360 | 2500 | 3500 | 15' | 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 1.58 | 1.63 | 2.07 | 2.44
170 | 250 | 600 | 2500 | 3500 | 15' | 10| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 152 | 159 | 2.03 | 2.40
170 | 250 | 600 | 2500 | 3500 | 15| 10| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 147 | 155 | 1.99 | 2.36
170 | 250 | 600 | 2800 | 4500 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.87 | 095 | 1.39 | 1.76
170 | 250 | 600 | 3000 | 4500 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.86 | 0.93 | 1.37 | 1.74
170 | 250 | 600 | 3000 | 4500 | 15'[ 10| 20.5 | 600 | 1500 | 1600 | 3800 [ 4000 | 94| 063 | 071 | 1.15 | 1.51
170 | 250 | 600 | 3500 [ 5000 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.43 | 051 | 0.95 | 1.32
100 | 180 | 360 | 3500 | 5000 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.32 | 0.40 | 0.84 | 1.20
170 | 250 | 600 | 3500 | 5000 | 15'| 10| 20.5 | 600 | 1500 | 1600 | 3800 [ 4000 | 94| 043 | 050 | 0.95 | 1.31
140 | 210 | 450 | 3000 | 4500 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.32 | 039 | 0.84 | 1.20
170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.31 039 | 0.83 | 1.20
170 | 250 | 600 | 3500 | 5000 | 15'| 10| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.31 0.39 | 0.83 | 1.19
170 | 250 | 600 | 3500 | 5000 | 15| 10| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.31 038 | 0.83 | 1.19
100 | 180 | 360 | 3500 | 5000 | 15'| 10| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 | 94| 0.31 038 | 0.83 | 1.19
170|250 | 600 2800 | 4500 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.91 098 | 142 | 1.79
170 | 250 | 600 | 2800 | 4500 | 17" [ 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.87 | 094 | 138 | 1.75
170 | 250 | 600 | 3000 [4500 | 17'|12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 (91| 066 | 0.74 | 1.18 | 1.55
170 | 250 | 600 | 2800 [ 4500 | 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 |91| 0.86 | 0.94 | 1.38 | 1.75
170 | 250 | 600 | 3500 | 5000 | 17 [ 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 |91| 044 | 052 | 0.96 | 1.33
100 | 180 | 360 | 3500 | 5000 | 17| 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 91| 0.32 | 0.39 | 0.84 | 1.20
170 | 250 | 600 | 3500 | 5000 | 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 [91| 0.32 | 0.39 | 0.84 | 1.20
170 [ 250 | 600 | 3000 | 4500 | 17" [ 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000| 91| 063 | 070 | 1.15 | 1.51
170 | 250 | 600 | 3500 | 5000 | 17 [ 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000|91| 043 | 051 | 0.95 | 1.32
170 | 250 | 600 | 3500 [ 5000 | 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 [91| 032 | 0.39 | 0.84 | 1.20
170 | 250 | 600 | 3500 | 5000 | 17| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.31 039 | 0.83 | 1.21
170 | 250 | 600 | 3500 | 5000 | 17" [ 12| 17.5 | 600 | 1500 | 1600 | 3800 [4000|91| 043 | 050 | 0.95 | 1.31
170 | 250 | 600 | 3500 | 5000 [ 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.31 039 | 0.83 | 1.20
170 | 250 | 600 | 3500 | 5000 | 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 91| 0.32 | 0.39 | 0.84 | 1.20
170 | 250 | 600 | 3500 | 5000 | 17'| 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 [ 91| 0.31 039 | 0.83 | 1.19
170 | 250 | 600 | 3500 | 5000 | 17'| 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.31 038 | 0.83 | 1.19
170 | 250 | 600 | 3500 [ 5000 | 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.31 038 | 0.83 | 1.19
170 | 250 | 600 | 3500 | 5000 | 17| 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.31 038 | 0.83 | 1.19
170 | 250 | 600 | 3500 | 5000 | 17| 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.31 038 | 0.83 | 1.19
170|250 | 600 3500 [ 5000 | 17'| 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.31 038 | 0.83 | 1.19
100 | 180 | 360 | 3500 | 5000 | 17' | 12'| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 | 91| 0.31 0.38 | 0.83 | 1.19
@’:)O | 123




50D ... 130A1

z
z
5

2
d ETS o)
T e MPG1052 | 85
@ 3 § NS MP G 1053 | 10.5
‘ 3 = § MP G 1054 | 12,5

@85+ 0.05 202:8 Emg g 18: g; M8x15
98 49 235.3 (MP G 105 4) 57.5

o (<H N | N1 | N2 | N3 N4 N5 | Lmax
11 12 127 14 15 15875 16 19 - — — — | 50 95 | 100 5 Méx14 | 28 | 40
55A 11 12 127 14 15 15875 16 19 - - - — | 55 |1257| 105 5 Méx16 | 28 | 40
60A2 11 12 127 14 15 15875 16 19 - - - — | 60 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - — — | 60 75 | 100 | 4 6.5 33 | 40
60B1 1 12 127 14 15 15875 16 19 - — — — | 60 85 | 100 | 65 | M5x14 | 28 | 40
70A1 1 12 127 14 15 15875 16 19 - - — — | 70 85 | 100 | 65 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 85 | 100 | 4 6.5 33 | 40
70B1 1 12 127 14 15 15875 16 19 - - — — | 70 90 | 100 | 65 | M5x12 | 28 | 40
80A1 11 12 127 14 15 15875 16 19 - — — — | 80 | 100 | 100 | 65 | M6x16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 4 6.5 33 | 40
95A 1 12 127 14 15 15875 16 19 —- — — — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 1 12 127 14 15 15875 16 19 22 24 — — | 95 | 115 | 100 | 65 | M8x18 | 38 50
95B 1 12 127 14 15 15875 16 19 - — — — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A 1 12 127 14 15 15875 16 19 — — — — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
110B 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
10B1 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A 11 12 127 14 15 15875 16 19 22 24 — — | 130 | 165 | 140 | 6.5 | M10x20 | 38 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 6.5 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

124 | O(:)O



@ D1

N 3
N
D4
@ D2 :
Ds| L5
EM R IE=

@D

|

|

|

| =

|

|

Il

/T

D& D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 127 43 90 98 | Méx15 | M6 315 | 195 76 12 125
14 15 15875 16 48 ) 98 | Mex15 | M6 315 | 195 7.6 12 145
19 51 ) 98 | Mex15 | M6 315 | 195 7.6 12 16.5
22 24 56.5 ) 98 | Mex15 | M6 35 23 76 12 19
28 67 ) 98 | Mex15 | M8 35 23 76 14 225
32 71 90 98 | Mex15 | M8 37 25 76 16 24.5

100 | 180 | 360 | 2500 | 3500 [ 15'[10'| 22.0 |1500 | 1600 | 3800 | 4000 | 94 1.85 2.01 2.33 | 3.07

140 | 210 | 450 | 2800 | 4500 | 15'| 10'| 22.0 | 1500 | 1600 | 3800 | 4000 | 94 1.14 1.29 1.62 | 2.35

140 | 210 | 450 | 3000 | 4500 | 15'| 10'| 22.0 | 1500 | 1600 | 3800 | 4000 | 94 1.07 1.21 1.34 | 2.08

140 | 210 | 450 | 3000 | 4500 | 15'| 10'| 22.0 | 1500 | 1600 | 3800 | 4000 | 94 0.87 1.02 1.16 | 1.89

140 | 210 | 450 | 3500 | 5000 | 15'| 10'| 22.0 | 1500 | 1600 | 3800 | 4000 | 94 0.98 1.14 1.27 | 2.00

100 | 180 | 360 | 3500 | 5000 | 15'[ 10| 22.0 | 1500 [ 1600 | 3800 | 4000 | 94 0.94 1.09 1.23 | 1.95

100 | 180 | 360 | 2500 | 3500 | 15'[10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 1.76 186 | 2.18 | 2.92

170 | 250 | 600 | 2500 | 3500 | 15'[ 10"| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 1.60 1.75 214 | 2.88

170 | 250 | 600 | 2500 | 3500 | 15'[ 10"| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 1.57 1.73 210 | 2.84

170 | 250 | 600 | 2800 | 4500 | 15'[ 10"| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 1.02 1.18 1.50 | 2.24

170 | 250 | 600 | 3000 | 4500 | 15'[10"| 20.5 |1500 | 1600 | 3800 | 4000 | 91 1.20 1.35 1.48 | 2.22

170 | 250 | 600 | 3000 | 4500 | 15'[10"| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 1.13 1.29 142 | 2.15

170 | 250 | 600 | 3500 | 5000 | 15'[ 10"| 20.5 |1500 | 1600 | 3800 | 4000 | 91 0.94 1.10 1.23 | 1.97

100 | 180 | 360 | 3500 | 5000 | 15'[ 10"| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 0.93 1.08 122 | 1.94

170 | 250 | 600 | 3500 | 5000 | 15'[ 10"| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 1.02 1.17 1.31 | 2.04

140 | 210 | 450 | 3000 | 4500 | 15'[10"| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 0.83 0.98 1.12 | 1.85

170 | 250 | 600 | 3500 | 5000 | 15'[ 10"| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 0.96 1.1 1.25 | 1.98

170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 0.96 1.1 125 | 1.98

170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 | 1500 | 1600 | 3800 | 4000 | 91 0.92 1.06 121 | 1.93

100 [ 180 | 360 [ 3500 | 5000 | 15'| 10'[ 20.5 [ 1500 | 1600 | 3800 | 4000 | 91 0.92 1.06 1.21 | 1.93

170 | 250 | 600 | 2800 | 4500 [17'| 12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 1.06 1.21 1.53 | 2.27

170 | 250 | 600 | 2800 | 4500 | 17'| 12'| 17.5 | 1500 | 1600 | 3800 | 4000 | 89 1.02 1.17 1.49 | 2.23

170 | 250 | 600 | 3000 | 4500 |17'|12'] 17.5 |1500 | 1600 | 3800 | 4000 | 89 1.00 1.16 1.29 | 2.03

170 | 250 | 600 | 2800 | 4500 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 1.01 1.17 1.49 | 2.23

170 | 250 | 600 | 3500 | 5000 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.95 1.1 124 | 1.98

100 | 180 | 360 | 3500 | 5000 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.93 1.07 1.22 | 1.94

170 | 250 | 600 | 3500 | 5000 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.93 1.07 1.22 | 1.94

170 | 250 | 600 | 3000 | 4500 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.97 1.12 1.26 | 1.99

170 | 250 | 600 | 3500 | 5000 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.94 1.10 1.23 | 1.97

170 | 250 | 600 | 3500 | 5000 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.93 1.07 122 | 1.94

170 | 250 | 600 | 3500 | 5000 [ 17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.07 1.21 | 1.96

170 | 250 | 600 | 3500 | 5000 [ 17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.94 1.09 1.23 | 1.96

170 | 250 | 600 | 3500 | 5000 [ 17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.07 121 | 1.94

170 | 250 | 600 | 3500 | 5000 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.93 1.07 122 | 1.94

170 | 250 | 600 | 3500 | 5000 [ 17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.07 1.21 | 1.93

170 | 250 | 600 | 3500 | 5000 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 121 | 1.93

170 | 250 | 600 | 3500 | 5000 [17'[12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 121 | 1.93

170 | 250 | 600 | 3500 | 5000 | 17'|12"| 17.5 | 1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 1.21 | 1.93

170 | 250 | 600 | 3500 | 5000 | 17'|12"| 17.5 | 1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 1.21 | 1.93

170 | 250 | 600 | 3500 | 5000 | 17'|12"| 17.5 | 1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 1.21 | 1.93

100 | 180 [ 360 | 3500 | 5000 [17']| 12'| 17.5 [1500 | 1600 [ 3800 | 4000 | 89 0.92 1.06 1.21 | 1.93
- - S

O(:)O | 125



50D ... 130A1

25 95 )
258 |
144 ne © 32 ce g
. | o | NS @ e
70*90 i N3 J i | [Te])
‘ Bl &
S S T o |l o
o ‘ ‘ @ \ L
| ah
0 R - Zzo -—a [ N N N S| o
3 ~ } | st 18 Es s
oo | 8 1
&S | P
T ‘ - Lo [ L. T ]
B W © —+d
325 95 © @58 \ o
| D144 e /
195 (MP MB 105 2)
227.5 (MP MB 105 3)
260 (MP MB 105 4) 6 Nm

| | B MP MB 1052 | 19.2
S MP MB 1053 | 21.2
MP MB 1054 | 23.2

i

M10x20 725

124

15 145
b (TR N | Nt | N2 | N3 | N4 | N5 | Lax

&S

11 12 127 14 15 15875 16 19 - - - — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
55A 1 12 127 14 15 15875 16 19 - - - — | 55 |1257| 105 | 5 | M6x16 | 28 | 40
60A2 | 11 12 127 14 15 15875 16 19 - - - - | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 65 | 33 | 40
60B1 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 85 | 100 | 65 | M5x14 | 28 | 40
70A1 | 11 12 127 14 15 15875 16 19 - - - - | 70 | 85 | 100 | 65 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 85 | 100 | 4 65 | 33 | 40
70B1 | 11 12 127 14 15 15875 16 19 - - - - | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 | 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 65 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 4 65 | 33 | 40
95A 1 12 127 14 15 15875 16 19 - - - — | 95 | 115 | 100 | 65 | Msx18 | 28 | 40
95A1 | 11 12 127 14 15 15875 16 19 22 24 - - | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 M 12 127 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 65 | Msx18 | 28 | 40
10A | 11 12 127 14 15 15875 16 19 - - - — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
10A1 | 11 12 127 14 15 15875 16 19 22 24 - - | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
10B | 11 12 127 14 15 15875 16 19 22 24 - - | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
10B1 | 11 12 127 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 6.5 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 6.5 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 6.5 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

126 | O(:)O



MP MB 105

L1
L2
[
5 o 7/ i
FM : ==
Q
%)
9 @
/':,
D (\ 1] D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 12.7 43 90 98 M6x15 M6 31.5 19.5 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 31.5 19.5 7.6 12 14.5
19 51 90 98 M6x15 M6 31.5 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 35 23 7.6 14 22.5
32 71 90 98 M6x15 M8 37 25 7.6 16 24 .5

‘Ti NMmax ®s  Qr Gt

: : Nm

[min-'] | [arcmin] | [Zominll 1..127 14..19
MP MB 1052_3
MP MB 105 2_4
MP MB 105 2_5
MP MB 105 2_6
MP MB 1052_7
MP MB 105 2_10
MP MB 1053 9
MP MB 105 3_12
MP MB 105 3_15
MP MB 105 3_16
MP MB 105 3_20
MP MB 105 3_25
MP MB 105 3_28
MP MB 105 3_30
MP MB 105 3_35
MP MB 105 3_36
MP MB 105 3_40
MP MB 105 3_50
MP MB 105 3_70
MP MB 105 3_100
MP MB 105 4_48
MP MB 105 4_64
MP MB 105 4_75
MP MB 105 4_80
MP MB 105 4_84
MP MB 105 4_90
MP MB 105 4_120
MP MB 105 4_125
MP MB 105 4_140
MP MB 105 4_150
MP MB 105 4_160
MP MB 105 4_175
MP MB 105 4_200
MP MB 105 4_210
MP MB 105 4_250
MP MB 105 4_280
MP MB 105 4_350
MP MB 105 4_400
MP MB 105 4_500
MP MB 105 4_700
MP MB 105 4_1000

O/}o | 127



IS 151.2 (MP 130 1)
190.7 (MP 130 2)
57.5 230.2 (MP 130 3) 69.5
5 15 7
35 | 50 | 3
‘\
= [ _ Elo ﬁ
S e e e i i 23 MP 1301 | 12.0
S} NN MP 1302 | 155
i = & = MP 1303 | 185
7 15 =8 @110 0.5
20| Al
nes 126 (MP1301)
165.5 (MP 130 2)
N5 205 mP1303) 69.5
N3 7
"8
|
|.50,..3 ﬁ
Il | N~
_ | 0O
e e MP 1301 | 120
— )
o NS MP1302 | 155
© = i MP 1303 | 18.5
. : s Q
< @110z 0.05 20 Q
\‘\4\50 ;
=
DE% N | N1 | N2 | N3 N4 N5 | Lmax
2
55A1 14 15.875 16 19 - - — - - - 55,5 | 125.7 130 4 M6x15 39.5 50
80A2 14 15.875 16 19 - - — - — - 80 100 130 4 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 - - - - 95 115 130 4 M8x20 39.5 50
110A1 14 15875 16 19 22 24 - - - - 110 130 130 4 M8x20 39.5 50
110B1 14 15875 16 19 22 24 - - - - 110 145 130 6.5 M8x20 495 60
114A0 14 15875 16 19 22 24 - - - - 114.3 200 170 5.5 M12x25 39.5 50
114A 14 15875 16 19 22 24 28 32 35 38 114.3 200 170 5.5 M12x25 69.5 80
130A 14 15875 16 19 22 24 - - - - 130 165 140 4 M10x20 | 39.5 50
130A1 14 15875 16 19 22 24 28 32 - — 130 165 140 4 M10x20 495 60
180A 14 15.875 16 19 22 24 28 32 - - 180 215 190 55 M14x25 | 49.5 60
180A1 14 15875 16 19 22 24 28 32 35 38 180 215 190 55 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

128 | O/}o



L1

L3 L2
Gz ‘
FM sl 8. Ba —
Q Q| - o
";,/’i// Q
vz %) \
R
—
D (\\:{ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 125.5 M8x15 M6 40 27.5 6 20 14.5
19 51 113 125.5 M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 375 11.25 26 26
38 77.5 113 125.5 M8x15 M8 50 37.5 11.25 26 28

215 | 400 | 800 | 2100 | 3000 | 15' | 10" | 43.0 | 800 | 5500 | 6500 | 97 5.25 5.46 5.81 | 7.16

380 | 600 | 1100 | 2400 | 3500 | 15" | 10" | 43.0 | 800 | 5500 | 6500 | 97 3.06 3.26 3.61 | 4.97

380 | 600 | 1100 | 2900 | 3500 | 15" | 10" | 43.0 | 800 | 5500 | 6500 | 97 2.22 242 | 277 | 413

380 | 600 | 1100 | 2900 | 3500 | 15' | 10" | 43.0 | 800 | 5500 | 6500 | 97 1.19 1.40 1.75 | 3.10

380 | 600 | 1100 | 3200 | 4000 | 15" | 10" | 43.0 | 800 | 5500 | 6500 | 97 1.47 1.68 2.03 | 3.38

215 | 400 | 800 | 3200 | 4000 | 15' | 10" | 43.0 | 800 | 5500 | 6500 | 97 1.04 1.25 1.60 | 2.95

215 | 400 | 800 | 2100 | 3000 | 15" | 10" | 37.5 | 800 | 5500|6500 | 94 4.82 5.02 5.37 | 6.72

450 | 700 | 1300 | 2100 | 3000 | 15' | 10" | 37.5 | 800 | 5500 | 6500 | 94 4.57 4.78 5.13 | 6.48

450 | 700 | 1300 | 2100 | 3000 | 15" | 10" | 37.5 | 800 |5500 | 6500 | 94 4.48 4.69 5.04 | 6.39

450 | 700 | 1300 | 2400 | 3500 | 15" | 10" | 37.5 | 800 | 5500|6500 | 94 2.67 288 | 3.23 | 458

450 | 700 | 1300 | 2900 | 3500 | 15' | 10" | 37.5 | 800 |5500 | 6500 | 94 1.97 2.18 2.53 | 3.88

450 | 700 | 1300 | 2900 | 3500 | 15' | 10" | 37.5 | 800 |5500 | 6500 | 94 1.94 2.15 2.50 | 3.85

450 | 700 | 1300 | 3200 | 4000 | 15" | 10" | 37.5 | 800 | 5500|6500 | 94 1.34 1.55 1.90 | 3.25

215 | 400 | 800 | 3200 | 4000 | 15" | 10" | 37.5 | 800 | 5500 | 6500 | 94 1.00 1.21 1.56 | 2.91

450 | 700 | 1300 [ 3200 | 4000 | 15' | 10" | 37.5 | 800 |5500 | 6500 | 94 1.33 1.53 1.88 | 3.24

380 | 600 | 1100 | 2900 | 3500 | 15' | 10' | 37.5 | 800 | 5500 | 6500 | 94 1.05 1.26 1.61 | 2.96

450 | 700 | 1300 | 3200 | 4000 | 15' | 10" | 37.5 | 800 | 5500 | 6500 | 94 0.98 1.19 1.54 | 2.89

450 | 700 | 1300 | 3200 | 4000 | 15" | 10" | 37.5 | 800 |5500 | 6500 | 94 0.97 1.18 1.53 | 2.88

450 | 700 | 1300 | 3200 | 4000 | 15' | 10" | 37.5 | 800 |5500 | 6500 | 94 0.96 1.17 1.52 | 2.87

215 | 400 | 800 | 3200 | 4000 | 15" | 10" | 37.5 | 800 5500 [ 6500 | 94 0.96 1.17 1.52 | 2.87

450 | 700 | 1300 | 2400 | 3500 | 17" | 12' | 29.5 | 800 |5500 | 6500 | 91 2.77 2.98 3.33 | 4.68

450 | 700 [ 1300 | 2400 | 3500 | 17" | 12' | 29.5 | 800 |5500 [ 6500 | 91 2.65 2.86 3.21 | 4.56

450 | 700 | 1300 | 2900 | 3500 | 17" | 12' | 29.5 | 800 |5500 6500 | 91 2.03 2.24 259 | 3.94

450 | 700 | 1300 | 2400 | 3500 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 2.65 2.85 3.20 | 4.56

450 | 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 1.37 1.58 1.93 | 3.28

215 | 400 | 800 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 1.00 1.20 1.55 | 2.91

450 | 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 0.99 1.20 1.55 | 2.90

450 | 700 | 1300 | 2900 | 3500 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 1.93 2.13 248 | 3.84

450 | 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 1.34 1.54 1.89 | 3.25

450 | 700 | 1300 | 3200 | 4000 | 17" | 12" | 29.5 | 800 |5500 | 6500 | 91 0.99 1.20 1.55 | 2.90

450 | 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 0.98 1.18 1.53 | 2.89

450 | 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 1.32 1.53 1.88 | 3.23

450 | 700 | 1300 | 3200 | 4000 | 17" | 12" | 29.5 | 800 |5500 | 6500 | 91 0.97 1.18 1.53 | 2.88

450 | 700 | 1300 | 3200 | 4000 | 17" | 12" | 29.5 | 800 |5500 | 6500 | 91 0.99 1.20 1.55 | 2.90

450 | 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 0.97 1.18 1.53 | 2.88

450 | 700 | 1300 | 3200 | 4000 | 17" | 12" | 29.5 | 800 |5500 | 6500 | 91 0.96 1.17 1.52 | 2.87

450 | 700 | 1300 | 3200 | 4000 | 17" | 12" | 29.5 | 800 |5500 | 6500 | 91 0.96 1.17 1.52 | 2.87

450 | 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 0.96 1.17 1.52 | 2.87

450 | 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 800 | 5500 | 6500 | 91 0.96 1.17 1.52 | 2.87

450 | 700 | 1300 | 3200 | 4000 | 17" | 12" | 29.5 | 800 |5500 | 6500 | 91 0.96 1.17 1.52 | 2.87

215 | 400 | 800 | 3200 | 4000 | 17' | 12' | 29.5 [ 800 |5500 | 6500 [ 91 0.96 1.17 1.52 | 2.87

O(:)O I 129



55A1 ... 180A1

2
0 7
s T
50 3
E\ 0 124 ﬁ
o N~ N
© — <
— b —o ——— =i 3 MP G 1302 | 16.0
© 3 oISt MPG1303 | 195
© | \g o MP G 1304 | 225
110-00 2520e s | oo™ O
124 62 292.2 (MP G 130 4) 69.5 }
DI/% N | Nt | N2 | N3 N4 | N5 | Lmax
&
55A1 14 15875 16 19 - - - - _— _ |55 ]1257] 130 | 4 | Mexi5 | 395 | 50
80A2 14 15875 16 19 - - - - — _ | 80 | 100 | 130 | 4 | Méx15 | 395 | 50
95A1 14 15875 16 19 22 24 - - - _ | 95 | 115 | 130 | 4 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 — — —  — | 110 | 130 | 130 | 4 | M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 — — —  _— | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
114A0 | 14 15875 16 19 22 24 - -  —  — | 1143 | 200 | 170 | 55 | M12x25 | 395 | 50
114A 14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 55 | M12x25 | 69.5 | 80
130A 14 15875 16 19 22 24 - - —  — | 130 | 165 | 140 | 4 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 —  — | 130 | 165 | 140 | 4 | M10x20 | 495 | 60
180A 14 15875 16 19 22 24 28 32 —  — | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 69.5 | 80

Please contact us for different motor adapters and input shaft bore.

130 | €1,



@ D1
&y N
D4
@ D2 ;
D5 L5 00:
FM S R 35
@D
D (\— D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 13 1255 | M8x15 M6 40 275 6 20 14.5
19 51 113 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 | M8x15 M6 41 28.5 6 19.5 19
28 67 113 1255 | M8x15 VE] 41 28.5 6 19.5 22,5
32 71 113 1255 | M8x15 M8 41 28.5 6 19.5 245
35 73 113 1255 | MB8x15 VE] 50 375 11.25 26 26
38 77.5 113 1255 | MB8x15 M8 50 375 11.25 26 28
/N
D ( Jl
P
MP G 130 2_3 400 | 800 [ 2100|3000 | 15' | 10' | 43.0 | 5500 | 6500 | 94 | 7.09 7.28 7.66 | 10.37
MP G 130 2_4 600 | 1100 | 2400 | 3500 | 15' | 10" | 43.0 | 5500 | 6500 | 94 | 4.90 5.08 5.46 8.18
MP G 130 2_5 600 | 1100 | 2900 | 3500 | 15' | 10" | 43.0 | 5500 | 6500 | 94 | 4.81 4.99 5.38 8.10
MP G 130 2_6 600 | 1100 | 2900 | 3500 | 15' | 10" | 43.0 | 5500 | 6500 | 94 | 4.45 4.64 5.03 7.73
MP G 130 2_7 600 | 1100 | 3200 | 4000 | 15' | 10" | 43.0 | 5500 | 6500 | 94 | 4.73 4.92 5.31 8.01
MP G 130 2_10 400 | 800 | 3200 | 4000 | 15' | 10' | 43.0 | 5500 | 6500 | 94 | 4.68 4.88 5.26 7.97
MP G 130 3_9 400 | 800 [2100[3000| 15' | 10" | 37.5 | 5500 | 6500 | 91 | 6.66 6.84 7.22 9.93
MP G 130 3_12 700 | 1300 | 2100 | 3000 | 15' | 10' | 37.5 | 5500 | 6500 | 91 | 6.25 6.45 6.84 9.54
MP G 130 3_15 700 | 1300 | 2100 | 3000 | 15' | 10' | 37.5 | 5500 | 6500 | 91 | 6.25 6.44 6.83 9.53
MP G 130 3_16 700 | 1300 | 2400 | 3500 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 4.51 4.70 5.08 7.79
MP G 130 3_20 700 | 1300 | 2900 | 3500 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 4.56 5.36 5.75 8.45
MP G 130 3_25 700 | 1300 | 2900 | 3500 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 5.13 4.72 5.11 7.82
MP G 130 3_28 700 | 1300 | 3200 | 4000 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 4.60 4.79 5.18 7.88
MP G 130 3_30 400 | 800 | 3200|4000 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 4.64 4.84 5.22 7.93
MP G 130 3_35 700 | 1300 | 3200 | 4000 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 4.92 5.10 5.49 8.20
MP G 130 3_36 600 | 1100 | 2900 | 3500 | 15' | 10' | 37.5 | 5500 | 6500 | 91 | 4.31 450 4.89 7.59
MP G 130 3_40 700 | 1300 | 3200 | 4000 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 4.77 4.96 5.35 8.05
MP G 130 3_50 700 | 1300 | 3200 | 4000 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 4.76 4.96 5.34 8.05
MP G 130 3_70 700 | 1300 | 3200 | 4000 | 15' | 10" | 37.5 | 5500 | 6500 | 91 | 4.60 4.80 5.18 7.89
MP G 130 3_100 400 | 800 | 3200 | 4000 | 15' | 10' | 37.5 | 5500 | 6500 | 91 | 4.60 4.80 5.18 7.89
MP G 130 4_48 700 | 1300 | 2400 | 3500 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.61 4.81 5.18 7.89
MP G 130 4_64 700 | 1300 | 2400 | 3500 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.49 4.68 5.06 7.77
MP G 130 4_75 700 | 1300 | 2900 | 3500 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.62 4.81 5.20 7.91
MP G 130 4_80 700 | 1300 | 2400 | 3500 | 17" | 12' | 29.5 | 5500 | 6500 | 89 | 4.49 4.67 5.05 7.77
MP G 130 4_84 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 5500 | 6500 | 89 | 4.63 4.82 5.21 7.91
MP G 130 4_90 400 | 800 | 3200|4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.64 4.83 5.21 7.93
MP G 130 4_120 700 | 1300 | 3200 | 4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.63 4.83 5.21 7.92
MP G 130 4_125 700 | 1300 | 2900 | 3500 | 17' | 12 | 29.5 | 5500 | 6500 | 89 | 4.52 4.70 5.09 7.81
MP G 130 4_140 700 | 1300 | 3200 | 4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.60 478 5.17 7.88
MP G 130 4_150 700 | 1300 | 3200 | 4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.63 4.83 5.21 7.92
MP G 130 4_160 700 | 1300 | 3200 | 4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.62 4.81 5.19 7.91
MP G 130 4_175 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 5500 | 6500 | 89 | 4.58 4.77 5.16 7.86
MP G 130 4_200 700 | 1300 | 3200 | 4000 | 17' | 12 | 29.5 | 5500 | 6500 | 89 | 4.61 4.81 5.19 7.90
MP G 130 4_210 700 | 1300 | 3200 | 4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.63 4.83 5.21 7.92
MP G 130 4_250 700 | 1300 | 3200 | 4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.61 4.81 5.19 7.90
MP G 130 4_280 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 5500 | 6500 | 89 | 4.60 4.80 5.18 7.89
MP G 130 4_350 700 | 1300 | 3200 | 4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.60 4.80 5.18 7.89
MP G 130 4_400 700 | 1300 | 3200 | 4000 | 17" | 12' | 29.5 | 5500 | 6500 | 89 | 4.60 4.80 5.18 7.89
MP G 130 4_500 700 | 1300 | 3200 | 4000 | 17" | 12" | 29.5 | 5500 | 6500 | 89 | 4.60 4.80 5.18 7.89
MP G 130 4_700 700 | 1300 | 3200 | 4000 | 17' | 12' | 29.5 | 5500 | 6500 | 89 | 4.60 4.80 5.18 7.89
MP G 130 4_1000 400 _| 800 _[ 3200 4000 | 17 | 12" | 295 | 5500 | 6500 | 89 | 460 4.80 5.18 7.89

O/}o 1131



MP MB 130

55A1 ... 180A1 375 100
275, |
=20
@172 © P4266
| | Ns 2 M
Yy =
2, N3
R e - | s
- ——& o —Hh @ |
A l o
o | | Z|a | ! ol o o o
S seil g st LEE
N | ||
< L
| [ i T
B FT o =
425 100 ® @75 ©
L @172
233.5 (MP MB 130 2)
273 (MP MB 130 3)
312.5 (MP MB 130 4) 15 Nm
B
~ 11 [ MP MB 130 2 54
- MPMB 1303 | 58
MP MB 130 4 61
i
M12x22 l. 8750 |
145
20 175
| B
DI% N | Nt | N2 | N3 N4 | N5 | Lmax
S
55A1 14 15.875 16 19 - - — - — - 555 | 125.7 130 4 M6x15 39.5 50
80A2 14 15875 16 19 - - - - - - 80 100 130 4 M6x15 39.5 50
95A1 14 15875 16 19 22 24 - - - - 95 115 130 4 M8x20 39.5 50
110A1 14 15875 16 19 22 24 - - — — 110 130 130 4 M8x20 39.5 50
110B1 14 15875 16 19 22 24 - — — — 110 145 130 6.5 M8x20 49.5 60
114A0 14 15875 16 19 22 24 - - - - 114.3 200 170 55 M12x25 39.5 50
114A 14 15875 16 19 22 24 28 32 35 38 114.3 200 170 5.5 M12x25 69.5 80
130A 14 15875 16 19 22 24 - - - - 130 165 140 4 M10x20 39.5 50
130A1 14 15875 16 19 22 24 28 32 - - 130 165 140 4 M10x20 | 49.5 60
180A 14 15875 16 19 22 24 28 32 - - 180 215 190 5.5 M14x25 | 49.5 60
180A1 14 15875 16 19 22 24 28 32 35 38 180 215 190 55 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

132 1 O{JO



MP MB 130

L1
L2
FM o St — -
Q Q= a
Q
%)
e
an
D| {+ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 125.5 M8x15 M6 40 27.5 6 20 14.5
19 51 113 125.5 M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 37.5 11.25 26 26
38 77.5 113 125.5 M8x15 M8 50 37.5 11.25 26 28

i

MP MB 130 2_3
MP MB 130 2_4
MP MB 130 2_5
MP MB 130 2_6
MP MB 130 2_7
MP MB 130 2_10
MP MB 130 3_9
MP MB 130 3_12
MP MB 130 3_15
MP MB 130 3_16
MP MB 130 3_20
MP MB 130 3_25
MP MB 130 3_28
MP MB 130 3_30
MP MB 130 3_35
MP MB 130 3_36
MP MB 130 3_40
MP MB 130 3_50
MP MB 130 3_70
MP MB 130 3_100
MP MB 130 4_48
MP MB 130 4_64
MP MB 130 4_75
MP MB 130 4_80
MP MB 130 4_84
MP MB 130 4_90
MP MB 130 4_120
MP MB 130 4_125
MP MB 130 4_140
MP MB 130 4_150
MP MB 130 4_160
MP MB 130 4_175
MP MB 130 4_200
MP MB 130 4_210
MP MB 130 4_250
MP MB 130 4_280
MP MB 130 4_350
MP MB 130 4_400
MP MB 130 4_500
MP MB 130 4_700

MP MB 130 4_1000

nq

N1 max

[min-1]

Ps | Pr

[arcmin]

Ct

i
arcmin

14..19  22-24

28-32 35-38

1Y)

| 133




. 155.2 (MP 160 1)
IS (@i=6, 36) 194.7 (MP 160 2)
61.5 234.2 (MP 160 3) 98
2.25 15 14
50 \ 70 | 6
‘\
= | Em &
e — R H & oL MP 1601 | 17.0
SINE N MP 1602 | 21
=& ,‘ | IS MP 1603 | 28
™D
8= 7 16 =y @130+ 0.05
18 | 125
e 130 (MP 160 1)
169.5 (MP 160 2)
N5 209 (vP1603) 98
N3 14
12 h9 5
e L2 B
& \ =
@)H zo - o 8 MP 1601 | 17.0
A 7 N 45,8 MP 1602 | 21
N | = ég MP 1603 | 28
,/ : s <
< @130 005 »JA S
5o |
e
B
DE% N | Nt | N2 | N3 N4 N5 | Lmax
-
55A1 14 15875 16 19 - - - - -  — | 555 1257 | 140 5 Méx15 | 395 | 50
80A2 14 15875 16 19 - - - - - - 80 | 100 | 140 5 Méx15 | 395 | 50
95A1 14 15875 16 19 22 24 - - - - 95 15 | 140 5 M8x20 | 395 | 50
110A1 14 15875 16 19 22 24 - - -  — | 110 | 130 | 140 5 M8x20 | 395 | 50
110B1 14 15875 16 19 22 24 - - - — | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
114A 14 15875 16 19 22 24 28 32 35 38 1143 | 200 | 170 | 65 | M12x25 | 69.5 | 80
130A 14 15875 16 19 22 24 - - -  — | 130 | 165 | 140 5 | M10x20 | 39.5 | 50
130A1 14 15875 16 19 22 24 28 32 - — | 130 | 165 | 140 5 | M10x20 | 495 | 60
180A 14 15875 16 19 22 24 28 32 - — | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

Please contact us for different motor adapters and input shaft bore.

134 1| O{Jo



L1

L2
FM o 2R o ey AN
Q Q= S] a
)
©
e
/li
) D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 1425 | M8x16 M6 40 275 6 20 145
19 51 130 1425 | M8x16 M6 40 27.5 6 20 16.5
22 24 56.5 130 1425 | M8x16 M6 41 28.5 6 195 19
28 67 130 1425 | M8x16 M8 41 28.5 6 19.5 225
32 71 130 1425 | M8x16 M8 41 28.5 6 19.5 24.5
35 73 130 1425 | M8x16 M8 50 375 11.25 26 26
38 775 130 1425 | M8x16 M8 50 375 11.25 26 28
ﬁ |
D ( ’T:
| iz
350 | 660 | 1200 | 1900 | 3000 | 15' | 10' | 90 | 1200 | 6500 | 7500 | 97 | 8.39 | 8.60 | 8.95 | 10.30
500 | 750 | 1400 | 2200 | 3500 | 15' | 10' | 90 | 1200 | 6500 | 7500 | 97 | 4.68 | 4.89 | 524 | 6.59
500 | 750 | 1400 | 2500 | 3500 | 15' | 10' | 90 | 1200 | 6500 | 7500 | 97 | 3.28 | 3.49 | 3.84 | 5.19
500 | 750 | 1400 | 2500 | 3500 | 15' | 10' | 90 | 1200 | 6500 | 7500 | 97 | 1.32 | 1.53 | 1.88 | 3.23
500 | 750 | 1400 | 3000 | 4000 | 15' | 10' | 90 | 1200 | 6500 | 7500 | 97 | 2.03 | 2.24 | 2.59 | 3.94
350 | 660 | 1200 | 3000 | 4000 | 15' | 10' | 90 | 1200 | 6500 | 7500 | 97 | 1.33 | 1.53 | 1.88 | 3.24
350 | 660 | 1200 | 1900 | 3000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 7.51 | 7.72 | 8.07 | 9.42
700 | 950 | 1800 | 1900 | 3000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 7.10 | 7.30 | 7.65 | 9.01
700 | 950 | 1800 | 1900 | 3000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 6.94 | 7.15 | 7.50 | 8.85
700 | 950 | 1800 | 2200 | 3500 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 3.95 | 4.16 | 451 | 5.86
700 | 950 | 1800 | 2500 | 3500 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 2.82 | 3.02 | 3.37 | 4.73
700 | 950 | 1800 | 2500 | 3500 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 2.76 | 2.97 | 3.32 | 4.67
700 | 950 | 1800 | 3000 | 4000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 1.79 | 2.00 | 2.35 | 3.70
350 | 660 | 1200 | 3000 | 4000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 1.25 | 1.46 | 1.81 | 3.16
700 | 950 | 1800 | 3000 | 4000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 1.77 | 1.97 | 2.32 | 3.68
500 | 750 | 1400 | 2500 | 3500 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 1.06 | 1.27 | 1.62 | 2.97
700 | 950 | 1800 | 3000 | 4000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 1.21 | 1.42 | 1.77 | 3.12
700 | 950 | 1800 | 3000 | 4000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 1.20 | 1.40 | 1.75 | 3.11
700 | 950 | 1800 | 3000 | 4000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 1.18 | 1.39 | 1.74 | 3.09
350 | 660 | 1200 | 3000 | 4000 | 15' | 10' | 83 | 1200 | 6500 | 7500 | 94 | 1.18 | 1.38 | 1.73 | 3.09
700 | 950 | 1800 | 2200 | 3500 | 17' | 12° | 60 | 1200 | 6500 | 7500 | 91 | 4.10 | 4.31 | 4.66 | 6.01
700 | 950 | 1800 | 2200 [ 3500 | 17° | 12 | 60 | 1200 | 6500 | 7500 | 91 | 3.90 | 4.11 | 4.46 | 5.81
700 | 950 | 1800 | 2500 | 3500 | 17' | 12° | 60 | 1200 | 6500 | 7500 | 91 | 2.91 | 3.1 | 3.46 | 4.82
700 | 950 | 1800 | 2200 [ 3500 | 17' | 12 | 60 | 1200 | 6500 | 7500 | 91 | 3.90 | 411 | 4.46 | 5.81
700 | 950 | 1800 | 3000 | 4000 | 17° | 12 | 60 | 1200 | 6500 | 7500 | 91 | 1.84 | 2.05 | 2.40 | 3.75
350 | 660 | 1200 | 3000 [4000 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 124 | 1.45 | 1.80 | 3.15
700 | 950 | 1800 | 3000 | 4000 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.23 | 1.44 | 1.79 | 3.14
700 | 950 | 1800 | 2500 | 3500 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 2.74 | 2.95 | 3.30 | 4.65
700 | 950 | 1800 | 3000 | 4000 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.78 | 1.98 | 2.33 | 3.69
700 | 950 | 1800 | 3000 | 4000 | 17° | 12° | 60 | 1200 | 6500 | 7500 | 91 | 1.23 | 1.44 | 1.79 | 3.14
700 | 950 | 1800 | 3000 | 4000 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.20 | 1.41 | 1.76 | 3.11
700 | 950 | 1800 | 3000 | 4000 | 17° | 12° | 60 | 1200 | 6500 | 7500 | 91 | 1.76 | 1.96 | 2.31 | 3.67
700 | 950 | 1800 | 3000 | 4000 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.20 | 1.41 | 1.76 | 3.11
700 | 950 | 1800 | 3000 | 4000 | 17° | 12° | 60 | 1200 | 6500 | 7500 | 91 | 1.23 | 1.44 | 1.79 | 3.14
700 | 950 | 1800 | 3000 | 4000 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.19 | 1.40 | 1.75 | 3.10
700 | 950 | 1800 | 3000 | 4000 | 17 | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.18 | 1.39 | 1.74 | 3.09
700 | 950 | 1800 | 3000 | 4000 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.18 | 1.39 | 1.74 | 3.09
700 | 950 | 1800 | 3000 | 4000 | 17 | 12° | 60 | 1200 | 6500 | 7500 | 91 | 1.18 | 1.38 | 1.73 | 3.09
700 | 950 | 1800 | 3000 | 4000 | 17' | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.18 | 1.38 | 1.73 | 3.09
700 | 950 | 1800 | 3000 | 4000 | 17 | 12' | 60 | 1200 | 6500 | 7500 | 91 | 1.18 | 1.38 | 1.73 | 3.09
350 | 660 | 1200 | 3000 | 4000 | 17 | 12" | 60 | 1200 | 6500 | 7500 | 91 | 1.18 | 1.38 | 1.73 | 3.09
O(JO 1 135




55A1 ... 180A1

[s2]
z
n
4
12 h9 6
g [N <
(e e 3 &
\ 0 —
Ff 2Tl o A ] I @’N MPG1602 | 24
) @‘\*/@i - 2 = = MP G 160 3 28
‘ ’L =gc MPG1604 | 34
218.2 (MP G 160 2) =
@130 +0.05 257.7 (MP G 160 3) M12x25 Q
137 62 297.2 (MP G 160 4) 98 |
DI% N | Nt | N2 | N3 N4 N5 | Lmax
-
55A1 14 15.875 16 19 — - - - - - 55.5 | 125.7 | 140 5 M6x15 39.5 50
80A2 14 15.875 16 19 - — — — — — 80 100 140 5 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 — - — - 95 115 140 5 M8x20 39.5 50
110A1 14 15875 16 19 22 24 - - — — 110 130 140 5 M8x20 39.5 50
110B1 14 15875 16 19 22 24 - - - - 110 145 140 6.5 M8x20 495 60
114A 14 15875 16 19 22 24 28 32 35 38 114.3 200 170 6.5 M12x25 69.5 80
130A 14 15875 16 19 22 24 - — — — 130 165 140 5 M10x20 | 39.5 50
130A1 14 15875 16 19 22 24 28 32 - — 130 165 140 5 M10x20 | 49.5 60
180A 14 15875 16 19 22 24 28 32 - — 180 215 190 55 M14x25 | 49.5 60
180A1 14 15875 16 19 22 24 28 32 35 38 180 215 190 55 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

136 | €1,



@ D1
D N3
R Ny
D4
@ D2 :
D5 L5
FM S i
oDl
b X D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15875 16 48 13 1255 | M8x15 | M6 40 275 6 20 145
19 51 13 1255 | M8x15 | M6 40 275 6 20 16.5
22 24 56.5 13 1255 | M8x15 M6 41 285 6 19.5 19
28 67 13 1255 | M8x15 | M8 41 285 6 19.5 225
32 71 13 1255 | M8x15 | M8 41 285 6 19.5 245
35 73 13 1255 | M8x15 | M8 50 375 11.25 26 26
38 775 113 1255 | M8x15 | M8 50 375 11.25 26 28
N
D ( - ~
<>
MP G 160 2_3 350 | 660 | 1200 | 1900 [ 3000 | 15' [ 10' | 90 | 6500 | 7500 | 94 | 10.23 | 10.42 | 10.80 | 13.51
MP G 160 2_4 500 | 750 | 1400 | 2200 [3500 | 15' | 10' | 90 | 6500 | 7500 | 94 | 652 | 671 | 7.09 | 9.80
MP G 160 2_5 500 | 750 | 1400 | 2500 [ 3500 | 15' | 10' | 90 | 6500 | 7500 | 94 | 587 | 6.06 | 645 | 9.16
MP G 160 2_7 500 | 750 | 1400 | 3000 [4000 | 15' | 10' | 90 | 6500 | 7500 | 94 | 529 | 548 | 587 | 857
[ [S0on 0| 350 | 660 | 1200 | 3000 [ 4000 | 15' | 10' | 90 | 6500 | 7500 | 94 | 4.97 | 516 | 554 | 8.25
MP G 160 3_9 350 | 660 | 1200 | 1900 | 3000 | 15' | 10' | 83 | 6500 | 7500 | 91 | 9.35 | 954 | 992 | 12.63

MP G 160 3_12 700 | 950 | 1800 | 1900 | 3000 | 15' | 10' 83 6500 | 7500 | 91 8.78 8.97 9.36 12.07
MP G 160 3_15 700 | 950 | 1800 | 1900 | 3000 | 15' | 10' 83 6500 | 7500 | 91 8.71 8.90 9.29 11.99
MP G 160 3_16 700 | 950 | 1800 | 2200 | 3500 | 15' | 10' 83 6500 | 7500 | 91 5.79 5.98 6.36 9.07
MP G 160 3_20 700 | 950 | 1800 | 2500 | 3500 | 15' | 10' 83 6500 | 7500 | 91 5.41 6.20 6.59 9.30
MP G 160 3_25 700 | 950 | 1800 | 2500 | 3500 | 15' | 10' 83 6500 | 7500 | 91 5.95 5.54 5.93 8.64
MP G 160 3_28 700 | 950 | 1800 | 3000 | 4000 | 15" | 10' 83 6500 | 7500 | 91 5.05 5.24 5.63 8.33
MP G 160 3_30 350 | 660 | 1200 | 3000 | 4000 | 15" | 10' 83 6500 | 7500 | 91 4.89 5.09 5.47 8.18
MP G 160 3_35 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 6500 | 7500 | 91 5.36 5.54 5.93 8.64
MP G 160 3_40 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 6500 | 7500 | 91 5.00 5.19 5.58 8.28
MP G 160 3_50 700 | 950 | 1800 | 3000 | 4000 | 15" | 10' 83 6500 | 7500 | 91 4.99 5.18 5.56 8.27
MP G 160 3_70 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 6500 | 7500 | 91 4.82 5.02 5.40 8.1
el 350 | 660 | 1200 | 3000 | 4000 | 15" | 10 83 6500 | 7500 | 91 4.82 5.01 5.39 8.10
MP G 160 4_48 700 | 950 | 1800 | 2200 | 3500 | 17' | 12' 60 6500 | 7500 | 89 5.94 6.13 6.53 9.22
MP G 160 4_64 700 | 950 | 1800 | 2200 | 3500 | 17" | 12' 60 6500 | 7500 | 89 5.74 5.93 6.31 9.02
MP G 160 4_75 700 | 950 | 1800 | 2500 | 3500 | 17* | 12' 60 6500 | 7500 | 89 5.50 5.68 6.07 8.79
MP G 160 4_80 700 | 950 | 1800 | 2200 | 3500 | 17' | 12' 60 6500 | 7500 | 89 5.74 5.93 6.31 9.02
MP G 160 4_84 700 | 950 | 1800 | 3000 | 4000 | 17' | 12' 60 6500 | 7500 | 89 5.10 5.29 5.68 8.38
MP G 160 4_90 350 | 660 | 1200 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.88 5.08 5.46 8.17
WlserEun gl | 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16
Jser sl ) 700 | 950 | 1800 | 2500 | 3500 | 17" | 12 60 6500 | 7500 | 89 5.33 5.52 5.91 8.62
VEer Bl ] 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 6500 | 7500 | 89 5.04 5.22 5.61 8.32
JEer S ] 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16
Ve R | 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.84 5.04 542 8.13
Ve S el | 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 6500 | 7500 | 89 5.02 5.20 5.59 8.30
Jser s ) 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.84 5.04 542 8.13
Ve SRR ] 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16
Vel s ) 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.83 5.03 5.41 8.12
VEer S ] 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.82 5.02 5.40 8.1
JEer S ] 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.82 2.05 5.40 8.1
Ve eR el ) 700 | 950 | 1800 | 3000 | 4000 | 17" | 12 60 6500 | 7500 | 89 4.82 5.01 5.39 8.1
JEer S ] 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 6500 | 7500 | 89 4.82 5.01 5.39 8.1
JEer Sl ) 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 6500 | 7500 | 89 4.82 5.01 5.39 8.1
Loy 350 | 660 | 1200 | 3000 | 4000 | 17" | 12" 60 6500 | 7500 | 89 4.82 5.01 5.39 8.11

O/}o | 137



MP MB 160

55A1 ... 180A1

375 100
@75 \
R
‘ ‘ N5 ® - =
7 i N3 T
t2, | N3 | | I o
. N
e Y - R
A AR Y aull
o i | zlo | | o o | o
S - rﬂ*ﬂ* ss! ﬁ**y ********** e N &S
) 0
oo | § b e ¢
g | o
N ‘ o
| [ i T
_\:|—¢—|:,_ [t} lm:':
425 100 ® @75 ©
‘ 172
237.5 (MP MB 160 2)
277 (MP MB 160 3)
316.5 (MP MB 160 4) 15 Nm
@47 | e—
g - | 09 MPMB 1602 | 59
5 I3 MP MB 160 3 | 63.5
& MP MB 1604 | 70.5
P IR
M12x22 ﬂ,
145
20 175
| I
DE% N | Nt | N2 | N3 | N& | N5 | Lmax
—
55A1 14 15.875 16 19 - - - - - - 55.5 | 125.7 | 140 5 M6x15 39.5 50
80A2 14 15875 16 19 - - - - - - 80 100 140 5 M6x15 39.5 50
95A1 14 15875 16 19 22 24 - = = = 95 115 140 5 M8x20 | 39.5 50
110A1 14 15875 16 19 22 24 - - - - 110 130 | 140 5 M8x20 | 39.5 50
110B1 14 15875 16 19 22 24 = = = = 110 145 | 140 6.5 M8x20 | 49.5 60
114A 14 15875 16 19 22 24 28 32 35 38 1143 | 200 | 170 6.5 | M12x25 | 69.5 80
130A 14 15875 16 19 22 24 = = = = 130 | 165 | 140 5 M10x20 | 39.5 50
130A1 14 15875 16 19 22 24 28 32 - - 130 165 140 5 M10x20 | 49.5 60
180A 14 15875 16 19 22 24 28 32 - - 180 215 190 5.5 M14x25 | 49.5 60
180A1 14 15875 16 19 22 24 28 32 35 38 180 215 190 55 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

138 |

1Y)




MP MB 160

L1
L2,
FM 2 8otz 1 —— -
Q|- o
Q
o)
&
1D
D (\* 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 27.5 6 20 14.5
19 51 130 142.5 M8x16 M6 40 27.5 6 20 16.5
22 24 56.5 130 142.5 M8x16 M6 41 28.5 6 19.5 19
28 67 130 142.5 M8x16 M8 41 28.5 6 19.5 225
32 71 130 142.5 M8x16 M8 41 28.5 6 19.5 245
35 73 130 142.5 M8x16 M8 50 37.5 11.25 26 26
38 77.5 130 142.5 M8x16 M8 50 37.5 11.25 26 28

e

MP MB 160 2_3
MP MB 160 2_4
MP MB 160 2_5
MP MB 160 2_6
MP MB 160 2_7
MP MB 160 2_10
MP MB 160 3_9
MP MB 160 3_12
MP MB 160 3_15
MP MB 160 3_16
MP MB 160 3_20
MP MB 160 3_25
MP MB 160 3_28
MP MB 160 3_30
MP MB 160 3_35
MP MB 160 3_36
MP MB 160 3_40
MP MB 160 3_50
MP MB 160 3_70
MP MB 160 3_100
MP MB 160 4_48
MP MB 160 4_64
MP MB 160 4_75
MP MB 160 4_80
MP MB 160 4_84
MP MB 160 4_90
MP MB 160 4_120
MP MB 160 4_125
MP MB 160 4_140
MP MB 160 4_150
MP MB 160 4_160
MP MB 160 4_175
MP MB 160 4_200
MP MB 160 4_210
MP MB 160 4_250
MP MB 160 4_280
MP MB 160 4_350
MP MB 160 4_400
MP MB 160 4_500
MP MB 160 4_700

MP MB 160 4_1000

Nimax Qs

[min-1]

Pr

[arcmin]

(o}

Nm
arcmin

14..19  22-24

28-32 35-38

I 139




55A1 ... 180A1

158.7 (MP 190 1)
210.4 (MP 190 2)

N5  262.1 (MP 190 3) 96
= L Ne
N3 2
i e —
60| 11 LN\
e / \ &
8 — 4 | &) MP1901 | 25
QS A MP1902 | 29
S_C I~ //@v
Sig AN — MP 1903 | 34
15 Q N2
I N1
| I
Dl (<R N | N1 | N2 | N3 N4 N5 | Lmax
¥
14 16 19 - - - - - - - - - 55.5 | 125.7 | 140 ) M6x15 39.5 50
14 16 19 - - - - - - 80 100 140 5 M6x15 39.5 50
14 16 19 22 24 - - - - - - - 95 115 140 ) M8x20 39.5 50
14 16 19 22 24 - - - - - - - 110 130 140 5 M8x20 39.5 50
14 16 19 22 24 - - - - - - - 110 145 140 6.5 M8x20 49.5 60
14 16 19 22 24 28 32 35 38 42 45 48 | 1143 | 200 170 6.5 M12x25 | 69.5 80
14 16 19 22 24 - - - - - - - 130 165 140 5 M10x20 | 39.5 50
14 16 19 22 24 28 32 - - - - - 130 165 140 5 M10x20 | 49.5 60
14 16 19 22 24 28 32 - - - - - 180 215 190 5.5 M14x25 | 49.5 60
14 16 19 22 24 28 32 35 38 42 45 48 180 215 190 5.5 M14x25 | 69.5 80
Please contact us for different motor adapters and input shaft bore.
v
L3 s < L2
Q a B a8
3
Q i a ~“p—1 ] i — B
Q Q 7 a
Q
©
§ |H
L4
L1
'ﬁ/ o
D (\* y D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 16 48 130 142.5 M8x14 M6 45.5 27.5 6 20 14.5
19 51 130 142.5 M8x14 M6 45.5 27.5 6 20 16.5
22 24 56.5 130 142.5 M8x14 M6 47 29 6 20 19
28 67 130 142.5 M8x14 M8 47 29 6 20 225
32 71 130 142.5 M8x14 M8 47 29 6 20 24.5
35 73 130 142.5 M8x14 M8 54.5 36.5 6 25 26
38 77.5 130 142.5 M8x14 M8 54.5 36.5 6 25 28
42 92 130 142.5 M8x14 M10 60.5 40 6 25 33
45 95 130 142.5 M8x14 M10 60.5 40 6 25 33
48 97 130 142.5 M8x14 M10 60.5 40 6 25 33




MP 190 1_3
MP 190 1_4
MP 190 1_5

MP 190 1_6
MP 190 1_7
MP 190 1_10
MP 190 2_9
MP 190 2_12
MP 190 2_15
MP 190 2_16
MP 190 2_20
MP 190 2_25
MP 190 2_28
MP 190 2_30
MP 190 2_35
MP 190 2_36
MP 190 2_40
MP 190 2_50
MP 190 2_70
MP 190 2_100
MP 190 3_48
MP 190 3_64
MP 190 3_75
MP 190 3_80
MP 190 3_84
MP 190 3_90
MP 190 3_120
MP 190 3_125
MP 190 3_140
MP 190 3_150
MP 190 3_160
MP 190 3_175
MP 190 3_200
MP 190 3_210
MP 190 3_250
MP 190 3_280
MP 190 3_350
MP 190 3_400
MP 190 3_500
MP 190 3_700

MP 190 3_1000 slov

e
&

500 | 800 | 1400 | 1500 | 2500 | 15" | 10' 130 14000({15000| 97 24.20 | 24.88 25.65 29.30 | 29.90
700 | 950 | 1800 | 2100 | 3000 | 15" | 10" 130 |14000|15000| 97 13.41 14.09 | 14.85 | 18.51 19.11
700 | 950 | 1800 | 2300 | 3000 | 15" | 10' 130 |14000|15000| 97 9.32 10.00 | 10.77 | 14.42 | 15.02
700 | 950 | 1800 | 2300 | 3000 | 15" | 10" 130 14000({15000| 97 2.88 3.56 4.33 7.98 8.58
700 | 950 | 1800 | 2900 | 3500 | 15' | 10' 130 |14000|15000| 97 5.68 6.36 713 10.78 | 11.38
500 | 800 | 1400 | 2900 | 3500 | 15" | 10' 130 |14000|15000| 97 3.57 4.25 5.02 8.67 9.27
500 | 800 | 1400 | 1500 | 2500 | 15' | 10' 100 |14000|15000| 94 23.23 | 23.91 24.67 | 28.33 | 28.93
1000 | 1200 | 2200 | 1500 | 2500 | 15" | 10' 100 14000({15000| 94 22.03 | 22.71 2348 | 2713 | 27.73
1000 | 1200 | 2200 | 1500 | 2500 | 15' | 10' 100 |14000|15000| 94 21.58 | 22.25 | 23.02 | 26.68 | 27.27
1000 | 1200 | 2200 | 2100 | 3000 | 15' | 10' 100 |14000|15000| 94 12.19 | 12.86 | 13.63 | 17.29 | 17.89
1000 | 1200 | 2200 | 2300 | 3000 | 15' | 10' 100 |14000|15000| 94 8.54 9.22 9.98 13.64 | 14.24
1000 | 1200 | 2200 | 2300 | 3000 | 15' | 10' 100 |14000|15000| 94 8.37 9.05 9.82 13.48 | 14.07
1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10’ 100 14000({15000| 94 5.28 5.96 6.73 10.38 | 10.98
500 | 800 | 1400 | 2900 | 3500 | 15' | 10" 100 |14000|15000| 94 3.48 416 493 8.58 9.18
1000 | 1200 | 2200 | 2900 | 3500 | 15' | 10' 100 |14000|15000| 94 5.20 5.87 6.64 10.30 | 10.90
700 | 950 | 1800 | 2300 | 3000 | 15" | 10" 100 |14000|15000| 94 2.18 2.86 3.63 7.28 7.88
1000 | 1200 | 2200 | 2900 | 3500 | 15" | 10’ 100 14000({15000| 94 3.37 4.05 4.82 8.48 9.07
1000 | 1200 | 2200 | 2900 | 3500 | 15' | 10' 100 |14000|15000| 94 3.33 4.01 478 8.44 9.03
1000 | 1200 | 2200 | 2900 | 3500 | 15' | 10' 100 |14000|15000| 94 3.30 3.97 474 8.40 9.00
500 | 800 | 1400 | 2900 | 3500 | 15" | 10' 100 14000({15000| 94 3.28 3.95 4,72 8.38 8.98
1000 | 1200 | 2200 | 2100 | 3000 | 17' | 12 90 14000{15000| 91 12.73 13.40 14.17 17.83 | 18.43
1000 | 1200 | 2200 | 2100 | 3000 | 17' | 12 90 14000(15000| 91 12.10 | 12.78 | 13.55 | 17.21 17.80
1000 | 1200 | 2200 | 2300 | 3000 | 17' | 12 90 14000(15000| 91 8.86 9.54 10.31 13.97 | 14.56
1000 | 1200 | 2200 | 2100 | 3000 | 17' | 12 90 14000(15000| 91 12.09 | 12.76 | 13.53 | 17.19 | 17.79
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 14000({15000| 91 5.46 6.13 6.90 10.56 | 11.16
500 | 800 | 1400 | 2900 | 3500 | 17" | 12' 90 14000{15000| 91 3.47 4.15 4.92 8.57 9.17
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12" 90 14000(15000| 91 3.46 414 4.91 8.56 9.16
1000 | 1200 | 2200 | 2300 | 3000 | 17' | 12 90 14000(15000| 91 8.34 9.01 9.78 13.44 | 14.04
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 14000({15000| 91 5.25 5.92 6.69 10.35 | 10.95
1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 14000(15000| 91 3.46 413 4.90 8.56 9.15
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 14000{15000| 91 3.36 4.04 4.81 8.46 9.06
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12" 90 14000(15000| 91 5.18 5.85 6.62 10.28 | 10.88
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 14000(15000| 91 3.36 4.03 4.80 8.46 9.06
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 14000({15000| 91 3.45 413 4.90 8.55 9.15
1000 | 1200 | 2200 | 2900 | 3500 | 17" | 12 90 14000{15000| 91 3.32 4.00 4.77 8.42 9.02
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12" 90 14000(15000| 91 3.29 3.97 474 8.39 8.99
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 14000(15000| 91 3.29 3.97 474 8.39 8.99
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 14000(15000| 91 3.27 3.95 4.72 8.38 8.97
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12 90 14000{15000| 91 3.27 3.95 4.72 8.38 8.97
1000 | 1200 | 2200 | 2900 | 3500 | 17' | 12" 90 14000(15000| 91 3.27 3.95 472 8.38 8.97

800 | 1400 | 2900 | 3500 | 17' | 12' 90 14000(15000| 91 3.27 3.95 472 8.38 8.97

O/Jo 1 141




6.3.1 MACHINE SHAFT

Shaft of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to
consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).
The number and size of relative tapped holes at shaft end depend on application requirements.

B
M B B1 B2
S
038 08 7\1 5°
~ 9] (32} <t
< < < <

@ A1 A2 A3 A4 B B1 B2 S

MP MB 080 =25 20 h7 18 20 h7 178 50 90
MP MB 105 =40 32 h7 30 32 h7 205 60 115 1
MP MB 130/160 =50 42 h7 40 42 h7 259 70 140

142 | O(:)O




EFFECTIVE LINE

MAIN FEATURES
+ Nominal output torque (Nm)

B 5155

+ Torsional backlash (arcmin)

+ Torsional stiffness (Nm/arcmin)
660

+ Max tilting moment (Nm)
f12-110

PROTECTION CLASS
+ IP54

FRAME SIZES
- () 060
< 070
: 090

TQFE SERIES

The TQFE series combines exceptional compactness
with a standardized flange interface, ensuring a quick
and easy mounting suitable for a wide variety of
applications.

With TQFE it is possible to have high levels of
performance and precision at an optimum value-price
ratio.

MAIN OPTIONS

+ Input versions MAIN BENEFITS
I: I':' ‘:‘ﬂ:ll:' II[I:'I:' + High torsional stiffness
WITHOUT - High compactness
MOTOR SOLID INPUT MOTOR . . .
ADAPTER SHAFT ADAPTER - Easy and quick installation
- Lubrication - Standardized flange for
Iy UH1 @ great compatibility
STANDARD | FOOD GRADE
LUBRICATION | LUBRICATION

1Y)

| 143



7

FEATURES OF TQFE SERIES

The TQFE Series represents the answer for applications requiring compact, space-saving solutions. Its standardized flange ensures

great compatibility while its proportioned design allows quiet running and provides a long service life without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available
in a normally equipped workshop.

Available with either standard (STD) or reduced (LOW) backlash:

1-stage units: standard @s < 10’; reduced Pr < 5’
2-stage units: standard Qs < 12’; reduced Pr < 7’

no periodical changes.

Its degree of protection IP54 provides protection against dust and liquid splashes.

Input section oil seals made from a Fluoroelastomer compound are supplied as standard.
Noise pressure level LP < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-'; i=10.
Units are factory packed with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires

Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque

Mn2 [Nm]

(il

3|/ 4,5 |79 |10 12|15 |16 | 20

25 28 |30 | 35 | 40 | 50 | 70 |100

TQFEO060 |29 | 30 | 2525|2918 |29 |29 |30 |30 |30|30|29|30|30|30|30|18
TQFE070 (65|60 | 50 | 50 | 65 |40 | 65 | 65 |60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40
TQFE 090 |155|155|125|125|155|100|155|155|155|155|125(125|155|125|155|125|125 | 100
Output shaft max. loading capacity Available motor shaft bores
N .
5000
TaFE 090 1
4000 =
3000 2800
2500
rareoo. [
2000
1400 i
1100
1000
= TQFE 060
0
TQFE 060 TQFE 070 TQFE 090 L o e s 1 1 1 1 1 1
67 8 9\101112\ 1415 [16 17 19\ 2 % 28 32
[JR2max [ A2max 635 95 127 15875  19.05 o [mm]
144 | O/'JO




7.1 ORDERING CODE

TQFE 070

— SERIES
TQFE

1 3 STD 80A1 CD 19 UH1
— LUBRICANT
— standard
UH1 food grade synthetic lubricant
— INPUT SHAFT BORE
6..322 (Q@IS)
— MOTOR COUPLING
CD clamping device (@ IS)
— INPUT SECTION

25AH ... 130A1 motor adapter

IS solid input shaft

FM without motor adapter

— BACKLASH
1 reduction |2 reductions
STD Ps<10' Ps<12'
LOwW Pr<S QrsT7
— GEAR RATIO
— REDUCTIONS
1 2
— FRAME SIZE
060 070 090

1Y)

| 145



7.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

39.5 (TQFE 060 1)

56.5 (TQFE 060 2) 19.5
N5 - 4
&
=
> z I g 2
lel o) i s = Z10) : Q ®
) S -
5 \V% 8 i _
& ~—o— N3 . S
S 2315 8 N
@79 8. 1
2 86
TQFE 060 1
TQFE 060 2
aay N N1 N2 | N3 | N4 | N5 | Liax
. min_| max
25AH |6 635 7 8 9 952 - - - - - | 25| 39 | 5
26AH |6 635 7 8 9 952 - - - - - | 26 | 39 | 56
28AH |6 635 7 8 9 95 - - - - | 28 | 39 | 56
30AH |6 635 7 8 9 952 - - - - - | 30 | 39 | 56
32AH |6 635 7 8 9 952 - - - - - |3 | 3 |5 |6 | 35| 45 | 25 | 25
34AH |6 635 7 8 9 952 - - - - - | 34 | 40 | 56
3AH |6 635 7 8 9 952 - - - - — | 36 | 42 | 56
39AH |6 635 7 8 9 95 - - - - - | 39 | 45 | 56
40AH |6 635 7 8 9 952 - - - - — | 40 | 46 | 56
388 6 635 7 8 9 952 10 11 12 127 — | 38.1 66.6 60 | 3 | M4xt0 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 | 3 | Max10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 | 3 | M4x10 | 18 | 25
508 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 | 3 | M5x12 | 23 | 30
5BH |6 635 7 8 9 952 10 11 12 127 14| 50 65 65 | 3 55 | 25 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 | 3 | M4x10 | 23 | 30
55MH |6 635 7 8 9 952 10 11 12 127 - | 55 80 65 | 2 55 | 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 | 3 | Msx12 | 18 | 25
60AH |6 635 7 8 9 952 10 11 12 127 - | 60 75 65 | 3 55 | 18 | 25
60A1 |6 635 7 8 9 952 10 11 12 127 14 | 60 75 65 | 3 | Ms5x12 | 23 | 30
60AH1 | 6 635 7 8 9 952 10 11 12 127 14 | 60 75 65 | 3 55 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 | 3 | M5x12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 | 3 | M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 | 3 | Mexi5 | 23 | 30
708 6 635 7 8 9 952 10 11 12 127 14| 70 90 75 | 3 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 8 | 3 | M5x12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 | 3 | Mex15 | 23 | 30

Please contact us for different motor adapters and input shaft bore.

146 |

1Y)




TQFE 060

44.8 (TQFE 060 1)

61.7 (TQFE 060 2) 195
M5X7 ()
@ 4.5 (8x) 25 4 4
L+ 3.25 25 a
o
; = BES
/ ~ = SIS
o}
0 o 98 K| | g 2
\ \ Q 8 ®
NI\ | || E.
\ ~ ‘C_>
~ = %
é o 2 45 £
5} Q S o
Q 8 N
8] .S
L3 L1
L2 1
a N i
Q — [ ~
w
[a]
! / S
D| D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 21.7 13.2 3 8.2 8
9 9.52 10 325 50 425 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 35.5 50 425 M4x8 M4 22 13.5 3 8.5 11
14 35.5 50 425 M4x8 M4 25 17 3 10.2 11.5

M.z | M2 nq Nimax Qg Qr (o Rimax | R2max | A2max

[Nm] | [Nm] || [min-1] | [min-1] [arcmin] Iar,:nr:in] [N] [N] [N]

TQFE 060 1_3
TQFE 060 1_4
TQFE 060 1_5
TQFE 060 1_7
TQFE 060 1_10
TQFE 060 2_9
TQFE 060 2_12
TQFE 060 2_15
TQFE 060 2_16
TQFE 060 2_20
TQFE 060 2_25
TQFE 060 2_28
TQFE 060 2_30
TQFE 060 2_35
TQFE 060 2_40
TQFE 060 2_50
TQFE 060 2_70
TQFE 060 2_100

DO DO ||| O

O/Jo | 147



TQFE 070

53.5 (TQFE 070 1)
78.0 (TQFE 070 2) 30

MBx10 (70 _
5.5 (8x)

v

3 63 h7
@90 h7

il

wﬁlﬁt m>>r z

T — S

3 i o

S 10.5 =

1ul s

TQFE 070 1
TQFE 070 2
b <R N | Nt | N2 | N3 | N4 | N5 | L
=&

4B1 |8 9 952 11 12 127 14 - - - — - | 40 | 63 | 80 | 4 | M4x12 | 34 | 40
45A 8 9 952 11 12 127 - - - - - - | 45 | 63 | 80 | 4 | M4x12 | 34 | 40
50B1 |8 9 952 11 12 127 14 - - - - - | 50 | 65 | 80 | 4 | M5x16 | 34 | 40
50BH1 |8 9 952 11 12 127 14 - - - - - | 50 | 65 | 80 | 4 55 | 34 | 40
50c1 |8 9 952 11 12 127 14 - - - - - | 50 | 70 | 80 | 4 | M4x10 | 34 | 40
50D 8 9 952 11 12 127 14 - - - - - | 50 | 95 | 80 | 4 | Mex20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 1257 | 105 | 4 | Méx20 | 34 | 40
60A2 |8 9 952 11 12 127 14 - - - - - | 60 | 75 | 80 | 4 | M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - - |60 | 75 | 90 | 4 65 | 34 | 40
60B1 | 8 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 80 | 4 | M5x16 | 34 | 40
60C1 | 8 9 952 11 12 127 14 15875 16 - - - | 60 | 90 | 80 | 4 | M5x16 | 34 | 40
70A1 |8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 | 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 8 | 90 | 4 65 | 34 | 40
70B1 |8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 | 4 | M5x16 | 34 | 40
731 |8 9 952 1 12 127 14 - - - - — | 73 | 984 | 8 | 4 | M5x16 | 34 | 40
8A1 |8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | Méx16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
M0A |8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
M0B |8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
10B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

148 | O{}o



TQFE 070

75.3 (TQFE 070 1)

99.8 (TQFE 070 2) 30
M 6x10 (7x) -
@ 5.5 (8x) 43 z — z
6 4
20
5 8 e 5 3z
[te]
g St @ SRS
= Zl o = o
<t < [
5 N ! U &
8 10.5 Q2
IS ul L8
T L1
L2 il
/]
. ) |
s o ﬁ = J
o9
Q
D5 —
FM Wl L
b £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x10 | M6 34 26.8 9.5 18.8 | 10.5
11 12 12.7 52 68 765 | Méx10 | M6 34 26.8 9.5 18.8 | 12.5
14 15875 16 17 48 68 765 | Méx10 | M6 34 26.8 9.5 18.8 | 14.5
19 19.05 51 68 765 | M6éx10 | M6 34 26.3 9.5 18.8 | 16.5

Ma 2 Mp 2 nq N1 max Qs QOr Ct Ry max Rz max A, max

Nm] Nm] [minT] [min®]  faremin] [T ON] N N) 8...127 14...19.05

TQFE 070 1_3
TQFE 070 1_4
TQFE 0701_5
TQFE 070 1_7
TQFE 070 1_10
TQFE 070 2_9
TQFE 070 2_12
TQFE 070 2_15
TQFE 070 2_16
TQFE 070 2_20
TQFE 070 2_25
TQFE 070 2_28
TQFE 070 2_30
TQFE 070 2_35
TQFE 070 2_40
TQFE 070 2_50
TQFE 070 2_70
TQFE 070 2_100

O/}o | 149



TQFE 090

85.4 (TQFE 090 1)

116.8 (TQFE 090 2) 29
o N1
N5 - 7 o N2
— ,/()\\
% 5,
% 9 g \ 5 %&
g
1] - ——
105 g L.N4.
125 | | S
,\‘
TQFE 090 1 8
TQFE 090 2 9
o 1R N | N1t | N2 | N3 | N4 | N5 | Lpa
&S
11 12 127 14 15 15875 16 19 - - — — | 50 | 95 | 100 Méx14 | 28 | 40
55A 1 12 127 14 15 15875 16 19 - - — — | 55 |1257| 105 Méx16 | 28 | 40
60A2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 65 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 4 6.5 33 | 40
70B1 | 11 12 127 14 15 15875 16 19 - - — — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 | 11 12 127 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 65 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 4 6.5 33 | 40
95A 1 12 127 14 15 15875 16 19 - - - — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 | 11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 1 12 127 14 15 15875 16 19 - - — — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A | 11 12 127 14 15 15875 16 19 - - - — | 10 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 - — | 10 | 130 | 115 | 65 | M8x20 | 38 | 50
1108 | 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
11081 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

150 |

1Y)



TQFE 090

99.2 (TQFE 090 1)
130.6 (TQFE 090 2) 29

6 h7

M6x12 (11x)
5.5 (8x)

co
I~

M 8x12 (4x

47

30
s =l g e =
Q Q Q
N 7 i &
o o
S MJ,¢ N
|S 1255 | |
L3 L1 ~
: 2. -
a a
S Q —
E F’Ei
a9
| s ‘
FM op -
ML¢
D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 33.5 20 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 33.5 20 7.6 12.5 14.5
19 51 90 98 M6x15 M6 33.5 20 7.6 12.5 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 70 90 98 M6x15 M8 36.5 23 7.6 14 225
32 71 90 98 M6x15 M8 38 24.5 7.6 15.5 24.5

Je [kgem?]
M,2 M., Mp 2 nq Qs  OQr C¢ Rimax R2max A2max

Nm

i [Nm] [Nm] [Nm] [min-] [min-"] [arcmin] ’arcmin (NN NI [N] 11...12.7 14 ... 19 22 ;24 28; 32

TQFE 090 1_3
TQFE 090 1_4
TQFE 090 1_5
TQFE 090 1_7
TQFE 090 1_10
TQFE 090 2_9
TQFE 090 2_12
TQFE 090 2_15
TQFE 090 2_16
TQFE 090 2_20
TQFE 090 2_25
TQFE 090 2_28
TQFE 090 2_30
TQFE 090 2_35
TQFE 090 2_40
TQFE 090 2_50
TQFE 090 2_70
TQFE 090 2_100

O/Jo I 151



152 | O(:)o



EFFECTIVE LINE

TQFEK SERIES

The TQFEK series offers optimized performance and
features at an optimum value-price ratio.

An exceptionally compact and standardized flange
interface combined with optimal positioning accuracy
make it suitable for a wide range of industrial
applications.

Its right-angle design allows more compactness for
space-saving layouts.

MAIN FEATURES MAIN OPTIONS
- Nominal output torque (Nm) - Input versions MAIN BENEFITS
I 18155 I: =i E[I:'i:' + High torsional stiffness
+ Torsional backlash (arcmin) WITHOUT + High compactness
MOTOR MOTOR o i
ADAPTER ADAPTER + Easy and quick installation
+ Torsional stiffness (Nm/arcmin) . Lubrication - Standardized flange for
- 6-60 Iy um@ great compatibility
+ Max tilting moment (Nm) @@ @ ’ Compact design for space-
saving
I 12-110 STANDARD | FOOD GRADE
LUBRICATION | LUBRICATION layouts

PROTECTION CLASS
+ IP54

FRAME SIZES
- () 060
< 070
: 090

O(:)O | 153



8

FEATURES OF TQFEK SERIES

The TQFEK Series right-angle design represents the answer for applications requiring compact, space-saving solutions.
Its standardized flange ensures great compatibility while its proportioned design allows quiet running and provides a long service life
without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available
in a normally equipped workshop.

* Available with either standard (STD) or reduced (LOW) backlash:
2-stage units: standard $s < 12’; reduced Pr< 7’
3-stage units: standard Ps < 14’; reduced Pr< 9’

* |ts degree of protection IP54 provides protection against dust and liquid splashes.

* Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

* Noise pressure level LP < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-'; i=10.

* Units are factory packed with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires

no periodical changes.
* Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
* Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
[l 3|4 |5, 7|9 10|12 15|16 | 20 | 25| 8 | 30 | 35|40 | 50 | 70 (100
TQFEK 060 29 | 30 |25 | 25|29 |18 |29 |29 |30 |30|30 30|29 |30 |30|30|30]|18
TQFEK 070 40 | 50 | 50 | 50 | 65 | 40 | 65 | 65 | 60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40
TQFEK 090 | 80 | 105|130 |125|155|100|155|155|155|155|125|125|155 /125|155 /125|125 100
Output shaft max. loading capacity Available motor shaft bores
N .
5000
TQFEK 09 ]
3000
2600
rarexoro) [T ]
2000 190
1100 |
1000
= TQFEK 060
0
TQFEK 060 TQFEK 070 TQFEK 090 HT——r T — ‘ |
6\7 8 9\101112 1415\1617 19\ 2 24 28 32
[JR2max [ A2max 635 952 127 15875 1905 o [mm]
154 | O/'JO




8.1 ORDERING CODE

TQFEK 070 2 3 STD 80A1 CD 19 UH1

STD
LOW

— GEAR RATIO

— REDUCTIONS
2 3

— FRAME SIZE
060 070 090

— SERIES
TQFEK

— LUBRICANT
— standard

UH1 food grade synthetic lubricant

— INPUT SHAFT BORE
6..32

— MOTOR COUPLING

CD clamping device

— INPUT SECTION
25AH ... 130A1 motor adapter
FM without motor adapter
— BACKLASH

2 reductions | 3 reductions

Ps<12 Ps<14'

Qr<T7' QPr<9

1Y)

| 155



8.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

TQFEK 060

M 5x7 (7x)
™
D 4.5 (8x) z
© T T
b4
&
g
— © T g 3
© Q Q@
ol & ~
~ < ~
I T
% HIRERS]
Q 8 S
8
67 (TQFEK 060 2)
27.5 | 84 (TQFEK 0603) |19.5 ﬁ
} @ N1 TQFEK 060 2 1.8
‘ I TQFEK 060 3 2.2
&
! *\ i
\ i
N -
D (¥ N N1 N2 N3 N4 N5 Lmax
F \ 4
- min max
25AH 6 635 7 8 9 952 - — — — - 25 39 56
26AH 6 635 7 8 9 952 - — — — - 26 39 56
28AH 6 635 7 8 9 952 - — — — - 28 39 56
30AH 6 635 7 8 9 952 - - - - - 30 39 56
32AH 6 635 7 8 9 952 - — - — — 32 39 56 65 3.5 45 25 25
34AH 6 635 7 8 9 952 - - - - — 34 40 56
36AH 6 635 7 8 9 952 - - — - — 36 42 56
39AH 6 635 7 8 9 952 - - — - — 39 45 56
40AH 6 635 7 8 9 952 - - — — — 40 46 56
38B 6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 M1 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 M1 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 5.5 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 11 12 127 - 55 80 65 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 M1 12 127 14 70 85 75 & M6x15 23 30
70B 6 635 7 8 9 952 10 MM 12 127 14 70 90 75 3 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

156 | €13



TQFEK 060

@ D1
R R B
|
@ D2
ey
GDF7
L5 7
D5 ||
—|T1% D3
FM r 3? F e . 2 .
#T .
el
|
,7,,#,7@*, _
|
|
D| | D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 355 50 425 M4x8 M4 22 13.5 3 8.5 11
14 355 50 425 M4x8 M4 25 17 3 10.2 1.5

Moz M2 nq Nimax Qg Qr (o Rimax  R2max = A2max

[Nm] | [Nm] | [min-1] | [min-1] [arcmin] larzrr:in] N] [N] [N]

TQFEK 060 2_3
TQFEK 060 2_4
TQFEK 060 2_5
TQFEK 060 2_7
TQFEK 060 2_10
TQFEK 060 3_9
TQFEK 060 3_12
TQFEK 060 3_15
TQFEK 060 3_16
TQFEK 060 3_20
TQFEK 060 3_25
TQFEK 060 3_28
TQFEK 060 3_30
TQFEK 060 3_35
TQFEK 060 3_40
TQFEK 060 3_50
TQFEK 060 3_70
TQFEK 060 3_100

DDV DO OO || O[O | O

O/Jo | 157



M 6x10 (7x) N
5.5 (8x) - IDF7
= \
T — 7
4 <
I ,%f al &
o ©| o
%& \ / 9 sl &
T o o E
" [Te} <t — T
2| Neg -’ ¢4 2
S - ©
X Q
a @50 10.5
14
@109 113.6 (TQFEK 070 2)
38.25 | 138.1 (TQFEK 070 3) | 30 &
o 118
@ N1 TQFEK 070 2 4.2
- TQFEK 070 3 5.1
g?
N4 U
ol R N N1 | N2 | N3 N4 N5 | Lmax
pus
40B1 8 9 952 M 12 127 14 - - — — — | 40 | 63 | 80 4 | Max12 | 34 | 40
45A 8 9 952 M 12 127 - - - — — — | 45 | 63 | 80 4 | Max12 | 34 | 40
5081 8 9 952 1 12 127 14 - - - - - | 5 | 6 | 80 4 | M5x16 | 34 | 40
50BH1 8 9 952 11 12 127 14 — - — — - 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 - - — — — | 5 | 70 | 80 4 | Max10 | 34 | 40
50D 8 9 952 11 12 127 14 - - - — - | 5 | 95 | 80 4 | M6x20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 |125.7 | 105 | 4 | M6éx20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - — - — | 60 | 75 | 80 4 | M5x16 | 34 | 40
G0AH2 | 8 9 952 11 12 127 14 - - - — - | 60 | 75 | 90 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 85 | 80 4 | M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 90 | 80 4 | M5x16 | 34 | 40
70A1 8 9 952 1 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 90 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 4 | M5x16 | 34 | 40
73A1 8 9 952 1 12 127 14 - - - — - | 73 | 984 85 4 | M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 | Mex16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

1Y)

158 |




TQFEK 070

D1
| | |
@ D2
L5 j—ﬁgDﬂ
D5 ||
— @ D3
FM = 9 A _ _
A
D (<F D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 | M6x10 M6 34 26.8 9.5 18.8 10.5
1 12 12.7 52 68 76.5 | M6x10 M6 34 26.8 9.5 18.8 125
14 15875 16 17 48 68 765 | M6x10 M6 34 26.8 9.5 18.8 145
19 19.05 51 68 76.5 | M6x10 M6 34 26.8 9.5 18.8 16.5

M. M, nq Nimax @Ps QOr (o Rimax  R2max = A2max

Nml Nm] [min] [min]  faremin) MO N N N) 8..12.7 14...19.05

TQFEK 070 2_3
TQFEK 070 2_4
TQFEK 070 2_5
TQFEK 070 2_7
TQFEK 070 2_10
TQFEK 070 3_9
TQFEK 070 3_12
TQFEK 070 3_15
TQFEK 070 3_16
TQFEK 070 3_20
TQFEK 070 3_25
TQFEK 070 3_28
TQFEK 070 3_30
TQFEK 070 3_35
TQFEK 070 3_40
TQFEK 070 3_50
TQFEK 070 3_70
TQFEK 070 3_100

€1y 159



I N

M 6x12 (11x)
. @D F7
3 5.5 (8x) = ‘
T 8
L‘z) ofllll =y N 7
) .
N
o ]
© = =
- - - - 125 | 8 €
SIS
w| 3 ~
N ] T 1
E [ =] g
= ] Q
[{e]
S 10.5
148.2 (TQFEK 090 2)
49 179.6 (TQFEK 090 3) | 29 E
@ N1 TQFEK 090 2 8.5
o N2
= TQFEK 090 3 9.5
N\ -~ = —
o N ]
gg >% © ®
@ ~”
/
LE B i
\
@ J‘
& &) H
N4 -
ol R N N1 | N2 | N3 N4 N5 | Lmax
4
11 12 127 14 15 15875 16 19 - — — — | 5 | 95 | 100 M6x14 | 28 | 40
55A 11 12 127 14 15 15875 16 19 - — — — | 55 |1257| 105 M6x16 | 28 | 40
60A2 11 12 127 14 15 15875 16 19 - — — — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - — — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 11 12 127 14 15 15875 16 19 - — — — | 60 | 85 | 100 | 65 | M5x14 | 28 | 40
70A1 11 12 127 14 15 15875 16 19 - — — — | 70 | 85 | 100 | 65 | M6x14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - — — | 70 | 8 | 100 | 4 6.5 33 | 40
70B1 11 12 127 14 15 15875 16 19 - — — — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 11 12 127 14 15 15875 16 19 - — — — | 80 | 100 | 100 | 65 | M6x16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - — — — | 80 | 100 | 100 | 4 6.5 33 | 40
95A 11 12 127 14 15 15875 16 19 - — — — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 11 12 127 14 15 15875 16 19 - - — — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A 11 12 127 14 15 15875 16 19 - - — — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
110B 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A 11 12 127 14 15 15875 16 19 22 24 — — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 65 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

160 |

1Y)




TQFEK 090

@ D1
[s2]
T T T ) —
|
pE i
@ D2
@D
5 i F7
D5 ||| @ D3
s Ll
o |
Mo . .
]
|
L I B B
\
|
D| (- D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 12.7 43 90 98 M6x15 | M6 33,5 20 76 12 125
14 15 15875 16 48 90 98 | M6x15 | M6 33.5 20 7.6 12,5 14.5
19 51 90 98 | M6x15 | M6 335 20 7.6 12,5 16.5
22 24 56.5 90 98 | M6x15 | M6 36.5 23 7.6 14 19
28 70 90 98 | M6x15 | M8 36.5 23 7.6 14 225
32 71 90 98 | M6x15 | M8 38 24.5 7.6 15.5 24.5

M, Ma2 Mp2 N1max || Ps | Pr R1max R2max A2max

i [Nm] [Nm] [Nm] [min-"] [min-1]  [arcmin] : [N] [N]

TQFEK 090 2_3
TQFEK 090 2_4
TQFEK 090 2_5
TQFEK 090 2_7
TQFEK 090 2_10
TQFEK 090 3_9
TQFEK 090 3_12
TQFEK 090 3_15
TQFEK 090 3_16
TQFEK 090 3_20
TQFEK 090 3_25
TQFEK 090 3_28
TQFEK 090 3_30
TQFEK 090 3_35
TQFEK 090 3_40
TQFEK 090 3_50
TQFEK 090 3_70
TQFEK 090 3_100

O/Jo I 161



162 | O(:)o



EFFECTIVE LINE

MAIN FEATURES
+ Nominal output torque (Nm)

B 5155

+ Torsional backlash (arcmin)

+ Torsional stiffness (Nm/arcmin)
Me-45

+ Max tilting moment (Nm)
54238

PROTECTION CLASS
+ IP54

FRAME SIZES
<070
< 090

-120

SL SERIES

The SL series features a compact design optimized for
timing belt pulley drive systems.

This series represents the most suitable solution for
belt servo-drives conveyors and all other applications
requiring positioning accuracy, an ultra-compact size
and high radial load capacity.

The output design compatible with market standards
allows easy retrofits and a high level of freedom in
projects development.

MAIN OPTIONS

+ Input versions

L F

MOTOR
ADAPTER

S

PULLEY

+ Lubrication

STANDARD
LUBRICATION

+ High power

@

HIGH POWER
VERSION

+ Output shafts versions

MAIN BENEFITS

{ P

WITHOUT
MOTOR
ADAPTER

+ Optimized for timing belt
pulley drive systems

+ Great position accuracy
+ High compatibility for easy
retrofits

D

NO
PULLEY

5

FOOD GRADE
LUBRICATION

version (P option)

1Y)

| 163



9 FEATURES OF SL SERIES

The SL Series from Tecnoingranaggi knows no rivals in compactness, efficiency and optimisation for timing belt pulley drive systems.
Reduced backlash units from the SL Series are the ideal complement to conveyor belt servo-drives and all other applications needing to
combine high precision with ultra-compact size.

Available with either standard (STD) or reduced (LOW) backlash:

1-stage units: standard s < 12’; reduced (r < 6’

2-stage units: standard (ps < 15’; reduced (pr < 8’

Its degree of protection IP54 provides protection against dust and liquid splashes.

Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

* Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-'; i=10.

¢ Units are factory packed with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires no
periodical changes.

¢ Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

¢ Housing temperature must not exceed Tmax = 90°C.

¢ Available as Version P with higher output torque.

Distribution of nominal torque Mn2 [Nm]

[imy3 45,7 ]9 1012|1516 |20 | 25 28 | 30 | 35| 40 | 50 | 70 |100

SLO70 |18 |25 |25 |25 |18 |18 |25 |25 |25 |25 |25 |25 |18 |25 |25 |25 |25 |18

SLO70P| 29 | 30 | 28 | 28 |29 |20 |29 |29 |30 |30 |30 |30 |29 |30 30|30 |30|20

SLO090 |37 | 43 | 43 | 43 |37 |37 | 43 | 43 | 43 | 43 | 43 | 43 | 37 | 43 | 43 | 43 | 43 | 37

SL090P| 65 | 60 | 50 | 50 | 65 | 40 | 65 | 65 | 60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40

SL120 | 95 {110 110|110 | 95 | 95 |110{110|110| 110|110 | 110| 95 | 110 [110 |110 110 | 95

SL 120P| 155|155 | 125|125 | 155|100 | 155 | 155|155 | 155|125 [125 | 155 [125|155 | 125|125 | 100

Output shaft max. loading capacity Available motor shaft bores

R2 max [N]
11000 SL 120

10000

10000
9000 B
8000

7000
SL 090 |

6000
5000 4500

4000
3000

2000 SL 070

1000 150

0

T T T T T T T T T T T T T
SL 070 SL 090 SL 120 789 ‘10 " 12‘ 14 15 ‘16 17 19‘ 2 4 28 32
6.35 9.52 127 15.875 19.05 g [mm]

164 | O(JO



9.1 ORDERING CODE

SL 120

— SERIES
SL

1 5 STD 8A CD 19 YP UH1

STD
LOW

— GEAR RATIO

— REDUCTIONS
1 2

— FRAME SIZE

070 090 120
070P 090P 120P

\\ LUBRICANT

— standard

UH1 food grade synthetic lubricant

'— PULLEY FOR TIMING BELT
YP pulley provided
NP pulley not provided

— INPUT SHAFT BORE
6.35 ... 32

— MOTOR COUPLING

CD clamping device

— INPUT SECTION
25AH ... 130A1 motor adapter
FM without motor adapter
— BACKLASH

1 reduction | 2 reductions

Ps<12 | @s<15

Pr<6' Pr=<8

1Y)

| 165



9.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

N5 54
AT05-0 @8 N3 51
pZagmm @ 5.5 (5x) L3 55
\ D ) ) 1
T ¢ - 42 N\
% g ) 3z 5 {5l 5|8 Tileg 2«
X HEEER ells 55 SR RN
% _LQ:D? o i\
& [ |1l ) ]
26 10 (SL 070 1) ’ﬂ 8.6
YP 26.7 (SL 070 2) 8 68.8
86.8 (SL 070 1)
1035 (SL 070 2)
SL 070 1
SL 0702
p| (<x N N1 N2 | N3 Nd | N5 | Lpax
- min | max
25AH (635 7 8 9 952 - - - - — | 25 3956
26AH |635 7 8 9 952 - - - - - | 26 3956
28AH |635 7 8 9 952 - - - - - | 28 3956
30AH 635 7 8 9 952 - - - - — | 30 |39]|56
32AH (635 7 8 9 952 - - - - - | 32 |39(5| 65 | 35 | 45 25 | 25
34AH (635 7 8 9 952 - - - - — | 34 |40 |56
36AH (635 7 8 9 952 - - - - _— | 36 |42|56
39AH (635 7 8 9 952 - - - - _— | 39 45|56
40AH (635 7 8 9 952 - - - - — | 40 |46 |56
3B (635 7 8 9 952 10 M 12 127 - |381| 666 | 60 | 3 | M4x10 | 18 | 25
4B [635 7 8 9 952 10 1M 12 127 - | 40 63 60 | 3 | M4x10 | 18 | 25
50A [635 7 8 9 952 10 1 12 127 - | 50 60 60 | 3 | M4x10 | 18 | 25
508 [635 7 8 9 952 10 1 12 127 14 | 50 65 60 | 3 | M5x12 | 23 | 30
50BH (635 7 8 9 952 10 1 12 127 14 | 50 65 65 | 3 5.5 25 | 32
50C (635 7 8 9 952 10 1 12 127 14 | 50 70 60 | 3 | M4x10 | 23 | 30
55MH (635 7 8 9 952 10 11 12 127 - | 55 80 65 | 2 55 16 | 23
60A [635 7 8 9 952 10 M 12 127 - | 60 75 65 | 3 | M5x12 | 18 | 25
60A1 |635 7 8 9 952 10 M 12 127 14 | 60 75 65 | 3 | M5x12 | 23 | 30
60B 635 7 8 9 952 10 M 12 127 14 | 60 85 75 | 3 | M5x12 | 23 | 30
60C 635 7 8 9 952 10 M 12 127 14 | 60 90 75 | 3 | M5x12 | 23 | 30
70A 635 7 8 9 952 10 M 12 127 14 | 70 85 75 | 3 | Mex15 | 23 | 30
70B |635 7 8 9 952 10 M 12 127 14 | 70 90 75 | 5 | M5x12 | 23 | 30
73A 635 7 8 9 952 10 M 12 127 14 | 73 | 984 | 8 | 3 | M5x12 | 25 | 32
80A (635 7 8 9 952 10 1 12 127 14 | 8 | 100 | 85 | 3 | Méx15 | 23 | 30

Please contact us for different motor adapters and input shaft bore.

166 | O(:)O



N5
N3
L3
>
1o
=
'_E - - <
=~ Ol ool =
FERS < N i OV EF
s ® % st g =% s
2
|| Q
10 (SL0701) 10 3.9
26.7 (SL 070°2) 8 11
Limex 20
60.2
78.2 (SL 070 1)
N P 94.9 (SL 070 2)
L1
L2
[
(a]
= Q
8 ‘ ——
Q SE =
vl
o Li
Db (X - D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6.35 7 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 32.5 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
1 12 12.7 35.5 50 42.5 M4x8 M4 22 13.5 3 8.5 11
14 35.5 50 42.5 M4x8 M4 25 17 3 10.2 11.5

Mn2 | Ma2 | M2 nq Qs Qr C: R2max* Azmax

Nm
arcmin

[Nm] | [Nm]  [Nm] [[min-1] [min-']  [arcmin] [

[N]
SL0701_3

(N]

6..952 11..14

SL0701_4

SL0701_ 5

SL0701_7

SL 070 1_10

SL0702_9

SL 070 2_12

SL 070 2_15

SL0702_16

SL 070 2_20

SL 070 2_25

SL 070 2_28

SL 070 2_30

SL0702_35

SL 070 2_40

SL 070 2_50

SL 070 2_70

OO DO OO O OO

SL 070 2_100

* Applies for timing belt application

| 167



N5 54
AT1I0-0 @15 N3 51
pIlOmm " g6.6 (7x) L3 6
T . - - 1 N
! 03 4 N ;
S el A
%\0 g - Q S S Q - Q| Q \\
% 45°:&: ) s j \
Ele ! P
z8 12 (SL090 1) 12 10
LS. 368(SL0%02) | 10 78.3
YP 100.3 (SL 090 1)
1251 (SL 090 2)
o)
SL0901 | 36 | 08
SL0902 | 47 | 08
DI@ N | N1 | N2 | N3 | N4 | N5 | Lmax
40B1 | 9 952 11 12 127 14 - - - - - |40 | 63 | 80 | 4 | M4x10| 34 | 40
45A 9 952 11 12 127 - - - - - - | 45 | 63|80 | 4 |M4x10 34 | 40
50B1 | 9 952 11 12 127 14 - - - - - | 50|65 | 8 | 4 | M5x16| 34 | 40
50BH1| 9 952 11 12 127 14 - - - - - |50 |65 | 8 | 4 55 | 34 | 40
501 | 9 952 11 12 127 14 - - - - - |50 | 70 | 80 | 4 | M4x10| 34 | 40
50D 9 952 1 12 127 14 - - - - - | 50| 95| 8 | 4 | Mex10| 34 | 40
55A 9 952 11 12 127 14 15875 16 17 19 19.05| 555 |125.7| 105 | 4 | M6x16 | 34 | 40
60A2 | 9 952 11 12 127 14 - - - - - |60 | 75 | 80 | 4 | M5x16| 34 | 40
60AH2 | 9 952 11 12 127 14 - - - - - |60 |75 | 9 | 4 55 | 34 | 40
60B1 | 9 952 1 12 127 14 15875 16 - — — | 60 | 85 | 80 | 4 |M5x16 | 34 | 40
60C1 | 9 952 1 12 127 14 15875 16 - — — | 60 | 90 | 80 | 4 |M5x16 | 34 | 40
70A1 | 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 85 | 80 | 4 | M6x20 | 34 | 40
70AH1 | 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 85 | 90 | 4 65 | 34 | 40
70B1 | 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 90 | 80 | 4 | M5x16 | 34 | 40
73A1 | 9 952 11 12 127 14 - - - - - | 73 |984| 85 | 4 |M5x16 34 | 40
80A1 | 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | M6x16 | 34 | 40
95A 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 |M8x20 | 34 | 40
95B 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 |M8x20 | 34 | 40
110A | 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
110B | 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

168 |

1Y)




N5

N3
L3
@
©
NN =
2 e = B{N
8880 I 7242, 1353
Q 9 =5 s
© ~
22
L. — Q
12 (SL0901) 12 3.55
36.8 (SL 090 2) 10 15
27
68.3
90.3 (SL 090 1)
NP 115.1 (SL 090 2)
L1
L2
——l:l—
&
=)
= Q
8 A ——
e
vl
FM Li
T A &
D 7 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5
11 12 12.7 52 68 76.5 M6x10 M6 34 26.8 9.5 18.8 12.5
14 15.875 16 17 48 68 76.5 M6x10 M6 34 26.8 9.5 18.8 14.5
19 19.05 51 68 76.5 M6x10 M6 34 26.8 9.5 18.8 16.5
|
i
37 70 150 | 2900 | 3500 | 12 6' 12 4500 | 2000 97 0.72 0.81
43 80 160 | 3100 | 4500 | 12 6' 12 4500 | 2000 97 0.49 0.58
43 80 160 | 3200 | 4500 | 12' 6' 12 4500 | 2000 97 0.39 0.48
43 80 160 | 4000 | 6000 | 12 6' 12 4500 | 2000 97 0.31 0.40
37 70 150 | 4000 | 6000 | 12' 6' 12 4500 | 2000 97 0.27 0.35
37 70 150 | 2900 | 3500 | 15 8' 11.5 4500 | 2000 94 0.47 0.61
43 80 160 | 2900 | 3500 | 15' 8' 11.5 4500 | 2000 94 0.44 0.58
43 80 160 | 2900 | 3500 | 15 8' 11.5 4500 | 2000 94 0.43 0.57
43 80 160 | 3100 | 4500 | 15 8' 11.5 4500 | 2000 94 0.31 0.45 10.95
43 80 160 | 3200 | 4500 | 15' 8' 11.5 4500 | 2000 94 0.26 0.40 ’
43 80 160 | 3200 | 4500 | 15 8' 11.5 4500 | 2000 94 0.26 0.40
43 80 160 | 4000 | 6000 | 15 8' 11.5 4500 | 2000 94 0.22 0.36
37 70 150 | 4000 | 6000 | 15' 8' 11.5 4500 | 2000 94 0.20 0.34
43 80 160 | 4000 | 6000 | 15 8' 11.5 4500 | 2000 94 0.22 0.36
43 80 160 | 4000 | 6000 | 15 8' 11.5 4500 | 2000 94 0.20 0.34
43 80 160 | 4000 | 6000 | 15' 8' 11.5 4500 | 2000 94 0.20 0.34
43 80 160 | 4000 | 6000 | 15 8' 11.5 4500 | 2000 94 0.20 0.34
37 70 150 | 4000 | 6000 [ 15' 8' 11.5 4500 2000 94 0.19 0.34
* Applies for timing belt application
O(JO 1 169



N5 80
AT20-0 320 N3 76
pIZ™ o9 L3 10 |
) — - = L AN
gl o3 N T \
v R S sl 8 FPRegE s K
. i 5 8e o z sl = == 1 SIS \\
% HR w _ﬁ \
L —_ S R R e i P
28 20 (SL1201) 15 155
525 (SL 120 2) 12 97.7
YP 129.7 (SL 120 1)
162.2 (SL 120 2)
o}
==
&
SL1201 | 84 | 26
SL1202 | 109 | 26
D'ﬁ(z N N1 N2 N3 N4 N5 | Lmax
14 15 15875 16 19 - - - — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
14 15 15875 16 19 - - - — | 555 1257 | 105 | 5 | Méx16 | 28 | 40
60A2 | 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 5 | M5x14 | 28 | 40
60AH2 | 14 15 15875 16 19 - - — — | 60 | 75 | 100 | 5 6.5 33 | 40
60B1 | 14 15 15875 16 19 - - — — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 | 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 5 | M6x14 | 28 | 40
70AH1 | 14 15 15875 16 19 - - — — | 70 | 8 | 100 | 5 6 33 | 40
70B1 | 14 15 15875 16 19 - - - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 | 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 5 | M6x16 | 28 | 40
80AH1| 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 5 6.5 28 | 40
95A 14 15 15875 16 19 - - - - | 95 | 115 | 100 | 5 | M8x18 | 28 | 40
95A1 | 14 15 15875 16 19 22 24 - - | 95 | 115 | 100 | 5 | M8x18 | 38 | 50
95B 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 5 | M8x18 | 28 | 40
110A | 14 15 15875 16 19 - - - — | 110 | 130 | 15 | 5 | M8x18 | 28 | 40
110A1 | 14 15 15875 16 19 22 24 - - | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
10B | 14 15 15875 16 19 22 24 - - | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 | 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 14 15 15875 16 19 22 24 -  — | 130 | 165 | 140 | 65 |M10x20 | 38 | 50
130A1 | 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 65 |M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

170 |

1Y)




N5

2 N3
@ 13 (4x) L3 o
- <
nk ] ’
@/ :
= = - Mol = \\
2z 8 LD — L. ﬂeg 9
8 Q == STLSTI /,
[ee]
! 7 - Q N
20 (SL1201) 15 4.2
52.5(SL 120 2) 12 14|
Lmax 27
82.2
114.2 (SL 120 1)
NP 146.7 (SL 120 2)
L1
L2
——l:l—
hy
o
~ Q
&
N ]
Q
E—
FM
1 T
D = i D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15 15.875 16 48 90 98 M6x15 M6 33.5 20 7.6 12.5 14.5
19 51 90 98 M6x15 M6 33.5 20 7.6 12.5 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 70 90 98 M6x15 M8 36.5 23 7.6 14 22.5
32 71 90 98 M6x15 M8 38 24.5 7.6 15.5 24.5
/ o
at?
95 160 | 300 | 2500 | 3500 | 12' 6' 45 10000 | 4500 97 2.18 2.81 3.25
110 | 190 | 360 | 2800 | 4500 | 12' 6' 45 10000 | 4500 | 97 1.30 1.93 2.37
110 | 190 | 360 | 3000 | 4500 | 12' 6' 45 10000 | 4500 | 97 0.96 1.59 2.03
110 | 190 | 360 | 3500 | 4500 | 12' 6' 45 10000 | 4500 97 0.66 1.28 1.72
95 160 [ 300 [ 3500 | 5000 [ 12' 6' 45 10000 | 4500 | 97 0.49 1.11 1.55
95 160 | 300 | 2500 | 3500 | 15' 8 40 10000 | 4500 | 94 1.61 2.20 2.57
110 | 190 | 360 | 2500 | 3500 | 1% 8' 40 10000 | 4500 94 1.51 210 2.47
110 | 190 | 360 | 2500 | 3500 | 15 8' 40 10000 | 4500 | 94 1.47 2.06 2.43
110 | 190 | 360 | 2800 | 4500 | 15 8' 40 10000 | 4500 | 94 0.92 1.52 1.88 50.62
110 | 190 | 360 | 3000 | 4500 | 1% 8' 40 10000 | 4500 94 0.90 1.50 1.86
110 | 190 | 360 | 3000 | 4500 | 15 8' 40 10000 | 4500 | 94 0.71 1.30 1.67
110 | 190 | 360 | 3500 | 5000 | 15 8' 40 10000 | 4500 | 94 0.54 1.13 1.50
95 160 | 300 | 3500 | 5000 | 15 8' 40 10000 | 4500 94 0.44 1.04 1.40
110 | 190 | 360 | 3500 | 5000 | 15' 8' 40 10000 | 4500 | 94 0.53 1.13 1.49
110 | 190 | 360 | 3500 | 5000 | 15' 8' 40 10000 | 4500 | 94 0.43 1.03 1.39
110 | 190 | 360 | 3500 | 5000 | 15' 8' 40 10000 | 4500 94 0.43 1.02 1.39
110 | 190 | 360 | 3500 | 5000 | 15' 8' 40 10000 | 4500 | 94 0.42 1.02 1.38
95 160 | 300 | 3500 | 5000 | 15' 8' 40 10000 [ 4500 [ 94 0.42 1.02 1.38
* Applies for timing belt application
O(JO 1171




N5 54

AT05-0 28 N3 51
pZomm @55 (5%) L3 55
| RS - v
T e k 42 N
2 g | 2z 4B slls (TR e 2
x S 1 2 cls 758 ENESIREN
S _L@bf ® i\
2% [ r ) !
26 10 (SL 070P 1) 10 8.6
YP 267(SL070P2) | 8] 68.8
86.8 (SLO70P 1)
103.5 (SL 070P 2)
SL 070P 1
SL 070P 2
p| (<x N N1 N2 | N3 N4 | N5 | Luax
h min | max
25AH (635 7 8 9 95 - - - - _ | 25 |39]56
26AH (635 7 8 9 95 - - - - | 26 | 39|56
28AH (635 7 8 9 95 - - - - _ | 28 | 3956
30AH |63 7 8 9 95 - - - - — | 30 |39]56
32AH |63 7 8 9 95 - - - - _— | 32 |39|5 | 65 | 35| 45 | 25 | 25
34AH [635 7 8 9 952 - - - - _— | 34 |40 |56
36AH [635 7 8 9 952 - - - - _— | 36 |42]|56
39AH [635 7 8 9 952 - - - — _ | 39 |4556
40AH 635 7 8 9 952 - - - - - | 40 |46 |56
38B (635 7 8 9 952 10 1 12 127 - |381| 666 | 60 | 3 | Mdx10 | 18 | 25
4B |635 7 8 9 952 10 1 12 127 - | 40 63 60 | 3 | M4x10 | 18 | 25
50A [635 7 8 9 952 10 1 12 127 - | 50 60 60 | 3 | M4x10 | 18 | 25
508 (635 7 8 9 952 10 1 12 127 14 | 50 65 60 | 3 | M5x12 | 23 | 30
50BH [635 7 8 9 952 10 11 12 127 14 | 50 65 65 | 3 55 | 25 | 32
50C [635 7 8 9 952 10 11 12 127 14 | 50 70 60 | 3 | M4x10 | 23 | 30
55MH [635 7 8 9 952 10 11 12 127 — | 55 80 65 | 2 55 16 | 23
60A (635 7 8 9 952 10 1 12 127 - | 60 75 65 | 3 | M5x12 | 18 | 25
60A1 (635 7 8 9 952 10 1 12 127 14 | 60 75 65 | 3 | M5x12 | 23 | 30
60B (635 7 8 9 952 10 11 12 127 14 | 60 85 75 | 3 | M5x12 | 23 | 30
60C (635 7 8 9 952 10 1 12 127 14 | 60 90 75 | 3 | M5x12 | 23 | 30
70A [635 7 8 9 952 10 11 12 127 14 | 70 85 75 | 3 | Mex15 | 23 | 30
70B (635 7 8 9 952 10 1 12 127 14 | 70 90 75 | 5 | M5x12 | 23 | 30
73A |635 7 8 9 952 10 1 12 127 14 | 73 | 984 | 8 | 3 | M5x12 | 25 | 32
80A [635 7 8 9 952 10 1 12 127 14 | 8 | 100 | 8 | 3 | M6x15 | 23 | 30

Please contact us for different motor adapters and input shaft bore.

172 1 O(:)O



N5

N3 @ N1
L3
>
[Te]
=
= =~ - 5 | =
P2 B | e g
NS = =% g
w| ~
=6
- Q
10 (SLO70P 1) 10 3.9 @ N1 min
26.7(SLO70P2) |8 11 TN
20
60.2
78.2 (SL O70P 1)
N P 94.9 (SL 070P 2)
L1
L2
_—l:l—
=
[m)]
~ Q
é >
SElE =2
il
EM L—:_
L4
/D
D (\— ¥ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6.35 7 325 50 425 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 32.5 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 355 50 425 M4x8 M4 22 13.5 3 8.5 11
14 35.5 50 42.5 M4x8 M4 25 17 3 10.2 11.5
Y
e
29 55 60 | 3300 | 4000 | 12" | 6 6.5 | 3500 | 1600 | 97 0.14 0.16
30 45 70 | 3500 | 5000 | 12" | &' 6.5 | 3500 | 1600 | 97 0.09 0.11
28 40 70 | 3500 | 5000 | 12" | @' 6.5 | 3500 | 1600 | 97 0.07 0.09
28 40 70 | 4000 | 5000 | 12' | 6 6.5 | 3500 | 1600 | 97 0.05 0.07
20 33 60 | 4000 | 6000 | 12" | &' 6.5 | 3500 | 1600 | 97 0.04 0.06
29 55 60 | 3300 | 4000 | 15' | 8 6 3500 | 1600 | 94 0.11 0.13
29 55 70 | 3300 | 4000 | 15' | 8 6 3500 | 1600 | 94 0.10 0.13
29 55 70 | 3300 | 4000 | 15' | 8 6 3500 | 1600 | 94 0.10 0.12
30 45 70 | 3500 | 5000 | 15' | 8 6 3500 | 1600 | 94 0.07 0.09 3.86
30 45 70 | 3500 | 5000 | 15' | 8 6 3500 | 1600 | 94 0.06 0.08 :
30 45 70 | 3500 | 5000 | 15' | 8 6 3500 | 1600 | 94 0.06 0.08
30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.05 0.07
29 55 60 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.04 0.06
30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.05 0.07
30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.04 0.06
30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.04 0.06
30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.04 0.06
20 33 60 | 4000 | 6000 | 15' | 8' 6 3500 | 1600 | 94 0.04 0.06

* Applies for timing belt application

1Y)

I 173



N5 54
AT10-0 @15 N3 51
pIlOmm T lg6.6 (7x) L3 6
T % — - 1 N
! 03 4 N ;
ey, el ol
%\o g - Q S S Q ] Q| \\
% 45°:&: ) s j \
L ! y
238 12 (SL 090P 1) 12 10
LS. 36.8(SL090P2)[ [10 78.3
YP 100.3 (SL 090P 1)
125.1 (SL 090P 2)
o)
SLO90P1| 36 | 08
SLO90P2| 47 | 08
DI@ N | N1 | N2 | N3 N4 N5 | Lmax
40B1 9 952 1 12 127 14 = - = = = 40 | 63 | 80 4 | M4x10 | 34 | 40
45A 9 95 1M 12 127 - - - - - - 45 | 63 | 80 4 | M4x10 | 34 | 40
50B1 9 952 11 12 127 14 = = = = = 50 | 65 | 80 4 | M5x16 | 34 | 40
50BH1 | 9 952 11 12 127 14 - - - - - 50 | 65 | 80 4 5.5 34 | 40
50C1 9 952 1M 12 127 14 = - - - = 50 | 70 | 80 4 | M4x10 | 34 | 40
50D 9 952 1 12 127 14 - - - - - 50 | 95 | 80 4 | M6x10 | 34 | 40
55A 9 952 1M 12 127 14 15875 16 17 19 19.05| 555 [1257| 105 | 4 | M6x16 | 34 | 40
60A2 | 9 952 11 12 127 14 - - - - - 60 | 75 | 80 4 | M5x16 | 34 | 40
60AH2 | 9 952 11 12 127 14 - - - - - 60 | 75 | 90 4 5.5 34 | 40
60B1 9 952 11 12 127 14 15875 16 - - - 60 | 85 | 80 4 | M5x16 | 34 | 40
60C1 9 952 11 12 127 14 15875 16 - - - 60 | 90 | 80 4 | M5x16 | 34 | 40
70A1 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 4 | M6x20 | 34 | 40
70AH1 | 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 85 | 90 4 6.5 34 | 40
70B1 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 4 | M5x16 | 34 | 40
73A1 9 952 11 12 127 14 = = = = = 73 | 984 | 85 4 | M5x16 | 34 | 40
80A1 9 952 1M 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 | M6x16 | 34 | 40
95A 9 952 1M 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 |M8x20 | 34 | 40
95B 9 952 1M 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 |M8x20 | 34 | 40
1M0A | 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
110B 9 952 M 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 44 | 50
110B1 | 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

1Y)

174 1




N5

N3
L3
@®
©
AN =
2 e e BN
8880 I 7242, 1358
Q 9 =Em s
[{e] ~
2| &
L — Q
12 (SL 090P 1) 12 3.55
36.8 (SL 090P 2) 10 115]
27
68.3
90.3 (SL 090P 1)
NP 115.1 (SL 090P 2)
L1
L2
T
a)
~ Q
8 A ——
e
vl
FM Li
| I
D = 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5
11 12 12.7 52 68 76.5 M6x10 M6 34 26.8 9.5 18.8 12.5
14 15.875 16 17 48 68 76.5 M6x10 M6 34 26.8 9.5 18.8 14.5
19 19.05 51 68 76.5 M6x10 M6 34 26.8 9.5 18.8 16.5
|
N
65 120 150 | 3500 | 4000 | 12' 6' 12 4500 | 2000 97 0.72 0.81
60 110 160 | 3500 | 4000 | 12' 6' 12 4500 | 2000 97 0.49 0.58
50 100 160 | 3200 | 4500 | 12' 6' 12 4500 | 2000 97 0.39 0.48
50 100 160 | 4000 | 6000 | 12' 6' 12 4500 | 2000 97 0.31 0.40
40 75 150 | 4000 | 6000 [ 12' 6' 12 4500 | 2000 97 0.27 0.35
65 120 150 | 3500 | 4000 [ 15' 8' 11.5 4500 | 2000 94 0.47 0.61
65 120 160 | 3500 | 4000 | 15' 8' 115 4500 | 2000 94 0.44 0.58
65 120 160 | 3500 | 4000 [ 15 8' 11.5 4500 | 2000 94 0.43 0.57
60 110 160 | 3500 | 4500 [ 15' 8' 11.5 4500 | 2000 94 0.31 0.45 10.95
60 110 160 | 3500 | 4500 | 15' 8' 11.5 4500 | 2000 94 0.26 0.40 ’
50 100 160 | 3200 | 4500 [ 15 8' 11.5 4500 | 2000 94 0.26 0.40
50 100 160 | 4000 | 6000 [ 15' 8' 11.5 4500 | 2000 94 0.22 0.36
65 120 150 | 4000 | 6000 [ 15' 8' 115 4500 | 2000 94 0.20 0.34
50 100 160 | 4000 | 6000 [ 15' 8' 11.5 4500 | 2000 94 0.22 0.36
60 110 160 | 4000 | 6000 | 15' 8' 11.5 4500 | 2000 94 0.20 0.34
50 100 160 | 4000 | 6000 [ 15' 8' 115 4500 | 2000 94 0.20 0.34
50 100 160 | 4000 | 6000 [ 15' 8' 11.5 4500 | 2000 94 0.20 0.34
40 75 150 | 4000 | 6000 | 15' 8' 11.5 4500 2000 94 0.19 0.34
* Applies for timing belt application
O(JO 1175



N5 80
AT20-0 @20 N3 76
pIZ™ o9 L3 10 |
) — - = L AN
gl o3 N T \
v R S sl 8 FPRegE s K
. i 5 8e o z sl = == 1 SIS \\
% HR w _ﬁ \
L —_ S R R e i P
28 20 (SL1201) 15 155
525 (SL 120 2) 12 97.7
YP 129.7 (SL 120 1)
162.2 (SL 120 2)
o}
<
Jlls;
SL120P1| 84 | 26
SL120P2| 109 | 26
D'ﬁ(z N N1 N2 N3 N4 N5 | Lmax
14 15 15875 16 19 - - - — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
14 15 15875 16 19 - - - — | 555 1257 | 105 | 5 | Méx16 | 28 | 40
60A2 | 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 5 | M5x14 | 28 | 40
60AH2 | 14 15 15875 16 19 - - — — | 60 | 75 | 100 | 5 6.5 33 | 40
60B1 | 14 15 15875 16 19 - - — — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 | 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 5 | M6x14 | 28 | 40
70AH1 | 14 15 15875 16 19 - - — — | 70 | 8 | 100 | 5 6 33 | 40
70B1 | 14 15 15875 16 19 - - - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 | 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 5 | M6x16 | 28 | 40
80AH1 | 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 5 6.5 28 | 40
95A 14 15 15875 16 19 - - - - | 95 | 115 | 100 | 5 | M8x18 | 28 | 40
95A1 | 14 15 15875 16 19 22 24 - - | 95 | 115 | 100 | 5 | M8x18 | 38 | 50
95B 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 5 | M8x18 | 28 | 40
110A | 14 15 15875 16 19 - - - — | 110 | 130 | 15 | 5 | M8x18 | 28 | 40
110A1 | 14 15 15875 16 19 22 24 - - | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
10B | 14 15 15875 16 19 22 24 - - | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 | 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 14 15 15875 16 19 22 24 - - | 130 | 165 | 140 | 65 |M10x20 | 38 | 50
130A1 | 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 65 |M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

176 |

1Y)




N5

% N3
@ 13 (4x) L3 o
- <

e :

= - =1 ol \\
ozl HET RN LIV | oS5
“FERE == SR LE ﬂ,
R e /
©o| T
[ee]
1 — Q N
20 (SL 120P 1) 15 4.2
52.5 (SL 120P 2) 12 li
Lmax 27
82.2
114.2 (SL 120P 1)
N P 146.7 (SL 120P 2)
L1
L2
o
~ Q
N
N N
Q
—
T Vs .
D 7 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15 15.875 16 48 90 98 M6x15 M6 33.5 20 7.6 12.5 14.5
19 51 90 98 M6x15 M6 33.5 20 7.6 12.5 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 70 90 98 M6x15 M8 36.5 23 7.6 14 22.5
32 71 90 98 M6x15 M8 38 24.5 7.6 15.5 24.5

D

155 | 280 | 300 | 3000 | 4000 [ 12 6' 45 10000 | 4500 | 97 2.18 2.81 3.25

155 | 300 | 360 | 3000 | 4500 [ 12 6' 45 10000 | 4500 | 97 1.30 1.93 2.37

125 | 240 | 360 | 3000 | 4500 | 12 6' 45 10000 | 4500 | 97 0.96 1.59 2.03

125 | 240 | 360 | 3500 | 4500 [ 12 6' 45 10000 | 4500 | 97 0.66 1.28 1.72

100 | 165 | 300 | 3500 | 5000 [ 12 6' 45 10000 | 4500 | 97 0.49 1.11 1.55

155 | 280 | 300 | 3000 | 4000 | 15' 8' 40 10000 | 4500 | 94 1.61 2.20 2.57

155 | 300 | 360 | 3000 | 4000 [ 15 8' 40 10000 | 4500 | 94 1.51 2.10 247

155 | 300 | 360 | 3000 | 4000 [ 15' 8 40 10000 | 4500 | 94 1.47 2.06 243

155 | 300 | 360 | 3000 | 4500 [ 15 8' 40 10000 | 4500 | 94 0.92 1.52 1.88 50.62

155 | 300 | 360 | 3000 | 4500 [ 15 8 40 10000 | 4500 | 94 0.90 1.50 1.86

125 | 240 | 360 | 3000 | 4500 [ 15' 8 40 10000 | 4500 | 94 0.71 1.30 1.67

125 | 240 | 360 | 3500 | 5000 [ 15 8 40 10000 | 4500 | 94 0.54 1.13 1.50

155 | 300 | 300 | 3500 | 5000 [ 15 8' 40 10000 | 4500 | 94 0.44 1.04 1.40

125 | 240 | 360 | 3500 | 5000 [ 15' 8 40 10000 | 4500 | 94 0.53 1.13 1.49

155 | 300 | 360 | 3500 | 5000 [ 15 8' 40 10000 | 4500 | 94 0.43 1.03 1.39

125 | 240 | 360 | 3500 | 5000 [ 15 8 40 10000 | 4500 | 94 0.43 1.02 1.39

125 | 240 | 360 | 3500 | 5000 [ 15' 8 40 10000 | 4500 | 94 0.42 1.02 1.38

100 | 165 | 300 | 3500 | 5000 | 15' 8' 40 10000 | 4500 | 94 0.42 1.02 1.38
* Applies for timing belt application

O(JO | 177



178 | O(:)o



EFFECTIVE LINE

MAIN FEATURES
+ Nominal output torque (Nm)

+ Torsional backlash (arcmin)
+ Torsional stiffness (Nm/arcmin)

M o.75-50

+ Max tilting moment (Nm)

B2

PROTECTION CLASS
+ IP54

FRAME SIZES

<050
<) 070
() 090
-120

-155

LC SERIES

LC precision planetary gearboxes represent a

flexible solution and valuable alternative with optimal
performance and reliability levels.

The output design in line with market standards
ensures great compatibility for easy retrofits and a high
level of freedom in projects development.

MAIN OPTIONS
+ Input versions

L F

MOTOR
ADAPTER

{ P

WITHOUT
MOTOR
ADAPTER

+ Output shafts versions

=

=

SMOOTH
KEYLESS
SHAFT

+ Lubrication

STANDARD
LUBRICATION

+ High power

@

HIGH POWER
VERSION

KEYED
SHAFT

5

FOOD GRADE
LUBRICATION

1Y)

version (P option)

MAIN BENEFITS

+ Cost effective yet powerful

+ Highly reliable

+ High compatibility for easy
retrofits

I 179



10 FEATURES OF LC SERIES

Planetary gear units of the LC series belong to a range of low backlash drives very broad and complete as far as transmissible torque,
gear ratios and torsional backlash.
All units are generously proportioned to run quietly and provide a long service life without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available
in a normally equipped workshop.

1-stage units: standard (ps < 12’; reduced (pr < 6’
2-stage units: standard (ps < 15’; reduced (pr < &’

periodical changes.

Available with either standard (STD) or reduced (LOW) backlash:

Its degree of protection IP54 provides protection against dust and liquid splashes.
Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-1; i=10.
Wide range of adapter flanges matching the most popular brands of motors
Units are factory filled with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires no

Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
Housing temperature must not exceed Tmax = 90°C.
Available as Version P with higher output torque.

Distribution of nominal torque Mn2 [Nm]
| 3|4 |5, 7|9 10|12 15|16 | 20 |25 | 28 | 30 | 35|36 | 40 | 45| 50 | 70 | 81 |100
LC 050 10112 112|112 10| - (12|12 |12 |12 |12 |12 | - |12 |12 | - |12 | - - 110 | -
LC 070 18 125125 |25 |18 |18 |25 |25 |25 |25 |25 |25 |18 |25 | - |25 | - |25 |25 | - | 18
LCO70P |29 | 30 | 28 |28 |29 |20 |29 |29 |30 |30 |30 |30(29 30| - (30| - (30|30 - |20
LCO090 |37 |43 |43 |43 |37 |37 |43 |43 |43 |43 |43 |43 |37 |43 | - |43 | - |43 |43 | - |37
LC 090P | 65 | 60 | 50 | 50 | 65 |40 |65 |65 |60 |60 |50 |50 |65 |50 | — |60 | - |50 |50 | - |40
LC120 |95 |110|110|110| 95 | 95 |110 110|110 110|110 {110 | 95 [110| - |110| - |[110|110| - | 95
LC 120P | 155|155 | 125 (125|155 | 100 | 155 | 155|155 (155|125 (125|155 |125| - |155| — |125|125| - |100
LC 155 [250|300 | 300 |300 |250 | 230 {300 | 300 [300 [300 300 [300|250|300| - |300| - |300|300| - |230
LC 155P {250 | 350 | 350 | 350 | 250 | 230 |450 |450 |450 (450 |450 (450 |250 (450 | - |450| - |450|450| - |230
Output shaft max. loading capacity Available motor shaft bores
N .
6000 8000 LC 155 |
5000 ]
5000
LC 120 |
4000 1
3500
weowo| [
3000
2200 1
2000 1900 LC 070 |:|
1300 1400
"1 0 60 LC 050
LC 050 LC 070 LC 090 LC 120 LC 155 6‘789‘101112 14 ‘1617 19‘ 2 24 28 32 353 38
635 952 127 15875  19.0
@ [mm]
|:|R2max .AZmax
180 | O(JO




10.1 ORDERING CODE

LC 120

— SERIES
LC

1 3 STD 70D CD 19 KE UH1

STD
LOwW

— GEAR RATIO

— REDUCTIONS
1 2

— FRAME SIZE

050 070 090 120 155
070P 090P 120P 155P

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

L— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

— INPUT SHAFT BORE
6..38

— MOTOR COUPLING

CD clamping device

L— INPUT SECTION
25AH ... 180A1 motor adapter
FM without motor adapter
— BACKLASH

1 reduction |2 reductions

Ps<12 Ps<15

QPr<6' Pr<8

1Y)

| 181



10.2 DIVENSIONS AND TECHNICAL SPECIFICATIONS

25AH ... 80A

N5 53 (LC0501) 24.5
iho N3 66.8 (LC 050 2) 15
T
‘ 14 25
| e
_ _ = [ B
o _— NI
3 of o ®
— x| N
={RS
%] 44lt0.05 10
LC 050 1 1.1
LC 050 2 1.3
@ N N1 N2 | N3 | N4 | N5 | Lmax
1
min max
25AH 6 635 7 8 9 952 - - - - - 25 36 48
26AH 6 635 7 8 9 952 - - - - - 26 36 48
28AH 6 635 7 8 9 952 - - - - - 28 36 48
30AH 6 635 7 8 9 952 - - - - - 30 36 48
32AH 6 635 7 8 9 952 - - - - - 32 38 48 55 3.5 4.5 25 25
34AH 6 635 7 8 9 952 - - - - - | 34 40 48
36AH 6 635 7 8 9 952 - - - - - 36 42 48
38AH 6 635 7 8 9 952 - - - - - 38 44 48
40AH 6 635 7 8 9 952 - - - - - 40 46 48
38B 6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 60 4 55 23 30
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 11 12 127 - 50 65 55 4 55 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 55 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 3 M5x12 | 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

182 |

1Y)




L3 L2
Y7
Z
FM a a | - 1; |
Q S E.’J_ 7 o I
777 'l =
7 5’/
L4
D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
1" 12 12.7 35.5 50 42.5 M4x8 M4 22 13.5 3 8.5 1
14 355 50 42.5 M4x8 M4 25 17 3 10.2 11.5

N
’;\)“}I Mn2 Ma 2 Mp 2 1] Ps | Pr Ct R2 max | A2 max

i [Nm] [Nm] [Nm] [arcmin] [argmin] IN] IN] 6..952 10 .. 14

LC 0501_3

LC 050 1_4

LC 050 1_5

LC0501_7

LC 0501_9

LC 050 2_ 12

LC 050 2_ 15

LC 050 2_16

LC 050 2_ 20

LC 050 2_ 25

LC 050 2_ 28

LC 050 2_ 35

LC 050 2_ 36

LC 050 2_ 45

LC 050 2_ 81

€1y 183



LC 070

25AH ... 80A

N5 62 (LC0701) 36
N3 78.7 (LC 070 2) 5
5h9
i
20 4
=t j a
CE—1 Ll
2 o o ®
= ol €
)
(] 62::0‘05 12
o)
LC 0701 2.0
LC 070 2 23
bl {5 N N1 N2 | N3 | N4 | N5 |Lmax

~ min | max

25AH 6.35 7 8 9 952 - - - - - 25 | 39 | 56

26AH 635 7 8 9 952 - - - - - 26 | 39 | 56

28AH 6.35 7 8 9 952 - - - - - 28 | 39 | 56

30AH 6.35 7 8 9 952 - - - - - 30 | 39 | 56
32AH 6.35 7 8 9 952 - - - - - 32 | 39 | 56 65 3.5 4.5 25 | 25

34AH 635 7 8 9 952 - - - - - 34 | 40 | 56

36AH 6.35 7 8 9 952 - - - - - 36 | 42 | 56

39AH 635 7 8 9 952 - - - - - 39 | 45 | 56

40AH 635 7 8 9 952 - - — — — 40 | 46 | 56
38B 635 7 8 9 952 10 1 12 127 - |38.1 66.6 60 3 M4x10 | 18 25
40B 6.35 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6.35 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 | 23 30
50BH 6.35 7 8 9 952 10 11 12 127 14 50 65 65 3 5.5 25 32
50C 6.35 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 | 23 30
55MH (635 7 8 9 952 10 1 12 127 - 55 80 65 2 5.5 16 23
60A 6.35 7 8 9 952 10 1 12 127 - 60 75 65 3 M5x12 | 18 | 25
60A1 635 7 8 9 952 10 1 12 127 14 | 60 75 65 3 M5x12 | 23 30
60B 635 7 8 9 952 10 1 12 127 14 | 60 85 75 3 M5x12 | 23 30
60C 635 7 8 9 952 10 1 12 127 14 60 90 75 3 M5x12 | 23 30
70A 635 7 8 9 952 10 1 12 127 14 70 85 75 3 M6x15 | 23 30
70B 635 7 8 9 952 10 1 12 127 14 70 90 75 5 M5x12 | 23 30
73A 635 7 8 9 952 10 1 12 127 14 73 98.4 85 3 M5x12 | 25 32
80A 635 7 8 9 952 10 11 12 127 14 | 80 100 85 3 M6x15 | 23 30

Please contact us for different motor adapters and input shaft bore.

184 | O{}o



L1

L3 L2
97
77
FM a a ¢ ) |
[N Q9 / a _T
'l o
7 o/
S
—
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6.35 7 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
1 12 12.7 355 50 42.5 M4x8 M4 22 13.5 3 8.5 1
14 355 50 42.5 M4x8 M4 25 17 3 10.2 11.5

Jg [kgem?]

SN
\é\)“}l Mh2  Ma2  Mp2 nq Nimax | @s OQr Ct R2 max | A2 max n

[Nm] | [Nm] [Nm] | [min-1]  [min-1]  [arcmin] Iarﬂ?in] [N] [N] 6.35...9.52

LC0701_3

LC0701_4

LC0701_5

LC0701_7

LC 0701_10

LC0702_9

LC 070 2_12

LC 070 2_15

LC 070 2_16

LC 070 2_ 20

LC 070 2_ 25

LC 070 2_ 28

LC 070 2_30

LC 070 2_35

LC 070 2_ 40

LC 070 2_50

LC 070 2_70

LC 070 2_100

€1y 185



40B1 ... 110B1

N5 72.3 (LC 090 1) 46
N3 98.8 (LC 090 2) 5
6 h9
s
1
32 2
W =
P4 i) || B B Nr—=: i ol S
Q ’ H = ©la
© = = Q
= 0, Nl e
< x|~ -
3\ — N
T §7®
@ 80+0.05 15
LC 090 1 4.2
LC 090 2 5.3
e
D %\% ¥ N N1 N2 N3 N4 N5 | Lmax
40B1 952 11 12 127 14 - - - - - 40 63 80 M4x10 34 40
45A 952 11 12 127 - - - - - - 45 63 80 M4x10 34 40
50B1 952 11 12 127 14 - - - = - 50 65 80 M5x16 34 40
50BH1 952 11 12 127 14 - - - = - 50 65 80 5.5 34 40
50C1 952 11 12 127 14 - - - = - 50 70 80 M4x10 34 40
50D 952 11 12 127 14 - - - = - 50 95 80 M6x10 34 40
55A 952 11 12 127 14 15875 16 17 19 19.05| 55.5 | 125.7 | 105 M6x16 34 40
60A2 952 11 12 127 14 - - - = - 60 75 80 M5x16 34 40
60AH2 952 11 12 127 14 - - - - - 60 75 90 55 34 40
60B1 952 11 12 127 14 15875 16 - - - 60 85 80 M5x16 34 40
952 11 12 127 14 15875 16 - — - 60 90 80 M5x16 34 40

952 11 12 127 14 15875 16 17 19 19.05| 70 85 80
952 11 12 127 14 15875 16 17 19 19.05| 70 85 90
952 11 12 127 14 15875 16 17 19 19.05| 70 90 80
952 11 12 127 14 - - - - - 73 | 984 | 85
952 11 12 127 14 15875 16 17 19 19.05| 80 100 90
952 11 12 127 14 15875 16 17 19 19.05| 95 115 | 100
952 11 12 127 14 15875 16 17 19 19.05| 95 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120

M6x20 34 40

6.5 34 40
M5x16 34 40
M5x16 34 40
M6x16 34 40
M8x20 34 40
M8x20 34 40
M8x20 34 40
M8x20 44 50
M8x20 54 60

95B
110A
110B
110B1

(=2

(=3

(9}

-
© © © © © © © © © © © © © © © © © © © ©o o©
o O

Please contact us for different motor adapters and input shaft bore.

186 | O(:)O




L1

L3 L2
%%
./
FM 5 8 ) —
[ (S fat? / _T
7% [m)
Q
’/777 lO/
N I_Li
/I
D (\— D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5
1 12 12.7 43 68 76,5 | M6x10 | M6 34 26.8 9.5 18.8 12.5
14 15875 16 17 48 68 76,5 | M6x10 | M6 34 26.8 9.5 18.8 145
19 19.05 51 68 76.5 | M6x10 | M6 34 26.3 9.5 18.8 16.5

Jg [kgem?]

N
m‘ Mn 2 Ma 2 Mp 2 N1max Qs ©r Ct R2max A2 max

i Nm Nml [Nm) i) faromin]  [hm NN 9..127 14..19.05

LC0901_3

LC 090 1_4

LC0901_5

LC0901_7

LC 090 1_10

LC0902_9

LC 090 2_ 12

LC 090 2_15

LC 090 2_16

LC 090 2_ 20

LC 090 2_ 25

LC 090 2_ 28

LC 090 2_ 30

LC 090 2_35

LC 090 2_ 40

LC 090 2_ 50

LC 090 2_70

LC 090 2_ 100

O/}o | 187



LC 120

50D ... 130A1

N5 101.1 (LC 120 1) 70
N3 133.6 (LC 120 2) 6
10 h9 N4
| 1 P —
50 | 4 B P\
// \\
B 77 AN |
( i ol ¥ [ fN \ |
© — 1 1 2ls T W\ T
= & o RN i /,/ ¢
x|~ F|— N
— g (.c}l) \. N /,/' /|
‘ S xg\ ;T )@x
+0, 20 T
& 108*0.05 N2
@ N1
LC 1201 9.6
LC 120 2 121
VI
D &6 N N1 N2 N3 N4 N5 | Lmax
14 15 15875 16 19 - - - - 50 95 100 5 M6x14 28 40
14 15 15875 16 19 - - - - 55.5 | 125.7 | 105 5 M6x16 28 40
14 15 15.875 16 19 - - - - 60 75 100 5 M5x14 28 40
14 15 15.875 16 19 - - - - 60 75 100 5 6.5 33 40
14 15 15875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
14 15 15875 16 19 - - - - 70 85 100 5 M6x14 28 40
14 15 15.875 16 19 - - - - 70 85 100 5 6 33 40
14 15 15875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
14 15 15875 16 19 - - - - 80 100 100 5 M6x16 28 40
14 15 15.875 16 19 - - - - 80 100 100 5 6.5 28 40
95A 14 15 15.875 16 19 - - - - 95 115 100 5 M8x18 28 40
95A1 14 15 15875 16 19 22 24 - - 95 115 100 5 M8x18 38 50
95B 14 15 15.875 16 19 - - - - 95 130 115 5 M8x18 28 40
110A 14 15 15875 16 19 - - - - 110 130 115 5 M8x18 28 40
110A1 14 15 15.875 16 19 22 24 - - 110 130 115 6.5 M8x20 38 50
110B 14 15 15875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
110B1 14 15 15.875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
130A 14 15 15875 16 19 22 24 - - 130 165 140 6.5 M10x20 38 50
130A1 14 15 15875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60

Please contact us for different motor adapters and input shaft bore.

188 |

1Y)




L1

L2

FM a a | ) I
Q (S]] / A _T
/ 1 Q
77 5)/
L4
D g;ii D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15 15875 16 48 90 98 | M6x15| M6 335 20 7.6 125 | 145
19 51 90 98 | M6x15| M6 335 20 76 125 | 16.5
22 24 56.5 90 98 | M6x15| M6 36.5 23 7.6 14 19
28 67 90 98 | M6x15| M8 36.5 23 7.6 14 225
32 71 90 98 | M6x15| M8 38 245 7.6 15.5 | 245

i
LC1201_3

LC1201_4

LC1201_5

LC1201_7

LC 120 1_10
LC1202_9

LC1202_12
LC1202_15
LC1202_16
LC 1202_20
LC 1202_25
LC 1202_28
LC 120 2_30
LC 1202_35
LC 120 2_40
LC 120 2_50
LC 1202_70
LC 120 2_ 100

Mn 2

[Nm]

Ps

[arcmin] [

Pr

Ct

Nm
arcmin

R2 max A2 max

(N [N]

n

Jg [kgem?]

14..19 22;24 28 ;32

1Y)

| 189




LC 155

55A1 ... 180A1

N5 123.5 (LC 155 1) 97
N3 163 (LC1552) 8
12 h9 7
T
70 6
= \
_ © ‘
,,,,, e Irer=ed S ]
= © g S J
= T|-¢
= ol 2
‘ =)
& 140%0.05 25
LC1551 | 19.3
LC1552 | 24.3
b X N N1 N2 N3 N4 N5 | Lmax
55A1 19 - - - - - - 55.5 | 125.7 | 130 4 Méx15 | 39.5 | 50
80A2 19 - - - - - - 80 100 | 130 4 M6x15 | 39.5 | 50
95A1 19 22 24 -~ -~ -~ —~ 95 115 | 130 4 M8x20 | 39.5 | 50
110A1 19 22 24 - - - - 110 | 130 | 130 4 M8x20 | 39.5 | 50
110B1 19 22 24 - - - - 110 | 145 | 130 | 6.5 M8x20 | 49.5 | 60
114A 19 22 24 28 32 35 38 | 1143 | 200 | 170 55 | M12x25 | 69.5 | 80
130A 19 22 24 - - - - 130 | 165 | 140 4 M10x20 | 395 | 50
130A1 19 22 24 28 32 - - 130 | 165 | 140 4 M10x20 | 495 | 60
180A 19 22 24 28 32 - - 180 | 215 | 190 55 | M14x25 | 495 | 60
180A1 19 22 24 28 32 35 38 180 | 215 | 190 | 55 | M14x25 | 69.5 | 80

Please contact us for different motor adapters and input shaft bore.

190 | €1,



L1

L3 L2
Z
FM a a ¢ ) I
Q Q| / a _T
77 a Q
7
477 lo/
N I_L_‘L
Y
D (\— D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
19 51 13 1255 | M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 13 1255 | M8x15 M6 41 28.5 6 19.5 19
28 67 13 1255 | M8x15 M8 41 28.5 6 19.5 225
32 71 13 1255 | M8x15 M8 41 28.5 6 18.5 24.5
35 73 113 1255 | M8x15 M8 50 375 11.25 26 26
38 775 13 1255 | M8x15 M8 50 375 11.25 26 28

Je [kgecm?]

NN
m‘ n1 Nimax| Ps QR Ct R2 max |A2 max

Nm

F [min-"] [min-]  [arcmin] |- -t

Nl [N] 19 22;24 28;32 35;38
LC1551_3
LC1551_4
LC1551_5
LC 1551 _7
LC 1551 _10
LC1552_9
LC 1552 _12
LC 1552 _15
LC 1552 _16
LC 1552 _20
LC 1552 _25
LC 1552 _28
LC 1552 _30
LC 1552 _35
LC 1552 _40
LC 1552 _50
LC 1552 _70
LC 1552 _ 100

O/Jo I 191



LC 070P

25AH ... 80A

N5 62 (LCO070P 1) 36
N3 78.7 (LC 070P 2) 5
5h9
i
20 4
—y- ~
=5
2 e
12
o)
LC070P1| 2.0
LCO070P2| 23
D| (<= N N1 N2 N3 N4 N5 | Lmax

~ min | max

25AH 6.35 7 8 9 952 - - - - - 25 | 39 | 56

26AH 635 7 8 9 952 - - - - - 26 | 39 | 56

28AH 6.35 7 8 9 952 - - - - - 28 | 39 | 56

30AH 635 7 8 9 952 - - - - - 30 | 39 | 56
32AH 6.35 7 8 9 952 - - - - - 32 | 39 | 56 65 3.5 4.5 25 25

34AH 635 7 8 9 952 - - - - - 34 | 40 | 56

36AH 635 7 8 9 952 - - - - - 36 | 42 | 56

39AH 635 7 8 9 952 - - - - - 39 | 45 | 56

40AH 635 7 8 9 952 - — — — — 40 | 46 | 56
38B 635 7 8 9 952 10 1 12 127 - |38.1 66.6 60 3 M4x10 18 25
40B 6.35 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6.35 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6.35 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 | 23 30
50BH 6.35 7 8 9 952 10 11 12 127 14 50 65 65 3 5.5 25 32
50C 6.35 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 | 23 30
55MH 6.35 7 8 9 952 10 1 12 127 - 55 80 65 2 5.5 16 23
60A 6.35 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60A1 6.35 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 | 23 30
60B 6.35 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 | 23 30
60C 635 7 8 9 952 10 1 12 127 14 60 90 75 3 M5x12 | 23 30
70A 6.35 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 | 23 30
70B 6.35 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 | 23 30
73A 6.35 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 | 25 32
80A 6.35 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 | 23 30

Please contact us for different motor adapters and input shaft bore.

192 | O{}o



LC 070P

L1

L3 L2
97
77
FM a a ¢ ) |
[N Q9 / a _T
'l o
7 o/
S
—
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6.35 7 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
1 12 12.7 355 50 42.5 M4x8 M4 22 13.5 3 8.5 1
14 355 50 42.5 M4x8 M4 25 17 3 10.2 11.5

Jg [kgem?]

NS
"?\)“}I Mn 2 Ma2z Mp2 nq Nimax Qs OQr Ct R2 max = A2 max

i | [Nm] | [Nm] [Nm] | [min-'] [min-']| [arcmin] [arﬂr:'\nin] [N] [N]

LC 070P 1_3

LC 070P 1_4

LC 070P1_5

LC 070P1_7

LC 070P 1_10

LC 070P 2_9

LC 070P 2_12

LC 070P 2_15

LC 070P 2_16

LC 070P 2_ 20

LC 070P 2_ 25

LC 070P 2_ 28

LC 070P 2_30

LC 070P 2_35

LC 070P 2_ 40

LC 070P 2_ 50

LC 070P 2_70

LC 070P 2_100

€1y 193



40B1 ... 110B1

6 h9

M6

(4] 86 +0.05

N5 72.3 (LC 090P 1) 46
N3 98.8 (LC 090P 2) 5
_hes
1
32 2
| ' Y .
p4lia) || _ HNr— i ol S
Q| ? J—r =Ll — ©l'a
= o @
0 N el y
3 = I
23
15

LCO90P 1| 4.2

LCO090P2| 53

?: N | N1 | N2 | N3 N4 N5 | Lmax

40B1 9 952 11 12 127 14 - - - — - | 40 | 63 | 80 | 4 | M4x10 | 34 | 40
45A 9 952 11 12 127 - - - - - - | 45 | 63 | 80 | 4 | M4x10 | 34 | 40
50B1 9 952 11 12 127 14 - - - - - | 50 | 65 | 80 | 4 | M5x16 | 34 | 40
50BH1 | 9 952 11 12 127 14 - - - - - | 50 | 65 | 80 | 4 5.5 34 | 40
50C1 9 952 11 12 127 14 - - - - - | 50 | 70 | 80 | 4 | M4x10 | 34 | 40
50D 9 952 11 12 127 14 - - - - - | 50 | 95 | 80 | 4 | Mex10 | 34 | 40
55A 9 952 11 12 127 14 15875 16 17 19 19.05| 555 [125.7| 105 | 4 | M6x16 | 34 | 40
60A2 | 9 952 11 12 127 14 - - - - - | 60 | 75 | 80 | 4 | M5x16 | 34 | 40
60AH2 | 9 952 11 12 127 14 - - - - - | 60 | 75 | 9 | 4 5.5 34 | 40
60B1 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 80 | 4 | M5x16 | 34 | 40
60C1 9 952 11 12 127 14 15875 16 - — — | 60 | 90 | 80 | 4 | M5x16 | 34 | 40
70A1 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 | 4 | M6x20 | 34 | 40
70AH1 | 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 90 | 4 6.5 34 | 40
70B1 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 | 4 | M5x16 | 34 | 40
73A1 9 952 11 12 127 14 - - - - - | 73 | 984 | 8 | 4 | M5x16 | 34 | 40
80A1 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | M6x16 | 34 | 40
95A 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
95B 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
1108 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
10B1 | 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

194 |

1Y)




LC 090P

L1

L3 L2
5%
./
FM 5 8 ; A—
Q (S i / I
1 s
’/777 ‘O/
M
T
LIRSS, D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
9 9.52 38 68 76.5 | M6x10 | M6 34 26.8 9.5 188 | 10.5
11 12 12.7 43 68 765 | M6x10 | M6 34 26.8 9.5 188 | 125
14 15875 16 17 48 68 76.5 | M6x10 | M6 34 268 | 95 188 | 145
19  19.05 51 68 76.5 | M6x10 | M6 34 268 | 95 188 | 16.5

Jg [kgem?]

NS
"?\)“}l Mn 2 Nimax Qs OQr Ct R2 max | A2 max

i Nm] [min-1]  [arcmin] [agnr:inl IN] IN] 8..12.7 14..19

LC 090P 1_3

LC 090P 1_4

LC 090P 1_5

LC 090P 1_7

LC 090P 1_10

LC 090P 2_9

LC 090P 2_12

LC 090P 2_15

LC 090P 2_ 16

LC 090P 2_ 20

LC 090P 2_ 25

LC 090P 2_ 28

LC 090P 2_ 30

LC 090P 2_ 35

LC 090P 2_ 40

LC 090P 2_ 50

LC 090P 2_70

LC 090P 2_100

C{'Jo 1 195



LC 120P

50D ... 130A1

N5 101.1 (LC 120P 1) 70
N3 133.6 (LC 120P 2) 6
10 h9 N4
| 1 P —
50 | 4 B P\
// \\
I IS\
(T i ol M [ @) A
] N Q |\ w / !
© o Q N : 72V,
= N o \ A\ | G /
— :\i 7; T \ \\\ /’/ /|
‘ E ’g x@\ ‘T )@x
*0. 20 T
@ 108+0.05 N2
@ N1
LC 120P 1 9.6
LC120P 2, 121
D & N N1 N2 N3 N4 N5 Lmax
14 15 15.875 16 19 - - - - 50 95 100 5 M6x14 28 40
14 15 15.875 16 19 - - - - 55.5 | 125.7 | 105 5 M6x16 28 40
14 15 15.875 16 19 - - - - 60 75 100 5 M5x14 28 40
14 15 15.875 16 19 - - - - 60 75 100 5 6.5 33 40
14 15 15.875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
14 15 15.875 16 19 - - - - 70 85 100 5 M6x14 28 40
14 15 15.875 16 19 - - - - 70 85 100 5 6 33 40
14 15 15.875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
14 15 15.875 16 19 - - - - 80 100 100 5 M6x16 28 40
14 15 15.875 16 19 - - - - 80 100 100 5 6.5 28 40
95A 14 15 15.875 16 19 - - - - 95 115 100 5 M8x18 28 40
95A1 14 15 15.875 16 19 22 24 - - 95 115 100 5 M8x18 38 50
95B 14 15 15.875 16 19 - - - - 95 130 115 5 M8x18 28 40
110A 14 15 15.875 16 19 - - - - 110 130 115 5 M8x18 28 40
110A1 14 15 15.875 16 19 22 24 - - 110 130 115 6.5 M8x20 38 50
110B 14 15 15.875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
110B1 14 15 15.875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
130A 14 15 15.875 16 19 22 24 - - 130 165 140 6.5 M10x20 38 50
130A1 14 15 15.875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60

Please contact us for different motor adapters and input shaft bore.

1Y)

196 |




LC 120P

L1

L3 L2
a
FM a al | A A
Q (S]] / A _T
'l =
Z . =7
S
D (\— D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15 15875 16 48 90 98 | M6x15| M6 335 20 7.6 125 | 145
19 51 90 98 | M6x15| M6 335 20 7.6 125 | 16.5
22 24 56.5 90 98 | M6x15| M6 36.5 23 7.6 14 19
28 67 90 98 | M6x15| M8 36.5 23 7.6 14 225
32 71 90 98 | M6x15| M8 38 24.5 7.6 15,5 | 245

Jg [kgem?]

\O%)‘“Ti Mn 2 Ps | Pr Ct |R2max A2max

Nm

arcmin (N] [N]

I [Nm] [arcmin] ’
LC 120P 1_3
LC 120P 1_4
LC 120P1_5
LC 120P1_7
LC 120P 1_10
LC 120P 2_9
LC 120P 2_ 12
LC 120P 2_15
LC 120P 2_16
LC 120P 2_ 20
LC 120P2_25
LC 120P 2_ 28
LC 120P 2_30
LC 120P 2_ 35
LC 120P 2_ 40
LC 120P 2_ 50
LC 120P 2_70
LC 120P 2_ 100

O/Jo | 197



LC 155P

55A1 ... 180A1

N5 123.5 (LC 155P 1) 97
N3 163 (LC 155P 2) 8
12 h9 N4
—»«‘i — T —
‘ P owa —
70 |6 B = B
// \\
L N/ / N N[
T i e E 9 1IN aa MRl
= — "1 Q8 -~ [ N\ 1]
= 9 \ \ Z /
= ] x \ \\‘\ /'/ /|
= [{e] P %
‘ = LS 5)
+0, 25 T
140%0.05 N2
@ N1
LC155P 1| 19.3
LC155P 2| 24.3
b £ N N1 N2 N3 N4 N5 | Lmax
55A1 19 - — - - - - 55.5 125.7 130 4 M6x15 39.5 50
80A2 19 — — — - - — 80 100 130 4 M6x15 39.5 50
95A1 19 22 24 — — — — 95 115 130 4 M8x20 39.5 50
110A1 19 22 24 - - - — 110 130 130 4 M8x20 39.5 50
110B1 19 22 24 - - - - 110 145 130 6.5 M8x20 49.5 60
114A 19 22 24 28 32 35 38 114.3 200 170 55 M12x25 69.5 80
130A 19 22 24 - - - - 130 165 140 4 M10x20 39.5 50
130A1 19 22 24 28 32 - - 130 165 140 4 M10x20 49.5 60
180A 19 22 24 28 32 - - 180 215 190 5.5 M14x25 49.5 60
180A1 19 22 24 28 32 35 38 180 215 190 55 M14x25 69.5 80

198 1 €13



LC 155P

L1

L3 L2
7
%
FM a al | ) —
Q Q| / a _]
'l =
/7,77- P
8/ I_L_‘L
R
D (\— D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
19 51 13 125.5 M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 13 125.5 M8x15 M6 41 28.5 6 19.5 19
28 67 13 125.5 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 125.5 M8x15 M8 41 28.5 6 18.5 24.5
35 73 113 125.5 M8x15 M8 50 37.5 11.25 26 26
38 77.5 113 125.5 M8x15 M8 50 37.5 11.25 26 28

Jg [kgecm?]

N

&J“‘}l N1 Nimax| @s | @®r | Ct R2max A2max

i [min-1] [min-1]  [arcmin] ’ar':rr:in [N] [N] 19 [ 22;24 28;32 35;38
LC 155P 1 _3
LC 155P 1 _4
LC155P1_5
LC155P1 _7
LC 155P 1 _10
LC155P2_9
LC 155P 2 _12
LC 155P 2 _15
LC 155P 2 _16
LC 155P 2 _ 20
LC 155P 2 _25
LC 155P 2 _ 28
LC 155P 2 _ 30
LC 155P 2 _35
LC 155P 2 _ 40
LC 155P 2 _ 50
LC 155P 2 _70

LC 155P 2 _ 100

€1y 199



200 | O(:)o



EFFECTIVE LINE

MAIN FEATURES
+ Nominal output torque (Nm)

+ Torsional backlash (arcmin)
Mle-s

+ Torsional stiffness (Nm/arcmin)
Wo7-479

+ Max tilting moment (Nm)

B2

PROTECTION CLASS
+ IP54

FRAME SIZES
+ () 050

<) 070
() 090
-120

-155

LCK SERIES

LCK precision planetary right-angle gearboxes represent
a flexible, reliable and cost-effective solution for
machines that require a very compact layout.

The output design in line with market standards
ensures great compatibility for easy retrofits and a high
level of freedom in projects development.

MAIN OPTIONS

+ Input versions MAIN BENEFITS
I: =i E[I:'i:' + Cost effective yet powerful
WITHOUT + High compatibility for easy
MOTOR MOTOR s
ADAPTER ADAPTER retrofits

- Compact design for space-

+ Output shafts versions i
saving layouts

[ —

SMOOTH

KEYLESS KEYED
SHAFT SHAFT
+ Lubrication

S0 | oo

STANDARD | FOOD GRADE
LUBRICATION | LUBRICATION

+ High power version (P option)

@

HIGH POWER
VERSION

O(:)O | 201



11

FEATURES OF LCK SERIES

Gear units of series LCK replicate in the right angle layout the brilliant features that are already typical of the in-line products of the LC
series, with the additional benefit of a facilitated installation in tight spaces.

¢ Available in one only backlash option, corresponding to following values:
2-stage units: standard (s < 6’;
3-stage units: standard s < 8’;

* Its degree of protection IP54 provides protection against dust and liquid splashes.

¢ |nput section oil seals made from a Fluoroelastomer compound are supplied as standard.

* Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-'; i=10.

¢ Wide range of adapter flanges matching the most popular brands of motors
¢ Units are factory filled with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires no

periodical changes.
e Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
¢ Housing temperature must not exceed Tmax = 90°C.
¢ Available as Version P with higher output torque.

Distribution of nominal torque Mn2 [Nm]
[i] (] 8 10 14 20 24 30 50 70 80 90 100
LCK 050 10 12 12 12 - 12 12 12 12 - 12 -
LCK 070 18 25 25 25 18 25 25 25 25 25 - 25
LCK070P| 25 30 28 28 20 29 29 30 30 30 - 30
LCK 090 37 43 43 43 37 43 43 43 43 43 - 43
LCK 090P| 45 60 50 50 40 60 60 50 50 60 - 50
LCK 120 95 110 110 110 95 110 110 110 110 110 - 110
LCK 120P| 110 140 | 125 | 125 | 100 | 155 155 | 125 | 125 | 155 - 125
LCK 155 250 | 300 | 300 | 300 | 230 | 300 | 300 | 300 | 300 | 300 - 300
LCK155P| 250 | 350 | 350 | 350 | 230 | 450 | 450 | 450 | 450 | 450 - 450
Output shaft max. loading capacity Available motor shaft bores
NI 7
6000
6000 LCK 155 | |
5000 1
5000
LCK 120 |
4000 4
3500
3000 Lckoso| |
3000
2200 1
2000 = LCK 070 |
1300 1400
1000 w0 600 i
LCK 050 |
0
LCK 050 LCK 070 LCK 090 LCK 120 LCK 155 6‘ 789 ‘1‘0 112 ‘ 14 ‘1‘6 17 15‘;‘ 2 o4 28
6.35 9.52 127 15875  19.05
@ [mm]
|:| R2 max . A2 max
202 | O(JO




11.1 ORDERING CODE

LCK 120

— SERIES
LCK

2 20 STD 100A CD

STD

— GEAR RATIO

— REDUCTIONS
2 3

— FRAME SIZE

050 070 090 120 155
070P 090P 120P 155P

14 KE UH1

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

— INPUT SHAFT BORE
6..28

— MOTOR COUPLING

CD clamping device

FM

— BACKLASH

— INPUT SECTION
25AH ... 180A1

motor adapter

without motor adapter

2 reductions

3 reductions

Ps<6'

Ps<8

1Y)

| 203



11.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

25AH ... 80A

IN 5
4 ho 2 dDF7 &
zZ ji« -
2 )
iﬁ 245
| 14 | 25
©
& N\
| <
. Mo 5 8
o N g|-&=
o % x|«
N 35| 2|8
@ 44 10,05 10| 3
=]
30 P1
P2
P Pl P2 | A z X G
S e
LCKO0502 | 53 | 91 |1455| 16 g / Q\ A
5 (&2
LCK 050 3 | 66.8 [104.8/159.3| 1.8 \% > / /
% T
\% @ N1 min N4
@ N1 max
) N N1 N2 | N3 | N4 | N5 | Lmax
N .
min | max
6 63 7 8 9 952 - - - - — | 25 [39]56
6 63 7 8 9 952 - - — _— _ | 26 |39 56
6 63 7 8 9 952 - - - _— _ | 28 |39]56
6 63 7 8 9 952 - - - — _— | 30 |39 56
6 635 7 8 9 952 - - - - _ | 32 |39|/5 65 | 35| 45 | 25 | 25
6 635 7 8 9 952 - - — — _ | 34 |40 56
6 63 7 8 9 952 - - - - — | 36 |42]|56
6 63 7 8 9 952 - —- — _— _ | 39 |45 56
6 635 7 8 9 952 - - _ _ _ | 40 |46 |56
6 635 7 8 9 952 10 1 12 127 — | 381 | 666 | 60 3 | M4x10| 18 | 25
6 635 7 8 9 952 10 1 12 127 — | 40 63 60 3 |M4x10| 18 | 25
6 635 7 8 9 952 10 M 12 127 - | 50 60 60 3 |M4x10| 18 | 25
50B 6 635 7 8 9 952 10 M 12 127 14| 50 65 60 3 |Mmsx12| 23 | 30
50BH 6 635 7 8 9 952 10 1 12 127 14| 50 65 65 3 55 | 25 | 32
50C 6 635 7 8 9 952 10 1 12 127 14| 50 70 60 3 | Max10| 23 | 30
55MH 6 635 7 8 9 952 10 M 12 127 - | 55 80 65 2 55 16 | 23
60A 6 635 7 8 9 952 10 M 12 127 — | 60 75 65 3 | Ms5x12| 18 | 25
60A1 6 635 7 8 9 952 10 M 12 127 14 | 60 75 65 3 | M5x12| 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 | M5x12| 23 | 30
60C 6 635 7 8 9 952 10 1 12 127 14 | 60 90 75 3 | M5x12| 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 | Mex15| 23 | 30
70B 6 635 7 8 9 952 10 M 12 127 14| 70 90 75 5 | Ms5x12| 23 | 30
73A 6 635 7 8 9 952 10 1 12 127 14| 73 984 | 85 3 | Ms5x12| 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14 | 80 100 85 3 |Mex15| 23 | 30

Please contact us for different motor adapters and input shaft bore.

204 1

1Y)




LCK 050

@ D1
9
K |7
6o @ D2
- L5 N
2 D\5
|
ODF7 |
I
%3
FM SG =l
D D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M4x8 | M4 28 135 3 8.5
8 9 9.52 10 32,5 50 425 | M4x8 | M4 28 13.5 3 8.5 9
11 12 12.7 355 50 425 | M4x8 | M4 23 135 3 8.5 11
14 35.5 50 425 | M4x8 | M4 25 15.5 3 8.9 1.5

LCK 050 2_6

LCK 050 2_8

LCK 050 2_10
LCK 050 2_14
LCK 050 3_24
LCK 050 3_30
LCK 050 3_50

LCK 050 3_70

LCK 050 3_90

M 2 Ma 2 Mp 2

[Nm]  [Nm]  [Nm]

[min-1]

N1 max Qs (o R2 max | A2 max

[min-1] arﬂrrnnin (NI

[arcmin] [

Je [kgem?]

1Y)

| 205




LCK 070

25AH ... 80A

5 h9 2
v o1
z 36
I 20 | 4
8 = A\
% ~
® =Sk
[To} ™| S
™ §7§
3 [
@ 62 +0.05 12| | 5
P
30 P1
P2
P Pl P2 | A = —
7=
LCK 070 2 62 100 | 166 | 2.7 o { . W s —
O L \@& N |
LCK 0703 | 78.7 |116.7|182.7| 3.0 \~\ Syl
\%\ \ﬁ
@ N1 min N4
QN1 max
o <5 N N1 N2 N3 N4 N5 | Lmax
N .
min | max
25AH 6 635 7 8 9 952 - - - - - 25 | 39 | 56
26AH 6 635 7 8 9 952 - - - - - 26 39 | 56
28AH 6 6.35 7 8 9 952 - - - - - 28 39 | 56
30AH 6 635 7 8 9 952 - - - - - 30 39 | 56
32AH 6 63 7 8 9 952 - - - - - 32 | 39|56 | 65 3.5 4.5 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 | 56
36AH 6 635 7 8 9 952 - - - - - 36 | 42 | 56
39AH 6 635 7 8 9 952 - - - - - 39 | 45| 56
40AH 6 635 7 8 9 952 - - - — - 40 | 46 | 56
38B 6 635 7 8 9 952 10 M 12 127 - 38.1 66.6 60 3 M4x10 | 18 25
40B 6 6.35 7 8 9 952 10 11 12 127 - 40 63 60 8 M4x10 | 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 1 12 127 14 50 65 60 3 M5x12 | 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 5.5 25 32
50C 6 635 7 8 9 952 10 M 12 127 14 50 70 60 3 M4x10 | 23 30
55MH 6 635 7 8 9 952 10 M 12 127 - 55 80 65 2 55 16 23
60A 6 635 7 8 9 952 10 M 12 127 - 60 75 65 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 M 12 127 14 60 75 65 3 M5x12 | 23 30
60B 6 635 7 8 9 952 10 M 12 127 14 60 85 75 3 M5x12 | 23 30
60C 6 635 7 8 9 952 10 M 12 127 14 60 90 75 3 M5x12 | 23 30
70A 6 635 7 8 9 952 10 M 12 127 14 70 85 75 3 M6x15 | 23 30
70B 6 635 7 8 9 952 10 M 12 127 14 70 90 75 5 M5x12 | 23 30
73A 6 635 7 8 9 952 10 M 12 127 14 73 98.4 85 3 M5x12 | 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 | 23 30

Please contact us for different motor adapters and input shaft bore.

206 | €13



LCK 070

@ D1
™
-
W J
[160 @ D2
< b L5 9
3 05 T
B -

@DF | == ‘\

=
FM : ® |
v ]
20 o
ﬁ CDO
L7
7 X
"?) >‘ X )/,/’/
o=
\ &
D4
D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 42.5 M4x8 M4 28 13.5 3 8.5
8 9 9.52 10 32.5 50 425 M4x8 M4 28 13.5 3 8.5 9
1 12 12.7 355 50 425 M4x8 M4 23 13.5 3 8.5 11
14 355 50 42.5 M4x8 M4 25 15.5 3 8.9 11.5

Je [kgem?]
Mn 2 Ma 2 Mp 2 nq N1 max Qs Ct R2max A2 max

[Nm] [Nm] [Nm] | [min-1] | [min-1] | [arcmin] [arErrnnin [N] [N]

LCK 070 2_6
LCK 070 2_8
LCK 070 2_10
LCK 070 2_14
LCK 070 2_20

LCK 070 3_24
LCK 070 3_30
LCK 070 3_50
LCK 070 3_70
LCK 070 3_80
LCK 070 3_100

O/Jo | 207



40B1 ... 110B1

IN
6 ho ] I DF7
0 B
1] 32 |2
. =N —
1 ==H § g
g [t} 2 7% e S
Q e 2
5 Q
@ 80 0.05 15| 5
P
40 P1
P2
P Pl P2 | A
LCK 0902 | 72.3 |120.8/206.8| 5.2 é
LCK 0903 | 98.8 |[147.3/233.3| 6.3
|
D ?\ Vi N N1 N2 N3 N4 N5 | Lmax
40B1 8 9 952 11 12 127 14 - - - - - 40 63 80 4 M4x10 | 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x10 | 34 40
50B1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 M5x16 | 34 40
50BH1 | 8 9 952 11 12 127 14 - - - - - 50 65 80 4 5.5 34 40
50C1 8 9 9562 11 12 127 14 - - - - - 50 70 80 4 M4x10 | 34 40
50D 8 9 9562 11 12 127 14 - - - - - 50 95 80 4 M6x10 | 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 125.7| 105 4 M6x16 | 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 | 34 40
60AH2 | 8 9 952 11 12 127 14 - - - = - 60 75 90 4 5.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 | 34 40
60C1 8 9 952 11 12 127 14 15875 16 - - - 60 90 80 4 M5x16 | 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 | 34 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 | 34 40
73A1 8 9 952 11 12 127 14 - - - = - 73 98.4 85 4 M5x16 | 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 | 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 100 4 M8x20 | 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 | 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 | 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 | 120 6.5 | M8x20 | 44 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 6.5 | M8x20 | 54 60

Please contact us for different motor adapters and input shaft bore.

208 |

1Y)




LCK 090

@ D1
9
|2
080 @ D2
L5
5| 2
N
N\ ﬁ -
-
@DF7“ Zr [
FM o
08
ki
Ve
,:r, i { \; ,,,,, _
NN J '/
Il N .
(NN
:
D4
PP
D| {<* D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x10 | M6 363 | 263 9.5 18.8 | 105
11 12 12.7 43 68 765 | M6x10 | M6 363 | 263 9.5 18.8 | 125
14 15875 16 17 48 68 765 | M6x10 | M6 363 | 263 9.5 18.8 | 14.5
19 19.05 51 68 765 | M6x10 | M6 363 | 263 9.5 18.8 | 16.5

Je [kgem?]
nq N1 max Qs Ct R2 max | A2 max

i | [Nm] [Nm] [min-1] || [min-1] |[arcmin] [arErrnnin [N] [N] 8..12.7 14..19.05
LCK 090 2_6
LCK 090 2_8
LCK 090 2_10
LCK 090 2_14

LCK 090 2_20

LCK 090 3_24
LCK 090 3_30
LCK 090 3_50
LCK 090 3_70
LCK 090 3_80
LCK 090 3_100

€1y | 209



50D ... 130A1

T
oN
10 ho @D F7 g
2 _|
o T 70
b 50 | 4
% w}
=)
1 5]
| [N
Ql ®
3 i Sl e
AN N
- ™
%= Z2lg
@ 108 10.05 20|| 6
P
50 P1
)
= 7
',EK/ \}?(\
P Pl P2 | A < |
z
5o o) —
LCK 1202 101.1/158.6/278.6| 11.3 el O @y >
LCK 120 3 |133.6/191.1/311.1| 13.8 \)?f\ l)?(/
——\
o
I p| (<3 N | N1 | N2 | N3 | N4 | N5 | Lmax
50D 11 12 127 14 15 15875 16 19 - - 50 95 100 5 M6x14 28 40
55A 1" 12 127 14 15 15875 16 19 - — | 55.5 [ 125.7| 105 5 M6x16 28 40
60A2 11 12 127 14 15 15875 16 19 - - 60 75 100 5 M5x14 28 40
60AH2| 11 12 127 14 15 15875 16 19 - - 60 75 100 5 6.5 33 40
60B1 11 12 127 14 15 15875 16 19 - - 60 85 100 | 6.5 M5x14 28 40
70A1 1" 12 127 14 15 15875 16 19 - - 70 85 100 5 M6x14 28 40
70AH1| 11 12 127 14 15 15875 16 19 - - 70 85 100 5 6 33 40
70B1 1" 12 127 14 15 15875 16 19 - - 70 90 100 | 6.5 M5x12 28 40
80A1 11 12 127 14 15 15875 16 19 - - 80 100 | 100 5 M6x16 28 40
80AH1| 11 12 127 14 15 15875 16 19 - - 80 100 | 100 5 6.5 28 40
95A 11 12 127 14 15 15875 16 19 - - 95 115 | 100 5 M8x18 28 40
95A1 1" 12 127 14 15 15875 16 19 22 24 95 115 | 100 5 M8x18 38 50
95B 11 12 127 14 15 15875 16 19 - - 95 130 | 115 5 M8x18 28 40
110A 11 12 127 14 15 15875 16 19 - - 110 | 130 | 115 5 M8x18 28 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 130 | 115 | 6.5 M8x20 38 50
110B 11 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 6.5 M8x20 38 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 6.5 M8x20 48 60
130A 11 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 6.5 | M10x20 | 38 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 6.5 | M10x25 | 48 60

Please contact us for different motor adapters and input shaft bore.

210 1

1Y)




LCK 120

@ D1
9
@ D2
L5
3 Os
S
-
DDF7 5 i
o8
b
/ ' N\
[@ | —
. ‘ . . |
N
Y
D4
D { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1" 12 12.7 43 90 98 M6x15 M6 35 19.5 7.6 121 12.5
14 15 15.875 16 48 90 98 M6x15 M6 35 19.5 7.6 121 14.5
19 51 90 98 M6x15 M6 35 19.5 7.6 121 16.5
22 24 56.5 90 98 M6x15 M6 37 21.5 7.6 121 19

Je [kgem?]
N1 max Qs (o R2 max A2 max

[min-1] [arcmin] ’ Nm_] N IN] 1..127 14..19 22;24
arcmin

LCK 120 2_6
LCK 120 2_8
LCK 120 2_10
LCK 120 2_14
LCK 120 2_20

LCK 120 3_24
LCK 120 3_30
LCK 120 3_50
LCK 120 3_70
LCK 120 3_80
LCK 120 3_100

O/Jo I 211



LCK 155

55A1 ... 180A1

@ N
12 ho 2 GDFl
2 T
| ] 6
9 N\
S
o| 8
,,,,, 2 ST
MR
0 8 el ®
R g g
| 2. §7®
7
@ 140 £0.05 25 8
P
65 P1
P2
<
zZ
P Pl P2 | A 1
z| =z j R —
LCK 155 2 [123.5(191.5|353.5| 27.8 80
LCK 1553 | 163 | 231 | 393 | 32.8
b, 1L N N1 N2 N3 N4 N5 | Lmax
14 15875 16 19 - - - 555 | 125.7 | 130 4 M6x15 | 39.5 | 50
80A2 14 15875 16 19 - - - 80 100 | 130 4 M6x15 | 395 | 50
95A1 14 15875 16 19 22 24 - 95 15 | 130 4 M8x20 | 39.5 | 50
110A1 | 14 15875 16 19 22 24 - 110 | 130 | 130 4 M8x20 | 39.5 | 50
110B1 | 14 15875 16 19 22 24 - 110 | 145 | 130 | 65 | M8x20 | 495 | 60

114A 14 15.875 16 19 22 24 28 1143 | 200 170 55 | M12x25 | 69.5 80
130A 14 15.875 16 19 22 24 — 130 165 140 4 M10x20 | 39.5 50
130A1 14 15.875 16 19 22 24 28 130 165 140 4 M10x20 | 49.5 60
180A 14 15.875 16 19 22 24 28 180 215 190 55 | M14x25 | 49.5 60
180A1 14 15.875 16 19 22 24 28 180 215 190 55 | M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

212 1 O/Jo




LCK 155

2 D1

L3

7130 @ D2
L5

DsTf

L2
L1

N ——
D é% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 125.5 | M8x15 M6 46 27.5 6 20 14.5
19 51 113 125.5 | M8x15 M6 46 275 6 20 16.5
22 24 56.5 113 125.5 | M8x15 M6 47.5 29 6 20 19
28 67 113 125.5 | M8x15 M8 47.5 29 6 20 22.5

Je [kgem?]
N1 max Qs (o R2 max | A2 max

[min-1] [arcmin] [ar'zr':in] N NI 14..19 22;24

LCK 155 2_6
LCK1552_8
LCK1552_10
LCK 155 2_14
LCK 155 2_20

LCK 155 3_24
LCK 155 3_30
LCK 155 3_50
LCK 155 3_70
LCK 155 3_80
LCK 155 3_100

O{Jo | 213



LCK 070P

25AH ... 80A

5 h9 2
© o1
z 36
- 20 | 4
©
9]
% )
[To} ™| o S
™ ;§7§
3 Q
@ 62 +0.05 12/ 1 5
P
30 P1
P2
P P1| P2 | R = —
A=
LCK 070P 2| 62 100 | 166 | 2.7 o { . Q\ s —
0 [ @& N4
LCK 070P 3| 78.7 |116.7|182.7| 3.0 \~\ S )V
@ N1 min N4
®N1 max
o <5 N N1 N2 N3 N4 N5 | Lmax
N )
min | max
25AH 6 635 7 8 9 952 - - - - - 25 | 39 | 56
26AH 6 6.35 7 8 9 952 - — - — — 26 39 | 56
28AH 6 635 7 8 9 952 - — - — — 28 39 | 56
30AH 6 635 7 8 9 952 - — - — — 30 39 | 56
32AH 6 635 7 8 9 952 - - - - - 32 | 39|56 | 65 3.5 4.5 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 | 56
36AH 6 635 7 8 9 952 - - - - - 36 42 | 56
39AH 6 635 7 8 9 952 - - - - - 39 45 | 56
40AH 6 635 7 8 9 952 - — - — — 40 | 46 | 56
38B 6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 | M4x10| 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 M 12 127 14 50 65 60 3 M5x12 | 23 30
50BH 6 635 7 8 9 952 10 M 12 127 14 50 65 65 3 55 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 | 23 30
55MH 6 635 7 8 9 952 10 1 12 127 - 55 80 65 2 55 16 23
60A 6 635 7 8 9 952 10 1 12 127 - 60 75 65 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 1 12 127 14 60 75 65 3 M5x12 | 23 30
60B 6 635 7 8 9 952 10 1" 12 127 14 60 85 75 3 M5x12 | 23 30
60C 6 635 7 8 9 952 10 M 12 127 14 60 90 75 3 M5x12 | 23 30
70A 6 635 7 8 9 952 10 M 12 127 14 70 85 75 3 M6x15 | 23 30
70B 6 635 7 8 9 952 10 M 12 127 14 70 90 75 5 M5x12 | 23 30
73A 6 635 7 8 9 952 10 M 12 127 14 73 98.4 85 3 M5x12 | 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 | 23 30

Please contact us for different motor adapters and input shaft bore.

214 1 O/}O



LCK 070P

@ D1
™
-
W |Z7)
060 @ D2
<l b L5 3
3] B5
B s
@DFr s ‘\
\\
\\
FM : @ |
% J
ﬁ G)o{b
L7
7 X
“% >‘ X )/,/'/
(O
\ &
D4
D D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 28 13.5 3 8.5 8
8 9 9.52 10 325 50 42.5 M4x8 M4 28 13.5 3 8.5 9
1 12 12.7 355 50 425 M4x8 M4 23 13.5 3 8.5 11
14 35.5 50 42.5 M4x8 M4 25 15.5 3 8.9 1.5

LCK 070P 2_6
LCK070P 2_8
LCK 070P 2_10
LCK 070P 2_14
LCK 070P 2_20

LCK 070P 3_24
LCK 070P 3_30
LCK 070P 3_50
LCK 070P 3_70
LCK 070P 3_80
LCK 070P 3_100

Ma2

[Nm]

Mp 2 n1

[Nm] | [min-1]

N1 max

[min-1]  [arcmin] ’

Qs Ct

Nm
arcmin

R2 max

[N]

A2 max

(N]

6..952 11..14

1Y)

I 215




40B1 ... 110B1

6 ho 2
w0
z
2
< \‘J N
= =l o
_ 8 [«
© =) Q 8
= ) Q X e
< Ol
N 7z SN
. )
5
@ 80 +0.05 15|/ 5
P
40 P1
P2
P Pl P2 | A
—| N
z|l z
LCK 090P 2| 72.3 |120.8/206.8| 5.2 Q| O
LCK 090P 3| 98.8 |147.3|233.3| 6.3
| B
D (\’ N N1 N2 N3 N4 N5 Lmax
40B1 8 9 952 11 12 127 14 - - - - - 40 63 80 4 M4x10 | 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x10 | 34 40
50B1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 M5x16 | 34 40
50BH1| 8 9 952 11 12 127 14 - - - = — 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 - - - = - 50 70 80 4 M4x10 | 34 40
50D 8 9 952 11 12 127 14 - - - = - 50 95 80 4 M6x10 | 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 55.5 | 125.7| 105 4 M6x16 | 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 | 34 40
60AH2 | 8 9 952 11 12 127 14 - - - - - 60 75 90 4 5.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 | 34 40
60C1 8 9 952 11 12 127 14 15875 16 - - - 60 90 80 4 M5x16 | 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 | 34 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 | 34 40
73A1 8 9 952 11 12 127 14 - - - - - 73 | 984 | 85 4 M5x16 | 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 | 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 100 4 M8x20 | 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 | 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 | 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 | M8x20 | 54 60

Please contact us for different motor adapters and input shaft bore.

216 |

1Y)




LCK 090P

@ D1
9
|2
080 @ D2
L5
5| 2
N
N\ ﬁ -
-
@DF7“ Zr [
FM o
08
ki
Ve
,:r, i { \; ,,,,, _
NN J '/
Il N .
(NN
:
D4
PP
D| {<* D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x10 | M6 363 | 263 9.5 18.8 | 105
11 12 12.7 43 68 765 | M6x10 | M6 363 | 263 9.5 18.8 | 125
14 15875 16 17 48 68 765 | M6x10 | M6 363 | 263 9.5 18.8 | 14.5
19 19.05 51 68 765 | M6x10 | M6 363 | 263 9.5 18.8 | 16.5

Je [kgecm?]
Ma 2 Mp 2 Ps Ct R2 max

i [Nm] [Nm] [Nm] [arcmin] ’arﬁmin [N] [N] ...12.7 14 ... 19
LCK 090P 2_6
LCK 090P 2_8
LCK 090P 2_10
LCK 090P 2_14

LCK 090P 2_20

LCK 090P 3_24
LCK 090P 3_30
LCK 090P 3_50
LCK 090P 3_70
LCK 090P 3_80
LCK 090P 3_100

O/Jo | 217



50D ... 130A1

——
oN
10 ho @D F7 g
2 I
UZ-, ([\ 70
bi 50 | 4
5 W}
o
i Eg
| |
Ql®
3 i gl e
AN .
- ™
A =N
@ 108 20.05 20|| 6
P
50 P1
P2
= 7
o R
P Pl P2 | A 3 !
=/ o @ —
LCK 120P 2|101.1|158.6|278.6| 11.3 = @y —
LCK 120P 3|133.6191.1|311.1| 13.8 S P
S\
o
I p| (<3 N | N1 | N2 | N3 | N4 | N5 | Lmax
500 | 11 12 127 14 15 15875 16 19 - — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
55A | 11 12 127 14 15 15875 16 19 - - |555 /1257 105 | 5 | M6x16 | 28 | 40
60A2 | 11 12 127 14 15 15875 16 19 - — | 60 | 75 | 100 | 5 | M5x14 | 28 | 40
60AH2| 11 12 127 14 15 15875 16 19 - — | 60 | 75 | 100 | 5 6.5 33 | 40
60B1 | 11 12 127 14 15 15875 16 19 - — | 60 | 85 | 100 | 6.5 | M5x14 | 28 | 40
70A1 | 11 12 127 14 15 15875 16 19 - — | 70 | 85 | 100 | 5 | Méx14 | 28 | 40
70AH1| 11 12 127 14 15 15875 16 19 - - | 70 | 85 | 100 | 5 6 33 | 40
70B1 | 11 12 127 14 15 15875 16 19 - — | 70 | 90 | 100 | 6.5 | M5x12 | 28 | 40
80A1 | 11 12 127 14 15 15875 16 19 - — | 80 | 100 | 100 | 5 | M6x16 | 28 | 40
80AH1| 11 12 127 14 15 15875 16 19 - — | 80 | 100 | 100 | 5 6.5 28 | 40
95A | 11 12 127 14 15 15875 16 19 - — | 95 | 115 | 100 | 5 | M8x18 | 28 | 40
95A1 | 11 12 127 14 15 15875 16 19 22 24 | 95 | 115 | 100 | 5 | M8x18 | 38 | 50
95B | 11 12 127 14 15 15875 16 19 - — | 95 | 130 | 115 | 5 | M8x18 | 28 | 40
110A | 11 12 127 14 15 15875 16 19 — — | 110 | 130 | 115 | 5 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 130 | 115 | 6.5 | M8x20 | 38 | 50
110B | 11 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 6.5 | M8x20 | 38 | 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 6.5 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 6.5 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 6.5 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

218 |

1Y)




LCK 120P

@ D1
9
@ D2
L5
3 Os
S
-
DDF7 5 i
o8
b
/ ' N\
[@ | —
. ‘ . . |
N
Y
D4
D { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1" 12 12.7 43 90 98 M6x15 M6 35 19.5 7.6 121 12.5
14 15 15.875 16 48 90 98 M6x15 M6 35 19.5 7.6 121 14.5
19 51 90 98 M6x15 M6 35 19.5 7.6 121 16.5
22 24 56.5 90 98 M6x15 M6 37 21.5 7.6 121 19

Je [kgecm?]
N1 max Qs Ct R2 max = A2 max

[min-1] [arcmin] [agn"q‘in] N NI 14..19 22;24 28;32

LCK 120P 2_6
LCK 120P 2_8
LCK 120P 2_10
LCK 120P 2_14
LCK 120P 2_20

LCK 120P 3_24
LCK 120P 3_30
LCK 120P 3_50
LCK 120P 3_70
LCK 120P 3_80
LCK 120P 3_100

O/Jo I 219



LCK 155P

55A1 ... 180A1

IN
12 h9 2 DDF7
2 T
|| 6
5 N\
'r\
<l v
—— =t o| v
N ~
= © 8 -
= N g 5
7 =Y
2.
7
25(| 8
P
65 P1
P2
< \
P P1| P2 | R JdZ |
2| 2 | e
LCK 155P 2| 123.5191.5/353.5| 27.8 s o ,
/
LCK 155P 3| 163 | 231 | 393 | 32.8
|
D1 N N1 | N2 | N3 N4 N5 | Lmax
14 15875 16 19 - - - | 555 | 1257 | 130 | 4 | Mex15 | 39.5 | 50
80A2 | 14 15875 16 19 - - - 80 | 100 | 130 | 4 | M6x15 | 395 | 50
95A1 | 14 15875 16 19 22 24 - 95 | 15 | 130 | 4 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - | 1o | 130 | 130 | 4 | M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 —~ | 110 | 145 | 130 | 65 | M8x20 | 49.5 | 60

114A 14 15.875 16 19 22 24 28 1143 | 200 170 55 | M12x25 | 69.5 80
130A 14 15.875 16 19 22 24 — 130 165 140 4 M10x20 | 39.5 50
130A1 14 15.875 16 19 22 24 28 130 165 140 4 M10x20 | 49.5 60
180A 14 15.875 16 19 22 24 28 180 215 190 55 | M14x25 | 49.5 60
180A1 14 15.875 16 19 22 24 28 180 215 190 55 | M14x25 | 69.5 80

220 1 O/}o



LCK 155P

2 D1

L3

7130 @ D2
L5

DsTf

L2
L1

N ——
D é% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 125.5 | M8x15 M6 46 27.5 6 20 14.5
19 51 113 125.5 | M8x15 M6 46 275 6 20 16.5
22 24 56.5 113 125.5 | M8x15 M6 47.5 29 6 20 19
28 67 113 125.5 | M8x15 M8 47.5 29 6 20 22.5

Je [kgecm?]
Ps Ct R2 max | A2 max

[arcmin] [ \ul ] N NI 14..19 22;24 28
arcmin

LCK 155P 2_6
LCK155P 2_8
LCK 155P 2_10
LCK 155P 2_14
LCK 155P 2_20

LCK 155P 3_24
LCK 155P 3_30
LCK 155P 3_50
LCK 155P 3_70
LCK 155P 3_80
LCK 155P 3_100

O/Jo | 221



222 1 O(:)o



EFFECTIVE LINE

MPE SERIES

The MPE series offers a cost-effective solution for
applications that require medium levels of positioning
accuracy. It offers high flexibility in terms of sizes,
ratios and mounting configurations for a variety of
applications requirements. The output design in line
with market standards ensures great compatibility for
easy retrofits and a high level of freedom in projects
development.

MAIN FEATURES MAIN OPTIONS
- Nominal output torque (Nm) + Input versions MAIN BENEFITS
-5 I: ] :ﬂ:ll:l ﬂ]:'}:l - Great price-performance
- Torsional backlash (arcmin) WITHOUT ratio
MOTOR SOLID INPUT MOTOR q afaie
ADAPTER SHAFT ADAPTER + High compatibility for easy
- Torsional stiffness (Nm/arcmin) « Output shafts versions et
+ Suitable for a variety of
Bos5-25 o
| | | | applications thanks to great
+ Max tilting moment (Nm Bl
—— flexbilty
I 5-25 SHAFT SHAFT
+ Lubrication
PROTECTION CLASS
PS4 0@ E&;@
FRAME SIZES LOBRICATION | LUBRICATION

() 040
< 060

« 0 080

(00) 120

O(:)O | 223



12 FEATURES OF MPE SERIES

The MPE Series satisfies a wide range of applications requirements thanks to its high flexibility in terms of sizes, ratios and mounting
configurations.

Its proportioned design allows quiet running and provides a long service life without maintenance requirements.

Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available
in a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash*:

1-stage units: standard S < 10’; reduced Pr < 5’

2-stage units: standard PS < 12’; reduced Pr < 7’

Input section oil seals made from a Fluoroelastomer compound are supplied as standard*.

Noise pressure level LP < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-1; i=10.

Units are factory packed with synthetic grease to NLGI consistency class 00%, in the absence of contamination the lubricant requires
no periodical changes.

Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]

[iff 3| 4|5 ,7 |9 10|12 |15 |16 | 20 | 25 | 28 |30 | 35 | 40 | 50 | 70 |100
MPEO040| 12 |12 |12 | 8 |12 | 6 |12 |12 |12 |12 12|12 |12 |12 |12 12| 8 | 5
MPE060| 29 | 30 | 25 | 25|29 |18 |29 |29 |30 |30 |30 |30 |29 |30 |30 |30 3018
MPE 080| 65 | 60 | 50 | 50 | 65 | 40 | 65 | 65 | 60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40
MPE 120|155 | 155|125 125|155 100 | 155|155 |155| 155|125 | 125|155 125 | 155|125 | 125|100

Output shaft max. loading capacity Available motor shaft bores
IN]
5000 - ]
MPE 120 |
4000 - i
MPE 080 | |
3000 -
2500 .
weeos | [ ]
1200 L
1000 - 900
o a0 460 =890 MPE 040
R — MPE-OGO R — d7sshonel w o 6 2 % m % %
5635 952 127 15875 19.05
@ [mm]
DRZ max .AZ max

* not available for size 040

224 | O(JO




12.1 ORDERING CODE

MPE 080 1 3 STD 80A1 CD 19 KE UH1

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

— INPUT SHAFT BORE
5..32 (@1S)

— MOTOR COUPLING
CD clamping device (@ IS)

L— INPUT SECTION
22AH ... 130A1 motor adapter
IS solid input shaft ( @ MPE 040)
FM without motor adapter
— BACKLASH

1 reduction | 2 reductions | 1 reduction | 2 reductions
(MPE 040 only) | (MPE 040 only)

STD Ps< 15 Ps<19 Ps<10' Ps<12'
LOW — — Pr<S Pr=<T7'
— GEAR RATIO

— REDUCTIONS
1 2

— FRAME SIZE
040 060 080 120

— SERIES
MPE

O(JO | 225



12.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

MPE 040

22AH ... 50C0

39 gMPE 040 1%
N5 52 (MPE 040 2 26

M 4X7 (4x) N3

]

]
2

11.2

g
8

234
MPE 0401 0.5
MPE 0402 0.8
/TN

D (£F N N1 N2 N3 N4 N5 Lmax
22AH 5 635 - - - 22 43.84 42 6 35 20 22
30A0 - - 8 9 - 30 46 50 4 Md4x12 27 26
30B0 - - 8 9 - 30 45 50 4 M3x8 27 26
36A 5 635 - - - 36 57.98 60 10 M4x12 30 32
38B 5 635 - - - 38.1 66.66 60 10 M4x12 25 26
40B - - 8 9 11 40 63 60 4 M4x12 27 26
50C0 = = 8 9 11 50 70 60 4 M4x12 27 26

Please contact us for other motor adapters and input shaft bore.

226 | O/}o



MPE 040
o TE

|
2 -
I :
FM g3 =
\\Ij il <9 .|
1
L3,
L2
L1
D| D1 D2 D3 D4 L1 L2 L3 L4 L5 L6
5 6.35 - - - 22 36 | M3x5 | M5 | 155 | 112 10 | 6.25 - 4
- - 8 9 - 32 36 | M3x5 | M4 | 215 | 21 10 | 1585 | 9 4
- - - - 11 36 36 | M3x5 | M4 | 215 | 21 10 | 1625 | 11 4

@)\‘b)‘i R NMmax  @s Ct Romax Azmax

i [Nm] [Nm] [rpm] | [arcmin] ’arlt\:lginl [N] [N]

MPE 040 1_3
MPE 040 1_4

MPE 040 1_5
MPE 040 1_7
MPE 040 1_10
MPE 040 2_9
MPE 040 2_12
MPE 040 2_15
MPE 040 2_16
MPE 040 2_20
MPE 040 2_25
MPE 040 2_28
MPE 040 2_30
MPE 040 2_35
MPE 040 2_40
MPE 040 2_50
MPE 040 2_70
MPE 040 2_100

O/Jo | 227



25AH ... 80A on

56.8 (MPE 060 1)

N5 73.5 (MPE 060 2) 35 o N2
M5 (4x) 3
5h9 30 //7\\ ‘
S 25 25 }@{ }q
9 ;% - B,
ol = /7 |
o \ - ©
r e = z {@ —z - E[ér —_— () —_—
S — ___ Q
e [ ~ e \ @ /
o %’*’ L§ \ @ /
Q = |
; g %)
8
T
i &
MPE 060 1 1.2
62 (MPE 060 1) MPE 060 2 17
25 79 (MPE 060 2) 35
25 3.
30
25 2.5
14 7;
— s
a8 | o2
~ S m:*glig
= ) 3
%” =
4.5 5
8 8
| I
D| {<F N N1 N2 N3 N4 N5 | Lmax
\W pus
- min | max
25AH 6 635 7 8 9 952 - - - - - 25 39 56
26AH 6 6.35 7 8 9 952 - - - - - 26 39 56
28AH 6 6.35 7 8 9 952 - - - - - 28 39 56
30AH 6 635 7 8 9 952 - - - - - 30 39 56
32AH 6 635 7 8 9 952 - - - - - 32 39 56 65 3.5 4.5 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 56
36AH 6 635 7 8 9 952 - - - - - 36 42 56
39AH 6 635 7 8 9 952 - - - - - 39 45 56
40AH 6 6.35 7 8 9 952 - - - — — 40 46 56
38B 6 635 7 8 9 952 10 11 12 127 - | 3841 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 6.35 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 6.35 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 6.35 7 8 9 952 10 11 12 127 14 50 65 65 3 5.5 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 11 12 127 - 55 80 65 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 55 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 3 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for other motor adapters and input shaft bore.

228 | @/O



MPE 060

L3

i ) H k
FM : : L
:
[
S L2 |
L1
D { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 | 50 | 425 | M4x8 | M4 | 217 | 132 3 8.2 8
8 9 952 10 | 325 | 50 | 425 | M4x8 | M4 | 217 | 132 3 8.2 9
1 12 127 355 | 50 | 425 | Mdx8 | M4 2 | 135 3 8.5 1
14 355 | 50 | 425 | Mdx8 | M4 25 17 3 102 | 115

N
@)\\‘\i Mnz Ma2 Mp2 M nNimax Qs Pr Ct | Rimax R2max A2max Jg [kgem?]

Nm

arcmin [N] [N] [N]

i [Nm] ' [Nm] | [Nm] [rpm] || [rpm] [arcmin] [arcmin][

MPE 060 1_3

MPE 060 1_4

MPE 060 1_5

MPE 060 1_7

MPE 060 1_10

MPE 060 2_9

MPE 060 2_12

MPE 060 2_15

MPE 060 2_16

MPE 060 2_20

MPE 060 2_25

MPE 060 2_28

MPE 060 2_30

MPE 060 2_35

MPE 060 2_40

MPE 060 2_50

MPE 060 2_70

MPE 060 2_100

O/Jo | 229



40B1 ... 110B1

952 11 12 127 14 15875 16 17 19 19.05| 95 115 | 100
952 11 12 127 14 15875 16 17 19 19.05| 95 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120

M8x20 34 40
M8x20 34 40
M8x20 34 40
M8x20 44 50
M8x20 54 60

95B
110A
110B
110B1

74.9 (MPE 080 1) 2 N1
6h9 N5 99.5 (MPE 080 2) 40 oN2
M6 (4x)
36
3.0
28 4
& | . %,
S
0 > — 9 7,7’§ =
8 ) T o ] ’fo, N §
: el §
.4
10.5
N3
Lmax
MPE 080 1 3.5
IS MPE 080 2 4.2
96.7 (MPE 080 1)
43 121 (MPE 080 2) 40
6 4 3.
36
28 4
.20, _z
s )
2 s 8 &=t | 38
o k = | ) ﬁ:j S| g
: &=
N /(
7 4
270 15 10.5 @65
1D
D ¥ N N1 N2 N3 N4 N5 Lmax
o
40B1 8 9 952 11 12 127 14 - — - - - 40 63 80 4 M4x12 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x12 34 40
50B1 8 9 952 11 12 127 14 - — - - - 50 65 80 4 M5x16 34 40
50BH1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 - — - - - 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 — - — - - 50 95 80 4 M6x20 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 55.5 | 125.7| 105 4 M6x20 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
60AH2 8 9 952 11 12 127 14 - - - - - 60 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
60C1 8 9 952 11 12 127 14 15875 16 - - - 60 90 80 4 M5x16 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
70AH1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 - — - - - 73 98.4 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 34 40
8 9 4
8 9 4
8 9 4
8 9 6.5
8 9 6.5

Please contact us for other motor adapters and input shaft bore.

230 | O(:)O



MPE 080

L3

L4

ol |

/|
l |
FM 2| : [P f———
S Q
5
Q| i
J L2
L1
D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 | M6x10 M6 34 26.8 9.5 18.8 10.5
1 12 12.7 43 68 76.5 | M6x10 M6 34 26.8 9.5 18.8 12,5
14 15.875 16 17 48 68 76.5 | M6x10 M6 34 26.8 9.5 18.8 14.5
19 19.05 51 68 76.5 | M6x10 M6 34 26.8 9.5 18.8 16.5

N
@\‘\i Mn2  Ma2 Nimax @s Or Ct | Rimax R2max A2zmax| M Jg [kgem?]

i [Nm] [Nm] [rpm] [arcmin][arcmin]’%l N NN 8..12.7 14..19.05

MPE 080 1_3

MPE 080 1_4

MPE 080 1_5

MPE 080 1_7

MPE 080 1_10

MPE 080 2_9

MPE 080 2_12

MPE 080 2_15

MPE 080 2_16

MPE 080 2_20

MPE 080 2_25

MPE 080 2_28

MPE 080 2_30

MPE 080 2_35

MPE 080 2_40

MPE 080 2_50

MPE 080 2_70

MPE 080 2_100

O/Jo I 231



50D ... 130A1

@ N1
MA10 (4x) 120.5 (MPE 120 1)
N5 133.5 (MPE 120 2) 55 o N2
8 h9 I
4 50 p/// —~ ?d/\
$ 40 5 G,
s | = LA
< A |35 | 7 |
S SIS \ ﬁy ]
[ & o
5 I
- B A
MPE 120 1 5
MPE1202| 7.5
116.3 (MPE 120 1)
147.3 (MPE 120 2) 55
4
50
b
2 Imw I\H“ j’g
S RS
| K~ S
s LR
[i% s/e
5
@ 100 12 16
yap
D (= N N1 N2 N3 N4 N5 Lmax
S
50D 1 12 127 14 15 15875 16 19 - - - — 50 95 100 5 M6x14 28 40
55A 1 12 127 14 15 15875 16 19 - - - - 55 |125.7| 105 5 M6x16 28 40
60A2 1 12 127 14 15 15875 16 19 - - - - 60 75 100 | 6.5 M5x14 28 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
60B1 11 12 127 14 15 15875 16 19 - - - - 60 85 100 | 6.5 M5x14 28 40
70A1 11 12 127 14 15 15875 16 19 - - — - 70 85 100 | 6.5 M6x14 28 40
70AH1 | 11 12 127 14 15 15875 16 19 - - — - 70 85 100 4 6.5 33 40
70B1 11 12 127 14 15 15875 16 19 - - - - 70 90 100 | 6.5 M5x12 28 40
80A1 11 12 127 14 15 15875 16 19 - - — - 80 100 | 100 | 6.5 M6x16 28 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - - 80 100 | 100 4 6.5 33 40
95A 11 12 127 14 15 15875 16 19 - - - — 95 115 | 100 | 6.5 M8x18 28 40
95A1 11 12 127 14 15 15875 16 19 22 24 - - 95 115 | 100 | 6.5 M8x18 38 50
95B 11 12 127 14 15 15875 16 19 - - - — 95 130 | 115 6.5 | M8x18 28 40
110A 11 12 127 14 15 15875 16 19 - - - - 110 | 130 | 115 6.5 | M8x18 28 40
110A1 11 12 127 14 15 15875 16 19 22 24 - — 110 | 130 | 115 6.5 | M8x20 38 50
110B 11 12 127 14 15 15875 16 19 22 24 - - 110 | 145 | 120 | 6.5 M8x20 38 50
110B1 11 12 127 14 15 15875 16 19 22 24 28 - 110 | 145 | 120 | 6.5 M8x20 48 60
130A 11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 6.5 | M10x20 | 38 50
130A1 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 6.5 | M10x25 | 48 60

232 1 O/}o




L3 L4
D5
/] i
FM & s |
Q
8 4 A
§E
Q u
LZ L2
L1 ]
_
D (\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 33.5 20 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 33.5 20 7.6 12.5 14.5
19 51 90 98 M6x15 M6 33.5 23 7.6 12.5 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 67 90 98 M6x15 M8 36.5 23 7.6 14 22.5
32 71 90 98 M6x15 M8 38 245 7.6 15.5 24.5

N
@\‘jﬂ Mn2 Ma2 Mp2 niN P1max| Qg ©r Ct Ri1maxR2maxA2max m Je [kgem?]
i

Nm

arcminl [Nl [IN] INI % 11..12.714..19 22;24 28; 32

[Nm] [Nm] [Nm] [rpm] [rpm] [arcmin][arcmin][

MPE 120 1_3

MPE 120 1_4

MPE 120 1_5

MPE 120 1_7

MPE 120 1_10

MPE 120 2_9

MPE 120 2_12

MPE 120 2_15

MPE 120 2_16

MPE 120 2_20

MPE 120 2_25

MPE 120 2_28

MPE 120 2_30

MPE 120 2_35

MPE 120 2_40

MPE 120 2_50

MPE 120 2_70

MPE 120 2_100 gule[o]

€1y | 233



234 | O(:)o



EFFECTIVE LINE

MAIN FEATURES

+ Nominal output torque (Nm)

B 5155

+ Torsional backlash (arcmin)

+ Torsional stiffness (Nm/arcmin)
B25-234

+ Max tilting moment (Nm)
Bs59-129

PROTECTION CLASS
+ IP54

FRAME SIZES
< 060
< 080

-120

MPEK SERIES

The MPEK series offers medium levels of performance
and position accuracy at a competitive value-price

ratio. The output design in line with market standards
ensures great compatibility for easy retrofits and a

high level of freedom in projects development. Its right
angle-design allows more compactness for space-saving

layouts.
MAIN OPTIONS
+ Input versions MAIN BENEFITS
I: =i E[I:'i:' + Great price-performance
ratio
WITHOUT
ADAPTER ADAPTER + High compatibility for easy
retrofits
+ Output shafts versions } }
- Suitable for a variety of
I] | I] | applications thanks to great
MOOTH flexibility
KEYLESS KEYED o
SHAFT SHAFT - Compact design for space-
saving layouts
+ Lubrication
% | o
STANDARD | FOOD GRADE
LUBRICATION | LUBRICATION

1Y)

| 235



13 FEATURES OF MPEK SERIES

The right-angle configuration of the MPEK Series is particularly suitable for compact, space-saving layouts. Its proportioned design allows
quiet running and provides a long service life without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available in
a normally equipped workshop.

* Available with either standard (STD) or reduced (LOW) backlash:
2-stage units: standard Ps < 12’; reduced Pr< 7’
3-stage units: standard Ps < 14’; reduced Pr < 9’

® |ts degree of protection IP54 provides protection against dust and liquid splashes.

*® Input section oil seals made from a Fluoroelastomer compound are supplied as standard*.

* Noise pressure level LP < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-1; i=10.
* Units are factory packed with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires

no periodical changes.

* Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
1|3, 4|5 |79 1012 15|16 |20 25| 8 |30 | 35|40 50 | 70 {100
MPEK 060 | 29 |30 |25 25|29 |18 |29 |29 |30 |30|30|30|29 |30 |30)|30)30]|18
MPEK 080 | 40 | 50 | 50 | 50 | 65 | 40 | 65 |65 | 60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40
MPEK 120 | 80 [105|130|125|155|100|155|155|155|155|125|125|155|125|155|125 125|100
Output shaft max. loading capacity Available motor shaft bores
[N] B}
5000
MPEK 120
4000 -
3000 |
200 MPEK 080| |
2000 | 2000
1200 |
1000 - 900
460 000 MPEK 060
.
MPEK 060 MPEK 080 MPEK 120 67 8 ol e 19 2 2 2 2
635 952 127 15875  19.05
@ [mm]
|:lRZmax -A2max

* not available for size 060

236 |

1Y)




13.1 ORDERING CODE

MPEK 080 2 3 STD 80A1 CD 19 KE UH1

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

— INPUT SHAFT BORE
6...32

— MOTOR COUPLING

CD clamping device

— INPUT SECTION
25AH ... 130A1 motor adapter
FM without motor adapter
— BACKLASH

2 reductions | 3 reductions

STD | @s<12 Ps <14
LOW Pr<7' QPr<Y
L— GEAR RATIO

— REDUCTIONS
2 3

— FRAME SIZE
060 080 120

— SERIES
MPEK

O(JO | 237



13.2 DIVENSIONS AND TECHNICAL SPECIFICATIONS

25AH ... 80A

M5 (4x)

N3

Lmax

N5

35

30

25

25

*7‘2\ - =
é 7/@% ; :
(2 mp o e
\\ )1 s S o
e / o 2 ©
\‘j :
5
52
84.3 (MPEK 060 2) &
27.5 101.1 (MPEK 060 3)
oN1 MPEK 0602 | 1.7
‘ — MPEK 0603 | 2.2
@ \
N
&)
1 N4\ -
/71D
o R N N1 N2 | N3 N4 N5 | Lmax
ke
Q min_| max
25AH | 6 635 7 8 9 952 - - - - - | 25 | 39 | 56
26AH |6 63 7 8 9 95 - - - - —| 26 | 39 | 56
28AH |6 635 7 8 9 95 - - - - - | 28 | 39 | 56
30AH |6 635 7 8 9 952 - - - — —| 30 | 39 | 56
32AH | 6 635 7 8 9 952 - - - - —| 32 |39 | 5 | 65 | 35 45 25 | 25
34AH | 6 635 7 8 9 952 - - - — — | 34 | 40 | 56
3AH | 6 635 7 8 9 952 - - - - —| 36 | 42 | 56
39AH | 6 635 7 8 9 952 - - - - —| 39 | 45 | 56
40AH |6 635 7 8 9 95 - - - - —| 40 | 46 | 56
38B 6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 | 3 | M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 | 3 | M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 1 12 127 - | 50 60 60 | 3 | M4x10 | 18 | 25
508 6 635 7 8 9 952 10 1 12 127 14| 50 65 60 | 3 | M5x12 | 23 | 30
50BH |6 635 7 8 9 952 10 11 12 127 14| 50 65 65 | 3 55 25 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 | 3 | M4x10 | 23 | 30
55MH | 6 635 7 8 9 952 10 11 12 127 — | 55 80 65 | 2 55 16 | 23
60A 6 635 7 8 9 952 10 1 12 127 - | 60 75 65 | 3 | M5x12 | 18 | 25
60A1 |6 635 7 8 9 952 10 11 12 127 14| 60 75 65 | 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 | 3 | M5x12 | 23 | 30
60C 6 635 7 8 9 952 10 1 12 127 14| 60 90 75 | 3 | M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 | 3 | Mex15 | 23 | 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 90 75 | 3 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 | 3 | M5x12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 | 3 | Mex15 | 23 | 30

Please contact us for other motor adapters and input shaft bore.

238 |

1Y)




MPEK 060

@ D1

L5

D5

[
FM SJi M 2 D3
}4| T }g—
D4

D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 42.5 M4x8 M4 217 13.2 3 8.2 9
11 12 12.7 35.5 50 42.5 M4x8 M4 22 13.5 3 8.5 11
14 35.5 50 425 M4x8 M4 25 17 3 10.2 1.5

f\:i-@} Mh2 | Maz Mp2 nq Ct R1 max R2max A2 max Je [kgem?]
i

Nm

arominl NI NI [N]

[Nm] ' [Nm] | [Nm] [arcmin] [arcmin][

MPEK 060 2_3

MPEK 060 2_4

MPEK 060 2_5

MPEK 060 2_7

MPEK 060 2_10

MPEK 060 3_9

MPEK 060 3_12

MPEK 060 3_15

MPEK 060 3_16

MPEK 060 3_20

MPEK 060 3_25

MPEK 060 3_28

MPEK 060 3_30

MPEK 060 3_35

MPEK 060 3_40

MPEK 060 3_50

MPEK 060 3_70

MPEK 060 3_100

€1y | 239



40B1 ... 110B1

450

M6 (4x)

6 h9

N3

@ DF7

N5

{

Lmax

i

N

S

= 0 o

110 =4 ) |

@

&)

:\\\\> \

©
N
«

53.45

40

36

28

@20 h7

42.55

@185

225
D 60n7

M6x16

@70

38.25

135 (MPEK 080 2)
159.2 (MPEK 080 3)

10:5

o MPEK 0802 | 4.7
oN2 MPEK 0803 | 5.4
T
o [ TN
Ca
Q{}J =t
© ,
\a © )& B
N4
bl (<% N | Nt | N2 | N3 | N4 | N5 | Lmax
&S
40B1 |8 9 952 11 12 127 14 - - - — - | 40 | 63 | 80 | 4 | Max12 | 34 | 40
45A 8 9 952 11 12 127 - - - - — - | 45 | 63 | 80 | 4 | M4x12 | 34 | 40
5081 |8 9 952 11 12 127 14 - - - — - | 50 | 65 | 80 | 4 | M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - — - | 50 | 65 | 80 | 4 55 | 34 | 40
50c1 |8 9 952 11 12 127 14 - - - — - | 50 | 70 | 80 | 4 | M4x10 | 34 | 40
50D 8 9 952 11 12 127 14 - - - — - | 50 | 95 | 80 | 4 | Mex20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 |1257| 105 | 4 | Méx20 | 34 | 40
60A2 | 8 9 952 11 12 127 14 - - — - — | 60 | 75 | 80 | 4 | M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - — - | 60 | 75 | 90 | 4 65 | 34 | 40
60B1 | 8 9 952 11 12 127 14 15875 16 - - — | 60 | 85 | 80 | 4 | M5x16 | 34 | 40
60C1 |8 9 952 11 12 127 14 15875 16 - - - | 60 | 90 | 80 | 4 | M5x16 | 34 | 40
70A1 | 8 9 952 11 12 127 14 15875 16 17 19 1905/ 70 | 85 | 80 | 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05 70 | 85 | 90 | 4 65 | 34 | 40
70B1 | 8 9 952 11 12 127 14 15875 16 17 19 1905/ 70 | 90 | 80 | 4 | M5x16 | 34 | 40
73A1 |8 9 952 11 12 127 14 - - - — - | 73 | 984 | 85 | 4 | M5x16 | 34 | 40
80A1 |8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | Méx16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A |8 9 952 11 12 127 14 15875 16 17 19 19.05 110 | 130 | 115 | 4 | M8x20 | 34 | 40
110B | 8 9 952 11 12 127 14 15875 16 17 19 19.05 110 | 145 | 120 | 6.5 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 54 | 60

Please contact us for other motor adapters and input shaft bore.

1Y)

240 |




MPEK 080

A T T W
A 7
2 D2
L5 ‘
o5 ‘ D DFr
FM —
¢
SJ;T» 2 D3
—
S
—
b X D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x10 | M6 34 26.8 9.5 188 | 10.5
11 12 12.7 43 68 765 | M6x10 | M6 34 26.8 9.5 188 | 125
14 15875 16 17 48 68 765 | M6x10 | M6 34 26.8 9.5 188 | 145
19  19.05 51 68 765 | M6x10 | M6 34 26.8 9.5 188 | 16.5

\ﬁl' Mh2 Ma2 Mp2 Nimax Qs Pr Ct Rimax R2max A2max| M Jg [kgecm?]
4

MPEK 080 2_3
MPEK 080 2_4

i Nm] (Nm] from] [arcminjfaremin] (X)) NN 8..12.7 14..19.05

MPEK 080 2_5

MPEK 080 2_7

MPEK 080 2_10

MPEK 080 3_9

MPEK 080 3_12

MPEK 080 3_15

MPEK 080 3_16

MPEK 080 3_20

MPEK 080 3_25

MPEK 080 3_28

MPEK 080 3_30

MPEK 080 3_35

MPEK 080 3_40

MPEK 080 3_50

MPEK 080 3_70

MPEK 080 3_100

O/Jo | 241



50D ... 130A1

N
M10 (4x) @ DF7
8 h9 fse)
4
55
© @ [ 1 11 4
b4 o
T N% 50
T
Vi /gg 5 i
/ ffg\\%\\\\ \\g £ ‘ Vm‘*‘ﬂ @ é
\ &//////// | S e B
1 5 ®
@ 100 5
165.3 (MPEK 120 2) 16
49 196 (MPEK 120 3) &
N1
o N2 MPEK 120 2 7
N T~ MPEK 120 3 9.5
o e )
/ / @ \
() —
g o/
\| © /
o 5
N4 T
| I
D| -+ N N1 N2 N3 N4 N5 Lmax
N
11 12 127 14 15 15875 16 19 - - - - 50 95 100 5 M6x14 28 40
11 12 127 14 15 15875 16 19 - - - - 55 |125.7| 105 M6x16 28 40
60A2 11 12 127 14 15 15875 16 19 - - - - 60 75 100 6.5 M5x14 28 40
60AH2 11 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
60B1 11 12 127 14 15 15875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
70A1 11 12 127 14 15 15875 16 19 - - - - 70 85 100 6.5 M6x14 28 40
70AH1 11 12 127 14 15 15875 16 19 - - - — 70 85 100 4 6.5 33 40
70B1 11 12 127 14 15 15875 16 19 - - - — 70 a0 100 6.5 M5x12 28 40
80A1 1 12 127 14 15 15875 16 19 - - - — 80 100 100 6.5 M6x16 28 40
80AH1 "1 12 127 14 15 15875 16 19 - - - - 80 100 100 4 6.5 33 40
95A 11 12 127 14 15 15875 16 19 - — - - 95 115 100 6.5 M8x18 28 40
95A1 11 12 127 14 15 15875 16 19 22 24 - - 95 115 100 6.5 M8x18 38 50
95B 11 12 127 14 15 15875 16 19 - - - - 95 130 115 6.5 M8x18 28 40
110A 1 12 127 14 15 15875 16 19 - - - - 110 130 115 6.5 M8x18 28 40
110A1 1 12 127 14 15 15875 16 19 22 24 - - 110 130 115 6.5 M8x20 38 50
110B 11 12 127 14 15 15875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
110B1 11 12 127 14 15 15875 16 19 22 24 28 -— 110 145 120 6.5 M8x20 48 60
130A 11 12 127 14 15 15875 16 19 22 24 - - 130 165 140 6.5 | M10x20 38 50
130A1 11 12 127 14 15 15875 16 19 22 24 28 32 | 130 165 140 6.5 | M10x25 48 60

Please contact us for other motor adapters and input shaft bore.

242 1

1Y)




2 D1
7/ — 7)) <
A v
2 D2
L5
‘ D DF7
FM J %I-DT g D3
— s N\ —
=3
(78
D4
b X D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 | Méx15 | M6 335 20 7.6 12 12.5
14 15 15875 16 48 20 98 | Méx15 | M6 335 20 7.6 125 | 145
19 51 20 98 | Méx15 | M6 335 23 7.6 125 | 165
22 24 56.5 20 98 | Méx15 | M6 36.5 23 7.6 14 19
28 67 90 98 | Méx15 | M8 36.5 23 7.6 14 22,5
32 71 90 98 | Méx15 | M8 38 245 7.6 155 | 245

&

l' Mn2 Ma2 Mp2 niN N1 max (O Qr Ct R1maxR2maxA2max M Je [kgcmz]

&)

MPEK 090 2_3

[Nm] [Nm] [Nm] [rpm] [rpm] [arcmln][arcmln][ ] [Nl ' [N] [N] % 11..12.714...19 22 ;24 28; 32

arcmin

MPEK 120 2_4
MPEK 120 2_5
MPEK 120 2_7

MPEK 120 2_10

MPEK 120 3_9

MPEK 120 3_12

MPEK 120 3_15

MPEK 120 3_16

MPEK 120 3_20

MPEK 120 3_25
MPEK 120 3_28
MPEK 120 3_30

MPEK 120 3_35

MPEK 120 3_40

MPEK 120 3_50

MPEK 120 3_70

MPEK 120 3_100 |K{v[4]

O/Jo | 243



244 | O(:)o



EFFECTIVE LINE

KR SERIES

The KR flexible series represents an alternative for
applications that require space-saving and medium
precision levels. It is available in multiple configurations
such as solid/hollow shaft, single/double shaft
extension, shrink disk version or flange option.

MAIN FEATURES MAIN OPTIONS
- Nominal output torque (Nm) + Input versions MAIN BENEFITS
B 3-120 I: =i E[I:'i:' + Space saving solution
+ Torsional backlash (arcmin) WITHOUT - Optimized backlash
MOTOR MOTOR
|8 ADAPTER ADAPTER « Wide variety of
- Torsional stiffness (Nm/arcmin) - Output shafts versions configurations

+ Optional reinforced bearings

fo2-1 1 =

SOLID SHAFT HOLLOW

pROTECTION CLASS (single and SHAFT
double) (with shrink disk)
- IP65
+ Service type

FRAME SIZES C Sy

- 010

* @ 020 Sl S5

' @ 030 + Bearings versions

. 040 +

STANDARD | REINFORCED

O(:)O | 245



14 FEATURES OF KR SERIES

Bevel helical units type KR, manufactured under the most stringent quality specifications, are designed for dynamic and accurate appli-

cations where light weight and space effectiveness are a factor.
Many options can be selected from the catalogue as far as motor adapters and output shaft configurations that facilitate the installation

on the driven equipment.

¢ Available in one only backlash option (¥s < 8’)

¢ Single reduction: ratiosi=1,2,5

loading conditions
¢ Degree of protection IP65

Oil seals from fluoroelastomer compound as standard

* Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n1 = 3000 min-1

® Lubrication optmized for the type of duty specified when ordering, in the absence of contamination the lubricant requires no

periodical changes.

Radial ball bearings (SB) are of standard supply, while taper roller bearings (HB) can be optionally specified for particularly demanding

duty

KR 010 ... KR 040

S$1 (continuous)

Synthetic oil viscosity ISO VG 220

S5 (intermittent)

NLGI grease consistency 00

¢ Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

¢ Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
[i] 1 2 5
KR 010 10 7 3
KR 020 24 15 10
KR 030 55 37 22
KR 040 120 85 45

KR 040

KR 030

KR 020

Available motor shaft bores

KR 010

6.35

6/7 8 9]101112] 1415 617

19 2 4

9.52 12.7 15.875 19.05

28
@ [mm]

246 |

1Y)




14.1 VERSIONS

Solid shaft

LPF LDF

single extension single extension + flange double extension double extension + flange

Hollow shaft

keyed keyed shaft + flange with shrink disc with shrink disc + flange
(KR 030...KR 040) (KR 030...KR 040)

14.2 MOUNTING POSITIONS

14.3 COORDINATED SHAFT ROTATION

| 247



14.4 ORDERING CODE

KR 030 1

STD LP 60A CD

14 S1 U SB

UH1

LUBRICANT
— standard

UH1 food grade synthetic lubricant

L— OUTPUT SHAFT BEARINGS
SB standard
HB reinforced (KR 020 ... KR 040)

L— MOUNTING POSITION

U VA

— DUTY

S5 intermittent

— INPUT SHAFT BORE
6..28

L— MOTOR COUPLING

CD clamping device

— INPUT SECTION
25AH ... 180A1 motor adapter

S1 continuous duty

duty

010 020 030 040

— SERIES
KR

248 |

1Y)

HF (KR030..KR040) S SF

FM without motor adapter
— VERSION
Solid shaft: LP LPF LD LDF
Hollow shaft: (KR 030 ... KR 040)
— BACKLASH
STD (Ps=<8'
L— GEAR RATIO
1 2 5
— FRAME SIZE



14.5 TECHNICAL SPECIFICATIONS

Mn2 | Ma2 | Mp2 Ct N1 [NMmax| @s n Mn2 | Ma2 | Mp2 Ct N1 [NMmax| @s n
[Nm] | [Nm] | [Nm] ar'::lrrrr'n]in [min-1]|[min-1]{ [arcmin] | % [Nm] | [Nm] | [Nm] argmin [min-11{[min-1]| [arcmin] | %
i=1 10 14 20 0.5 | 2000 | 4000 i=1 24 35 50 1.4 2000 | 4000
i=2 7 10 15 0.4 | 2500 | 5000 8 97 i=2 15 21 30 1.1 2500 | 5000 8 97
i=5 3 4 6 0.2 | 3000 | 5000 i=5 10 13 20 0.7 | 3000 | 5000
Mn2 | Ma2 Mpz Ct n N1 max Qs n Mn2 | Ma2 Mp2 Ct n1 N1 max Ps n
[Nm] | [Nm] | [Nm] || N™_1| imin-1] | {min-t] | farcmin] | % INm] | [Nm] | [Nm] | N™_}l imin-1]| imin-1] | farcmin] | %
i=1 55 75 | 110 4 1500 | 3500 i=1 120 | 170 | 240 11 1500 | 3500
i=2 37 52 75 3 2000 | 4500 8 97 i=2 85 | 120 | 170 9 2000 | 4500 8 97
i=5 22 29 45 2 2800 | 4500 i=5 45 60 90 5 2500 | 4500
Stiffness value is referred to LP version
.LP Ro max )
A; max
R2 max A2 max AZ' max R3 max A3 max A3' max
[N] [N] [N] [N] [N] [N]
KR 010 SB @ 1000 — 200 500 — 100
SB @ 1500 — 300 750 — 150
KR 020
HB @ 3000 1500 600 3000 1500 600
SB @ 2000 — 400 1000 — 200
KR 030
HB @ 4000 2000 800 4000 2000 800
SB @ 3000 — 600 1500 — 300
KR 040
HB @ 5500 2750 1100 5500 2750 1100
O(JO | 249




14.6 MASS MOMENT OF INERTIA
14.6.1 KR 010...KR 040 with standard ball bearings - SB

Jg [kgcm2] Je [kgcm2]
W W
ANZ/A| | ey INNZA | By
oo D| {£ = T o D| {£ =
Nui Nui
SB @ 6<D<9.52 10<D=<14 SB @ 8<D<127 14<D <19.05
S, SF 0.52 0.52 S, SF 1.61 1.80
i=1 LP,LPF 0.38 0.38 i=1 LP,LPF 1.34 1.52
LD, LDF 0.39 0.39 LD, LDF 1.37 1.55
S, SF 0.27 0.29 S, SF 0.86 1.05
i=2 LP,LPF 0.24 0.25 i=2 LP,LPF 0.80 0.98
LD, LDF 0.24 0.25 LD, LDF 0.80 0.99
S, SF 0.20 0.21 S, SF 0.66 0.84
i=5 LP,LPF 0.19 0.21 i=5 LP,LPF 0.64 0.83
LD, LDF 0.19 0.21 LD, LDF 0.65 0.83
Jg [kgem?] Jg [kgem?]
i ﬁﬁ%\"51\ i ﬁaﬁ\ﬂ\
&J D /7 1:‘ §J D /7 ZI‘
A pus
SB @ 1M1<D<127|14<D=<19 | 22=sD=<24 SB @ 14<D<19 | 22sD=<24 D =28
H, HF 4.37 4.45 4.64 H, HF 17.19 17.37 17.77
S, SF 5.00 5.08 5.27 S, SF 20.46 20.65 21.05
i=1 i=1
LP, LPF 4.70 4.78 4.97 LP, LPF 18.21 18.40 18.80
LD, LDF 4.63 4.71 4.90 LD, LDF 18.90 19.08 19.48
H, HF 2.04 212 2.31 H, HF 4.47 4.65 5.06
S, SF 2.20 2.28 2.47 S, SF 5.29 5.47 5.87
i=2 i=2
LP, LPF 2.12 2.20 2.39 LP, LPF 4.73 4.91 5.31
LD, LDF 2.1 2.19 2.37 LD, LDF 4.90 5.08 548
H, HF 1.47 1.55 1.74 H, HF 5.23 5.42 5.82
S, SF 1.50 1.57 1.76 S, SF 5.36 5.55 5.95
i=5 i=5
LP, LPF 1.48 1.56 1.75 LP, LPF 5.27 5.46 5.86
LD, LDF 1.48 1.56 1.75 LD, LDF 5.30 5.49 5.89

250 |

1Y)




14.6.2 KR 020...KR 040 with taper roller bearings - HB

Je [kgem?] Jg [kgem?]
W
el o] (@ o} @3
N N
HB @ 8<D<12.7 14 <D <19.05 HB @ 11<D<127|14<D<19 | 225D<24
S, SF 1.87 2.06 H, HF 5.48 5.56 5.75
S, SF 6.11 6.19 6.38
i=1 LP, LPF 1.60 1.78 i=1
LP, LPF 5.81 5.89 6.08
LD, LDF 1.62 1.81 LD, LDF 5.74 5.82 6.01
S, SF 093 112 H, HF 2.92 3.00 3.19
S, SF 3.08 3.16 3.35
i=2 LP LPF 0.86 1.05 i=2
LP, LPF 3.01 3.09 3.27
LD, LDF 0.87 1.05 LD, LDF 2.99 3.07 3.26
S, SF 0.67 0.85 H, HF 1.51 1.59 1.78
S, SF 1.54 1.62 1.81
i=5 LP,LPF 0.66 0.84 i=5
LP, LPF 1.53 1.61 1.80
LD, LDF 0.66 0.84 LD, LDF 1.53 1.60 1.79
Jg [kgem?]
W
[ANSE/A| | By
o D o
P
HB @ 14<D<19 | 22<D=<24 D =28
H, HF 18.82 19.01 19.41
S, SF 22.10 22.08 22.69
i=1
LP, LPF 19.85 20.04 20.44
LD, LDF 20.53 20.72 21.12
H, HF 4.88 5.06 5.47
S, SF 5.70 6.28 6.28
i=2
LP, LPF 5.13 5.72 5.72
LD, LDF 5.31 5.89 5.89
H, HF 5.30 5.48 5.89
S, SF 5.43 6.02 6.02
i=5
LP, LPF 5.34 5.93 5.93
LD, LDF 5.37 5.95 5.95
O(JO | 251




14.7 DIVENSIONS

25AH ... 80A

30.5 N5 56 30.5
- f
12 N3 12
6 6
i —— -
i;! = F?%J ==
wﬁ& %gﬁ X&{;

iy

IN
JDF7

| s P4 B S

38
19
|
5
©
AN©
i
i)
Q
Y-
19
38
86

M — . - —]
\ ’ I I
56 56
61
Lm @
NI 7 \%
<
YA EN
| © o] ~
© ©
L KR 010 1.2
34
b (<5 N N1 N2 | N3 | N4 | N5 | Lmax
&
min | max
25AH | 6 635 7 8 9 952 - - - — — | 25 | 39| 56
26AH | 6 635 7 8 9 952 - - - - — | 26 | 39| 56
28AH | 6 635 7 8 9 952 - - - - — | 28 | 39| 56
30AH | 6 635 7 8 9 952 - - — — — | 30 | 39| 56
32AH | 6 635 7 8 9 952 - - - — — | 32 |39 |5 | 65 | 35 45 25 | 25
34AH | 6 635 7 8 9 952 - — — — — | 34 | 40 | 56
36AH | 6 635 7 8 9 952 - - - - — | 36 | 42| 56
39AH |6 635 7 8 9 952 - - — — — | 39 | 45| 56
40AH | 6 635 7 8 9 952 - - — - | 40 | 46 | 56
38B 6 635 7 8 9 952 10 11 12 127 — | 38.1 66.6 60 3 | M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 3 | M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 | M4x10 | 18 | 25
50B 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 3 | M5x12 | 23 | 30
50BH |6 635 7 8 9 952 10 11 12 127 14| 50 65 65 3 55 25 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 3 | M4x10 | 23 | 30
55MH | 6 635 7 8 9 952 10 11 12 127 - | 55 80 65 2 55 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 3 | M5x12 | 18 | 25
60A1 | 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 3 | M5x12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 3 | M5x12 | 23 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 | Mex15 | 23 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 20 75 5 | M5x12 | 23 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 | M5x12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 | Mex15| 23 | 30

Please contact us for different motor adapters and input shaft bore.

252 1 (zﬁj



960

5.5

KR 010... SF

2 64

156

3.5

MBSy @

44

15

100
70

15

44

J 64
5.5

KR 010... LPF

960

3.5

44

56

KR 010... LDF

950

56

44

4ho

>

25

25
20

M4x10

D12 k6

44

mis|

112

109

65

138

43

KR 010... S

1247

Juin

KR 010... LP

KR 010... LD

3
3|l )
Q
B,
By @
0 nolo
™|« 1" i
Mol
LI I U
[ g it et T
o i 0o i
oot ! It TR |
o = NI |
BT e s [l |
e ! [T |
P ' [T i
i A o
s <
Gel I
2 )
< R
),
o
*
=
=
0
N
wn o
N| N
pa— i A W
A0
¥ h._ 5o || ﬁ
I .
H = —
- 7
wn o
NN
'o)
o

| 253

1Y)



40B1

... 110B1

38 N5 61 38
13 N3 13
% 6.5 %‘ .‘»_6.75 N4
[=sEmm=y=] AT A
[ \ Fy + % [ Y
il .
s —HiHeHH 38 SEER
ﬁ( F‘T g'l' EI gI \‘@z A
ﬁv \ ar* ‘ H_‘ ﬁe wﬁ b . \+ -
69 69 @ N1
76 N2
Lmax I ©
V@)VIN
L © 9] -~
© ©
18.5
37 KR 020 2.6
D'ﬁ% N | N1 | N2 | N3 N4 N5 | Lmax
40B1 8 9 952 11 12 127 14 - - - - - 40 63 80 4 M4x10 | 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x10 | 34 40
50B1 8 9 952 11 12 127 14 = = = = = 50 65 80 4 M5x16 | 34 40
50BH1 | 8 9 952 11 12 127 14 - - - - - 50 65 80 4 5.5 34 40
50C1 8 9 952 11 12 127 14 — - - - — 50 70 80 4 M4x10 | 34 40
50D 8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x10 | 34 40
55A 8 9 9582 11 12 127 14 15875 16 17 19 19.05| 55.5 [125.7| 105 4 M6x16 | 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 | 34 40
60AH2 | 8 9 952 11 12 127 14 - - - - - 60 75 90 4 5.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 | 34 40
60C1 8 9 952 11 12 127 14 15875 16 - — - 60 90 80 4 M5x16 | 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 | 34 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 | 34 40
73A1 8 9 952 11 12 127 14 — - - - — 73 | 984 | 85 4 M5x16 | 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 | 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 | 100 4 M8x20 | 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 4 M8x20 | 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 4 M8x20 | 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 54 60

Please contact us for different motor adapters and input shaft bore.

1Y)

254 1




KR 020... S

76.5

EF’ i

L
5)3
[

KR 020... LP

1.5

123

20

83

20

52

28

25

KR 020... LD

M5x12.5

5h9

17

53.5

28 1.5
1.5 25

28

25

M5x12.5

& 16 k6

5h9

17

D 16 k6

1Y)

316 67

@60 g6

,,,,,,,,,,

@60 g6

@60 g6

KR 020... SF

62

KR 020... LPF

2 68

KR 020... LDF

@ 68

| 255



50D ... 130A1

445 N5 81 445
A \
22_ N3 22
% .F 1 ¢/°31-<9 11 N4
= g |
¥ }{} + N u\ 569& ®
wJ -
e el 38 o &
g( M S EI 3
ole || (TLele
1 ‘ I ! i
82 82 @ N1
89 N2
© ©ﬁ5
— )iIn
S8
| © N
© ©
235
47 KR 030 4.6
D| : N | NT | N2 | N3 N4 N5 | Lmax
50D M1 12 127 14 15 15875 16 19 - — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
55A 1M1 12 127 14 15 15875 16 19 - - | 555 |1257| 105 | 5 | Méx16 | 28 | 40
60A2 | 11 12 127 14 15 15875 16 19 - — | 60 | 75 | 100 | 5 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - | 60 | 75 | 100 | 5 6.5 33 | 40
60B1 1 12 127 14 15 15875 16 19 - — | 60 | 85 | 100 | 6.5 | M5x14 | 28 | 40
70A1 M1 12 127 14 15 15875 16 19 - — | 70 | 85 | 100 | 5 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - — | 70 | 85 | 100 | 5 6 33 | 40
70B1 M1 12 127 14 15 15875 16 19 - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 1 12 127 14 15 15875 16 19 - — | 80 | 100 | 100 | 5 | Méx16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - — | 80 | 100 | 100 | 5 6.5 28 | 40
95A 1 12 127 14 15 15875 16 19 - — | 95 | 115 | 100 | 5 | M8x18 | 28 | 40
95A1 1 12 127 14 15 15875 16 19 22 24 | 95 | 115 | 100 | 5 | M8x18 | 38 | 50
95B 1 12 127 14 15 15875 16 19 - — | 95 | 130 | 115 | 5 | M8x18 | 28 | 40
M0A | 11 12 127 14 15 15875 16 19 - — | 10 | 130 | 115 | 5 | M8x18 | 28 | 40
110A1 | 1 12 127 14 15 15875 16 19 22 24 | 110 | 130 | 115 | 6.5 | M8x20 | 38 | 50
110B 1 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
10B1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 1 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 6.5 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 6.5 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

256 | €13



KR 030...H

70 g6

,,,,,,,,,,

KR 030.

2 85
6.5
-

.. HF

76

KR 030.

285
6.5
-

.. SF

130
65
20, 20
'_‘_Lc::n_f_'_"']] 6Hs
ﬂi_lrﬁ—]—,? [ ] ﬁ M %
,@, S
| J 187
KR 030... S
160 150
95 65 25 100 25
2 M5 19
M ) 5Nm T
. | — ﬁpjfﬂ . ;1 =11 ‘
s T T s &L i
| i S ST X
I L2 S
Q
KR 030...LP
164
63 65
2 36
Jui ; " 32 2 6ho o
1 N L P
A4
1 [
o inj M8x19
D22 k6
KR 030... LD
202
65 65
36 2 2 36
2 32 ‘ T : j M 32 2 6ho o
<
H 1 L i
a + 5
I - N ’Q!)
1 U [
o in§ M8x19
@ 22 k6

1Y)

@70 g6

,,,,,,,,,,

076

KR 030...

@85

LPF

,,,,,,,,,,

76

KR 030...

@85
6.5

LDF

,,,,,,,,,,

076

| 257



KR 040

55A1 ... 180A1

N5 105 ‘ 53.5
N3 39_
% 19.5 N4
X@l&;
[ 5{& ©
UJ .
s —HitHel i 33 3 8
Q
:T M EI %
& ©
- — T
101 I N1
N2
© ©
B © / \ ©
i 7 N
Oz
| O ™
O O
33.5 &
67 KR 040 12.8
o
( u! ~ N N1 N2 N3 N4 N5 Lmax
.
55A1 14 15.875 16 19 - - - 55.5 125.7 130 4 M6x15 39.5 50
80A2 14 15.875 16 19 - - - 80 100 130 4 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 — 95 115 130 4 M8x20 39.5 50
110A1 14 15.875 16 19 22 24 - 110 130 130 4 M8x20 39.5 50
110B1 14 15.875 16 19 22 24 - 110 145 130 6.5 M8x20 49.5 60
114A 14 15.875 16 19 22 24 28 114.3 200 170 5.5 M12x25 | 69.5 80
130A 14 15.875 16 19 22 24 - 130 165 140 4 M10x20 | 39.5 50
130A1 14 15.875 16 19 22 24 28 130 165 140 4 M10x20 | 49.5 60
180A 14 15.875 16 19 22 24 28 180 215 190 5.5 M14x25 | 49.5 60
180A1 14 15.875 16 19 22 24 28 180 215 190 5.5 M14x25 | 69.5 80

Please contact us for different motor adapters and input shaft bore.

1Y)

258 |




KR 040... H KR 040... HF

150 75
75 10
1.30_ 30| 5
'_‘_chz\_f_'_"']] 8 Hs 0.5
ni_l‘v—,—]? [ ] ﬁ e Lo i \ 1 -
(1Y) @ N 3 =)
N UH| S 0
; @ 28 g7 :::t‘iffi: i
KR 040... S KR 040... SF
185 174 75
110 75 35 104 35 10 2120
2 M6 23 5 9
‘ ‘ — T 05 L
ML T 12 Nm -
[ — ﬁLJED] =11 A 11 7 -
- | = = ——— IS I (%))
S ® R =
Q b S
il = X ] NS
27 o ‘WL[EI' ==
S | Ly‘if/
W o0t
KR 040... LP KR 040... LPF
206 75
73 75 10 @120
2_| 58 5 9
| 4 .
| an 50 10h9m 05 .
™ - <
| ® N L p 3 ii HlEee 8 -
(4 T P8 - -5
A ] ,
sl [ B S NS
28l 1 M12x28 [::[lar-i' =
@32ke ! Lygf
W Ci1ot
KR 040... LD KR 040... LDF
266 75
75 75 10 @120
58 | 2 2_| 58 5 9
4| 50 ‘ ‘ 50 | 4 10 ho 05 L
L 1) I
‘ [T u S * | I8 ¢
—le o] ; TR s .
| ,Q A it S @ I 2
@ I 1) : 0
|t i | R O\
hul Inj M12x28 O
el B
D 32 k6 ! Lyc_;/
-

,,,,,,,,,,

O(:)o | 259



14.7.1 GEARBOX WITHOUT MOTOR ADAPTER

FM

L3 L1
L2
B T =i=mm=p=
o e ||}
|
5 8 :
i =
[a) o
s 9 oo F]
| == —
L4
D (&5 DI | D2 | D3 | D4 | D5 | L1 L2 | 3 | L4 | L5 &
6 635 7 325 | 50 | 425 | M4x8 | M4 | 28 | 135 | 3 8.5 8
8 9 952 10 | 325 | 50 | 425 | M4x8 | M4 | 28 | 135 | 3 8.5 9
KR 010 1.0
1M1 12 127 355 | 50 | 425 | M4x8 | M4 | 23 | 135 | 3 85 | 11
14 355 | 50 | 425 | M4x8 | M4 | 25 | 155 | 3 89 | 15
8 9 952 38 | 68 | 765 |M6x10| M6 | 363 | 263 | 95 | 188 | 105
1M1 12 127 43 | 68 | 765 M6x10| Mé | 363 | 263 | 95 | 188 | 125
KR 020 2.0
14 15875 16 17 | 48 | 68 | 765 |M6x10| M6 | 36.3 | 263 | 95 | 188 | 145
19 19.05 51 68 | 76,5 |M6x10| Me | 363 | 263 | 95 | 188 | 165
1M1 12 127 43 | 90 | 98 |M6x15| Me | 35 | 195 | 76 | 121 | 125
14 15 15875 16 | 48 | 90 | 98 |M6x15 M6 | 35 | 195 | 7.6 | 121 | 145
KR 030 35
19 51 9 | 98 |M6x15| M6 | 35 | 195 | 76 | 121 | 165
2 24 565 | 90 | 98 |M6x15| Mé | 37 | 215 | 7.6 | 121 | 19
14 15875 16 48 | 113 | 1255 |M8x15| Me | 46 | 275 | 6 20 | 145
19 51 | 113 | 1255 |[M8x15| M6 | 46 | 275 | 6 20 | 165
KR 040 10.0
2 24 565 | 113 | 1255 |M8x15| M6 | 47.5 | 29 6 20 19
28 67 | 113 | 1255 |[M8x15| M8 | 475 | 29 6 20 | 225
260 | O(JO




14.7.2 MACHINE SHAFT

Shaft of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to
consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).
The number and size of relative tapped holes at shaft end depend on application requirements.

B
B1 B2
Rmax S
08 0.8 7\1 5°
H - o ) <
z g ;) 2 CP 3
D J C C E
A1 A2 A3 Ad B B1 B2 C D E Rmax S
UNI 6604
226 18 h7 17 18 h7 129 18 90 32 2 2 0.5 6x6x25 A
1
236 | 28h7 27 28 h7 149 28 90 50 2 2 0.5 8x7x35 A

NB: The choice of driven shaft with a UNI 6604 key as described introduces increased backlash into the application compared to that
achieved by a configuration with just the gearbox (¥s < 8’).

B
B1 B2
Rmax S
08 08 7\1L5°
S - o ) <
< < < X
A1 A2 A3 A4 B B1 B2 Rmax S
KR 010 215 11 h7 9.5 10 h6 99 13 70 0.5
KR 020 220 16 h7 14.5 15 h6 122 18 83 0.2
1
KR 030 230 22 h7 19.5 20 h6 149 23 100 0.5
KR 040 240 32h7 29.5 30 h6 173 33 104 0.5

@/O | 261



INDEX OF REVISIONS

TI_CAT_TIR_STD_ENG_R07_0

D Description

Amended some data.

This publication supersedes and replaces any previous edition and revision. We reserve the right to implement modifications without notice.
This catalogue cannot be reproduced, even partially, without prior consent.

262 | O(:)o




AUSTRALIA

Bonfiglioli Transmission (Aust.) Pty Ltd
2, Cox Place Glendenning NSW 2761
Locked Bag 1000 Plumpton NSW 2761
Tel. +612 8811 8000

EREEP S

BRAZIL

Bonfiglioli Redutores do Brasil Ltda

Av. Osvaldo Fregonezi, 171, cjs 31 e 44
CEP 09851-015 - Sao Bernardo do Campo
Sao Paulo

Tel. +55 11 4344 2322

ORRCTR AP S

CHINA
Bonfiglioli Drives (Shanghai) Co. Ltd.
#68, Hui-Lian Road, QingPu District,

201707 Shanghai
Tel. +86 21 6700 2000
(O REC R,

Motion & Robotics
#568, Longpan Road, Jiading District,
201707 Shanghai

TR\ SRR S

Bonfiglioli Trading (Shanghai) Co. Ltd.
Room 423, 4™ Floor, #38, Yinglun Road,
China (Shanghai) Pilot Free Trade Zone,
Shanghai

6o

Selcom Electronics (Shanghai) Co., Ltd
A7,N0.5399, Waigingsong Road, QingPu
District,

201707 Shanghai

Tel. +86 21 6010 8100

ORRCP S

A24,N0.5399, Waigingsong Road, QingPu
District,

201707 Shanghai

Tel. +86 21 6010 8100
& W
FRANCE

Bonfiglioli Transmission S.A.S.
14 Rue Eugéne Pottier

Zone Industrielle de Moimont I
95670 Marly la Ville

Tel. +33 134474510

&
GERMANY

Bonfiglioli Deutschland GmbH
Sperberweg 12 - 41468 Neuss
Tel. +49 0 21312988 0

&K

Bonfiglioli Vectron GmbH
Europark Fichtenhain B6 - 47807 Krefeld
Tel. +49 0 21518396 O

ORRC AP S

O&K Antriebstechnik GmbH
Ruhrallee 8-12 - 45525 Hattingen
Tel. +49 0 2324 20501

ORRC AP S

{@} PRODUCTION

@ ASSEMBLY

INDIA

Bonfiglioli Transmission Pvt. Ltd.
Mobility & Wind Industries

AC 7 - AC 11 Sidco Industrial Estate
Thirumudivakkam Chennai - 600 044
Tel. +91 844 844 8649

ORRC WP S

Discrete Manufacturing &

Process Industries - Motion & Robotics
Survey No. 528/1,

Perambakkam High Road Mannur Village,
Sriperumbudur Taluk Chennai - 602 105
Tel. +91 844 844 8649

EUNP S

Discrete Manufacturing &

Process Industries

Plot No.A-9/5, Phase IV MIDC Chakan,
Village Nighoje Pune - 410 501

Tel. +91 844 844 8649

CIP S

ITALY

Bonfiglioli Riduttori S.p.A.
Discrete Manufacturing &
Process Industries

Via Cav. Clementino Bonfiglioli, 1
40012 Calderara di Reno

Tel. +39 051 6473111

TR EAP S

Discrete Manufacturing &
Process Industries

Via Sandro Pertini, lotto 7b
20080 Carpiano

Tel. +39 02985081

EREEP S

Discrete Manufacturing &
Process Industries
Via Saliceto, 15 - 40010 Bentivoglio

© R

Mobility & Wind Industries
Via Enrico Mattei, 12 Z.I. Villa Selva

47122 Forli
Tel. +39 0543 78911
IR W

Motion & Robotics
Via Unione, 49 - 38068 Rovereto
Tel. +39 0464 443435/36

O WK

Selcom Group S.p.A.

Via Achille Grandi, 5

40013 Castel Maggiore (BO)
Tel. +39 051 6387111

BRI PRSP S

Via Marino Serenari, 18
40013 Castel Maggiore (BO)
Tel. +39 051 6387111

TIPS

Via Cadriano, 19
40057 Cadriano (BO)
Tel. +39 051 6387111

CHRRIIP S

7 sALEs
oo

NEW ZEALAND

Bonfiglioli Transmission (Aust.) Pty Ltd
88 Hastie Avenue, Mangere Bridge,
2022 Auckland

PO Box 11795, Ellerslie

Tel. +64 09 634 6441

&
SINGAPORE

Bonfiglioli South East Asia Pte Ltd
8 Boon Lay Way, #04-09,

8@ Tadehub 21, Singapore 609964
Tel. +65 6268 9869

k=
SLOVAKIA

Bonfiglioli Slovakia s.r.o.
Robotnicka 2129

Povazska Bystrica, 01701 Slovakia
Tel. +421 42 430 75 64

TR S

SOUTH AFRICA

Bonfiglioli South Africa Pty Ltd.

55 Galaxy Avenue, Linbro Business Park,
Sandton, Johannesburg

2090 South Africa

Tel. +27 11 608 2030

&K

SPAIN

Tecnotrans Bonfiglioli S.A
Avinguda del Ferrocarril, n° 14,
Poligono Industrial Can Estapé
08755 Castellbisbal - Barcelona
Tel. +34 93 447 84 00

&
TURKEY

Bonfiglioli Turkey Jsc

AtatUrk Organize Sanayi Bolgesi,
10007 Sk. No. 30

AtatUrk Organize Sanayi Bolgesi,
35620 Cigli - Izmir

Tel. +90 0 232 328 22 77

CREEP S

UNITED KINGDOM

Bonfiglioli UK Ltd.

Unit 1 Calver Quay, Calver Road, Winwick
Warrington, Cheshire - WA2 8UD

Tel. +441925 852667

& W&

USA

Bonfiglioli USA Inc.
3541 Hargrave Drive
Hebron, Kentucky 41048
Tel. +1 859 334 3333

TR B S

VIETNAM

Bonfiglioli Vietham Ltd.

Lot C-9D-CN My Phuoc Industrial Park 3
Ben Cat - Binh Duong Province

Tel. +84 650 3577411

BRI PR S

SERVICE



@%J Bonfiglioli

HEADQUARTERS

Bonfiglioli S.p.A

Via Cav. Clementino Bonfiglioli, 1

40012 Calderara di Reno - Bologna (Italy)
Tel. +39 051 6473111

ine ¥ ©





